PRECISION
PLANETARY
GEARBOXES

Catalogue




Index

2 TECHNICAL INFORMATION 139 TQFEK SERIES
3 1 General information 140 8 Features of TQFEK series
3 1.1 Symbols, units and definitions 141 8.1 Ordering code
5 1.2 Selecting the Gear unit 142 8.2 Dimensions and technical specifications
9 1.3 Service life of bearings
11 TQ SERIES 148 SL SERIES
12 2 Features of TQ series 149 9 Features of SL series
13 2.1 Ordering code 150 9.1 Ordering code
14 2.2 Dimensions and technical specifications 151 9.2 Dimensions and technical specifications
24 TQK SERIES 163 LC SERIES
25 3 Features of TQK series 164 10 Features of LC series
26 3.1 Ordering code 165 10.1 Ordering code
27 3.2 Dimensions and technical specifications 166 10.2 Dimensions and technical specifications
37 TQF SERIES 182 LCK SERIES
38 4 Features of TQF series 183 11 Features of LCK series
39 4.1 Ordering code 184 11.1 Ordering code
40 4.2 Dimensions and technical specifications 185 11.2 Dimensions and technical specifications
50 TR SERIES 201 MPE SERIES
51  5Features of TR series 202 12 Features of MPE series
53 5.1 Ordering code 203 12.1 Ordering code
54 5.1.1 Version and input section 204 12.2 Dimensions and technical specifications
54 5.1.2 Mounting position 212 MPEK SERIES
54 5.1.3 Admissible radial and axial forces for MB version 213 13 Features of MPEK series
55 5.2 Dimensions and technical specifications 214 13.1 Ordering code
90 MP SERIES 215 13.2 Dimensions and technical specifications
91 6 Features of MP series 221 KR SERIES
93 6.1 Ordering code - , 222 14 Features of KR series
94 6.1.1 Version and input section 223 14.1 Versions
94 6.1.2 Mounting position ) ) 223 14.2 Mounting position
94 6.1.3 Admissible radial and axial forces for MB version 223 14.3 Cooordinated shaft rotation
95 6.2 Dimensions and technical specifications 224 14.4 Ordering code
129 6.2.1 Machine shaft 225 14.5 Technical specification
130 TQFE SERIES 226 14.6 Mass moment of inertia
131 7 Features of TQFE series 226 14.6.1 KR010..KR040 with standard ball bearings — SB
132 7.1 Ordering code 2217 14.6.2 KR020..KR040 with standard ball bearings — HB
133 7.2 Dimensions and technical specifications 228 14.7 Dimensions
236 14.7.1 Gearbox without motor adapter
237 14.7.2 Machine shaft



Technical
information







1
1.1

GENERAL INFORMATION
SYMBOLS, UNITS AND DEFINITIONS

Values depending on the APPLICATION

term u.m. definition
Az [N] Axial force on output shaft
Az Equ [N] Equivalent axial force applying on output shaft
A2 max [N] Maximum axial force applying on output shaft
R2 [N] Radial force on output shaft
R2 equ [N] Equivalent radial force applying on output shaft
R2 max [N] Maximum radial force applying on output shaft
ED [s] Duration of the duty (without brake)
ED% [%0] Cyclic duration factor
Lioh TARGET [h] Output shaft bearings’ desired basic rating life
M1 pPEAK [Nm] Maximum input torque (limited by motor control)
M2@) ... Mz(n) [Nm] Output torque at the times tz ... tn
M2 equ [Nm] Equivalent output torque
M2 max [Nm] Maximum output torque in case of emergency
M2 EQU [Nm] Equivalent tilting moment applying on output shaft
MT2 max [Nm] Maximum permissible tilting moment applying on output shaft
ny [min-1] Nominal input speed
ny [min-1] Output speed
N2@1) ... N2(n) [min-1] Output speed based on the times t; ... t
N2 EQU [min-1] Equivalent output speed
N2 MAX [min-1] Maximum output speed
T [C Ambient temperature
t1... tn [s] Operating time
ty [s] Cycle duration including pause
z [1/h] Number of cycles per hour

Y//4



y//4

Values depending on the GEAR DRIVE SELECTION

term u.m. definition
A2 max /Azmax | [N] Admissible axial force on output shaft
A2 max /A3 max | [N] Axial force acting simultaneously with radial force
R1 max [N] Admissible radial force at midpoint of input shaft
R2 max/Ramax | [N] Admissible radial force at midpoint of output shaft
Cs [Nm] Constant for bearing's lifetime calculation
Ct | arcmi n| Torsional stiffness
f — Factor ratio between axial and radial force
fn — Speed factor
f, — Cycle factor
fr — Temperature adjusting factor
i — Gearbox ratio
Je [kgem?] Mass moment of inertia of the gearhead
Kn — Speed constant
L1on [h] Bearings basic rating life
Lz [mm] Factor for bearing lifetime calculation
Ma 2 [Nm] Maximum acceleration output torque
Mn 2 [Nm] Rated output torque
My 2 INm] Emergency stop output torque.
ermitted 1000 times during service life of the gearbox
MT2 max [Nm] Maximum tilting moment applying on output shaft
Maximum momentary input speed. The speed the unit can be driven
N1 me [min-1] at occasionally an.d in non-repetiti\(e condiFions
For duty type S5, it cannot be applied continuously for more than
30 seconds
p — Bearing lifetime exponent
n [%0] Gear efficiency
or [arcmin] | Reduced backlash
bs [arcmin] | Standard backlash




1.2

SELECTING THE GEAR UNIT

. . j— D
(a) | Ratio i — =
Nz
. Mo |t Mo |2+ oty Mo |
(b) | Equivalent output torque M2 equ | [Nm] Maequ :3\/| 2(1)| 1 | 2(1)| | 2(n)| tn | 2(n)|
|n2(1)| ot +|n2(n)| an
|"2(1)| o |n2(2)| T+ F [N - t
(c) | Equivalent output speed Nzequ | [min?] N2eqQu = .
)
K _
If 21 o f =1
Ny equ - "
(d) | Speed factor fn — K

If—"— <1 = f,=Obtain from diagram
N2equ °!

1.05
1
0.95
. 09
. . = 085
(e) | Temperature adjusting factor fr — o8
0.75
0.7
20 25 30 35 40 45 50 55 60 65
T[°C]
0 ED
0 Cyclic duration factor ED% |[%] ED% = _tz *100
Duration of the duty ED [s] ED=ti+t+...+1,
3600
(g) | Number of cycles per hour 4 [1/h] = t
2
«w 15 //
(h) | Cycle factor* fz — L
0 1000 2000 3000 4000 5000 6000
z[1h]
*For Z>6000 please contact us!
(i) | Maximum input torque M1 peak | [NM] maximum motor torque
fn - speed factor
3
25
2
fn \
15
N
-
1
0.5

0.5 1
Kn
N2equ * |

q//4



Kn - speed constant

i TQO060 | TQO70 | TQO09 | TQ130 | TQ 160 i TR/MP|TR/MP|TR/MP|TR/MP|TR/MPiTR/MP;TR / MP
053 | 060 | 080 | 105 | 130 | 160 | 190
s 3500 3100 1050 1800 1100 3 1400 | 1400 | 2700 | 2500 | 1700 | 550 | 1500
4 3500 3300 1050 2000 1450 4 2000 | 1600 | 1500 | 1600 | 500 350 | 1150
5 3500 3500 1700 2500 1650 5 2300 | 2050 | 1750 | 1850 | 600 i 350 | 1300
7 4000 3500 3000 2800 2500 6 2300 | 2500 | 2500 | 1050 | 150 | 150 | 1150
10 4000 3500 3000 2800 2500 7 3800 | 3000 | 2100 | 1350 | 400 § 300 | 1600
6 24500 3500 23000 2800 2500 9 4000 | 3300 | 2900 | 2500 | 2100 | 1600 | 1500
10 - 4000 | 4000 | 3500 | 3200 | 1150 | 2900
20 4500 3500 3000 2800 2500 12 | 3300 | 3300 | 1500 | 1500 | 500 § 300 | 1050
25 4500 3500 3000 2800 2500 15 | 3300 | 3300 | 1700 | 1750 | 600 | 350 §{ 1200
28 4500 3500 3000 2800 2500 16 | 3500 | 3500 | 1950 | 2050 | 700 | 450 § 1400
35 4500 3500 3000 2800 2500 20 | 3500 | 3500 | 2450 | 2550 | 850 i 300 | 1750
20 4500 3500 3000 2800 2500 25 | 3500 | 3500 | 2800 | 2900 | 1000 i 350 | 2000
- 2500 500 3500 23200 2500 28 | 4000 | 4000 | 3450 | 3500 | 1200 | 450 | 2450
30 - 4000 | 4000 | 3500 | 3200 | 3000 | 1950
o 5000 4500 4000 3500 2500 35 | 4000 | 4000 | 3950 | 3500 | 1350 | 500 | 2800
100 5000 4500 4000 3500 2500 36 | 4000 | 3500 | 3200 | 1950 | 550 | 500 | 2300
40 - 4000 | 4000 | 3500 | 1700 | 650 | 2900
45 | 4000 - - - - - -
i TQK 060 | TQK 070 | TQK 090 | TQK 130 | TQK 160 48 4000 | 3500 | 3100 | 2800 | 2300 850 2100
6 2400 2400 2000 1600 1600 50 - 4000 | 4000 | 3500 1950 750 2900
8 2400 2400 2000 1600 1600 60 | 3500 | - - - - - -
64 | 3500 | 3500 | 3100 | 2800 | 2400 | 1000 | 2100
10 2400 2400 2000 1600 1600
70 - 4000 | 4000 | 3500 | 2400 | 900 | 2900
14 2400 2400 2000 1600 1600 75 | 3500 | 3500 | 3200 | 3000 | 2900 | 1350 | 2300
18 2400 2400 2400 2000 1600 80 3500 | 3500 | 3100 | 2800 | 2400 | 1300 | 2100
20 2400 2400 2400 1600 1600 81 | 4000 - - - - - -
22 5200 5200 5200 000 1600 84 | 4000 | 4000 | 4000 | 3500 | 2900 | 1050 | 2900
0 5300 5300 5300 5060 6% 9 - 4000 | 4000 | 3500 | 2850 | 3000 | 2900
100 | 3500 | 4000 | 4000 | 3500 | 3200 | 3000 | 2900
40 2400 2400 2400 2000 1600 112 | 3500 - ~ - - ~ ~
50 2400 2400 2400 2000 1600 120 - 4000 | 4000 | 3500 | 3200 | 2150 | 2900
70 2400 2400 2400 2000 1600 125 | 3500 | 3500 | 3200 | 3000 | 2900 | 1800 | 2300
30 2400 2400 2400 2000 1600 140 4000 4000 4000 3500 3200 2050 2900
100 | 2400 2400 2400 2000 1600 144 | 4000 | - - - - - -
150 - 4000 | 4000 | 3500 | 3200 | 2200 | 2900
140 2400 2400 2400 2000 1600 160 - 4000 | 4000 | 3500 | 3200 | 2550 | 2900
200 2400 2400 2400 2000 1600 175 | 4000 | 4000 | 4000 | 3500 | 3200 | 2550 | 2900
180 | 4000 - - - - - -
200 - 4000 | 4000 | 3500 | 3200 | 2900 | 2900
i TQF 060 | TQF 070 | TQF 090 | TQF 130 | TQF 160 210 - 4000 | 4000 | 3500 | 3200 | 2700 | 2900
4 3500 3300 1050 2000 1450 216 | 3500 | 3500 | 3200 | 3000 | 1900 - -
5 3500 3500 1700 2500 1650 225 | 4000 - - - - - -
7 4000 3500 3000 2800 2500 245 | 4000 - - - - - -
250 - 4000 | 4000 | 3500 | 3200 | 3000 | 2900
10 4000 3500 3000 2800 2500
252 | 4000 - - - - - -
16 4500 3500 3000 2800 2500 280 - 4000 | 4000 | 3500 | 3200 | 3000 | 2900
20 4500 3500 3000 2800 2500 324 | 4000 - - - - - -
25 4500 3500 3000 2800 2500 350 - 4000 | 4000 | 3500 | 3200 | 3000 | 2900
8 4500 3500 3000 5800 5500 400 - 4000 | 4000 | 3500 | 3200 | 3000 | 2900
35 4500 3500 3000 2800 2500 405 | 4000 ~ - - - - -
500 4000 | 4000 | 3500 | 3200 | 3000 | 2900
40 4500 3500 3000 2800 2500 557 | 2000 - - - - - -
50 4500 3500 3500 3200 2500 700 - 4000 | 4000 | 3500 | 3200 | 3000 | 2900
70 5000 4500 4000 3500 2500 729 | 4000 - - - - - -
100 5000 2500 2000 3500 5500 1000 - 4000 | 4000 | 3500 | 3200 | 3000 | 2900




q//4

Kn - speed constant

: MPE 040 MPE 060 MPE 080 MPE 120 : MPEK 060 MPEK 080 MPEK 120
TQFE 060 | TQFE 070 | TQFE 090 TQFEK 060 TQFEK 070 TQFEK 090
3 2000 1400 3500 3000 3 1400 3500 3000
4 2000 1600 2000 1700 4 1600 2000 1700
5 2000 2050 1500 1500 5 2050 1500 1500
7 3000 3050 1900 1900 7 3050 1900 1900
9 2000 3300 3500 3000 9 3300 3500 3000
10 3000 4000 3500 3500 10 2000 3500 3500
12 3000 3300 3500 3000 3 500 00 3000
15 3000 3300 3500 3000 5 20 00 3000
16 3000 3500 3100 2800 5 =00 3100 5800
20 3000 3500 3200 3000 50 500 3500 2000
25 3000 3500 3200 3000
25 3500 3200 3000
28 3000 3700 3500 3500
30 3000 4000 4000 3500 28 3700 300 300
35 3000 4000 3500 3000 30 4000 4000 3500
40 3000 4000 4000 3500 % 4000 3500 3000
50 3000 4000 4000 3500 40 4000 4000 3500
70 3000 4000 4000 3500 50 4000 4000 3500
100 3000 4000 4000 3500 70 4000 4000 3500
100 4000 4000 3500
i |Lcoso|LCO70 | LCO90/ | LC120/ | LC155/
LC 070P| LC 090P | LC 120P | LC 155P
3 1650 1 1200 12900735001 2500 3000 | 1350 / 2100 i | SL070/SL070P | SL 090/SL 090P | SL 120/ SL 120P
4 2200 1600 | 2500/ 2000 | 2100/ 1700 | 900/ 2200 3 1400 2900 /3500 2500 /3000
5 2900 2050 | 2700/ 1500 | 2300/ 1500 | 950 /800 4 1600 2500/ 2000 2100/ 1700
7 3700 | 3050 |3500/1900|3000/1900| 1250 5 2050 2700 / 1500 2300/ 1500
9 4000 | 3300 |2900/3500 |2500/3000| 2100 7 3050 3500/ 1900 3000/ 1900
10 - 4000 |4000/3500| 3500 | 2500/ 3200 9 3300 2900 / 3500 2500 / 3000
12 3300 | 3300 |2900/3500|2500/3000| 2100 10 4000 4000/ 3500 3500
15 3300 3300 2900 / 3500 | 2500 / 3000 2100 12 3300 2900 / 3500 2500 / 3000
16 3500 3500 3100 2800 2400 15 3300 2900 / 3500 2500 / 3000
20 3500 3500 3200 3000 2900 16 3500 3100 2800
25 3500 | 3500 3200 3000 2900 20 3500 3200 3000
28 3500 | 3700 3500 3500 3000 5 3500 500 3000
30 - 4000 4000 3500 3000 5 3700 =0 30
35 3700 | 4000 3500 3000 3000 o 2000 2000 =00
36 | 4000 - - - - 35 4000 3500 3000
40 - 4000 4000 3500 3000
s 2065 — — — — 40 4000 4000 3500
50 - 4000 4000 3500 3000 0 4000 4000 3500
70 - 4000 4000 3500 3000 70 4000 4000 3500
a1 4000 - - - = 100 4000 4000 3500
100 | - | 4000 | 4000 3500 3000 i KR 010 KR 020 KR 030 KR 040
i LCK 050 LCK 070 | LCKO090 | LCK120 | LCK 155 1 1200 1200 1000 800
LCK 070P | LCK 090P | LCK 120P | LCK 155P
6 2400 2400 2400 2000 1600 2 2400 2400 2000 1600
8 2400 2400 2400 2000 1600 3 3000 3000 2800 2500
10 2400 2400 2400 2000 1600
14 2400 2400 2400 2000 1600
20 - 2400 2400 2000 1600
24 2400 2400 2400 2000 1600
30 2400 2400 2400 2000 1600
50 2400 2400 2400 2000 1600
70 2400 2400 2400 2000 1600
80 - 2400 2400 2000 1600
90 2400 - - - -
100 - 2400 2400 2000 1600




V474

Load diagram

m=sm Mo Output torque

Speed diagram

v 2@
= N Output speed /

M)

Mz(2)

Ma(s)

[s]

N22)

N2(1)

Nz(3) = 0.5 ¢ nyp)

D

‘ E
Estimate ratioi | @

Select a smaller NO
ratio

0

YES

Define M2 equ (®)

Define n2equ ©

Select gear unit

Select a Define fn «@
bigger unit
Select a VES
smaller ratio

NO
©

0

YES

ED% < 60%
and ED< 20 min

ED% > 60%
or ED >20 min

@

S1 duty

NO
YES

S5 duty Define fz )

Limit motor torque or
select a bigger unit

NO

Select a
bigger unit

i

Define M1 peak

e

j

Define M1 peak [0}

Mipeak i -n € Ma: Mzpeak - i - fz -n S Ma:
YES YES

NO

YES

Check the external
forces on output shaft

Limit motor torque or
select a bigger unit

NO




1.3 SERVICE LIFE OF BEARINGS

q//4

X X
R2
R2
Solid Flanged
Shaft Shaft
+ y + y
Az A2
@ Maximum radial force applying on output shaft Rz wmax [N] Please consider the specific conditions
Maximum axial force applying on output shaft Az max [N] (e.g. belt drives under acceleration torque)
) . . Rowmax - (X +L7) * Apwax- Y
(b) | Maximum tilting moment applying on output shaft Mt 2 max [Nm] Mo max = 1000
3
Na)| "t " |Ra + ... + N2 “tn " [R2
R2 Equ [N] R2Eou _3 | ( )| | ( )| | (n)| | (n)|
. . |n2(1)| Lt |n2(n)| 1
© Equivalent forces applying
on output shaft 3 PN
Az EQU [N] A _i/ |n2r1\| b IAzml ..t L12{m| ty | 2(m|
2EY )t + -+ oot
) o ) Rogou . (X+Lz7) + Aseou- Y
(d) | Equivalenttilting moment applying on output shaft ~ Mt 2 equ [Nm] Mr2eQu = 1000
Ny [t H M| G|+ + Ny |4,
e) | Equivalent output speed n min-t NzEQU =
) | Eq put sp 2EQU [min-1] Lttt +1,
_ 16666 ( Cs
(f) | Bearings' basic rating life Lion il Lion = .
MNequ | Mr2eqQU
TQ/TQK 060 TQ/TQK 070 TQ/TQK 090 TQ/TOK 130 | TQ/TQK 160
SB B HB B HB SB SB
Lz (mm] 56 67 64 9% 89 % 114
MT2max  [Nm] 129.5 221 343 592 772 1233 2331
Cs [Nm] 632 1065 1510 2898 3325 6395 9795
p — 3 3 3.33 3 3.33 3.33 3.33
TOF 060 TQF 070 TOF 090 TOF 130 TOF 160
Lz mm) 48 72 78 100 128
MT2max  [Nm] 115 318 430 1200 3700
Ce (Nm) 490 1335 1815 5055 16200
p - 3.33 3.33 3.33 3.33 3.33
TR 053 TR 060 TR 080 TR 105 TR 130 TR 160 TR 190
SB SB SB SB SB SB SB
Lz [mm] 22 23 42 53 74 94 100
MT2max (N 16 23 155 278 515 739 1683
Cs [Nm] 91 143 994 2048 3893 5824 8680
p — 3 3 3.33 3.33 3.33 3.33 3.33
MP 053 MP 060 MP 080 MP 105 MP 130 MP 160 MP 190
SB SB SB HB SB HB SB SB SB
Lz [mm] 22 23 a4 42 46 53 74 94 100
MT2max  [Nm] 16 23 83 155 99 278 515 739 1683
Cs Nm] 91 143 407 994 637 2048 3893 5824 8680
p — 3 3 3 3.33 3 3.33 3.33 3.33 3.33
TQFE 060 TQFE 070 TQFE 090 MPE 040 MPE 060 MPE 080 MPE 120
TQFEK 060 | TQFEK 070 | TQFEK 090 MPEK 060 |MPEK 080 |MPEK 120
Lz [mm] 21 34 44 Lz [mm] 16 23 31 37
MT2max  [Nm] 70 280 650 MT2max  [Nm] 6 17 44 124
Cs N 14 57 125 Cs (Nm] 29 80 213 615
p — 3 3 3 p — 3 3 3 3
LC/LCK 050 LC/LCK/SL 070 LC/LCK/SL 090 LC/LCK/SL 120 LC/LCK 155
Lz ] 22 28 30 39 46
MT2max  [Nm] 15 54 105 238 522
Cs [Nm] 106 280 298 813 1588
p — 3 3 3 3 3




V474

10

Define Ramax and A avax (@)
Select a
bigger unit
Calculate Mramax (b)
Select a
bigger unit
NO
YES
Define R2equ and A 2equ ©
Please
contact us
NO A 2EQU < f
R2EQu
YES
Calculate M2equ @
e
Define nzequ ®
Calculate lifetime Lion
Select a
bigger unit
NO
I—1Oh > Lth TARGET
YES
Calculation of bearings
lifetime complete
TQ TQFE LC
f TOK TQF TR MP TQFEK SL o MPE | MPEK KR
0.26 | 060 SB ... 090 SB 053 SB ... 060 SB | 053 SB ... 105 SB | 060 ... 090 | 070 ... 120 | 050 ... 155 | 040 ... 120 | 060 ... 120 | 010 SB ... 040 SB
037 | 1B0SB 160SB |0y 160! 080sB ... 190 5B | 130 SB ... 190 SB 020 HB ... 040 HB

070 HB ; 090 HB

080 HB ; 105 HB




Performance Line

Main benefits

= Maximum power density

= High precision

= High overload capacity

= Optional reinforced bearings for
high axial and radial forces

= Best choice for servo applications
requiring high dynamics and
high level of precision

= Great flexibility thanks to
universal design

= Quiet operation

TQ Series

Main features
= Nominal output torque (Nm)

20-800

= Torsional backlash (arcmin)

= Torsional stiffness (Nm/arcmin)

4.7-170

= Max tilting moment (Nm)

129.5-2331

Protection class

* P65

Frame sizes
< 060

- 070
{0 130

- [55) 160

Main options
= Input versions

[Pk

WITHOUT
MOTOR MOTOR
ADAPTER ADAPTER

= Qutput shafts versions

= [

SMOOTH
KEYLESS KEYED
SHAFT SHAFT

= Service type

S1 S5

« Lubrication

UHL n.

) e Lo} ]
ORCY | oR%e
STANDARD | FOOD GRADE

LUBRICATION | LUBRICATION

= Bearings versions
228 gt
©  ©

STANDARD | REINFORCED

(P)

The TQ series scores in each performance category: high torque
density, high overload capacity, exceptional precision and low
vibration. TQ is particularly suited for the highly demanding
requirements of servo systems, such as fast dynamics and
frequent reverse motion, precise position, motion control and high
numbers of starts and stops.

Lz

11




14//4

2 FEATURES OF TQ SERIES

Low backlash planetary drives of TQ series combine outstanding performances with a distinctive Italian style which makes them imme-
diately recognizable amongst similar products within the reference industry.

Their design and construction has been developed with the goal of offering consumers a line of products which feature absolute and
consistent Quality, which in turn provides a competitive advantage for machines and systems that adopt them as transmission devices.

« features two classes of precision, corresponding to the following values of torsional backlash
1-stage units: standard ¢s <3’ reduced Qr<2' (s <4’; dr <2 for TQ 060 and TQ 070)
2-stage units: standard ¢s <5 reduced Or <3’ (s < 6’; Pr < 4’ for TQ 060 and TQ 070)
+ high IP rating (IP65) provides inner parts with protection against the ingress of dust and liquids.
+ section oil seals made from a Fluoroelastomer compound are supplied as standard.
» e pressure level 60 < L, < 70 dB(A). Conditions: distance 1 m ; measured without load and an input speed of n; = 3000 min-1; i = 10.
» s adapters allow matching the most popular brands of servomotors.

» noptimized for the type of duty specified when ordering.
In the absence of contamination the lubricant requires no periodical changes.

duty TQ 060 ... TQ 160 output seals
S1 (continuous) Synthetic oil viscosity ISO VG 220 Fluoroelastomer
S5 (intermittent) NLGI grease consistency 00 NBR

+ temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.
* g temperature must not exceed Tmax = 90°C.

Distribution of nominal torque Mn2 [Nm]
\ M| 3| 4 | 5 | 7| 10| 16| 2| 25 | 28| 35| 4 | 5 | 70 | 100
TQO60 | 21 30 30 25 20 30 30 30 30 30 30 30 25 20
TQO70 | 45 70 70 60 40 70 70 70 70 70 70 70 60 40
TQO90 | 130 | 200 | 180 | 160 | 110 | 200 | 180 | 180 | 200 | 180 | 200 | 180 | 160 | 110
TQ 130 | 260 | 400 | 400 | 360 | 280 | 400 | 400 | 400 | 400 | 400 | 400 | 400 | 360 | 280
TQ 160 | 530 | 800 | 800 | 750 | 550 | 800 | 800 | 800 | 800 | 800 | 800 | 800 | 750 | 550

Output shaft max. loading capacity Available motor shaft diameters
N
16000 7
15000
T
14000 Q 160
13000
12000
TQ 130
10000
%000 |
8000
8000 . TQ 090
6600
6000 5900 n i 4
= TQ 070
4200 4300
4000 — 30 7 , o
2600 2300
2000 | 1850 1650 a a ] o ]
[ e
0
TQO060SB TQ070SB TQO070HB TQO090SB TQO090HB TQ130SB TQ 160 SB 6 9 11 1 19 2 28 2 38 2 8
[ R2 max B A2 max g [mm]

12



21 ORDERING CODE

TQ 130 1 3 STD 80A3 CD

— REDUCTIONS
1 2

— FRAME SIZE
060 070 090 130 160

_— SERIES
TQ

CD

— MOTOR COUPLING

clamping device

UH1 food grade synthetic lubricant

19 S5 SB KL UH1
L LUBRICANT
— standard
L— OUTPUT SHAFT
CONFIGURATION
KL smooth keyless shaft
KE keyed shaft
— OUTPUT SHAFT BEARINGS
SB standard
HB reinforced (TQ 070 - TQ 090)
— DUTY
S1 continuous duty
S5 intermittent duty
— INPUT SHAFT BORE
6...48

— INPUT SECTION
30A ... 230A motor adapter
FM without motor adapter
— BACKLASH
1 reduction 1 reduction 2 reductions 2 reductions
(TQO60, TQO70 only) (TQO60, TQO70 only)
STD Ps<3 Ps<4a Pps<5 Ps<6
Low Pr<2 dr=2 Pr<3 dr=4
— GEAR RATIO

Lz

13



14//4

2.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

TQ 060

138
N5 66 48
N3 6 |18 28 N4
5 ho 2
&/ ([ & ’E ' & 25 2 &
v -= ¥
iU el =
IH } Wi 24 N T o
i T S [ g |° |TQO0601 | 25
— X
Y 5 }/ 8| 9
= = s
062 5
79
@68
177
N5 105 48
N3 N4
Ul |
z T N “7‘ &
8|2 { JL |TQ0602 | 35
L |
D| { J N N1 N2 N3 N4 N5 Lmax
30A 6 = = = = 30 46 80 35 M4x10 24 40
40B1 6 9 11 14 - 40 63 80 35 M4x10 24 40
50A1 6 9 11 14 = 50 60 80 4.0 M4x10 24 40
50C1 6 9 11 14 - 50 70 80 4.0 M4x10 24 40
60A2 6 9 11 14 19 60 75 80 40 M5x12 24 40
70B1 6 9 11 14 19 70 90 80 4.0 M5x12 24 40
80A1 6 9 11 14 19 80 100 100 40 M6x14 24 40
95A 6 9 11 14 19 95 115 100 4.0 M8x24 24 40
110B0 6 9 11 14 19 110 145 120 4.0 M8x24 24 40

Please contact us for different motor adapters and input shaft bore.

14




14//4

L1
L2
£l
m M, (=
ol 9 l————

FM o a 19 ﬁ

a s Sl ! w

7 06 &

L4
@ D3
D ({ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 37 59 72 M5x11 M4 315 155 4.5 10.5 8

9 49 59 72 M5x11 M5 35 19 4.5 115 10.5
11 49 59 72 M5x11 M6 35 19 4.5 115 125
14 49 59 72 Mb5x11 M6 35 19 4.5 115 14.5
19 54 59 72 M5x11 M6 &5 19 4.5 115 16.5

TQO0601 5

TQ060 1 7

TQ 060 1_10

TQ 060 2_16

TQ 060 2_20

TQ 060 2_25

TQ 060 2_28

TQ 060 2_35

TQ 060 2_40

TQ 060 2_50

TQ 060 2_70

TQ 060 2_100

(I)S (I)R R2max | A2 max
<

Nml (Nl Nm] [mind] [mint]  faemin) RSN N

15



1Y//4

TQ 070

50C ... 130A
163.5 min
173.5 max
N5 79.5 56
N3 7 [175 36 N4

ek
!

@_)}-m z| B — 1]| o)
Sy Slg { s TQO0701 | 36

%
I\
£
L
M8x19
@ 22 k

96.5 . @ N1

198.5

N5 118.5 56
N3 N4

TQO0702 | 50

B DEF7

D] { \i _,J N N1 N2 N3 N4 N5 L max
TQ 0701
50C2 6 9 11 14 — - 50 70 100 6.5 M4x12 28 50
60A3 6 9 11 14 19 - 60 75 100 6.5 M5x14 28 50
70B2 6 9 11 14 19 - 70 90 100 6.5 M5x14 28 50
80A2 6 9 11 14 19 - 80 100 100 6.5 M6x14 28 50
95A1 6 9 11 14 19 24 95 115 100 6.5 M8x18 28 50
110A1 6 9 11 14 19 24 110 130 120 6.5 M8x18 28 50
110B1 6 9 11 14 19 24 110 145 120 6.5 M8x20 38 60
130A 6 9 11 14 19 24 130 165 140 6.5 M10x19 28 50
30A 6 - — - — - 30 46 80 35 M4x10 24 40
40B1 6 9 11 14 - - 40 63 80 35 M4x10 24 40
50A1 6 9 11 14 - - 50 60 80 4.0 M4x10 24 40
50C1 6 9 11 14 - - 50 70 80 4.0 M4x10 24 40
60A2 6 9 11 14 19 - 60 75 80 4.0 M5x12 24 40
70B1 6 9 11 14 19 - 70 90 80 4.0 M5x12 24 40
80A1 6 9 11 14 19 - 80 100 100 4.0 M6x14 24 40
95A 6 9 11 14 19 - 95 115 100 4.0 M8x24 24 40
110B0O 6 9 11 14 19 - 110 145 120 4.0 M8x24 24 40

Please contact us for different motor adapters and input shaft bore.

16



y//4

L1
L2
£l
n
[aN]
= q - K
FM A ISE
QQD
L4
D[ {£ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
TQ 070 1
6 51 70 85 M6x11 M4 42 20 5 12.5 12.5
9 51 70 85 M6x11 M5 42 20 5 12.5 14.5
11 51 70 85 M6x11 M6 42 20 5 125 12.5
14 51 70 85 M6x11 M6 42 20 5 12.5 14.5
19 51 70 85 M6x11 M6 42 20 5 12.5 16.5
24 60 70 85 M6x11 M6 43.5 215 5 12.5 19
6 37 59 72 M5x11 M4 315 155 45 10.5 8
9 49 59 72 M5x11 M5 35 19 45 11.5 10.5
11 49 59 72 M5x11 M6 35 19 45 11.5 12.5
14 49 59 72 M5x11 M6 35 19 45 11.5 14.5
19 54 59 72 M5x11 M6 35 19 45 11.5 16.5

SB HB Jo [kgecm?]
Maz Mp2 N1 Nimax ¢S ¢R Ct R2max Azmax R2max Azmax 1
<

Nm

et | LM (N] [N] [Nl %

TQ0701 7

TQ 0701 10

TQ 0702 16

TQ 0702 20

TQ 070 2_25

TQ 070 2_28

TQ 0702 35

TQ 0702 _40

TQ 070 2_50

TQ 0702 70

TQ 070 2_100

17



TQ

1Y//4

T0Q 090

60A4 ... 180A1

223 min
243 max
N5 97 88
N3 10 |27 58 "
10 ho 3
o 1&7 T I & _—-‘—_‘_ T
& +w 0 14
: : — o)
Wens e ==
I I 8 g f s [TQo901 | 76
— 2
s X
% [ S
— s
0101 8
122
@ 120
254.5 min
264.5 max
N5 1385 88
s . O 0
N~ 1 I
s o 5=.+ — @ 2| [1Qo2 | 89
Lt E =+ 4
N2
@ N1
Dﬁ@ N N1 N2 N3 N4 N5 Lmax
TQ 090 1
60A4 1 14 19 - - - - 60 75 125 6.5 M5x14 38 60
80A3 11 14 19 - - - - 80 100 125 6.5 M6x14 38 60
95A2 11 14 19 24 28 - - 95 115 125 6.5 M8x18 38 60
110A2 11 14 19 24 - - - 110 130 125 6.5 M8x20 38 60
110B1 1 14 19 24 28 - - 110 145 125 6.5 M8x20 38 60
130A1 11 14 19 24 28 32 - 130 165 140 6.5 M10x20 38 60
180A 1 14 19 24 28 32 - 180 215 190 6.5 M14x38 38 60
180A1 11 14 19 24 28 32 38 180 215 190 6.5 M14x28 58 80
50C2 11 14 - - - - - 50 70 100 6.5 M4x12 28 50
60A3 11 14 19 - - - - 60 75 100 6.5 M5x14 28 50
70B2 11 14 19 - - - - 70 9 100 6.5 M5x14 28 50
80A2 11 14 19 - - - - 80 100 100 6.5 M6x14 28 50
95A1 11 14 19 24 - - - 95 115 100 6.5 M8x18 28 50
110A1 1 14 19 24 - - - 110 130 120 6.5 M8x18 28 50
110B1 1 14 19 24 - - - 110 145 120 6.5 M8x20 38 60
130A 1 14 19 24 - - - 130 165 140 6.5 M10x19 28 50

Please contact us for different motor adapters and input shaft bore.

18



L1
L2 D4
L3 N

()

0 <,

[N/ —1 Ll | [ L °

. 2 o Yl
FM o Q S} ﬁy
o2
Ll 20>
@ D3
D D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
Q 090
11 51 % 115 M8x13 M6 50 28 6.5 205 145
14 51 % 115 M8x13 M6 50 28 6.5 205 145
19 51 % 115 M8x13 M6 50 28 6.5 205 165
24 60 % 115 M8x13 M6 515 295 6.5 205 19
28 72 % 115 M8x13 M8 515 295 6.5 205 225
32 72 2 115 M8x13 M8 515 295 6.5 205 245
38 80 9 115 M8x13 M8 515 32 6.5 205 28
TQ 090 2

6 51 70 85 M6x11 M6 42 20 5 125 125
9 51 70 85 M6x11 M5 42 20 5 125 145
11 51 70 85 M6x11 M6 42 20 5 125 125
14 51 70 85 M6x11 M6 42 20 5 125 145
19 51 70 85 M6x11 M6 42 20 5 125 165
24 60 70 85 M6x11 M6 435 215 5 125 19

TQ090 1 3
TQ090 1 4
TQ0901 5
TQ0901 7
TQ 090 1_10
TQ 090 2_16
TQ 090 2 20
TQ 0902 25
TQ 090 2 28
TQ 0902 35
TQ 090 2_40
TQ 090 2_50
TQ 090 2_70
TQ 090 2_100

Mp 2

[Nm] [min] [min1] [arcmin] grame

N1 N1max (I)S (I)R Ci

<

SB

RZ max A2 max

N]

N]

HB

RZ max A2 max

N]

N]

Jg [kgem?]

14-19 24

28

32-38

19



1Y//4

TQ 130

TQ

80A3 ... 200A
270.5 min
326.5 max
N5 117.5 112
N3 12 |27 8 N4
12h9 3
Y~ i — “_70 6
& +\<& \ K
LX <= o S [ B
!- }%}-J_ﬂ’) zZ|* > ( /|
i %’ I~y S|g { A (TQ1301 | 156
— :
N g [ g
— =
0141 8
154
@ 165
60A4 ... 180A1
318.5 min
338.5 max
N5 168.5 112
N3 N4
] . T T
= $ F/? X
pzd e o W O Y s I O SO I || | _ X im B &
8lg : #; Z [TQ1302 | 191
. AN | ~/ /R
L = %
N2
@ N1
D| { N N1 N2 N3 N4 N5 L max
TQ 130 1
80A3 14 19 - - - - - 80 100 155 6.5 M6x14 41 60
95A2 14 19 24 28 - - - 95 115 55 6.5 M8x18 41 60
110A2 14 19 24 - - - - 110 130 155 6.5 M8x20 41 60
110B1 14 19 24 28 - - - 110 145 155 6.5 M8x20 41 60
130A1 14 19 24 28 32 - - 130 165 155 6.5 M10x20 41 60
180A 14 19 24 28 32 - - 180 215 190 6.5 M14x28 41 60
180A1 14 19 24 28 32 38 - 180 215 190 6.5 M14x28 61 80
200A 14 19 24 28 32 38 42 200 235 220 6.5 M14x28 97 110
60A4 14 19 — — - — — 60 75 125 6.5 M5x14 38 60
80A3 14 19 - - - - - 80 100 125 6.5 M6x14 38 60
95A2 14 19 24 28 - - - 95 115 125 6.5 M8x18 38 60
110A2 14 19 24 - - - - 110 130 125 6.5 M8x20 38 60
110B1 14 19 24 28 - - - 110 145 125 6.5 M8x20 38 60
130A1 14 19 24 28 32 - - 130 165 140 6.5 M10x20 38 60
180A 14 19 24 28 32 - - 180 215 190 6.5 M14x38 38 60
180A1 14 19 24 28 32 38 - 180 215 190 6.5 M14x28 58 80

Please contact us for different motor adapters and input shaft bore.

20



L1
L2
B
N © | ¥ c—
FM — q - IeH
a IS
e m
L4
D| ¢ Al D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
TQ 130 1
14 22° 54 120 140 M10x16 M6 50 31 7.5 235 16.5
19 22° 54 120 140 M10x16 M6 50 31 7.5 235 16.5
24 22° 70 120 140 M10x16 M6 515 325 75 235 19
28 22° 70 120 140 M10x16 M8 5l 5 325 7.5 235 225
32 22° 72 120 140 M10x16 M8 515 325 75 235 245
38 22° 100 120 140 M10x16 M8 54 35 7.5 235 28
42 22° 114 120 140 M10x16 M10 51.5 38.5 75 235 33
TQ 1302
11 30° 51 90 115 M8x13 M6 50 28 6.5 20.5 14.5
14 30° 51 90 115 M8x13 M6 50 28 6.5 20.5 145
19 30° 51 90 115 M8x13 M6 50 28 6.5 20.5 16.5
24 30° 60 90 115 M8x13 M6 5l B 295 6.5 20.5 19
28 30° 72 90 115 M8x13 M8 515 29.5 6.5 20.5 225
32 30° 72 90 115 M8x13 M8 Eiil® 29.5 6.5 205 245
38 30° 80 90 115 M8x13 M8 51.5 32 6.5 20.5 28

Jg [kgem?]
N1 Nimax (I)S (I)R Ct R2max Azmax M
<

: Nm -
[min-Y] [min-Y]|[arcmin]| zremin | [N]  [N] % 14  19-24 28-32 38

TQ1301 3

TQ1301 4

TQ1301 5

TQ1301 7

TQ 1301 10

TQ 1302 16

TQ 1302 20

TQ1302 25

TQ 1302 28

TQ 1302 35

TQ 1302 40

TQ 130 2_50

TQ 1302 70

TQ 130 2_100 [wsie)

21



1Y//4

TQ 160

95A2 ... 230A
303.5 min
(of 349.5 max
- N5 1415 112
N3 15_ |27 82 N4
3
ST & —] “_70 6
¢ /f X | — &
H 2 LT P I e o [ P o N
- %%ﬂ 11 T E O | s S < [1Que01 [ 297
Y §_/ 8l
L - =l 9
0182 8
203
@ 215
356 min
412 max
N5 203 112
N3 N4
- . T O T
= & ﬁ? \§
ot e l— (e A
Z|w on S I s I O R 0 I IO _ i S
S| & {Er E : | = [TQ1602 | 374
F N ! AN :; :
L i - %
N2
@ N1
Dﬁ@ N N1 N2 N3 N4 N5 | Lmax
TQ 160 1
95A2 19 24 28 - - - - %5 115 | 205 65 | M8x20 50 60
110A2 19 24 - — - - - 110 | 130 | 205 65 | M8x20 50 60
130A1 19 24 28 32 - - - 130 | 165 | 205 65 | M10x20 | 50 60
180A 19 24 28 32 - - — 180 | 215 | 205 65 | M14x28 | 50 60
180A1 19 24 28 32 38 - - 180 | 215 | 205 65 | M14x28 | 60 80
200A 19 24 28 32 38 42 48 | 200 | 235 | 220 65 | M14x28 | 96 110
230A 19 24 28 32 38 42 48 | 230 | 265 | 240 65 | M14x28 | 96 110
TQ 160 2
80A3 19 - - - - - - 80 100 | 155 65 | M6xl4 41 60
95A2 19 24 28 - - - - 95 115 | 155 65 | Msxi8 41 60
110A2 19 24 - - - - - 110 | 130 | 155 65 | M8x20 41 60
110B1 19 24 28 - — - — 110 | 145 | 155 65 | M8x20 41 60
130A1 19 24 28 3R - - - 130 | 165 | 155 65 | M10x20 | 41 60
180A 19 24 28 3R - — — 180 | 215 | 190 65 | M14x28 | 41 60
180A1 19 24 28 32 38 - - 180 | 215 | 190 65 | M14x28 | 61 80
200A 19 24 28 32 38 42 - 200 | 235 | 220 | 65 | M14x28 | 97 110

Please contact us for different motor adapters and input shaft bore.

22




TQ 160

14//4

L1

L2 D4

L3 T i
I N
g 2 /NI T
FM = g - I )
a Q ] QQ
j

7 g m \K_j

\

L4 y

@ D3
D <~ Al D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
TQ 160 1
19 30° 58 150 175 M12x20 M6 47 37 95 28 19
24 30° 58 150 175 M12x20 M6 47 37 95 28 19
28 30° 70 150 175 M12x20 M8 47 37 95 28 225
32 30° 72 150 175 M12x20 M8 47 37 95 28 245
38 30° 100 150 175 M12x20 M8 59.5 395 95 28 28
42 30° 114 150 175 M12x20 M10 57 43 95 28 33
48 30° 125 150 175 M12x20 M12 57 43 95 28 36.5
TQ 160 2

14 22° 54 120 140 M10x16 M6 50 31 75 235 16.5
19 22° 54 120 140 M10x16 M6 50 31 75 235 16.5
24 22° 70 120 140 M10x16 M6 51.5 325 75 235 19
28 22° 70 120 140 M10x16 M8 51.5 325 75 235 225
32 22° 72 120 140 M10x16 M8 515 325 75 235 245
38 22° 100 120 140 M10x16 M8 54 35 75 235 28
42 22° 114 120 140 M10x16 M10 51.5 385 75 235 33

\
|
‘ TQ1601 3

‘ TQ 160 1_4

‘ TQ 1601 5

‘ TQ 1601 7

‘ TQ 160 1_10
TQ 160 2_16

‘ TQ 160 2_20

‘ TQ 160 2 25

‘ TQ 160 2 28

‘ TQ 160 2_35

‘ TQ 160 2_40

‘ TQ 160 2_50

‘ TQ 160 2_70

‘ TQ 160 2_100

Maz Mp2| N1 |Nimax| Os| Or Ct ‘
<

(Nm]

(Nm]

[min-1] | [min-1] [arcmin]

Nm
arcmin

Jg [kgem?]

24-28 32-38

42

13000
800 | 1200 | 2000 | 1500 | 3500 | 3' | 2' | 170 |15000{13000| 97 - 18.03 | 18.44 | 21.33 | 34.44
800 | 1200 | 2000 | 1800 | 3500 | 3' | 2' | 170 |15000(13000| 97 - 11.76 | 1217 | 15.06 | 28.17
750 | 1150 (2000 | 2500 | 3500 | 3' | 2' | 170 {15000|13000| 97 - 9.27 9.68 12.58 | 25.68
550 | 850 1600 | 2500 | 3500 | 3' | 2' | 170 |15000{13000| 97 - 7.05 7.46 10.35 | 23.46
800 | 1200 | 2000 | 2800 | 3500 | 5' | 3' | 170 [15000(13000| 94 | 6.52 7.05 7.77 13.77 -
800 | 1200 | 2000 | 2800 | 3500 | 5' | 3' | 170 [15000(13000| 94| 6.16 6.69 741 13.41 -
800 | 1200 | 2000 | 2800 | 3500 | 5' | 3' | 170 [15000(13000| 94 | 4.81 5.34 6.06 12.06 -
800 | 1200 | 2000 | 2800 | 3500 | 5' | 3' | 170 [15000(13000| 94 | 3.77 4.30 5.02 11.02 -
800 | 1200 | 2000 | 2800 | 3500 | 5' | 3' | 170 [15000(13000| 94| 3.65 4.18 4.90 10.90 -
800 | 1200 | 2000 | 2800 | 3500 | 5' | 3' | 170 [15000(13000| 94 | 3.05 3.57 4.30 10.30 -
800 | 1200 | 2000 | 2800 | 3500 | 5' | 3' | 170 [15000(13000| 94 | 2.99 3.52 4.24 10.24 -
750 | 1150 | 2000 | 3000 | 3500 | 5' | 3" | 170 |[15000{13000| 94 | 2.97 3.50 4.22 10.22 -
550 | 850 |1600 | 3000 | 3500 | 5' | 3" | 170 |[15000{13000| 94 | 2.95 3.48 4.20 10.20 -

23




Lz

Performance Line (P)

TQK Series

The TQK right-angle series represents the ideal solution for issues
of space saving, while maintaining the same top performance
levels of the TQ inline series.

This series is particularly suited for the highly demanding
requirements of servo systems, such as fast dynamic response,
frequent reverse motion, precise position, motion control and high
number of starts and stops.

TQK

Main features Main options
= Nominal output torque (Nm) = Input versions

= Highest installation flexibility [:b:l D

= Optional reinforced bearings for

Main benefits

high axial and radial overload = Torsional backlash (arcmin) oToR. ﬁé‘ﬁﬁ
forces [ 4-8 |
= Quiet operation . . . = Output shafts versions
S Compact design for space-saving = Torsional stiffness (Nm/arcmln) [] | [] |
layouts 4.3-167
- Great flexibility thanks to SMOOTH
= Max tilting moment (Nm) SHCES SHAFT

universal design

129.5-2331

= Service type

Protection class
- IP65 st s5

« Lubrication

Frame sizes 8 UKL n
" s o
SHOY | {oRos
- 060 & )
STANDARD FOOD GRADE
o [i5 070 LUBRICATION | LUBRICATION
. = Bearings versions
228 gt
o e | O
STANDARD REINFORCED
. 160

24



TQK

3

FEATURES OF TQK SERIES

14//4

Low backlash bevel-planetary drives of the TQK series are the solution to space problems often posed by increasingly compact machines.
TQK drives combine high levels of dynamic operation with top precision, which results in great accuracy and repeatability for any positio-
ning mechanism in which they are installed.
On top of their robustness and dependability TQK drives also feature a distinctive Italian style that makes them clearly recognizable
amongst like products within the reference industry.

® TQK features two classes of precision, corresponding to the following values of torsional backlash

2-stage units: standard ¢s < 5’; reduced ¢r < 4’ (s < 6’; Or < 5’ for TQK 060 and TQK 070)
3-stage units: standard ¢s < 7’; reduced Qr < 6’ ({s < 8'; dr < 7’ for TQK 060 and TQK 070)

® Ahigh IP rating (IP65) provides inner parts with protection against the ingress of dust and liquids.

® Input section oil seals made from a Fluoroelastomer compound are supplied as standard.

® Noise pressure level 60 < L, < 70 dB(A). Conditions: distance 1 m ; measured without load and an input speed of n; = 3000 min-1; i = 20.

® Numerous adapters allow matching the most popular brands of servomotors.

® Lubrication optimized for the type of duty specified when ordering, in the absence of contamination the lubricant requires no periodical
changes.

duty

TQK 060 ... TQK 160

output seals

S1 (continuous)

Synthetic oil viscosity ISO VG 220

Fluoroelastomer

S5 (intermittent)

NLGI grease consistency 00

NBR

® Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.
® Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque Mn2 [Nm]
\ | 6 8 10 | 14 | 18 | 20 | 24 | 30 | 40 | 50 | 70 | 80 | 100 | 140 | 200
TQK 060 21 28 30 25 21 20 30 30 30 30 30 30 30 25 20
TQKO70 | 45 | 60 | 70 | 60 | 45 | 40 | 70 | 70 | 70 | 70 | 70 | 70 | 70 | 60 | 40
TQK 090 | 110 | 150 | 180 | 160 | 130 | 110 | 200 | 180 | 180 | 180 | 180 | 200 | 180 | 160 | 110
TQK 130 | 255 | 340 | 400 | 360 | 260 | 280 | 400 | 400 | 400 | 400 | 400 | 400 | 400 | 360 | 280
TQK 160 | 420 | 560 | 700 | 750 | 530 | 550 | 800 | 800 | 800 | 800 | 800 | 800 | 800 | 750 | 550

Available motor shaft diameters

Output shaft max. loading capacity
(N]
16000 ]
15000
TQK 160!
14000
13000 |
12000 TQK 130
10000 4
9000
8000
5000 | TQK 090!
6600
6000 590 . | N
4800

4200 4300 TQK 070,

4000 1 - - -

2600 2300
| 1850 1650 N N N N
0 T T
TQK 060 SB TQK 070 SB TQK 070 HB TQK 090 SB TQK 090 HB TQK 130 SB TQK 160 SB 6 9
D RZ max . AZ max

11 1

28 32 38

42

48
@ [mm]

25



Lz

26

3.1

TQK 130 2

ORDERING CODE

25 STD 80A3 CD 19 S5 SB KL UH1

SB standard

— DUTY
S1 continuous duty
S5 intermittent duty

— INPUT SHAFT BORE
6...48

— MOTOR COUPLING

CD clamping device

L LUBRICANT
— standard

UH1 food grade synthetic lubricant

— OUTPUT SHAFT CONFIGURATION
KL smooth keyless shaft
KE keyed shaft

— OUTPUT SHAFT BEARINGS

HB reinforced (TQK 070 - TQK 090)

— SERIES
TOK

— REDUCTIONS
2 3

— FRAME SIZE
060 070 090 130 160

— INPUT SECTION
30A ... 230A motor adapter
FM without motor adapter
— BACKLASH
2 reduction 2 reductions 3reductions 3 reductions
(TQK060, TQKO70 only) (TQK060, TQKO70 only)
STD Ps<5 Ps<6 dps=7 Pps=8
Low Pr<4 Gr <5 Pr<6' Or=7
— GEAR RATIO

TQK




TQK

'4//4

3.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

TQK 060

I N
@ DF7

N3

N
/

A
L
[
H
\TJ
W
]m
+TN

<
o
i 4
Sl AN \@
! Pt
=
5h9
39.5
Al
||
|
|
|
|
|
N
N4
S
S
M5x12.5
@ 16 k6
L @60g6

39.5 84.5 48 N2 5

|TQK 060 2| 4.8

30A ... 110BO

B DF7

N3

N5,

(e

@/ ﬁ%ﬁ—ﬁ ]

211 @ N1 &

|TQK 060 3| 59

39.5

=7
|

«

k\g;\J

D| ¢ j N N1 N2 N3 N4 N5 L rmax
30A 6 - - - - 30 46 80 35 M4x10 24 40
40B1 6 9 11 14 - 40 63 80 35 M4x10 24 40
50A1 6 9 11 14 - 50 60 80 40 M4x10 24 40
50C1 6 9 11 14 - 50 70 80 40 M4x10 24 40
60A2 6 9 11 14 19 60 75 80 40 M5x12 24 40
70B1 6 9 11 14 19 70 o) 80 40 M5x12 24 40
80A1 6 9 11 14 19 80 100 100 40 M6x14 24 40
95A 6 9 11 14 19 95 115 100 40 M8x24* 24 40
110B0 6 9 11 14 19 110 145 120 40 M8x24* 24 40




Y//4

TQK 060

D1

e
o
et
D| {< D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 37 59 72 M5x11 M4 315 155 45 105 8
9 49 59 72 M5x11 M5 35 19 45 115 105
1 49 59 72 M5x11 M6 35 19 45 115 125
14 49 59 72 M5x11 M6 35 19 45 115 145
19 54 59 72 M5x11 M6 35 19 45 115 165

Maz = Mp2 ds Pr
<
[Nm]  [Nm] [min1] [min-] [arcmin]

TQK 060 2_6

TQK 060 2_8

TQK 060 2_10

TQK 060 2_14

TQK 060 2_20

TQK 060 3_18

TQK 060 3_24

TQK 060 3_30

TQK 060 3_40

TQK 060 3_50

TQK 060 3_70

TQK 060 3_80

TQK 060 3_100

TQK 060 3_140

TQK 060 3_200

* through hole. Please contact us for different motor adapters and input shaft bore.

28



Y74

TQK 070

[22]
2
2
P 7 175 36
e g |3 25
AN\l & =1
= 4 X WH 2 Ig
o = A=t - ——@— °
= TN\ 2 g ool
h ) = N glel.
fag—— N & n 2|y
== 2 S
24. 5
o76
9.5
oo &
|TQK 070 2| 59
n
Z.
I W
[oe]
(:l| L:n.l
0 _u |
N
[oe]
; ]
|TQK 0703[ 73
D {;i % N N1 N2 N3 N4 N5 Lmax
TQK 070 2
50C2 6 9 11 14 - - 50 70 100 6.5 M4x12 28 50
60A3 6 9 11 14 19 = 60 75 100 6.5 M5x14 28 50
70B2 6 9 11 14 19 - 70 90 100 6.5 M5x14 28 50
80A2 6 9 11 14 19 - 80 100 100 6.5 M6x14 28 50
95A1 6 9 11 14 19 24 95 115 100 6.5 M8x18 28 50
110A1 6 9 11 14 19 24 110 130 120 6.5 M8x18 28 50
110B1 6 9 11 14 19 24 110 145 120 6.5 M8x20 38 60
130A 6 9 11 14 19 24 130 165 140 65 | M10x19 | 28 50
30A 6 = = = = = 30 46 80 35 M4x10 24 40
40B1 6 9 11 14 - - 40 63 80 35 M4x10 24 40
50A1 6 9 11 14 - - 50 60 80 4.0 M4x10 24 40
50C1 6 9 11 14 - - 50 70 80 4.0 M4x10 24 40
60A2 6 9 11 14 19 = 60 75 80 4.0 M5x12 24 40
70B1 6 9 11 14 19 - 70 90 80 4.0 M5x12 24 40
80A1 6 9 11 14 19 = 80 100 100 4.0 M6x14 24 40
95A 6 9 11 14 19 - 95 115 100 40 | M8x24* 24 40
110B0 6 9 11 14 19 - 110 145 120 40 | M8x24* 24 40

29



14//4

TQK 070

D1

@ D2

L3

FM
N
(e}
-
D {;\( D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 51 70 85 M6x11 M6 42 20 5 12.5 12.5
9 51 70 85 M6x11 M6 42 20 5 12.5 12.5
1 51 70 85 M6x11 M6 42 20 5 125 12.5
14 51 70 85 M6x11 M6 42 20 5 12.5 14.5
19 51 70 85 M6x11 M6 42 20 5 125 16.5
24 60 70 85 M6x11 M6 435 215 5 12.5 19
6 37 59 72 M5x11 M4 315 15.5 45 10.5 8
9 49 59 72 M5x11 M5 35 19 45 115 10.5
11 49 59 72 M5x11 M6 35 19 45 11.5 12.5
14 49 59 72 M5x11 M6 35 19 45 115 145
19 54 59 72 M5x11 M6 35 19 45 115 16.5

Mn2 Maz Mp2| ng

i [Nm] [Nm] [Nm] [min-] [min-]

TQK 0702_6

N1 max

ds bR

[arcmin]

Ct R2 max A2 max RZ max A2 max

Nm -

A (N]

SB

(N]

HB

Jg [kgem?]
S

6-9 11-14 19

24

TQK 0702 8

TQK 070 2_10

TQK 0702 14

TQK 070 2_20

TQK 070 3_18

TQK 070 3 24

TQK 070 3_30

TQK 070 3_40

TQK 070 3_50

TQK 070 3_70

TQK 070 3_80

TQK 070 3_100

TQK 070 3_140

TQK 070 3_200

* through hole. Please contact us for different motor adapters and input shaft bore.

30



TQK

Y74

TQK 090

60A4 ... 180A1

b o

i

-

10 h9

185 min
205 max

N5

86

(1
i)

88

N4

IS

le

@90 g6

M12x28

2 32 k6

ITQK 090 2| 10.0

BN
- 9N
@ DEF7
™
e
n
e ™ K
i )1 |
|
O [~ ]
— | —_ _
QJ—\L |
—
(o
48.25
299.25 &
ITQK 090 3| 117
D J‘\ZJ N N1 N2 N3 N4 N5 Lmax
TQK 090 2
60A4 11 14 19 - - - 60 75 125 6.5 M5x14 38 60
80A3 11 14 19 - - - 80 100 125 6.5 M6x14 38 60
95A2 11 14 19 24 28 - 95 115 125 6.5 M8x18 38 60
110A2 11 14 19 24 - - 110 130 125 6.5 M8x20 33 60
110B1 11 14 19 24 28 - 110 145 125 6.5 M8x20 33 60
130A1 11 14 19 24 28 32 130 165 140 65 | M10x20 | 38 60
180A 11 14 19 24 28 32 180 215 190 65 | M14x38*| 38 60
180A1 11 14 19 24 28 32 180 215 190 65 | M14x28 | 58 80
50C2 11 14 - - - - 50 70 100 6.5 M4x12 28 50
60A3 11 14 19 - - - 60 75 100 6.5 M5x14 28 50
70B2 11 14 19 - - - 70 90 100 6.5 M5x14 28 50
80A2 11 14 19 - - - 80 100 100 6.5 M6x14 28 50
95A1 11 14 19 24 - - 95 115 100 6.5 M8x18 28 50
110A1 11 14 19 24 - - 110 130 120 6.5 M8x18 28 50
110B1 11 14 19 24 - - 110 145 120 6.5 M8x20 38 60
130A 11 14 19 24 - - 130 165 140 65 | M10x19 | 28 50

31



Y//4

TQK 090

4

(o]

-

Nl—=l-
—
D| {< D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
TQK 090 2

11 51 90 115 M9x13 M6 50 28 6.5 20.5 14.5
14 51 90 115 M8x13 M6 50 28 6.5 20.5 14.5
19 51 90 115 M8x13 M6 50 28 6.5 20.5 16.5
24 60 90 115 M8x13 M6 S5 29.5 6.5 20.5 19
28 72 90 115 M8x13 M8 515 29.5 6.5 20.5 225
32 72 90 115 M8x13 M8 5il.5 29.5 6.5 20.5 24.5
11 51 70 85 M6x11 M6 42 20 5 125 125
14 51 70 85 M6x11 M6 42 20 5 125 14.5
19 51 70 85 M6x11 M6 42 20 5 125 16.5
24 60 70 85 M6x11 M6 435 215 5 125 19

SB

HB

n Ja [kgem?]

Ny N1 max (1)3 ¢R Ct R2 max A2 max R2 max A2 max
<

TQK 0902 6
TQK 090 2_8

TQK 090 2_10
TQK 090 2_14
TQK 090 2_20

TQK 090 3_18

TQK 090 3 24
TQK 090 3_30
TQK 090 3_40

TQK 090 3_50

TQK 090 3_70
TQK 090 3_80

TQK 090 3_100 [mksle]
TQK 090 3_140 WSl
TQK 090 3_200 (ko]

* through hole.

32

[min-1] [min-1]

[arcmin]

Arcrme

(N]

Nl NI

Please contact us for different motor adapters and input shaft bore.



TQK

Y74

TQK 130

D DF7
(32}
=z
i of
N 7 12 27 82
1 = _ A3
== 2|5 o —— '
4 = — o
o HEN| ] o Pl T
H > \ QR — 18
i { 2 ~ T S E 1 % ©o|
L o~ ~ N\ / A=
’E\* j’j - - —f \PL_ — ‘_/B‘J g 8 -
43 77 166 112 N2 8 8
0141 355 @ NL
154
2 165 ﬁ
|TQK 130 2] 187
™
=z
n
=z
|
oO|N
AN N - — L 4
- JJL
~ -
61 200 112 &
373
|TQK 130 3] 222
D[ i< N N1 N2 N3 N4 N5 Lmax
TQK 130 2
80A3 14 19 - - - - - 80 100 155 6.5 M6x14 41 60
95A2 14 19 24 28 = = = 95 115 155 6.5 M8x18 41 60
110A2 14 19 24 - - - - 110 130 155 6.5 M8x20 41 60
110B1 14 19 24 28 = = = 110 145 155 6.5 M8x20 41 60
130A1 14 19 24 28 32 - - 130 165 155 6.5 M10x20 41 60
180A 14 19 24 28 32 - - 180 215 190 6.5 M14x28 41 60
180A1 14 19 24 28 32 38 - 180 215 190 6.5 M14x28 61 80
200A 14 19 24 28 32 38 42 200 235 220 6.5 M14x28 97 110
60A4 14 19 - - - - - 60 75 125 6.5 M5x14 38 60
80A3 14 19 - - - - - 80 100 125 6.5 M6x14 38 60
95A2 14 19 24 28 - - - 95 115 125 6.5 M8x18 38 60
110A2 14 19 24 - - - - 110 130 125 6.5 M8x20 38 60
110B1 14 19 24 28 - - - 110 145 125 6.5 M8x20 38 60
130A1 14 19 24 28 32 - - 130 165 140 6.5 M10x20 38 60
180A 14 19 24 28 32 - - 180 215 190 6.5 M14x38 38 60
180A1 14 19 24 28 32 - - 180 215 190 6.5 M14x28 58 80

33



14//4

TQK 130

D1
(j
@ D2
L5
<
\k.l
FM uclAIEE
3 L l =
N 2
| : 1 ‘ ' |
R VRO SRS B & “ _____ H\E
T I | —
pargg i |
D| % Al D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
TQK 130 2 |
14 22° 54 120 140 M10x16 M6 50 31 7.5 235 16.5
19 22° 54 120 140 M10x16 M6 50 31 7.5 235 16.5
24 22° 70 120 140 M10x16 M6 515 325 75 235 19
28 22° 70 120 140 M10x16 M8 S5 325 7.5 235 225
32 22° 72 120 140 M10x16 M8 515 325 7.5 235 24.5
38 22° 100 120 140 M10x16 M8 54 35 7.5 235 28
42 22° 114 120 140 M10x16 M10 51.5 385 7.5 235 33
TQK 130 3 |

14 30° 51 90 115 M8x13 M6 50 28 6.5 20.5 14.5
19 30° 51 90 115 M8x13 M6 50 28 6.5 20.5 16.5
24 30° 60 90 115 M8x13 M6 515 29.5 6.5 20.5 19
28 30° 72 90 115 M8x13 M8 SiLs 29.5 6.5 20.5 225
32 30° 72 90 115 M8x13 M8 515 29.5 6.5 20.5 24.5

TQK 1302 6
TQK 1302 8
TQK 130 2_10
TQK 130 2_14
TQK 1302 20
TQK 130 3_18
TQK 1303 24
TQK 130 3_30
TQK 130 3_40
TQK 130 3_50
TQK 130 3_70
TQK 130 3_80
TQK 130 3_100
TQK 130 3_140
TQK 130 3_200

* through hole.

34

[min-1] [min-1]

¢s  ¢r

<

[arcmin]

Ct

T Mie
nrerni

RZ max A2 max

Jg [kgem?]

IN] | [N] 14 19-24 28-32

38 42

Please contact us for different motor adapters and input shaft bore.



TQK

Y74

TQK 160

95A2 ... 230A
(‘Z')
| 2
" 15_ 27 82
am— g |8 | -3
% V:\{; ol g || -
i+ = 9
i &gz 2 9 8
{ 1 éﬁ < g H SEE
== - . — g1
59 101.5 J 209 112 N2 8 s
0182 4225 @ N1 \
203
o 215 &
|TQK 160 2| 553
80A3 ... 200A
D DF7
2
E :
£ é & v = -
ik 8 & P LA |
o
Bl = s s el
g - KJQ-E_—
— — —
N2
77 251.5 112 & NL
440.5 &
|TQK 160 3| 63
D| i< % N N1 N2 N3 N4 N5 L max
Ak
TQK 160 2
95A2 19 24 28 - - - - 95 115 205 6.5 M8x20 50 60
110A2 19 24 - - - - - 110 130 205 6.5 M8x20 50 60
130A1 19 24 28 32 - - - 130 165 205 6.5 | M10x20 50 60
180A 19 24 28 32 - - - 180 215 205 6.5 | M14x28 50 60
180A1 19 24 28 32 38 - - 180 215 205 6.5 | M14x28 60 80
200A 19 24 28 32 38 42 48 200 235 220 6.5 | M14x28 9 110
230A 19 24 28 32 38 42 48 230 265 240 6.5 | M14x28 9 110
TQK 160 3
80A3 19 - - - - - - 80 100 155 6.5 M6x14 41 60
95A2 19 24 28 - - - - 95 115 155 6.5 M8x18 41 60
110A2 19 24 - - - - - 110 130 155 6.5 M8x20 41 60
110B1 19 24 28 = = = = 110 145 155 6.5 M8x20 41 60
130A1 19 24 28 32 - - - 130 165 155 6.5 | M10x20 41 60
180A 19 24 28 32 = = = 180 215 190 6.5 | M14x28 41 60
180A1 19 24 28 32 38 - - 180 215 190 6.5 | M14x28 61 80
200A 19 24 28 32 38 42 = 200 235 220 6.5 | M14x28 97 110

Please contact us for different motor adapters and input shaft bore.

35



14//4

TQK 160

FM
N
— =4
77777 ‘l’
D| { Al D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
TQK 160 2
19 30° 58 150 175 | M12x20 M6 47 37 95 28 19
24 30° 58 150 175 | M12x20 M6 47 37 95 28 19
28 30° 70 150 175 | M12x20 M8 47 37 95 28 225
32 30° 72 150 175 | M12x20 M8 47 37 95 28 245
38 30° 100 150 175 | M12x20 M8 59.5 395 95 28 28
42 30° 114 150 175 | M12x20 | M10 57 45 95 28 33
48 30° 125 150 175 | M12x20 | M12 57 45 95 28 36.5
TQK 160 3
19 22° 54 120 140 | M10x16 M6 50 31 75 235 165
24 22° 70 120 140 | M10x16 M6 515 325 75 235 19
28 22° 70 120 140 | M10x16 M8 515 325 75 235 225
32 22° 72 120 140 | M10x16 M8 515 325 75 235 245
38 22° 100 120 140 | M10x16 M8 54 35 75 235 28
42 22° 114 120 140 | M10x16 | M10 51.5 38.5 75 23.5 33

R2 max|/A2 max

36

[min-1] [min-1]

[arcmin]

o
i

(N]

N]

24-28 32-38

42

48

TQK 160 2_6 15000

TQK 160 2_8 560 | 840 | 1120|1600 | 4000 | 5 | 4 | 167 [15000{13000] 94 | - | 69.49 | 69.66 |71.73|75.34
(10 dde | 700 | 1050 | 1400 1600 | 4000 | 5' | 4' | 167 |15000[13000( 94 | - | 67.98 | 68.16 |70.22|73.83
(10| 750 | 1150 | 2000 [ 1600 | 4000 | 5' | 4' | 167 |15000[13000| 94 | - | 66.68 | 66.85 |68.92|72.53
o)l ee | 550 | 850 [ 1600 | 1600 | 4000 | 5' | 4' | 167 [15000/13000| 94 | - | 65.94 | 66.12 |68.18|71.80
o)l | 530 | 800 [ 1500|1600 | 4000 | 7' | 6 | 167 |15000{13000| 91 |66.84| 67.17 | 67.34 |69.41| -
(o)l | 800 1200 (2000 | 1600 | 4000 | 7' | 6 | 167 |15000[13000| 91 |66.47| 66.79 | 66.97 |69.03| -
ol dsel el | 800 1200 (2000 | 1600 | 4000 | 7' | 6 | 167 |1500013000| 91 |66.30| 66.63 | 66.80 |68.87| -
(ol | 800 1200 (2000 | 1600 | 4000 | 7' | 6 | 167 |15000[13000| 91 |65.41| 65.73 | 65.91 |67.97| -
(ol dsl=l | 800 1200 (2000 | 1600 | 4000 | 7' | 6 | 167 |15000[13000| 91 |64.99| 65.32 | 65.49 |67.56| -
(1ol | 800 | 1200 [ 2000 | 1600 | 4000 | 7' | 6 | 167 [15000/13000| 91 |64.67| 65.00 | 65.17 |67.24| -
({0l | 800 1200 {2000 | 1600 | 4000 | 7' | 6 | 167 [15000/13000| 91 |64.51| 64.84 | 65.01 |67.08| -
(10l | 800 1200 2000 | 1600 | 4000 | 7' | 6 | 167 [15000/13000| 91 |64.49| 64.82 | 65.00 |67.06| -
(0]l | 750 | 1150 [ 2000 | 1600 | 4000 | 7' | 6 | 167 [1500013000| 91 |64.48| 64.81 | 64.99 |67.05| -
(o)l | 550 | 850 | 1600 | 1600 | 4000 | 7' | 6 | 167 [15000|13000| 91 |64.47| 64.80 | 64.98 |67.04| -




14//4

Performance Line (P)

TQF Series

The TQF series features a standardized and exceptionally compact
flange interface for easy installations.

High tilting moment, high stiffness and overload capacity
characterize this robust gearbox within its product category.

TQF

: : Main features Main options
Main benefits , bt
= Nominal output torque (Nm) = Input versions

= High positioning accuracy
= High compactness [:b:' D
= Easy installation thanks to = Torsional backlash (arcmin) MOTOR Wit

standardized flange design ADAPTER 1 ADAPTER
= Highest overload capacity - Service type
- Great flexibility thanks to = Torsional stiffness (Nm/arcmin) N

universal design C

= Max tilting moment (Nm) st S5

115-3700

 Lubrication

) UHL o,
RS | oot

STANDARD | FOOD GRADE

Protection class

P |P65 LUBRICATION | LUBRICATION
Frame sizes

< 060

<070

- 090

05 130

-1 160

37



Lz

4 FEATURES OF NEW TQF SERIES

Low backlash planetary drives of the TQF series feature a flange on the output shaft and are ideally suited for high positioning accuracy
and highly dynamic cyclic operation.

Their design and construction has been developed with the goal of offering a line of product, which features exceptional performance,
highest level of stiffness, low backlash and compactness.

® TQF features two classes of precision, corresponding to the following values of torsional backlash
1-stage units: standard ¢ps <5’ reduced Qr<3
2-stage units: standard ¢s <7’ reduced pr< 5’
® Ahigh IP rating (IP65) provides inner parts with protection against the ingress of dust and liquids.
® Input section oil seals made from a Fluoroelastomer compound are supplied as standard.
® Noise pressure level 60 < L, < 70 dB(A). Conditions: distance 1 m ; measured without load and an input speed of n; = 3000 min-1; i = 10.

® Numerous adapters allow matching the most popular brands of servomotors.

® Lubrication optimized for the type of duty specified when ordering.
In the absence of contamination the lubricant requires no periodical changes.

duty TQF 060 ... TQF 160 output seals
S1 (continuous) Synthetic oil viscosity ISO VG 220 Fluoroelastomer
S5 (intermittent) NLGI grease consistency 00 NBR

® Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.
® Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque Mn2 [Nm]
\ 1| 4 5 7 | 10 | 16 | 20 | 25 | 28 | 35 | 40 | 50 | 70 | 100
TQF 060 30 30 25 20 30 30 30 30 30 30 30 25 20
TQF 070 70 70 60 40 70 70 70 70 70 70 70 60 40
TQFO090 | 200 | 180 | 160 | 110 | 200 | 180 | 180 | 200 | 180 | 200 | 180 | 160 | 110
TQF 130 | 400 | 400 | 360 | 280 | 400 | 400 | 400 | 400 | 400 | 400 | 400 | 360 | 280
TQF 160 | 800 | 800 | 750 | 550 | 800 | 800 | 800 | 800 | 800 | 800 | 800 | 750 | 550

Output shaft max. loading capacity Available motor shaft diameters
IN]
30000 %
TQF 160
25000
20000 TQF 130
16000
15000 TQF 090
12000
10000 8500
6500 TQF 070
5500
5000 4300 4400 4300
2400
TQF 060
0
TQF 060 TQF 070 TQF 090 TQF 130 TQF 160 6 9 11 14 19 w8 % P
CIR, max WA e o [mm]

38




4.1 ORDERING CODE

TQF 130 1 4 STD 80A3 CD

— REDUCTIONS
1 2
— FRAME SIZE

060 070 090 130 160

— SERIES
TQF

19 S5 UH1

— DUTY
S1 continuous duty
S5 intermittent duty

— INPUT SHAFT BORE
6..38

— MOTOR COUPLING

CD clamping device

— INPUT SECTION
40B1.. .180A1 motor adapter
FM without motor adapter
—  BACKSLASH
1reduction | 2 reductions
STD Ps<5 Ps<7
Low | 9¢rs<3 Pr<5
— GEAR RATIO

L LUBRICANT

— standard

14//4

UHL food grade synthetic
lubricant

TQF

39



14//4

4.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

TQF 060

97 min @ N1
M5x7 (8X) 107 max
4.5 @) N5 43.58 19.5 N2
41T 4 P
4 N~ ¢
1 y
™
_%,8 - /®/ T };\ %
/ & T Q ~ /
] = SEERR I\
\ * Q Q @QQ / &
& b S~ ,/@//d
- ) [TQFo601] 16
4 : — T
2 } N4
/
|
.
135.5 min
145.5 max 2 N1
N5 82 19.5 N2
o
S v ﬂ S
) é
S 1 [TQF 0602 26
N3
D| {< N N1 N2 N3 N4 N5 Lmax
6 9 11 14 - 40 63 80 4 M4x12 34 40
50A1 6 9 11 14 - 50 60 80 4 M4x10 34 40
50C1 6 9 11 14 - 50 70 80 4 M4x10 34 40
60A2 6 9 11 14 19 60 75 80 4 M5x16 34 40
70B1 6 9 11 14 19 70 90 80 4 M5x16 34 40
80A1 6 9 11 14 19 80 100 90 4 M6x16 34 40
95A 6 9 11 14 19 95 115 100 6.5 M8x20 34 40
110B0 6 9 11 14 19 110 145 120 6.5 M8x20 a4 40

Please contact us for different motor adapters and input shaft bore.

40




'y//4

TOF 060

L1
L2
L3 H_
z%h —
N V
— la) I
FM e ST i !
w hi
fa)
= & L1
D5 ) _U
3
L4 [T
- (o]
-
D| {< D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 37 68 76.5 M6x12 M4 315 21 75 16 8
49 68 76.5 M6x12 M5 35 24.5 75 17 10.5
11 49 68 76.5 M6x12 M6 35 24.5 75 17 125
14 49 68 76.5 M6x12 M6 35 24.5 75 17 145
19 54 68 76.5 M6x12 M6 &5 24.5 75 17 16.5

Jg [kgem?]
Mnh2 Ma2  Mp2 Os Or Ci

<
©Nm

: 6-9 11-14 19
arcmin

[Nm]  [Nm] [Nm] | [min-1] | [min-] [arcmin]

TQF 060 1_4

TQF 060 15

TQF 0601 7

TQF 060 1_10

TQF 060 2_16

TQF 060 2_20

TQF 060 2_25

TQF 060 2_28

TQF 060 2_35

TQF 060 2_40

TQF 060 2_50

TQF 060 2_70

TQF 060 2_100

41



4//4

TOQF 070

50C2 ... 130A

128.5 min
138.5 max
N5 64.5 30
12
M6x10 (8x) 5 . @ N1
N2 ‘
~
- I
[ ™ 0 — %\
z| = m 7 1 S //@’ @
{——)¢ sl 8 [ Y g & :
Ny 3 ] 8 /
=7 Ik u 7 . &
&@ % S s N1~ 2% [TQFo701] 44
N3 7 T
@ 50 N4
@ 109
& 118

40B1 ... 110B0O

[ 166.5 min
176.5 max

— j;‘ N5 102.5 30 N

o

g N

gl
=
(&
NG ‘w@jﬁd'/

@D‘F
“
iof

[TQFo0702| 56

Ny L
N4
D| (< N N1 N2 N3 N4 N5 Lmax
TQF 0701

50C2 6 9 11 14 - - 50 70 80 4 M4x10 | 34 50
60A3 6 9 11 14 19 - 60 75 80 4 M5x16 | 34 50
70B2 6 9 11 14 19 - 70 % 80 4 M5x16 | 34 50
80A2 6 9 11 14 19 - 80 100 % 4 Méx16 | 34 50
95A1 6 9 11 14 19 24 9%5 115 | 100 65 | M8x20 | 34 50
110A1 6 9 11 14 19 24 110 | 130 | 115 65 | M8x20 | 34 50
110B1 6 9 11 14 19 24 110 | 145 | 120 65 | M8x20 | 44 60
130A 6 9 11 14 19 24 130 | 165 | 140 65 | M10x19 | 34 50
40B1 6 9 11 14 - - 40 63 80 4 M4x12 | 34 40
50A1 6 9 11 14 - - 50 60 80 4 M4x10 | 34 40
50C1 6 9 11 14 - - 50 70 80 4 M4x10 | 34 40
60A2 6 9 11 14 19 - 60 75 80 4 M5x16 | 34 40
70B1 6 9 11 14 19 - 70 % 80 4 M5x16 | 34 40
80A1 6 9 11 14 19 - 80 100 % 4 Méx16 | 34 40
95A 6 9 11 14 19 - 95 115 | 100 65 | M8x20 | 34 40
110B0 6 9 11 14 19 - 110 | 145 | 120 65 | M8x20 | 44 40

Please contact us for different motor adapters and input shaft bore.

42



4//4

TOF 070

L1
2
L3 J_\-
zz%h T
N V
o a) |
FM [a) Q 5)3 B [
T
[a)
TS i
D5 U
L3
L4 L
- o
-
Dl (<~ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
TQF 070 1
6 37 68 76,5 M6x14 M4 45 25 9 19 8
9 49 68 76.5 M6x14 M5 42 25 9 185 105
11 51 68 76.5 M6x14 M6 42 25 9 175 125
14 51 68 76.5 M6x14 M6 42 25 9 175 145
19 51 68 765 M6x14 M6 42 25 9 175 16.5
24 60 68 76.5 M6x14 M6 435 26.5 9 175 19
6 37 68 76.5 M6x12 M4 315 21 75 16 8
9 49 68 76.5 M6x12 M5 35 245 75 17 105
11 49 68 76.5 M6x12 M6 35 245 75 17 125
14 49 68 76.5 M6x12 M6 35 24.5 75 17 145
19 54 68 76.5 M6x12 M6 35 245 75 17 16,5

Maz Mp2 ni ¢R R2max A2 max
<

Nm] [N faremin] - ST N IN)

TQF 0701 4

TQFO07015

TQF 0701 7

TQF 070 1_10

TQF 0702_16

TQF 070220

TQF 070 2_25

TQF 070 2_28

TQF 070 2_35

TQF 070 2_40

TQF 070 2_50

TQF 0702_70

TQF 070 2_100

43



Vy//4

TQF 090

60A4 ... 180A
145 min
165 max
N5 85.5 29 @ N1
11
8—- 7 N2
N I 5,
%& Sl &
\ SEE
: iLE &
! [TQFo901] 7.0
| L] gy
6 >’/
@135 |
@ 145 p—
7
50C2 ... 130A
Lo 176.5 mi
. 186.5 Q'Qx 2N
% N5 1135 29 N2
= 1 K_‘O_ﬁ
% i/ P K\? B\
5e 5 g\.L// i
[ 4 /
[a)]
s | o ‘“ﬂ)@j [TQFo%02| 95
Ng U ~—
N4
N N1 N2 N3 N4 N5 Lmax

QF 090 1

60A4 11 14 19 - - - 60 75 100 6.5 M5x14 28 60
80A3 11 14 19 = = = 80 100 100 6.5 M6x16 28 60
95A2 11 14 19 24 28 - 95 115 100 6.5 M8x18 28 60
110A2 11 14 19 24 = = 110 130 115 6.5 M8x18 28 60
110B1 11 14 19 24 - - 110 145 120 6.5 M8x20 38 60
130A1 11 14 19 24 28 32 130 165 140 6.5 M10x25 38 60
180A 11 14 19 24 28 32 180 215 190 6.5 M14x28 48 80
... ... JoF002 ___ |
50C2 11 14 - - - - 50 70 80 4 M4x10 34 50
60A3 11 14 19 = - - 60 75 80 4 M5x16 34 50
70B2 11 14 19 - - - 70 90 80 4 M5x16 34 50
80A2 11 14 19 = - - 80 100 90 4 M6x16 34 50
95A1 11 14 19 24 - - 95 115 100 6.5 M8x20 34 50
110A1 11 14 19 24 = = 110 130 115 6.5 M8x20 34 50
110B1 11 14 19 24 - - 110 145 120 6.5 M8x20 44 60
130A 11 14 19 24 = - 130 165 140 6.5 M10x19 34 50

Please contact us for different motor adapters and input shaft bore.

44




4/ 4

TQF 090

TQF

L1
2
L3 M
%h ™~
NI I
P a
FM [a] a ﬂt L [
T i
a
= & —_
D5 ||| L
L3 [
L4 L
D[ { f D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
TQF 090 1
11 49 90 98 M6x12 M6 50 17 4 9.5 125
14 51 90 98 M6x12 M6 50 17 4 9.5 145
19 51 90 98 M6x12 M6 50 17 4 9.5 16.5
24 60 90 98 M6x12 M6 51.5 185 4 9.5 19
28 72 90 98 M6x12 M8 51.5 185 4 9.5 225
32 72 90 98 M6x12 M8 S5 21 5 12 245
TQF 090 2
6 37 68 76.5 M6x14 M4 45 25 9 19 8
9 49 68 76.5 M6x14 M5 42 25 9 18.5 105
11 51 68 76.5 M6x14 M6 42 25 9 175 125
14 51 68 76.5 M6x14 M6 42 25 9 175 145
19 51 68 76.5 M6x14 M6 42 25 9 175 16.5
24 60 68 76.5 M6x14 M6 435 26.5 9 175 19

TQF 0901 4
TQF 0901 5
TQF0901 7

TQF 090 1_10

TQF 090 2_16

TQF 090 2_20

TQF 090 2_25

TQF 090 2_28
TQF 090 2_35
TQF 090 2_40
TQF 090 2_50
TQF 090 2_70

TQF 090 2_100

Mp2

[Nm] | [min-]

na

ds  Or

<

[arcmin]

Ct R2 max A2 max

Nm
Elenll

(N]

(N]

Ja [kgem?]

45



Y74

TOF 130

80A3 ... 180A1

174 min
204 max

96.5

38

135

1Q

75

o

221.5 min

9D 50 H7
@ 100 h7

NS

241.5 max
153

38

g N

@ D1

DDF

N3

n A

@ 140 h7

\

[TQF1301

13.5

Ogv

o
17

<

V4

//'/
\

[TQF 130 2

18.5

N1

N2

N4

N5

Lmax

TQF 130 1

80A3 14 19 - - - - 80 100 130 4 M6x15 395 60
95A2 14 19 24 28 - = 95 115 130 6.5 M8x20 39.5 60
110A2 14 19 24 - - - 110 130 130 4 M8x20 39.5 60
110B1 14 19 24 = = = 110 145 130 6.5 M8x20 49.5 60
130A1 14 19 24 28 32 - 130 165 140 4 M10x20 39 60
180A 14 19 24 28 32 = 180 215 190 55 M14x25 49.5 60
180A1 14 19 24 28 32 38 180 215 190 55 M14x25 69.5 80
60A4 14 19 - - - - 60 75 100 6.5 M5x14 28 60
80A3 14 19 = = = = 80 100 100 6.5 M6x16 28 60
95A2 14 19 24 28 - - 95 115 100 6.5 M8x18 28 60
110A2 14 19 24 = = = 110 130 115 6.5 M8x18 28 60
110B1 14 19 24 28 - - 110 145 120 6.5 M8x20 38 60
130A1 14 19 24 28 32 - 130 165 140 6.5 M10x25 38 60
180A 14 19 24 28 32 - 180 215 190 6.5 M14x28 48 80

Please contact us for different motor adapters and input shaft bore.

46




474

TOF 130

L1
L2
L3 —
m%t ™~ —
ol
T [
fa)
-= & E—— L]
D5 L
L3 [
[ E‘;«
-
D ({% D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
TOF 130 1
14 51 113 125.5 M8x16 M6 50 275 5 23 14.5
19 54 113 125.5 M8x16 M6 50 27.5 5 20 16.5
24 70 113 1255 M8x16 M6 515 29 5 20 19
28 70 113 1255 M8x16 M8 515 29 5 20 22.5
32 72 113 125.5 M8x16 M8 515 29 5 20 24.5
38 100 113 125.5 M8x16 M8 54 il 5 20 28
11 49 90 98 M6x12 M6 50 17 4 9.5 12.5
14 51 90 98 M6x12 M6 50 17 4 95 14.5
19 51 90 98 M6x12 M6 50 17 4 9.5 16.5
24 60 90 98 M6x12 M6 515 18.5 4 9.5 19
28 72 90 98 M6x12 M8 Sl 18.5 4 9.5 22.5
32 72 90 98 M6x12 M8 515 21 5 12 245

Jg [kgem?]
Ma 2 Mp 2 (I)s (I)R CI
<

N
[Nm]  [Nm] [[min-]][min-1] [arcmin] w 38
TQF 1301 4

TQF 13015

TQF 1301 _7

TQF 1301_10

TQF 130 2_16

TQF 130 2_20

TQF 130 2_25

TQF 130 2_28

TQF 130 2_35

TQF 130 2_40

TQF 130 2_50

TQF 130 2_70

TQF 130 2_100

a7



14//4

TQF 160

95A2 ... 180A1

80A3
95A2
110A2
110B1
130A1
180A
180A1

19
19
19
19
19
19
19

24
24
24
24
24
24

28

32
32
32

38

80
95
110
110
130
180
180

130
130
130
130
140
190
190

M14x25

M6x15
M8x20
M8x20
M8x20
M10x20
M14x25
M14x25

200 min
230 max
110 50 @ N1
17.5
2 7. 85 N2
] q
T ,/"““"-\o <
7 7N
o ol o / /‘\ﬁ \
AEEE [ sy
% ® 4 | N /
LN\ &
&2 e = [TQF 1601 30
L N
1 2
2 fom
8.5
264 min
294 max 2 N1
174.5 50 N2
[] ©
] _ //_3
£ g o
ph == R
S g @Qﬁ/ / / é
e \ ; I/
[a ~
s \cl s 1/ [ToF1602 52
Ng ! T~
N4
N1 N2 N3 N4 N5 Lmax
TOF 160 1
95A2 19 24 28 - - 95 115 140 6.5 M8x20 39.5 60
110A2 19 24 - - - 110 130 140 5 M8x20 39.5 60
130A1 19 24 28 32 - 130 165 140 5 M10x20 39.5 60
180A - 24 28 32 - 180 215 190 6.5 M14x25 495 60

39.5
39.5
395
49.5
39
49.5
69.5

60
60
60
60
60
60
80

Please contact us for different motor adapters and input shaft bore.

48



Lz

TQF 160

L1
L2
L3 N
%h TT]
- N i ]
[a)
FM & a wof—L |
n i
o
- & —
D5_I|) L
L3 ' (T
L4 o
~ =
D H D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
TQF 160 1
19 54 130 142.5 M8x16 M6 47 35.1 8 26 16,5
24 58 130 1425 M8x16 M6 47 35.1 8 26 19
28 70 130 1425 M8x16 M8 47 35.1 8 26 25
32 72 130 1425 M8x16 M8 47 35.1 8 26 245
38 100 130 1425 M8x16 M8 59.5 376 8 26 28
TQF 160 2
14 51 113 1255 M8x16 M6 50 275 5 23 145
19 54 113 1255 M8x16 M6 50 275 5 20 16.5
24 70 113 1255 M8x16 M6 51.5 29 5 20 19
28 70 113 1255 M8x16 M8 51.5 29 5 20 225
32 72 113 1255 M8x16 M8 51.5 29 5 20 245
38 100 113 1255 M8x16 M8 54 315 5 20 28

ds  Or

<

_ Nm
[min-1] [arcmin] | 3remin

TQF 1601 4

TQF 1601 5

TQF 1601 7

TQF 160 1_10

TQF 160 2_16

TQF 160 2_20

TQF 160 2_25

TQF 160 2_28

TQF 1602 35

TQF 160 2_40

TQF 160 2_50

TQF 160 2_70

TQF 160 2_100

49



50

Y74

Performance Line

Other design versions
= KI/G version

Main benefits

= Very low backlash

= Great flexibility thanks to a wide
range of gear ratios and multiple
design configurations

= Great variety of input and output
configurations

(P)

TR Series

In addition to optimal performance, very low backlash,
high overload capacity and easy installation, the TR series

is characterized by great modularity due to multiple design
configurations and wide ratios range, ensuring high reliability
and the most fitting response to different applications
requirements.

Main features
= Nominal output torque (Nm)

12 - 1000

= Torsional backlash (arcmin)

= Torsional stiffness (Nm/arcmin)

Main options
= Design versions

O F I8

WITH INPUT | WITH OUTPUT

COAXIAL RIGHT-ANGLE | RIGHT-ANGLE

* Input versions

P

Pk

WITHOUT
14 MOTOR SOLID INPUT MOTOR
= Max tilting moment (Nm) ADAPTER SHAFT ADAPTER

16-1683

= Output shafts versions

= | =

Protection class

SMOOTH
KEYLESS KEYED
o |P65 SHAFT SHAFT
= Service type
Frame sizes O 'y
- 053 o
- 060 S1 S5
- 080 = Lubrication
& UH1
) 105 Sush | ot
i STANDARD | FOOD GRADE
-2 130 LUBRICATION | LUBRICATION
& = Bearings versions
-(52) 160

o
&

REINFORCED
BEARINGS AS
STANDARD

190




TR

5 FEATURES OF TR SERIES

Planetary gear units of the TR series belong to a range of low backlash drives very broad and complete as far as transmissible torque, gear

ratios and torsional backlash.
All units are generously proportioned to run quietly and provide a long service life without maintenance requirements.

Motor mounting is an operation that can be easily conducted without the need of any particular tooling, other than that usually available in

a normally equipped workshop.

Available with either standard (STD) or reduced (LOW) backlash:
1-stage units: standard ¢s < 5’; reduced (I)R <3
2-stage units: standard (I)s < 5’ reduced ¢R <3

3-stage units (G and MB only): standard dr < 5’; reduced dr<3

3-stage units: standard <|)s < 7’; reduced (I)R <5

4-stage units (G and MB only): standard ds < 7’; reduced br<5
* Ahigh IP rating (IP65) provides inner parts with protection against the ingress of dust and liquids.

® Fluoroelastometer oils seals are supplied for S1 duty.

¢ Noise pressure level Lp < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n; = 3000 min'%; i=10.

® Bearings suitably rated for an average service life of 20,000 hours under nominal operating conditions. The following chart shows the

types of bearings for the output shaft.

TR 053

TR 060

TR 080

TR 105

TR 130

TR 160

TR 190

SB

@]

B

2

=

B

2

[N] 16000

14000

12000

10000

8000

6000

4000

2000

Output shaft max. loading capacity

500 600

TR 053 SB

600 700

TR 060 SB

TR 080 SB

DRZ max

3800 4000

TR 105 SB

5500

6500

TR 130 SB

.AZ max

6500

7500

TR 160 SB

15000

14000

TR 190 SB

14//4

51



Y74

* Wide range of adapter flanges matching the most popular brands of motors.

Available motor shaft bores

6‘ 7 8 9 hO 1112 ‘ 14 1617 19 22 24 28 32 35 38 42 45 48
6.35 9.52 12.7 15.875 19.05 @ [mm]

* Lubrication optmized for the type of duty specified when ordering.
In the absence of contamination the lubricant requires no periodical changes.

duty TR 053 - TR 060 TR 080 ... TR 190 oil seals
S1 (continuous) Synthetic oil viscosity ISO VG 220 Fluoroelastomer
NLGI grease consistency 00
S5 (intermittent) NLGI grease consistency 00 NBR

® Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.
® Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque ~ Mn2 [Nm]
\l[I]S 4 /5|16 |7 ]9(10 12|15|16|20|25|28|30|35/36|40|45|48 |50 60|64 |70 75|80|81 |84 |90

TR053 | 12| 15|15|15|15|12| - 1 20(20{20|20| 20|20 | - |20|15| - |20/20| - |20|20| - |20/20|12|20 | —
TRO60 (18 | 25|25 25(25|18 |18 |30|30/30/30|3|30|18(30|25/30| -|30|30| - |30|30|30|30| -|30]18
TRO80 | 40 | 50 | 50 | 50 |50 | 40|40 | 70|70 70| 70| 70| 70| 40| 70|50 70| - |70|70| — | 70|70 | 70| 70| — | 70 | 40

TR 105 | 100| 140|140 | 140|140/ 100|100|170|170{170|170|170|170|100|170|140|170| - |170|170| - |170|170|170|170| - |170|100

TR 130 | 215|380/ 380| 380|380 (215|215 |450|450| 450|450 | 450|450 (215|450 380|450 — |450|450| — |450|450|450(450| - 450|215

TR 160 | 350 500|500| 500|500 |350(350|700|700| 700/ 700| 700|700 |350| 700 500(700| — |700|700| — |700|700|700(700| — |700 350

TR 190 |500| 700|700| 700| 700 | 500 | 500 |1000/1000|1000/1000/1000|1000| 500 |1000, 700 (1000| — |1000{1000, — |100011000/1000(1000] — 1000|500

\l []/100| 112/ 120|125| 140 144|150| 160 | 175|180 200 | 210|216 | 225 | 245|250 | 252 | 280|324 | 350 | 400|405 | 500 | 567 | 700 | 729 |1000

TRO58 (20|20 - |20|{20|20| - | - |20/20| - | - |20|20|20| - |20 - |20| - | - |20| - |20 - | 12| -
TR060 | 18| - |30 |30|30| -|{30,3|30|-/3|30|30|-|—-|3|-{3)|-|3/|30|-|3)|-/3)|—-|18
TR0O80 | 40| - |70/ 70| 70| - |70 70| 70| - |70 70|70 | - | - |70| - |70| - |70 |70 | - | 70| — |70 | — | 40
TR 105 |100| - |170|170|170| - |170/170|170| - |170|170|170| - | — |170| - |170| - |170|170| - |170| — |170| — |100
TR 130 (215| — |450|450|450| — |450(450/450| — |450|450(450| — | — |450| — |450| - |450(450| — |450| - |450| - |215
TR 160 (700| - |350|700|700| - |700|/700|700| — |700|700| — | — | — |700| - |700| - |700(700| — |700| - |700| - |350

TR 190 (1000| — |500|1000[1000, - [1000/1000/1000, - |1000{1000] — | — | — |1000] - |1000| - |1000{1000| — |1000, - {1000 - |500




TR

51

TR G

ORDERING CODE

080 3 20 STD 95A CD 19 S1 OR SB

— DUTY

6..48 (@1S)

— MOTOR COUPLING

KL UH1

|— LUBRICANT

— standard

14//4

UH1 food grade synthetic lubricant

OUTPUT SHAFT CONFIGURATION

KL smooth keyless shaft
KE keyed shaft (@ MB)

— MOUNTING POSITION
OR horizontal

S1 continuous duty

S5 intermittent duty

— INPUT SHAFT BORE

CD clamping device (@ IS)

— OUTPUT SHAFT BEARINGS
SB standard

VA vertical with motor up

VB Vvertical with motor down

1 2 3 4

— FRAME SIZE
053 060 080 105 130 160 190

TR

— VERSION
— coaxial
K  with input right-angle (TR 053 ... TR 060)
G with input right-angle (TR 080 ... TR 160)
MB with output right-angle (TR 080 ... TR 160)

— SERIES

— INPUT SECTION
25AH ... 180A1 motor adapter
IS solid input shaft (TR 053 ... TR 160) (8K, G, MB)
FM without motor adapter
— BACKLASH

1 reduction | 2 reductions | 3reductions | 3 reductions | 4 reductions
(K, G, MB only) (K, G, MB only)

STD Ps<5 Ps<5 Ps<5 Ps<7 Ps<7

LOW
<3 <3 <3 <5 <5
(@TR053) Pr Pr Pr Or Or
— GEAR RATIO
— REDUCTIONS

53



Y74

5.1.1 VERSION AND INPUT SECTION

VERSION

coaxial (—) with input right-angle (K - G) with output right-angle (MB)

25AH ... 180A1

.)*J

FM

INPUT SECTION
n

5.1.2 MOUNTING POSITIONS

MB

5.1.3 ADMISSIBLE RADIAL AND AXIAL FORCES FOR MB VERSION

- ¢ & ©
6o o

A

@ R2 max A2 max L R3 max A3 max

[N] [N] [mm] [N] [N]

TR MB 080 6000 5000 60 5500 5000
TR MB 105 9000 7500 80 7500 7500
TR MB 130 13500 11500 100 11000 11500
TR MB 160* 15000 11500 100 12500 11500

* Bearings suitably rated for an average service life of 10,000 hours under nominal operating conditions.



TR

5.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

TR 053

58.2 (TR 053 1)
72 (TRO0532)

'y//4

85.8 (TR 053 3) 24.5
2.5 3
14 |25
] N
— Iy
\ \ S
Ej o 8 TRO531 | 08
ENN Q TR0532 | 1.0
= ke TR 053 3 1.3
. 155 =
8| 10
25AH ... 80A % o
66.8 (TR 053 2)
N5 80.6 (TR 053 3) 24.5
N3 3
25 ,Nd’
14 _|.25 ﬁ
LI =
S C = |48
o i SIS TR0532 | 10
o = I N TR0533 | 1.3
=s-d
10 “
D {<€ N N1 N2 N3 N4 N5 Lmax
min max
25AH 6 63 7 8 9 952 - — — — — 25 36 48
26AH 6 63 7 8 9 952 - - - - - 26 36 48
28AH 6 63 7 8 9 952 - — — — - 28 36 48
30AH 6 63 7 8 9 952 - - - - - 30 36 48
32AH 6 635 7 8 9 952 - - — — - 32 38 48 55 35 45 25 25
34AH 6 63 7 8 9 952 - - - - - 34 40 48
36AH 6 63 7 8 9 952 - — — — - 36 42 48
38AH 6 63 7 8 9 952 - - - - - 38 44 48
40AH 6 63 7 8 9 952 - - — — - 40 46 48
38B 6 63 7 8 9 952 10 11 12 127 - 38.1 66.6 60 3 M4x10 18 25
40B 6 63 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
50A 6 63 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
50B 6 63 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH 6 63 7 8 9 952 10 11 12 127 14 50 65 60 4 55 23 30
50C 6 63 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
50MH 6 63 7 8 9 952 10 11 12 127 - 50 65 55 2 55 16 23
60A 6 63 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60AH 6 63 7 8 9 952 10 11 12 127 - 60 75 65 3 55 18 25
60A1 6 63 7 8 9 952 10 11 12 127 14 60 75 65 3 M5x12 23 30
60AH1 6 63 7 8 9 952 10 11 12 127 14 60 75 65 3 55 23 30
60B 6 63 7 8 9 952 10 11 12 127 14 60 85 75 3 M5x12 23 30
60C 6 63 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 63 7 8 9 952 10 11 12 127 14 70 85 75 3 M6x15 23 30
70B 6 63 7 8 9 952 10 11 12 127 14 70 90 75 5 M5x12 23 30
73A 6 635 7 8 9 952 10 11 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 63 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 23 30

55



1Y//4

L1
L3 L2
‘_'A
al i a s’ g
FM Q g O 7 0 —
// Q|
G %)
g,
D {{ - D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 M4x8 M4 20.2 13.2 3 8.7 8
8 9 9.52 10 325 50 425 M4x8 M4 20.2 13.2 3 7.8 9
11 12 12.7 355 50 425 M4x8 M4 20.5 135 3 8.5 11
14 355 50 425 M4x8 M4 24 17 3 10.2 115
0 (), R R
a % 9 0 4
RO 12 22 40 3300 4000 5 1.0 200 500 600 97 0.06 0.08
R0 4 15 28 45 3500 5000 5' 1.0 200 500 600 97 0.05 0.06
R0 15 28 45 3500 5000 5' 1.0 200 500 600 97 0.04 0.06
R0 6 15 28 45 3500 5000 5' 1.0 200 500 600 97 0.03 0.05
R0 15 28 45 4000 6000 5' 1.0 200 500 600 97 0.03 0.05
R0 9 12 22 40 4000 6000 5' 1.0 200 500 600 97 0.03 0.05
R0 20 30 60 3300 4000 5' 0.9 200 500 600 94 0.06 0.08
R0 20 30 60 3300 4000 5' 0.9 200 500 600 94 0.06 0.08
R0 6 20 30 60 3500 5000 5 0.9 200 500 600 94 0.05 0.06
R0 0 20 30 60 3500 5000 5' 0.9 200 500 600 94 0.04 0.06
R0 20 30 60 3500 5000 5' 0.9 200 500 600 94 0.04 0.06
R0 8 20 30 60 4000 6000 5' 0.9 200 500 600 94 0.03 0.05
R0 20 30 60 4000 6000 5' 0.9 200 500 600 94 0.03 0.05
R0 6 15 28 45 4000 6000 5' 0.9 200 500 600 94 0.03 0.05
RO / 20 30 60 4000 6000 5 0.9 200 500 600 94 0.03 0.05
RO 8 12 22 40 4000 6000 5 0.9 200 500 600 94 0.03 0.05
R0 48 20 30 60 4000 5000 7 0.7 200 500 600 91 0.05 0.07
R0 60 20 30 60 3500 5000 7 0.7 200 500 600 91 0.05 0.07
R0 64 20 30 60 3500 5000 7 0.7 200 500 600 91 0.05 0.06
R0 20 30 60 3500 5000 7 0.7 200 500 600 91 0.04 0.06
RO 80 20 30 60 3500 5000 7 0.7 200 500 600 91 0.05 0.06
RO 84 20 30 60 4000 6000 7 0.7 200 500 600 91 0.03 0.05
RO 00 20 30 60 3500 5000 7 0.7 200 500 600 91 0.04 0.06
RO 20 30 60 4000 6000 7 0.7 200 500 600 91 0.03 0.05
RO 20 30 60 3500 5000 s 0.7 200 500 600 91 0.04 0.06
RO 40 20 30 60 4000 6000 s 0.7 200 500 600 91 0.03 0.05
RO 44 20 30 60 4000 6000 s 0.7 200 500 600 91 0.03 0.05
RO 20 30 60 4000 6000 7 0.7 200 500 600 91 0.03 0.05
RO 80 20 30 60 4000 6000 7 0.7 200 500 600 91 0.03 0.05
RO 6 20 30 60 3500 5000 7 0.7 200 500 600 91 0.03 0.05
R0 20 30 60 4000 6000 7 0.7 200 500 600 91 0.03 0.05
R0 /i 20 30 60 4000 6000 7 0.7 200 500 600 91 0.03 0.05
R0 20 30 60 4000 6000 7 0.7 200 500 600 91 0.05 0.06
R0 Z 20 30 60 4000 6000 7 0.7 200 500 600 91 0.03 0.05
RO 40 20 30 60 4000 6000 s 0.7 200 500 600 91 0.03 0.05
RO 6 20 30 60 4000 6000 s 0.7 200 500 600 91 0.03 0.05
R0 9 12 22 40 4000 6000 7 0.7 200 500 600 91 0.03 0.05

Please contact us for different motor adapters and input shaft bore.

56




TR

'y//4

TR K 053

25AH ... 80A

oN
4h9 - @D
Z|
10 p 7 3, .25
14 25
=
% 5 9 S
o 7N oS T | o
-t V) o ~ = TRKO0532 | 13
= N % TRKO0533 | 15
N Tﬁ = TRKO0534 | 18
@ 40 +0.05 80.5 (0532 M5x10
55 94.3 (K0533)
275 108.1 (K0534) 24.5
N4
Pl He
é o
(@eN!
L
&)
N
N2
@ N1
D ({% N N1 N2 | N3 N4 N5 | Lmax
min max
25AH 6 63 7 8 9 952 - - - - —| 25 | 3 | 48
26AH 6 63 7 8 9 952 - - - - —| 26 | 36 | 48
28AH 6 63 7 8 9 952 - - - - —| 28 | 3 | 48
30AH 6 63 7 8 9 95 - - - - —| 30 | 36 | 48
32AH 6 63 7 8 9 95 - - - - — | 3 38 | 48 55 | 35 45 25 25
34AH 6 635 7 8 9 952 - - - - — | 34 | 40 | 48
36AH 6 63 7 8 9 952 - - - - — | 3 | 42 | 48
38AH 6 63 7 8 9 952 - - - - — | 38 | 4 | 48
40AH 6 635 7 8 9 952 - - - - | 40 | 46 | 48
38B 6 635 7 8 9 952 10 11 12 127 - | 381 66.6 60 3 M4x10 | 18 | 25
40B 6 635 7 8 9 952 10 11 12 127 - | 40 63 60 3 M4x10 | 18 | 25
50A 6 635 7 8 9 952 10 11 12 127 - | 50 60 60 3 M4x10 | 18 | 25
50B 6 635 7 8 9 952 10 11 12 127 14| 50 65 60 3 M5x12 | 23 | 30
50BH 6 635 7 8 9 952 10 11 12 127 14| 50 65 60 4 55 23 | 30
50C 6 635 7 8 9 952 10 11 12 127 14 | 50 70 60 3 M4x10 | 23 30
50MH 6 635 7 8 9 952 10 11 12 127 - | 50 65 55 2 55 16 23
60A 6 635 7 8 9 952 10 11 12 127 - | 60 75 65 3 M5x12 | 18 | 25
60A1 6 635 7 8 9 952 10 11 12 127 14 | 60 75 65 3 M5x12 | 23 | 30
60B 6 635 7 8 9 952 10 11 12 127 14 | 60 85 75 3 M5x12 | 23 | 30
60C 6 635 7 8 9 952 10 11 12 127 14 | 60 90 75 3 M5x12 | 23 | 30
70A 6 635 7 8 9 952 10 11 12 127 14| 70 85 75 3 Méx15 | 23 | 30
70B 6 635 7 8 9 952 10 11 12 127 14| 70 90 75 5 M5x12 | 23 | 30
73A 6 635 7 8 9 952 10 11 12 127 14| 73 98.4 85 3 M5x12 | 25 | 32
80A 6 635 7 8 9 952 10 11 12 127 14| 80 100 85 3 M6x15 | 23 30




1Y//4

TR K 053

L3

=1 _@D
D5, 0
| ~
FM j¢ % _'I b %» D4,
< =N
o= ] |{/ ﬁm\ )
=/ Q - Q y / N
=3 /
D| <€ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 M4x8 M4 20.2 13.2 3 8.7 8
8 9 9.52 10 325 50 425 M4x8 M4 20.2 13.2 3 7.8 9
11 12 12.7 515! 50 425 M4x8 M4 20.5 135 3 8.5 11
14 355 50 425 M4x8 M4 24 17 3 10.2 11.5
0
0 ) R A
a - % 6...9 0 /

g 12 22 40 3300 4000 5' 1.0 500 600 94 0.18 0.20
g i il 28 45 3500 5000 5j 1.0 500 600 94 0.18 0.19
RKO 15 28 45 3500 5000 5 1.0 500 600 94 0.17 0.19
g 6 15 28 45 3500 5000 5 1.0 500 600 94 0.17 0.18
RKDO 15 28 45 4000 6000 5 1.0 500 600 94 0.17 0.19
RKO 9 12 22 40 4000 6000 5 1.0 500 600 94 0.17 0.18
RKO 20 30 60 3300 4000 5' 0.9 500 600 91 0.18 0.20
RKDO 20 30 60 3300 4000 5 0.9 500 600 91 0.18 0.20
RKDO 6 20 30 60 3500 5000 5 0.9 500 600 91 0.17 0.19
RKDO 0 20 30 60 3500 5000 5 0.9 500 600 91 0.17 0.19
g 20 30 60 3500 5000 5 0.9 500 600 91 0.17 0.19
RKO 8 20 30 60 4000 6000 5 0.9 500 600 91 0.17 0.19
RKO 20 30 60 4000 6000 5 0.9 500 600 91 0.17 0.19
RKO 6 15 28 45 4000 6000 5} 0.9 500 600 91 0.17 0.18
RKO 4 20 30 60 4000 6000 5 0.9 500 600 91 0.17 0.19
RKO 8 12 22 40 4000 6000 5 0.9 500 600 91 0.17 0.18
R K 053 4 48 20 30 60 4000 5000 7 0.7 500 600 89 0.18 0.19
R K 053 4 60 20 30 60 3500 5000 T 0.7 500 600 89 0.18 0.19
R K 053 4 64 20 30 60 3500 5000 T 0.7 500 600 89 0.17 0.19
R K 053 4 20 30 60 3500 5000 T 0.7 500 600 89 0.17 0.19
R K 053 4 80 20 30 60 3500 5000 7 0.7 500 600 89 0.17 0.19
R K 053 4 84 20 30 60 4000 6000 T 0.7 500 600 89 0.17 0.19
R K 053 4 100 20 30 60 3500 5000 7 0.7 500 600 89 0.17 0.19
R K 053 4 20 30 60 4000 6000 T 0.7 500 600 89 0.17 0.19
R K 053 4 20 30 60 3500 5000 7 0.7 500 600 89 0.17 0.19
R K 0534 140 20 30 60 4000 6000 T 0.7 500 600 89 0.17 0.19
R K 053 4 144 20 30 60 4000 6000 T 0.7 500 600 89 0.17 0.18
R K 053 4 20 30 60 4000 6000 T 0.7 500 600 89 0.17 0.19
R K 053 4 180 20 30 60 4000 6000 T 0.7 500 600 89 0.17 0.18
R K 053 4 6 20 30 60 3500 5000 7 0.7 500 600 89 0.17 0.18
R K 053 4 20 30 60 4000 6000 7 0.7 500 600 89 0.17 0.18
R K 0534 24 20 30 60 4000 6000 7 0.7 500 600 89 0.17 0.19
R K 053 4 20 30 60 4000 6000 7 0.7 500 600 89 0.18 0.20
R K 053 4 / 20 30 60 4000 6000 7 0.7 500 600 89 0.17 0.18
R K 053 4 40 20 30 60 4000 6000 7 0.7 500 600 89 0.17 0.18
R K 053 4 56 20 30 60 4000 6000 7 0.7 500 600 89 0.17 0.18
R K 053 4 9 12 22 40 4000 6000 7 0.7 500 600 89 0.17 0.18

Please contact us for different motor adapters and input shaft bore.

58



'y//4

TR 060

62.75 (TR 060 1)
79.45 (TR 060 2)

25 96.16 (TR 060 3) 38
i 2.5 3
20 5
| |
s i)
I j g 3 TR 060 1 1.2
BN TRO602 | 17
>
0| < TR 060 3 2.0
45 ] 65 = 8
- - @40 +0.05
NN R -
57.55 (TR 060 1)
74.25 (TR 060 2)
N5 90.95 (TR 060 3) 38
3
i 3.5
.20_[.5 ﬁ
\ \ ~
— =
- ﬂjﬁr TR0601 | 12
y o o8 TRO602 | 17
*JE =8 B TR0603 | 20
I /A =g
< Lo52x005 10
g |
T [
h
1
D ({% N N1 N2 | N3 N4 N5 | Lmax
min max
6 63 7 8 9 952 - — — — - 25 39 56
6 63 7 8 9 952 - - - - - 26 39 56
6 63 7 8 9 952 - — — - - 28 39 56
6 63 7 8 9 952 - - - - - 30 39 56
6 63 7 8 9 952 - — — - - 32 39 56 65 35 45 25 25
6 63 7 8 9 952 - - - - - 34 40 56
6 63 7 8 9 952 - — — — — 36 42 56
6 63 7 8 9 952 - - — — — 39 45 56
6 63 7 8 9 952 - — — — — 40 46 56
6 63 7 8 9 952 10 11 12 127 - 38.1 66.6 60 3 M4x10 18 25
6 63 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
6 63 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
6 63 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH 6 63 7 8 9 952 10 11 12 127 14 50 65 65 3 55 25 32
50C 6 63 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
55MH 6 63 7 8 9 952 10 11 12 127 - 55 80 65 2 55 16 23
60A 6 63 7 8 9 952 10 11 12 127 - 60 S 65 3 M5x12 18 25
60AH 6 63 7 8 9 952 10 11 12 127 - 60 75 65 3 55 18 25
60A1 6 635 7 8 9 952 10 11 12 127 14 60 S 65 3 M5x12 23 30
60AH1 6 63 7 8 9 952 10 11 12 127 14 60 75 65 3 55 23 30
60B 6 63 7 8 9 952 10 11 12 127 14 60 85 S 3 M5x12 23 30
60C 6 63 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 63 7 8 9 952 10 11 12 127 14 70 85 5 3 M6x15 23 30
70B 6 63 7 8 9 952 10 11 12 127 14 70 90 75 5 M5x12 23 30
73A 6 63 7 8 9 952 10 11 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 63 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 23 30

59



1Y//4

L1
L3 L2
\—|A ’_|=|_|
N
N I ==
// Q
i %)
5\
D {f\{; D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 42.5 M4x8 M4 20.2 13.2 3 8.7 8
8 9 9.52 10 325 50 42.5 M4x8 M4 20.2 13.2 3 7.8 9
11 12 12.7 5515 50 42.5 M4x8 M4 20.5 135 3 8.5 11
14 355 50 42.5 M4x8 M4 24 17 3 10.2 115
9
D (), DR R R A
a 3 % 6 9 0 4
R 060 18 35 70 3300 | 4000 5 3 3.0 200 600 700 97 0.10 0.11
R 060 1 4 25 40 90 3500 | 5000 5 3 3.0 200 600 700 97 0.06 0.08
R 060 25 40 90 3500 | 5000 5] & 3.0 200 600 700 97 0.05 0.07
R 060 1 6 25 40 90 3500 | 5000 &5 3 3.0 200 600 700 97 0.04 0.06
R 060 25 40 90 4000 | 6000 5 5] 3.0 200 600 700 97 0.04 0.06
R 060 0 18 85 70 4000 | 6000 5] & 3.0 200 600 700 97 0.03 0.05
R 060 2_9 18 55 70 3300 | 4000 5 & 2.5 200 600 700 94 0.10 0.12
R 060 30 45 100 3300 | 4000 5 3 2.5 200 600 700 94 0.10 0.11
R 060 30 45 100 3300 | 4000 5 5] 2.5 200 600 700 94 0.09 0.11
R 060 6 30 45 100 3500 | 5000 5 5] 2.5 200 600 700 94 0.06 0.08
R 060 0 30 45 100 3500 | 5000 &5 3 2.5 200 600 700 94 0.05 0.07
R 060 30 45 100 3500 | 5000 5 5] 2.5 200 600 700 94 0.05 0.06
R 060 8 30 45 100 4000 | 6000 &5 3 2.5 200 600 700 94 0.04 0.06
R 060 0 18 55 70 4000 | 6000 5 5] 2.5 200 600 700 94 0.03 0.05
R 060 30 45 100 4000 | 6000 &5 3 2.5 200 600 700 94 0.04 0.06
R 060 6 25 40 90 3500 | 5000 5 5] 2.5 200 600 700 94 0.04 0.06
R 060 2_40 30 45 100 4000 | 6000 &5 3 2.5 200 600 700 94 0.03 0.05
R 060 0 30 45 100 4000 | 6000 5 3 2.5 200 600 700 94 0.03 0.05
R 060 0 30 45 100 4000 | 6000 5] & 2.5 200 600 700 94 0.03 0.05
R 060 00 18 35 70 4000 | 6000 & 3 2.5 200 600 700 94 0.03 0.05
R 060 3 48 30 45 100 3500 | 5000 7 5] 2.0 200 600 700 91 0.06 0.08
R 060 3_64 30 45 100 3500 | 5000 7 5] 2.0 200 600 700 91 0.06 0.08
R 060 30 45 100 3500 | 5000 7 5 2.0 200 600 700 91 0.05 0.07
R 060 3_80 30 45 100 3500 | 5000 7 5] 2.0 200 600 700 91 0.06 0.08
R 060 3 84 30 45 100 4000 | 6000 7 5 2.0 200 600 700 91 0.04 0.06
R 060 3 90 18 35 70 4000 | 6000 7 5] 2.0 200 600 700 91 0.03 0.05
R 060 0 30 45 100 4000 | 6000 7 5 2.0 200 600 700 91 0.03 0.05
R 060 30 45 100 3500 | 5000 7 5] 2.0 200 600 700 91 0.05 0.07
R 060 40 30 45 100 4000 | 6000 7 5 2.0 200 600 700 91 0.04 0.06
R 060 0 30 45 100 4000 | 6000 7 5] 2.0 200 600 700 91 0.03 0.05
R 060 60 30 45 100 4000 | 6000 7 5 2.0 200 600 700 91 0.03 0.05
R 060 30 45 100 4000 | 6000 7 5] 2.0 200 600 700 91 0.04 0.06
R 060 00 30 45 100 4000 | 6000 7 5 2.0 200 600 700 91 0.03 0.05
R 060 0 30 45 100 4000 | 6000 7 5 2.0 200 600 700 91 0.03 0.05
R 060 6 30 45 100 3500 | 5000 7 5] 2.0 200 600 700 91 0.04 0.06
R 060 0 30 45 100 4000 | 6000 7 5 2.0 200 600 700 91 0.03 0.05
R 060 80 30 45 100 4000 | 6000 7 5] 2.0 200 600 700 91 0.03 0.05
R 060 0 30 45 100 4000 | 6000 7 5 2.0 200 600 700 91 0.03 0.05
R 060 3_400 30 45 100 4000 | 6000 7 5] 2.0 200 600 700 91 0.03 0.05
R 060 00 30 45 100 4000 | 6000 7 5 2.0 200 600 700 91 0.03 0.05
R 060 00 30 45 100 4000 | 6000 7 5] 2.0 200 600 700 91 0.03 0.05
R 060 000 18 85 70 4000 | 6000 7 5] 2.0 200 600 700 91 0.03 0.05

Please contact us for different motor adapters and input shaft bore.

60



TR

'y//4

TR K 060

25AH ... 80A

55 gN
5ho o 2D
E W 3 35
/ k .
g 20 5 =
55 3 1 S ~ &.
o= T |9 [TRKO602 | 17
© —[ 31 |[TRKO0603 | 22
o \= g TRKO0604 | 25
252005 10178 oy LSO
275 118.45 (K 0604) L 38
N4
e B N
& & i
/ \ S—
W - =]
\ONZZ )
e gt |
e
N2
@ N1
NEEte:) N N1 N2 | N3 N4 N5 | Limax
0 min max
25AH 6 63 7 8 9 95 - - _— _ _ | 25 | 3 | s6
26AH 6 635 7 8 9 95 - - - - —| 26| 3 | 56
28AH 6 63 7 8 9 95 - - - _— _| 28 | 3 | 56
30AH 6 63 7 8 9 95 - - - - —| 30 | 39 | 56
32AH 6 635 7 8 9 95 - - - - _| 32 | 3 | 5 | 65 | 35 45 25 | 25
34AH 6 635 7 8 9 95 - - - - — | 34 | 40 | 56
36AH 6 635 7 8 9 95 - - - - _| 3 | 4 | 56
39AH 6 635 7 8 9 95 - - — — _| 3 | 45 | 56
40AH 6 63 7 8 9 95 - - — - _— | 4 | 4 | 56
38B 6 635 7 8 9 95 10 11 12 127 - | 381 66.6 60 3 | mMax10 | 18 | 25
408 6 635 7 8 9 95 10 11 12 127 - | 40 63 60 3 | mMax10 | 18 | 25
50A 6 635 7 8 9 95 10 11 12 127 - | 50 60 60 3 | M4x10 | 18 | 25
508 6 635 7 8 9 95 10 11 12 127 14| 50 65 60 3 | Msx12 | 23 | 30
50BH 6 635 7 8 9 95 10 11 12 127 14| 50 65 65 3 55 %5 | 32
50C 6 635 7 8 9 952 10 11 12 127 14| 50 70 60 3 | mMaxw0 | 23 | 30
5MH | 6 635 7 8 9 952 10 11 12 127 - | 55 80 65 2 55 16 | 23
60A 6 635 7 8 9 952 10 11 12 127 - | 60 75 65 3 | Mmsx12 | 18 | 25
60AL 6 635 7 8 9 952 10 11 12 127 14| 60 75 65 3 | Msx12 | 23 | 30
60B 6 635 7 8 9 952 10 11 12 127 14| 60 85 75 3 | Msx12 | 23 | 30
60C 6 635 7 8 9 952 10 11 12 127 14 | 60 90 75 3 | Msx12 | 23 | 30
70A 6 635 7 8 9 95 10 11 12 127 14| 70 85 75 3 | Mex15 | 23 | 30
708 6 635 7 8 9 95 10 11 12 127 14| 70 90 75 5 | Msx12 | 23 | 30
73A 6 635 7 8 9 952 10 11 12 127 14| 73 98.4 85 3 | mex12 | 25 | 32
80A 6 635 7 8 9 95 10 11 12 127 14| 80 100 85 3 | Mex15s | 23 | 30




1Y//4

TR K 060

@ D1
N i N 2
RN
@ D2
L5 4o
D5
1l 1
S 3l A0 ., D4
F M q;_q_,ﬁ (‘
< ~ |
& s k Qs{r ] N ="
) /
— I
D| A \\} D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 42,5 M4x8 M4 20.2 13.2 3 8.7 8
8 9 9.52 10 325 50 425 M4x8 M4 20.2 13.2 3 7.8 9
11 12 12.7 8515 50 42,5 M4x8 M4 20.5 135 3 815 11
14 355 50 42,5 M4x8 M4 24 17 3 10.2 11.5
Je [kgem?]
Mn 2 Ma 2 Mp 2 ni N1 max (I)s ¢R Ct R2max = A2 max | ar)
. |
' [Nm]  [Nm] | [Nm] [min?] [min] [arcmin] ‘ |%I [N] [N] % 6..952 10..14
TR K060 2_3 18 35 70 3300 4000 5' 3 3.0 600 700 94 0.20 0.20
TRK 0602 4 25 40 90 3500 5000 5' 3 3.0 600 700 94 0.18 0.20
TR K060 2 5 25 40 90 3500 5000 5' 3 3.0 600 700 94 0.17 0.19
TR K 060 2_6 25 40 90 3500 5000 5 S 3.0 600 700 94 0.17 0.19
TR K060 2_7 25 40 90 4000 6000 5 S 3.0 600 700 94 0.17 0.19
TR K 060 2_10 18 35 70 4000 6000 5' 3 3.0 600 700 94 0.17 0.18
TR K060 3 9 18 35 70 3300 4000 5' 3 25 600 700 91 0.20 0.21
TR K 060 3_12 30 45 100 3300 4000 5 S 25 600 700 91 0.20 0.21
TR K 060 3_15 30 45 100 3300 4000 5 & 25 600 700 91 0.19 0.21
TR K 060 3_16 30 45 100 3500 5000 5 S} 25 600 700 91 0.18 0.20
TR K 060 3_20 30 45 100 3500 5000 5 S} 25 600 700 91 0.17 0.19
TR K 060 3_25 30 45 100 3500 5000 5 S} 25 600 700 91 0.17 0.18
TR K 060 3_28 30 45 100 4000 6000 5 S} 25 600 700 91 0.17 0.19
TR K 060 3_30 18 B85 70 4000 6000 5 S} 25 600 700 91 0.17 0.18
TR K 060 3_35 30 45 100 4000 6000 5 S} 25 600 700 91 0.18 0.19
TR K 060 3_36 25 40 90 3500 5000 5' & 2.5 600 700 91 0.18 0.19
TR K 060 3_40 30 45 100 4000 6000 5' & 2.5 600 700 91 0.17 0.18
TR K 060 3 50 30 45 100 4000 6000 5' & 2.5 600 700 91 0.17 0.18
TR K060 3 70 30 45 100 4000 6000 5' & 2.5 600 700 91 0.17 0.18
TR K 060 3_100 18 35 70 4000 6000 5' 3 2.5 600 700 91 0.17 0.18
TR K 060 4 48 30 45 100 3500 5000 7 5' 2.0 600 700 89 0.18 0.20
TR K060 4 64 30 45 100 3500 5000 7 5' 2.0 600 700 89 0.18 0.20
TR K060 4 75 30 45 100 3500 5000 7 5' 2.0 600 700 89 0.17 0.19
TR K 060 4 80 30 45 100 3500 5000 7 5' 2.0 600 700 89 0.18 0.20
TR K060 4 84 30 45 100 4000 6000 7 5' 2.0 600 700 89 0.17 0.19
TR K 060 4 90 18 35 70 4000 6000 7 5' 2.0 600 700 89 0.17 0.18
TR K060 4 120 30 45 100 4000 6000 7 5' 2.0 600 700 89 0.15 0.17
TR K 060 4_125 30 45 100 3500 | 5000 7 5' 2.0 600 700 89 0.17 0.19
TR K 060 4_140 30 45 100 4000 | 6000 7 5' 2.0 600 700 89 0.17 0.19
TR K 060 4_150 30 45 100 4000 | 6000 7 5' 2.0 600 700 89 0.17 0.18
TR K 060 4_160 30 45 100 4000 | 6000 7 5' 2.0 600 700 89 0.17 0.18
TR K 060 4_175 30 45 100 4000 | 6000 7 5' 2.0 600 700 89 0.17 0.19
TR K 060 4_200 30 45 100 4000 6000 7 5] 2.0 600 700 89 0.17 0.18
TR K 060 4_210 30 45 100 4000 | 6000 7 5' 2.0 600 700 89 0.17 0.18
TR K 060 4_216 30 45 100 3500 | 5000 7 5' 2.0 600 700 89 0.17 0.19
TR K 060 4_250 30 45 100 4000 | 6000 7 5' 2.0 600 700 89 0.17 0.18
TR K 060 4_280 30 45 100 4000 6000 7 5] 2.0 600 700 89 0.17 0.18
TR K 060 4_350 30 45 100 4000 | 6000 7 5' 2.0 600 700 89 0.17 0.18
TR K 060 4_400 30 45 100 4000 | 6000 7 5' 2.0 600 700 89 0.17 0.18
TR K 060 4_500 30 45 100 4000 | 6000 7 5' 2.0 600 700 89 0.17 0.18
TR K 060 4_700 30 45 100 4000 6000 T 5' 2.0 600 700 89 0.17 0.18
TR K 060 4_1000 18 39 70 4000 6000 7 5' 2.0 600 700 89 0.17 0.18

Please contact us for different motor adapters and input shaft bore.

62



'y//4

TR 080

|S 105.3 (TR0801)
129.8 (TR 080 2)
43 154.3 (TR 080 3) 46

4

TR 080 1 4.0
TR 080 2 4.6
TR 080 3 5.2

o @65 +0.05 |

TR

40B1 ... 110B1

83.5 (TR080 1)
108 (TR0802)
N5  132.5(TR0803) 46

l
I

TR 080 1 4.0
TR 080 2 4.6
TR 080 3 52

@50 h7,
@85

L
Il

N
M6x16 |
@19 h7

e N | NL | N2 | N3 N4 N5 | Lmax
8 9 952 11 12 127 14 - - - - - | 40 | 63 | 8 | 4 | Max12 | 34 | 40
8 9 95 11 12 127 - - - — — - | 45 | 63 | 8 | 4 | M4x12 | 34 | 40
8 9 952 11 12 127 14 - - - - - | 50 | 65 | 8 | 4 | Msx16 | 34 | 40
8 9 95 11 12 127 14 - - - - - | 5 | 65 | 8 | 4 55 34 | 40
8 9 952 11 12 127 14 - - - - - | 50 | 70 | 8 | 4 | M4x10 | 34 | 40
8 9 95 11 12 127 14 - - - - - | 50 | 95 | 8 | 4 | Méx20 | 34 | 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 | 1257 | 105 | 4 | M6x20 | 34 | 40
8 9 952 11 12 127 14 - - - — — | 60 | 75 | 8 | 4 | M5x16 | 34 | 40
8 9 952 11 12 127 14 - - - - — | 60 | 75 | 9 | 4 65 34 | 40
8 9 952 11 12 127 14 15875 16 - - — | 60 | 8 | 8 | 4 | M5x16 | 34 | 40
8 9 952 11 12 127 14 15875 16 - - - | 60 | 90 | 8 | 4 | MSx16 | 34 | 40
8 9 952 11 12 127 14 15875 16 17 19 1905 70 | 8 | 8 | 4 | M6x20 | 34 | 40
8 9 952 11 12 127 14 15875 16 17 19 1905| 70 | 8 | 9 | 4 65 34 | 40
8 9 952 11 12 127 14 15875 16 17 19 1905 70 | 90 | 8 | 4 | MSxl6 | 34 | 40
8 9 952 11 12 127 14 - - - - - | 73 | 984 | 8 | 4 | M5x16 | 34 | 40
8 9 952 11 12 127 14 15875 16 17 19 1905 80 | 100 | 90 | 4 | Mexl6 | 34 | 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 | M8x20 | 34 | 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 | M8x20 | 34 | 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 | 4 | M8x20 | 34 | 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 44 | 50
8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 54 | 60




1Y//4

L1
L3 L2,
FM o —_—
N
1 gk
A, S
(PIIV e)
g
D r{\:ji - D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 765 | M6x12 M6 32.2 26.3 95 19.3 10.5
11 12 12.7 43 68 765 | M6x12 M6 322 26.3 95 19.3 12,5
14 15.875 16 17 48 68 765 | M6x12 M6 32.2 26.3 95 19.3 145
19 19.05 51 68 765 | M6x12 M6 32.2 26.3 95 19.3 16.5
9
0 (), Dr R R A
a = % 8 4 9.0
R 080 40 80 180 | 2900 | 3500 | 5 | 3 8.0 400 | 2500 | 3000 97 0.50 0.59
R 080 1 4 50 80 | 200 | 3100 | 4500 | 5 | 3 8.0 400 | 2500 | 3000 97 0.34 0.43
R 080 50 80 | 200 | 3200 | 4500 | 5 | 3 8.0 400 | 2500 | 3000 97 0.28 0.37
R 080 1 6 50 80 | 200 | 3200 | 4500 | 5 | 3 8.0 400 | 2500 | 3000 97 0.21 0.30
R 080 50 80 200 | 4000 | 6000 | 5 | 3 8.0 400 | 2500 | 3000 97 0.23 0.32
R 080 1 10 40 80 180 | 4000 | 6000 | 5 | 3 8.0 400 | 2500 | 3000 97 0.20 0.29
R 080 2 9 40 80 180 | 2900 | 3500 | 5 | 3 6.5 400 | 2500 | 3000 94 0.49 0.58
R 080 70 100 | 250 | 2900 | 3500 | 5 | 3 6.5 400 | 2500 | 3000 94 0.47 0.56
R 080 70 100 | 250 | 2900 | 3500 | 5 | 3 6.5 400 | 2500 | 3000 94 0.46 0.55
R 080 2 16 70 100 | 250 | 3100 | 4500 | 5 | 3 6.5 400 | 2500 | 3000 94 0.32 0.41
R 080 2 20 70 100 | 250 | 3200 | 4500 | 5 | 3 6.5 400 | 2500 | 3000 94 0.27 0.36
R 080 70 100 | 250 | 3200 | 4500 | 5 | 3 6.5 400 | 2500 | 3000 94 0.27 0.36
R 080 2 28 70 100 | 250 | 4000 | 6000 | 5 | 3 6.5 400 | 2500 | 3000 94 0.22 0.31
R 080 2 30 40 80 180 | 4000 | 6000 | 5 | 3 6.5 400 | 2500 | 3000 94 0.20 0.29
R 080 70 100 | 250 | 4000 | 6000 | 5 | 3 6.5 400 | 2500 | 3000 94 0.22 0.31
R 080 2 36 50 80 | 200 | 3200 | 4500 | 5 | 3 6.5 400 | 2500 | 3000 94 0.20 0.29
R 080 2 40 70 100 | 250 | 4000 | 6000 | 5 | 3 6.5 400 | 2500 | 3000 94 0.20 0.29
R 080 2 50 70 100 | 250 | 4000 | 6000 | 5 | 3 6.5 400 | 2500 | 3000 94 0.19 0.28
R 080 2 70 70 100 | 250 | 4000 | 6000 | 5 | 3 6.5 400 | 2500 | 3000 94 0.19 0.28
R 080 2 100 40 80 180 | 4000 | 6000 | 5 | 3 65 400 | 2500 | 3000 94 0.19 0.28
R 080 3 48 70 100 | 250 | 3100 | 4500 | 7 | & 55 400 | 2500 | 3000 91 0.33 0.42
R 080 3 64 70 100 | 250 | 3100 | 4500 | 7 | & 55 400 | 2500 | 3000 91 0.32 0.41
R 080 70 100 | 250 | 3200 | 4500 | 7' | & 55 400 | 2500 | 3000 91 0.27 0.36
R 080 3 80 70 100 | 250 | 3100 | 4500 | 7 | & 55 400 | 2500 | 3000 91 0.32 0.41
R 080 3 84 70 100 | 250 | 4000 | 6000 | 7 | & 55 400 | 2500 | 3000 91 0.23 0.32
R 080 3 90 40 80 | 180 | 4000 | 6000 | 7 | & 55 400 | 2500 | 3000 91 0.20 0.29
R 080 0 70 100 | 250 | 4000 | 6000 | 70 | & 55 400 | 2500 | 3000 91 0.20 0.29
R 080 70 100 | 250 | 3200 | 4500 | 77 | & 55 400 | 2500 | 3000 91 0.27 0.36
R 080 3 140 70 100 | 250 | 4000 | 6000 | 7 | & 55 400 | 2500 | 3000 91 0.22 0.31
R 080 0 70 100 | 250 | 4000 | 6000 | 7 | & 55 400 | 2500 | 3000 91 0.20 0.29
R 080 3 160 70 100 | 250 | 4000 | 6000 | 7 | & 55 400 | 2500 | 3000 91 0.20 0.29
R 080 70 100 | 250 | 4000 | 6000 | 7 | & 55 400 | 2500 | 3000 91 0.22 0.31
R 080 3 200 70 100 | 250 | 4000 | 6000 | 7 | & 55 400 | 2500 | 3000 91 0.20 0.29
R 080 0 70 100 | 250 | 4000 | 6000 | 7 | & 55 400 | 2500 | 3000 91 0.20 0.29
R 080 6 70 100 | 250 | 3200 | 4500 | 77 | & 55 400 | 2500 | 3000 91 0.20 0.29
R 080 0 70 100 | 250 | 4000 | 6000 | 7 | & 55 400 | 2500 | 3000 91 0.19 0.28
R 080 3 280 70 100 | 250 | 4000 | 6000 | 7 | & 55 400 | 2500 | 3000 91 0.19 0.28
R 080 0 70 100 | 250 | 4000 | 6000 | 7 | & 55 400 | 2500 | 3000 91 0.19 0.28
R 080 3 400 70 100 | 250 | 4000 | 6000 | 7 | & 55 400 | 2500 | 3000 91 0.19 0.28
R 080 3 500 70 100 | 250 | 4000 | 6000 | 7 | & 55 400 | 2500 | 3000 91 0.19 0.28
R 080 3 700 70 100 | 250 | 4000 | 6000 | 7 | & 55 400 | 2500 | 3000 91 0.19 0.28
R 080 3 1000 [EN) 80 180 | 4000 | 6000 | 7 | & 55 400 | 2500 | 3000 91 0.19 0.28

Please contact us for different motor adapters and input shaft bore.

64



TR

'y//4

TR G 080

40B1 ... 110B1

‘ N5 _
&
iy

gl

[6)]

0 <
3 76.5 — ﬂ

L — ~
- 3 "E 2 TRG0802 | 52
0 N g == TRG0803 | 58
~ S TRGO0804 | 64

e | ez O

L 78 N 38.25 192.55 (TR G 080 4) 46

ol {% N | NL | N2 | N3 N4 N5 | Lmax
40B1 8 9 952 11 12 127 14 - =] = = = 40 | 63 80 4 Max12 | 34 40
45A 8 9 952 11 12 127 - - - - - - 45 | 63 80 4 Max12 | 34 40
50B1 8 9 952 11 12 127 14 - == = = 50 | 65 80 4 M5x16 | 34 40
50BH1 | 8 9 952 11 12 127 14 - - - - - 50 | 65 80 4 55 34 40
50C1 8 9 952 11 12 127 14 - = = = = 50 | 70 80 4 M4x10 | 34 40
50D 8 9 952 11 12 127 14 - - - - - 50 | 95 80 4 M6x20 | 34 40
55A 8 9 0952 11 12 127 14 15875 16 17 19 19.05| 555 | 1257 | 105 | 4 M6x20 | 34 40
60A2 8 9 952 11 12 127 14 - - - - - 60 | 75 80 4 M5x16 | 34 40
60AH2 | 8 9 952 11 12 127 14 - e 60 | 75 90 4 6.5 34 40
60B1 8 9 952 11 12 127 14 15875 16 - - - 60 | 85 80 4 M5x16 | 34 40
60C1 8 9 952 11 12 127 14 15875 16 - -  — 60 | 90 80 4 M5x16 | 34 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 80 4 M6x20 | 34 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 85 90 4 6.5 34 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 | 90 80 4 M5x16 | 34 40
73A1 8 9 952 11 12 127 14 - = = = <= 73 | 984 | 85 4 M5x16 | 34 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 | 90 4 M6x16 | 34 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 M8x20 | 34 40
958 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 M8x20 | 34 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 | 4 M8x20 | 34 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 44 50
110B1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 54 60




1Y//4

TR G 080

@ D1
N R 3
N NS
D4
@ D2
o5 it
EM R ke
@D
D| € D1 D2 D3 D4 D5 L1 L2 L3 L4 L5

8 9 9.52 38 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 10.5

11 12 12.7 43 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 12.5

14 15.875 16 17 48 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 14.5

19 19.05 51 68 76.5 M6x12 M6 32.2 26.3 95 19.3 16.5

9
0 (), ()] R g

a . 00 o 4 9.0
R 080 40 80 180 2900 3500 5 3 8.0 2500 3000 94 0.67 0.79
R 3 4 50 80 200 3100 4500 54 3 8.0 2500 3000 94 0.62 0.75
R 50 80 200 3200 4500 54 3 8.0 2500 3000 94 0.61 0.74
R 6 50 80 200 3200 4500 5 3 8.0 2500 3000 94 0.58 0.71
R 50 80 200 4000 6000 5 3 8.0 2500 3000 94 0.60 0.73
R 0 40 80 180 4000 6000 54 3 8.0 2500 3000 94 0.60 0.72
R 0803 9 40 80 180 2900 3500 54 3 6.5 2500 3000 91 0.66 0.78
R 080 70 100 250 2900 3500 5 3 6.5 2500 3000 91 0.75 0.87
R 080 70 100 250 2900 3500 5 3 6.5 2500 3000 91 0.74 0.87
R 080 6 70 100 250 3100 4500 5 3 6.5 2500 3000 91 0.60 0.73
R 080 0 70 100 250 3200 4500 5 3 6.5 2500 3000 91 0.60 0.73
R 080 70 100 250 3200 4500 5 3 6.5 2500 3000 91 0.64 0.76
R 080 8 70 100 250 4000 6000 5 3 6.5 2500 3000 91 0.59 0.72
R 080 0 40 80 180 4000 6000 5 3 6.5 2500 3000 91 0.60 0.72
R 080 70 100 250 4000 6000 5 3 6.5 2500 3000 91 0.61 0.74
R G 080 6 50 80 200 3200 4500 5 3 6.5 2500 3000 91 0.57 0.70
R G 080 3 40 70 100 250 4000 6000 5 3 6.5 2500 3000 91 0.60 0.72
R G 080 70 100 250 4000 6000 5 3 6.5 2500 3000 91 0.59 0.71
R G 080 0 70 100 250 4000 6000 5 3 6.5 2500 3000 91 0.59 0.71
R 080 00 40 80 180 4000 6000 5' 3 6.5 2500 3000 91 0.59 0.71
R G 0804 48 70 100 250 3100 4500 7 5 55 2500 3000 89 0.61 0.75
R G 080 4 64 70 100 250 3100 4500 7 5 55 2500 3000 89 0.60 0.73
R G 080 4 70 100 250 3200 4500 7 5 55 2500 3000 89 0.60 0.73
R G 0804 80 70 100 250 3100 4500 7 5 55 2500 3000 89 0.60 0.73
RG0804 8 70 100 250 4000 6000 7 5 55 2500 3000 89 0.60 0.73
R G 0804 90 40 80 180 4000 6000 7 5 55 2500 3000 89 0.60 0.72
R G 080 4 0 70 100 250 4000 6000 7 5 55 2500 3000 89 0.60 0.72
R 080 4 70 100 250 3200 4500 7 5 55 2500 3000 89 0.60 0.73
R 080 4 140 70 100 250 4000 6000 7 5 55 2500 3000 89 0.59 0.72
R 080 4 0 70 100 250 4000 6000 7 5 55 2500 3000 89 0.60 0.72
R 080 4 160 70 100 250 4000 6000 7 5 55 2500 3000 89 0.60 0.72
R 080 4 70 100 250 4000 6000 7 5 515! 2500 3000 89 0.59 0.72
R 080 4 200 70 100 250 4000 6000 7 5' 515! 2500 3000 89 0.60 0.72
R 080 4 0 70 100 250 4000 6000 7 5' 515! 2500 3000 89 0.60 0.72
R 080 4 6 70 100 250 3200 4500 7 5' 515! 2500 3000 89 0.57 0.70
R 080 4 0 70 100 250 4000 6000 7 5' 515! 2500 3000 89 0.59 0.71
R 080 4 280 70 100 250 4000 6000 7 5' 515! 2500 3000 89 0.59 0.71
R 080 4 0 70 100 250 4000 6000 7 5' 515! 2500 3000 89 0.59 0.71
R 080 4 400 70 100 250 4000 6000 7 5' 515! 2500 3000 89 0.59 0.71
R G 080 4 500 70 100 250 4000 6000 7 5 55 2500 3000 89 0.59 0.71
R G 0804 700 70 100 250 4000 6000 7 5 55 2500 3000 89 0.59 0.71
R 080 4 1000 40 80 180 4000 6000 7 5' 515! 2500 3000 89 0.59 0.71

Please contact us for different motor adapters and input shaft bore.

66



TR

'y//4

TR MB 080

40B1 ... 110B1 20 61
242 \
@ 95 he o 3 20 6 .
N5 ) o
7 N3 B ]
w
I o |9 A © -
© )
R SISH B ER
wn | )
O ° 1@ & o
Ry T T
g ——— - | e
22.5 80 e 3 42 ©
\ @ 95 he

149.5 (TR MB 080 2)
174 (TR MB 080 3)
198.5 (TR MB 080 4) 6 Nm

T [

© ol v TRMB 0802 | 95

b T2 TRMB 0803 | 10.5

i TRMB 0804 | 115

€
1 5 T 1
M8x18
14

Dl 1< N N1 N2 N3 N4 N5 | Lmax

40B1 8 9 952 11 12 127 14 = = = = = 40 63 80 4 M4x12 34 40
45A 8 9 952 11 12 127 - - - - - = 45 63 80 4 M4x12 34 40
50B1 8 9 952 11 12 127 14 = = = = = 50 65 80 4 M5x16 34 40
50BH1 | 8 9 952 11 12 127 14 - - - - - 50 65 80 4 55 34 40
50C1 8 9 952 11 12 127 14 = = = = = 50 70 80 4 M4x10 34 40
50D 8 9 952 11 12 127 14 - - - - - 50 95 80 4 M6x20 34 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 | 125.7 | 105 4 M6x20 34 40
60A2 8 9 952 11 12 127 14 - - - - - 60 75 80 4 M5x16 34 40
60AH2 8 9 952 11 12 127 14 = = | = = = 60 75 90 4 6.5 34 40
60B1 8 9 952 11 12 127 14 15875 16 - - - 60 85 80 4 M5x16 34 40
60C1 8 9 952 11 12 127 14 15875 16 - - - 60 90 80 4 M5x16 34 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 80 4 M6x20 34 40
70AH1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 90 4 6.5 34 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 90 80 4 M5x16 34 40
73A1 8 9 952 11 12 127 14 = == = = 73 | 984 | 85 4 M5x16 34 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 90 4 M6x16 34 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 4 M8x20 34 40
95B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 4 M8x20 34 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 4 M8x20 34 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 44 50
110B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 54 60




1Y//4

TR MB 080

L1
L2
I
i
FM O -t R e
Q Q| ~ 53 a
=
[5)
Y 4l
D H D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 952 38 68 765 | Mé6x12 M6 32.2 26.3 95 19.3 105
11 12 12.7 43 68 765 | M6x12 M6 32.2 26.3 95 19.3 125
14 15.875 16 17 48 68 765 | Méx12 M6 32.2 26.3 95 19.3 145
19 19.05 51 68 765 | M6x12 M6 32.2 26.3 95 19.3 16.5

@ (ﬁ%\‘\\‘l Mo Nimax L i c Je [kgem?]
[(@ Nm |
' ' (min] ~ [min] [arcmin] [arcminl 8..127 14 ... 19.05

TR MB 080 2_3
TR MB 080 2_4
TR MB 0802 5
TR MB 080 2_6
TR MB 080 2_7
TR MB 080 2_10
TRMB 0803 9
TR MB 080 3_12
TR MB 080 3_15
TR MB 080 3_16
TR MB 080 3_20
TR MB 080 3_25
TR MB 080 3_28
TR MB 080 3_30
TR MB 080 3_35
TR MB 080 3 36
TR MB 080 3_40
TR MB 080 3_50
TR MB 080 3_70
TR MB 080 3_100
TR MB 080 4 48
TR MB 080 4_64
TR MB 080 4_75
TR MB 080 4_80
TR MB 080 4_84
TR MB 080 4_90
TR MB 080 4_120
TR MB 080 4_125
TR MB 080 4_140
TR MB 080 4_150
TR MB 080 4_160
TR MB 080 4_175
TR MB 080 4_200
TR MB 080 4_210
TR MB 080 4_216
TR MB 080 4_250
TR MB 080 4_280
TR MB 080 4_350
TR MB 080 4_400
TR MB 080 4_500
TR MB 080 4_700
TR MB 080 4_1000

Please contact us for different motor adapters and input shaft bore.

68



TR

121.3 (TR1051)
153.8 (TR 1052)

'y//4

47 186.3 (TR1053) 57.5
4 5
35 5
'E |5 — _’E [{e] ﬁ
o [ jg = TR 1051 6.5
SISE g yS S TR1052 | 85
o|© = S| TR1053 | 105
N X 7 =8
@85 = 0.05
L Jls
50D ... 130A1 1675 oo
140 (TR1052)
N5 172.5(TR1053) 57.5
5
‘ 2
355 ﬁ
\ ~
— | ©
= ;{ o g TR 1051 6.5
o S| TR1052 | 85
3 5 TR1053 | 105
15 = S
D| {< N N1 N2 N3 N4 N5 Lmax
11 12 127 14 15 15875 16 19 - - - - 50 95 100 5 M6x14 28 40
11 12 127 14 15 15875 16 19 - - - - 55 125.7 | 105 5 M6x16 28 40
11 12 127 14 15 15875 16 19 - - - - 60 75 100 6.5 M5x14 28 40
11 12 127 14 15 15875 16 19 - - - - 60 75 100 4 6.5 33 40
11 12 127 14 15 15875 16 19 - - - - 60 85 100 6.5 M5x14 28 40
11 12 127 14 15 15875 16 19 - - - - 70 85 100 6.5 M6x14 28 40
11 12 127 14 15 15875 16 19 — - - - 70 85 100 4 6.5 33 40
11 12 127 14 15 15875 16 19 - - - - 70 90 100 6.5 M5x12 28 40
11 12 127 14 15 15875 16 19 — — - - 80 100 100 6.5 M6x16 28 40
11 12 127 14 15 15875 16 19 - - - - 80 100 100 4 6.5 33 40
11 12 127 14 15 15875 16 19 — — - - 95 115 100 6.5 M8x18 28 40
11 12 127 14 15 15875 16 19 22 24 - - 95 115 100 6.5 M8x18 38 50
11 12 127 14 15 15875 16 19 - - - - 95 130 115 6.5 M8x18 28 40
11 12 127 14 15 15875 16 19 - - - - 110 130 115 6.5 M8x18 28 40
11 12 127 14 15 15875 16 19 22 24 - - 110 130 115 6.5 M8x20 38 50
11 12 127 14 15 15875 16 19 22 24 - - 110 145 120 6.5 M8x20 38 50
11 12 127 14 15 15875 16 19 22 24 28 — 110 145 120 6.5 M8x20 48 60
11 12 127 14 15 15875 16 19 22 24 - - 130 | 165 140 6.5 M10x20 38 50
11 12 127 14 15 15875 16 19 22 24 28 32 130 | 165 140 6.5 M10x25 48 60

69



14//4

L1
L3 L2
FM ‘ —
P N
o] L la) i —
&\ S LF o —
7 S
G )
8 L4
D {;(‘ : D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
1 12 12.7 43 90 98 M6x15 | M6 315 195 7.6 12 125
14 15 15875 16 48 90 98 M6x15 | M6 315 195 7.6 12 145
19 51 90 98 M6x15 | M6 315 195 7.6 12 16,5
22 24 56.5 90 98 M6x15 | M6 35 23 7.6 12 19
28 67 90 98 M6x15 | M8 35 23 7.6 14 225
32 71 90 98 M6x15 | M8 37 25 7.6 16 24.5
Je [kgem?]
ﬂl Ma2 Mp2 ni N1 max (I)s (I)R Ct R1 max R2 max| A2 max 11 “
\’.*I E ) I . ] “
(Nm] [Nm] [Nm] [min1] [min1] [arcmin] || gromin | NI [Nl | [N] % 11..127 14..19 22-24 28-32
TR 1051 3 100| 180 | 360 | 2500 | 3500 | 5 [ 3 | 24.0 | 600 | 3800] 4000] 97 | 1.70 178 | 222 | 2.59
TR 1051 4 140 | 210 | 450 | 2800 | 4500 | 5 | 3 | 24.0 | 600 | 3800 4000| 97 | 0.99 106 | 151 | 1.87
TR1051 5 140 | 210 | 450 | 3000 | 4500 | 5 | 3 | 24.0 | 600 | 3800| 4000| 97 | 0.72 079 | 1.23 | 160
TR 105 1_6 140 | 210 | 450 | 3000 | 4500 | 5 | 3 | 24.0 | 600 | 3800 4000| 97 | 0.36 043 | 088 | 124
TR1051_7 140 | 210 | 450 | 3500 | 5000 | 5 | 3 | 24.0 | 600 | 3800 | 4000| 97 | 0.47 055 | 099 | 135
(i3] 100 180 | 360 | 3500 | 5000 | 5 | 3 | 24.0 | 600 | 3800 | 4000 | 97 | 0.33 041 | 085 | 121
TR 10529 100 | 180 | 360 | 2500 | 3500 | 5 | 3 | 215 | 600 | 3800 | 4000| 94 | 1.58 163 | 207 | 2.44
3ol 170 | 250 | 600 | 2500 | 3500 | 5 | 3 | 215 | 600 | 3800 | 4000 | 94 | 152 159 | 203 | 2.40
J3dosaiis ] 170 | 250 | 600 | 2500 | 3500 | 5 | 3 | 215 | 600 | 3800 | 4000 | 94 | 147 155 | 1.99 | 2.36

TR 1052 16 170 | 250 | 600 | 2800 | 4500 | 5 3 21.5 | 600 | 3800 | 4000 | 94 0.87 0.95 139 | 1.76
TR 105 2_20 170| 250 | 600 | 3000 | 4500 | 5' 3 21.5 | 600 | 3800 | 4000 | 94 0.86 0.93 137 | 1.74
TR 105 2 25 170| 250 | 600 | 3000 | 4500 | &S 3 21.5 | 600 | 3800 | 4000 | 94 0.63 0.71 115 | 151
TR 105 2_28 170| 250 | 600 | 3500 | 5000 | 5' 3 21.5 | 600 | 3800 | 4000 | 94 0.43 0.51 0.95 | 1.32
TR 105 2_30 100 | 180 | 360 | 3500 | 5000 | &' 3 21.5 | 600 | 3800 | 4000 | 94 0.32 0.40 0.84 | 1.20
TR 105 2_35 170| 250 | 600 | 3500 | 5000 | 5' 3 21.5 | 600 | 3800 | 4000 | 94 0.43 0.50 095 | 131
TR 105 2_36 140 | 210 | 450 | 3000 | 4500 | &S 3 21.5 | 600 | 3800 | 4000 | 94 0.32 0.39 0.84 | 1.20
TR 105 2_40 170| 250 | 600 | 3500 | 5000 | 5' 3 21.5 | 600 | 3800 | 4000 | 94 0.31 0.39 0.83 | 1.20
TR 105 2_50 170 | 250 | 600 | 3500 | 5000 | &' 3! 21.5 | 600 | 3800 | 4000 | 94 0.31 0.39 083 | 119
TR 105 2_70 170| 250 | 600 | 3500 | 5000 | 5' 3 21.5 | 600 | 3800 | 4000 | 94 0.31 0.38 083 | 119
Sl Ziielel | 100 | 180 | 360 | 3500 | 5000 | 5 3' 21.5 | 600 | 3800 | 4000 | 94 0.31 0.38 0.83 | 1.19
TR 105 3 48 170| 250 | 600 | 2800 | 4500 | 7' 5] 18.0 | 600 | 3800 | 4000 | 91 0.91 0.98 142 | 1.79
TR 105 3_64 170 | 250 | 600 | 2800 | 4500 | 7' 5] 18.0 | 600 | 3800 | 4000 | 91 0.87 0.94 138 | 1.75
TR 105 3_75 170| 250 | 600 | 3000 | 4500 | 7' & 18.0 | 600 | 3800 | 4000 | 91 0.66 0.74 118 | 155
TR 105 3_80 170| 250 | 600 | 2800 | 4500 | 7' & 18.0 | 600 | 3800 | 4000 | 91 0.86 0.94 138 | 1.75
TR 105 3 84 170 | 250 | 600 | 3500 | 5000 | 7 5] 18.0 | 600 | 3800 | 4000 | 91 0.44 0.52 096 | 1.33
TR 105 3 90 100 | 180 | 360 | 3500 | 5000 | 7 5] 18.0 | 600 | 3800 | 4000 | 91 0.32 0.39 0.84 | 1.20
EdilesrelEel ] 170 | 250 | 600 | 3500 | 5000 | 7 & 18.0 | 600 | 3800 | 4000 | 91 0.32 0.39 0.84 | 1.20
Astifeerelzsi ] 170 | 250 | 600 | 3000 | 4500 | 7 5] 18.0 | 600 | 3800 | 4000 | 91 0.63 0.70 115 | 151
LEsilesRele ] 170 | 250 | 600 | 3500 | 5000 | 7 & 18.0 | 600 | 3800 | 4000 | 91 0.43 0.51 0.95 | 1.32
Aistifesrelisel ) 170 | 250 | 600 | 3500 | 5000 | 7 5] 18.0 | 600 | 3800 | 4000 | 91 0.32 0.39 084 | 1.20
AESileReRiEe ] 170 | 250 | 600 | 3500 | 5000 | 7 & 18.0 | 600 | 3800 | 4000 | 91 0.31 0.39 083 | 1.21
Astilesrelel ) 170 | 250 | 600 | 3500 | 5000 | 7 5] 18.0 | 600 | 3800 | 4000 | 91 0.43 0.50 095 | 131
AEsilesrelEelel | 170 | 250 | 600 | 3500 | 5000 | 7 & 18.0 | 600 | 3800 | 4000 | 91 0.31 0.39 0.83 | 1.20
Aistifesrel Al ) 170 | 250 | 600 | 3500 | 5000 | 7 5] 18.0 | 600 | 3800 | 4000 | 91 0.32 0.39 084 | 1.20
(SRSl ] 170 | 250 | 600 | 3000 | 4500 | 7 & 18.0 | 600 | 3800 | 4000 | 91 0.31 0.39 0.83 | 1.20
AstilerelEdlel | 170 | 250 | 600 | 3500 | 5000 | 7 5] 18.0 | 600 | 3800 | 4000 | 91 0.31 0.39 083 | 119
Lssilesrel sl ] 170 | 250 | 600 | 3500 | 5000 | 7 & 18.0 | 600 | 3800 | 4000 | 91 0.31 0.38 0.83 | 119
Astifesrelelslel | 170 | 250 | 600 | 3500 | 5000 | 7 5] 18.0 | 600 | 3800 | 4000 | 91 0.31 0.38 083 | 119
AissilesEeR el ) 170 | 250 | 600 | 3500 | 5000 | 7 & 18.0 | 600 | 3800 | 4000 | 91 0.31 0.38 0.83 | 119
Astifesrelislolel | 170 | 250 | 600 | 3500 | 5000 | 7 5] 18.0 | 600 | 3800 | 4000 | 91 0.31 0.38 083 | 119
LsSilesRelelel ) 170 | 250 | 600 | 3500 | 5000 | 7 & 18.0 | 600 | 3800 | 4000 | 91 0.31 0.38 0.83 | 119
isditelsieiielelon] 100 | 180 | 360 | 3500 | 5000 | 7' 5] 18.0 | 600 | 3800 | 4000 | 91 0.31 0.38 083 | 1.19

Please contact us for different motor adapters and input shaft bore.

70



'y//4

TR G 105

50D ... 130A1

N3
Q
o|Z
[

E
in
i
gl

62.75
g
!
| @70 h7.

",m TRG 1052 | 85
@ 3 ‘g = TRG 1053 | 105
170.3 (TRG 105 2) E g TRE10%4 125

285 +0.05_ 202.8 (TR G 105 3) | M8x15

98 . 49 235.3 (TRG 105 4) 57.5

o
|—

Dl 1< N N1 N2 N3 N4 N5 | Lmax
50D 1 12 127 14 15 15875 16 19 - - — - 50 95 | 100 5 M6x14 | 28 40
55A 1 12 127 14 15 15875 16 19 - - - - 55 | 125.7 | 105 5 M6x16 | 28 40
60A2 1 12 127 14 15 15875 16 19 - - — - 60 75 | 100 | 65 | M5x14 | 28 40
60AH2 | 11 12 127 14 15 15875 16 19 - - — - 60 75 | 100 4 6.5 33 40
60B1 1 12 127 14 15 15875 16 19 - - - - 60 85 | 100 | 65 | M5x14 | 28 40
70A1 1 12 127 14 15 15875 16 19 - - — - 70 85 | 100 | 65 | Méxl4 | 28 40
70AH1 | 11 12 127 14 15 15875 16 19 - - - — 70 85 | 100 4 6.5 33 40
70B1 1 12 127 14 15 15875 16 19 - - - — 70 90 | 100 | 65 | M5x12 | 28 40
80A1 11 12 127 14 15 15875 16 19 - - — - 80 | 100 | 100 | 65 | M6x16 | 28 40
80AH1 | 11 12 127 14 15 15875 16 19 - - — — 80 | 100 | 100 4 6.5 33 40
95A 11 12 127 14 15 15875 16 19 - - - - 95 | 115 | 100 | 65 | M8x18 | 28 40
95A1 11 12 127 14 15 15875 16 19 22 24 — - 95 | 115 | 100 | 65 | M8x18 | 38 50
95B 11 12 127 14 15 15875 16 19 - - - - 95 | 130 | 115 | 65 | M8x18 | 28 40
110A 11 12 127 14 15 15875 16 19 - - - — | 110 | 130 | 115 | 65 | M8x18 | 28 40
110A1 | 11 12 127 14 15 15875 16 19 22 24 — — | 110 | 130 | 115 | 65 | M8x20 | 38 50
110B 11 12 127 14 15 15875 16 19 22 24 - — | 110 | 145 | 120 | 65 | M8x20 | 38 50
110B1 | 11 12 127 14 15 15875 16 19 22 24 28 — | 110 | 145 | 120 | 65 | M8x20 | 48 60
130A 11 12 127 14 15 15875 16 19 22 24 - — | 130 | 165 | 140 | 65 | M10x20 | 38 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 28 32| 130 | 165 | 140 | 65 | M10x25 | 48 60

71



1Y//4

TR G 105

@ D1
W N 3
N NS
@ D2
s L5
FM ] b
- N\
@D
D] £ ‘ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 7 127 43 90 98 | M6xi5 | M6 315 195 76 ) 25
14 15 15.875 16 48 90 98 M6x15 M6 315 19.5 7.6 12 14.5
19 51 ) 98 | M6x15 | M6 315 195 76 %) 165
22 24 56.5 ) 98 | M6x15 | M6 35 23 76 12 19
28 67 ) 98 M6x15 | M8 35 23 7.6 14 225
32 71 ) 98 M6x15 | M8 37 25 7.6 16 24.5

Jc [kgem?]

(‘* "
ii Mn2 Ma2 Mp2 N1 | N1max (I)s (I)R Ct R2 max | A2 max

\
(Nm] [Nm] [Nm] | [min-] [min-1] [arcmin] [arcnr:in N IN]

TRG 1052 3
TRG 1052 4
TRG 1052 5
TRG 1052 6
TRG 1052 7
TR G 1052 10
TR G 1053 9
TR G 105 3 12
TR G 105 3_15
TR G 105 3 16
TR G 1053 20
TR G 105 3 25
TR G 105 3 28
TR G 105 3 30
TR G 1053 35
TR G 105 3 36
TR G 105 3 40
TR G 105 3 50
TR G 105 3_70
TR G 105 3_100
TR G 105 4 48
TR G 105 4 64
TR G 1054 75
TR G 105 4 80
TR G 105 4 84
TR G 105 4 90
TR G 105 4 120
TR G 105 4 125
TR G 105 4_140
TR G 105 4_150
TR G 105 4_160
TR G 1054 175
TR G 105 4_200
TR G 105 4 210
TR G 105 4 216
TR G 105 4_250
TR G 105 4 280
TR G 105 4 350
TR G 105 4_400
TR G 105 4_500
TR G 105 4_700
TR G 105 4_1000 TN

Please contact us for different motor adapters and input shaft bore.

72



TR

'y//4

TR MB 105

50D ... 130A1

25 95 ‘
258 |
@ 144 ne “ @ 32 c6 [te]
N5 o3 | ®
70, N3 " ] __Iq;_ |
2 : 2!
o
\“{‘»\ © 2 — o ©
8 slst | 823N
Fan Y Fan) e ;
] * k ® L o o
&
B " |
© 0
2 : :
195 (TR MB 105 2)
227.5 (TR MB 105 3)
. 260 (TR MB 105 4) N 6 Nm
) J\ 034 | m—
T = T
g 3 TRMB 1052 | 192
) - TRMB 1053 | 21.2
TR MB 1054 | 232
! L 1
M10x20
15
D ,({,,253, N N1 N2 N3 N4 N5 Lmax
50D 11 12 127 14 15 15875 16 19 — — - - 50 95 100 5 M6x14 28 40
55A 11 12 127 14 15 15875 16 19 - - - - 55 | 125.7 | 105 5 M6x16 28 40
60A2 11 12 127 14 15 15875 16 19 - - - - 60 75 100 6.5 M5x14 28 40
60AH2 11 12 127 14 15 15875 16 19 - - - - 60 75 100 4 6.5 33 40
60B1 11 12 127 14 15 15875 16 19 - - - - 60 85 100 6.5 M5x14 28 40
70A1 11 12 127 14 15 15875 16 19 - - - - 70 85 100 6.5 M6x14 28 40
70AH1 11 12 127 14 15 15875 16 19 - - - - 70 85 100 4 6.5 33 40
70B1 11 12 127 14 15 15875 16 19 - - - - 70 90 100 6.5 M5x12 28 40
80A1 11 12 127 14 15 15875 16 19 - - - - 80 100 100 6.5 M6x16 28 40
80AH1 11 12 127 14 15 15875 16 19 - - - - 80 100 100 4 6.5 33 40
95A 11 12 127 14 15 15875 16 19 - - - - 95 115 100 6.5 M8x18 28 40
95A1 11 12 127 14 15 15875 16 19 22 24 - - 95 115 100 6.5 M8x18 38 50
95B 11 12 127 14 15 15875 16 19 - - - - 95 130 115 6.5 M8x18 28 40
110A 11 12 127 14 15 15875 16 19 - - - - 110 130 115 6.5 M8x18 28 40
110A1 11 12 127 14 15 15875 16 19 22 24 - - 110 130 115 6.5 M8x20 38 50
110B 11 12 127 14 15 15875 16 19 22 24 - - 110 145 120 6.5 M8x20 38 50
110B1 11 12 127 14 15 15875 16 19 22 24 28 - 110 145 120 6.5 M8x20 48 60
130A 11 12 127 14 15 15875 16 19 22 24 - - 130 165 140 6.5 M10x20 38 50
130A1 11 12 127 14 15 15875 16 19 22 24 28 32 130 | 165 140 6.5 M10x25 48 60

73



1Y//4

TR MB 105

L1
L2
[
.
o 2R e
FM S S4B o
| s
)
R
D| + D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 12 12.7 43 90 98 M6x15 M6 &iL5 19.5 7.6 12 125
14 15 15.875 16 48 90 98 M6x15 M6 315 19.5 7.6 12 145
19 51 90 98 M6x15 M6 31.5 19.5 7.6 12 16.5
22 24 56.5 90 98 M6x15 M6 35 23 7.6 12 19
28 67 90 98 M6x15 M8 35 23 7.6 14 225
32 71 90 98 M6x15 M8 37 25 7.6 16 24.5

(6

TR MB 105 2 3
TR MB 105 2_4
TR MB 105 2 5
TR MB 105 2_6
TR MB 105 2_7
TR MB 105 2_10
TR MB 1053 9
TR MB 105 3_12
TR MB 105 3_15
TR MB 105 3_16
TR MB 105 3_20
TR MB 105 3_25
TR MB 105 3_28
TR MB 105 3 30
TR MB 105 3_35
TR MB 105 3_36
TR MB 105 3_40
TR MB 105 3_50
TR MB 105 3_70
TR MB 105 3_100
TR MB 105 4 48
TR MB 105 4_64
TR MB 105 4_75
TR MB 105 4_80
TR MB 105 4_84
TR MB 105 4_90
TR MB 105 4_120
TR MB 105 4_125
TR MB 105 4_140
TR MB 105 4_150
TR MB 105 4_160
TR MB 105 4_175
TR MB 105 4_200
TR MB 105 4_210
TR MB 105 4 216
TR MB 105 4_250
TR MB 105 4_280
TR MB 105 4_350
TR MB 105 4_400
TR MB 105 4_500
TR MB 105 4_700
TR MB 105 4_1000

Please contact us for different motor adapters and input shaft bore.

ﬁ““il Mn 2 ds  Or Gt
@] _

. o : I Nm
[min~] faremin] |5 cmin

74



'y//4

TR 130

151.2 (TR1301)
190.7 (TR1302)
57.5 230.2 (TR1303) 69.5

5 5 7

~ ~|
< ¢7 — — | oo
S t T joa TR1301 | 120
[e) w — _ [ee] Q
Sy S S TR1302 | 155
X | <
n 2 = ANy TR 130 3 18.5
8= 7 [ R
@110+ 0.05 2110 + 0.05
2] BN
(o'
|—
126 (TR1301)
165.5 (TR 1302)
N5 205 (TR1303) 69.5
7
8
|
|50 .3 .&.
K j 8g TR1301 | 120
SIS i TR1302 | 155
= S
&l S TR1303 | 185
E [s2]
20 S
Dl () N N1 N2 N3 N4 N5 | Lmax
14 15875 16 19 - = = = = — | 555 | 1257 | 130 4 M6x15 | 395 | 50
14 15875 16 19 - - - - - - 80 100 | 130 4 M6x15 | 395 | 50
14 15875 16 19 22 24 - = = = 95 115 | 130 4 M8x20 | 395 | 50
14 15875 16 19 22 24 - - - - 110 | 130 | 130 4 M8x20 | 395 | 50
14 15875 16 19 22 24 - = = = 110 | 145 | 130 6.5 M8x20 | 495 | 60
14 15875 16 19 22 24 - - - — | 1143 | 200 | 170 55 | M12x25 | 395 | 50
14 15875 16 19 22 24 28 32 35 38 | 1143 | 200 | 170 55 | M12x25 | 695 | 80
14 15875 16 19 22 24 - - - - 130 | 165 | 140 4 M10x20 | 395 | 50
14 15875 16 19 22 24 28 32 - = 130 | 165 | 140 4 M10x20 | 495 | 60
14 15875 16 19 22 24 28 32 - - 180 | 215 | 190 55 | M14x25 | 495 | 60
14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 55 | M14x25 | 695 | 80

75



14//4

L1
L3 L2
/;//,A [
I
— o T.|=|_|
i g\ o k= 7 o —
7 Q
UL %)
g
D (é D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 1255 M8x15 M6 40 27.5 6 20 145
19 51 113 1255 M8x15 M6 40 275 6 20 16.5
22 24 56.5 113 1255 M8x15 M6 41 28.5 6 195 19
28 67 113 1255 M8x15 M8 41 28.5 6 19.5 22.5
32 71 113 1255 M8x15 M8 41 28.5 6 19.5 24.5
35 73 113 1255 M8x15 M8 50 375 11.25 26 26
38 775 113 125.5 M8x15 M8 50 37.5 11.25 26 28
Je [kgem?]
Mp 2 N1 | N1max (I)s (I)R Ct R1max R2max A2max 1M
[Nm] | [min-Y] | [min-Y] | [arcmin] Iar|2$in [N] [N] [N] % 14..19 22-24 28-32 35-38
TR1301 3 800 | 2100 | 3000 5 3 45.0 800 | 5500 | 6500 | 97 6.2 5.46 5.81 7.16
TR1301 4 1100 | 2400 | 3500 5 3 45.0 800 | 5500 | 6500 | 97 3.06 3.26 3.61 4.97
TR13015 1100 | 2900 | 3500 5 3 45.0 800 | 5500 | 6500 | 97 2.22 2.42 2.77 4.13
TR1301 6 1100 | 2900 | 3500 5 3 45.0 800 | 5500 | 6500 | 97 1.19 1.40 1.75 3.10
TR1301 7 1100 | 3200 | 4000 5 g 45.0 800 | 5500 | 6500 | 97 1.47 1.68 2.03 3.38
TR 1301 10 800 | 3200 | 4000 5 g 45.0 800 | 5500 | 6500 | 97 1.04 1.25 1.60 2.95
TR 1302 9 800 | 2100 | 3000 5 B 38.5 800 | 5500 | 6500 | 94 4.82 5.02 5.8 6.72
TR 1302 12 1300 | 2100 | 3000 5 & 38.5 800 | 5500 | 6500 | 94 4.57 4.78 51318 6.48
TR 1302 15 1300 | 2100 | 3000 5 g 38.5 800 | 5500 | 6500 | 94 4.48 4.69 5.04 6.39
TR 130 2_16 1300 | 2400 | 3500 5 & 38.5 800 | 5500 | 6500 | 94 2.67 2.88 3.23 458
TR 130 2_20 1300 | 2900 | 3500 5 g 38.5 800 | 5500 | 6500 | 94 1.97 2.18 2.53 3.88
TR 130 2_25 1300 | 2900 | 3500 5 3 38.5 800 | 5500 | 6500 | 94 1.94 2.15 2.50 3.85
TR 130 2_28 1300 | 3200 | 4000 5 3 38.5 800 | 5500 | 6500 | 94 1.34 1.55 1.90 3.25
TR 130 2_30 800 | 3200 | 4000 5 3 38.5 800 | 5500 | 6500 | 94 1.00 121 1.56 291
TR 130 2_35 1300 | 3200 | 4000 5 3 38.5 800 | 5500 | 6500 | 94 1.33 1.53 1.88 3.24
TR 130 2_36 1100 | 2900 | 3500 5 3 38.5 800 | 5500 | 6500 | 94 1.05 1.26 1.61 2.96
TR 130 2_40 1300 | 3200 | 4000 5 & 38.5 800 | 5500 | 6500 | 94 0.98 1.19 1.54 2.89
TR 130 2_50 1300 | 3200 | 4000 5 & 38.5 800 | 5500 | 6500 | 94 0.97 1.18 1.53 2.88
TR 1302 70 1300 | 3200 | 4000 5 & 38.5 800 | 5500 | 6500 | 94 0.96 117 1.52 2.87
TR 130 2_100 800 | 3200 | 4000 5 & 38.5 800 | 5500 | 6500 | 94 0.96 1.17 1.52 2.87
TR 130 3_48 1300| 2400 | 3500 7 o 30.0 800 | 5500 | 6500 | 91 2.77 2.98 3.33 4.68
TR 130 3_64 1300| 2400 | 3500 7 5} 30.0 800 | 5500 | 6500 | 91 2.65 2.86 3.21 4.56
TR 1303 75 1300| 2900 | 3500 T 5 30.0 800 | 5500 | 6500 | 91 2.03 2.24 2.59 3.94
TR 130 3_80 1300 | 2400 | 3500 T B 30.0 800 | 5500 | 6500 | 91 2.65 2.85 3.20 4.56
TR 130 3_84 1300 | 3200 | 4000 T 5 30.0 800 | 5500 | 6500 | 91 1.37 1.58 1.93 3.28
TR 130 3 90 800 | 3200 | 4000 T B 30.0 800 | 5500 | 6500 | 91 1.00 1.20 1.55 291
TR 130 3_120 1300 | 3200 | 4000 T 5 30.0 800 | 5500 | 6500 | 91 0.99 1.20 1.55 2.90
TR 130 3_125 1300 | 2900 | 3500 T 5} 30.0 800 | 5500 | 6500 | 91 1.93 2.13 2.48 3.84
TR 130 3_140 1300 | 3200 | 4000 T 5 30.0 800 | 5500 | 6500 | 91 1.34 1.54 1.89 3.25
TR 130 3_150 1300 | 3200 | 4000 T 5} 30.0 800 | 5500 | 6500 | 91 0.99 1.20 1.55 2.90
TR 130 3_160 1300 | 3200 | 4000 T 5 30.0 800 | 5500 | 6500 | 91 0.98 1.18 1.53 2.89
TR 130 3_175 1300 | 3200 | 4000 T 5] 30.0 800 | 5500 | 6500 | 91 1.32 1.53 1.88 3.23
TR 130 3_200 1300 | 3200 | 4000 7 5 30.0 800 | 5500 | 6500 | 91 0.97 1.18 1.53 2.88
TR 130 3_210 1300 | 3200 | 4000 7 o 30.0 800 | 5500 | 6500 | 91 0.99 1.20 1.55 2.90
TR 130 3_216 1300 | 2900 | 3500 7 5 30.0 800 | 5500 | 6500 | 91 1.05 1.26 1.61 2.96
TR 130 3_250 1300 | 3200 | 4000 7 B 30.0 800 | 5500 | 6500 | 91 0.97 1.18 1.53 2.88
TR 130 3_280 1300 | 3200 | 4000 7 5 30.0 800 | 5500 | 6500 | 91 0.96 117 1.52 2.87
TR 130 3_350 1300 | 3200 | 4000 7 B 30.0 800 | 5500 | 6500 | 91 0.96 1.17 1.52 2.87
TR 130 3_400 1300 | 3200 | 4000 7 5 30.0 800 | 5500 | 6500 | 91 0.96 117 1.52 2.87
TR 130 3_500 1300 | 3200 | 4000 T B 30.0 800 | 5500 | 6500 | 91 0.96 1.17 1.52 2.87
TR 130 3_700 1300 | 3200 | 4000 T 5 30.0 800 | 5500 | 6500 | 91 0.96 117 1.52 2.87
TR 130 3_1000 800 | 3200 | 4000 7 5 30.0 800 | 5500 | 6500 | 91 0.96 1.17 1.52 2.87

Please contact us for different motor adapters and input shaft bore.

76



'y//4

TR G 130

55A1 ... 180A1

_N5
n
e
it
o
o

[Te]
0 124 . &
© L — e
i " 3 TRG1302 | 16.0
- 2 o =S TRG 1303 | 195
o ; b TRG1304 | 225
213.2 (TR G 130 2) =l g
121102 0.05 252.7 (TRG 130 3) M12x20
124 | 62 292.2 (1R G 130 4) 69.5 |
o
= N4 _
D H% N NL | N2 | N3 N4 N5 | Lmax
14 15875 16 19 - - - - - — | 555 | 1257 | 130 4 M6x15 | 395 | 50
14 15875 16 19 - - - - - - 80 | 100 | 130 4 M6x15 | 395 | 50
14 15875 16 19 22 24 - - -  — 95 | 115 | 130 4 M8x20 | 395 | 50
14 15875 16 19 22 24 - - - - | 110 | 130 | 130 4 M8x20 | 395 | 50
14 15875 16 19 22 24 - - - - | 110 | 145 | 130 | 65 | M8x20 | 495 | 60
14 15875 16 19 22 24 - - - - [1143| 200 | 170 | 55 | M12x25 | 395 | 50
14 15875 16 19 22 24 28 32 35 38 |1143| 200 | 170 | 55 | M12x25 | 695 | 80
14 15875 16 19 22 24 - - - — | 130 | 165 | 140 4 | M10x20 | 395 | 50
14 15875 16 19 22 24 28 32 -  — | 130 | 165 | 140 4 | M10x20 | 495 | 60
14 15875 16 19 22 24 28 32 - — | 180 | 215 | 190 | 55 | M14x25 | 495 | 60
14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 55 | M14x25 | 695 | 80

77



1Y//4

TR G 130

@ D1
W N3
& N
D4
@ D2 3
L5
D5 -
FM e A
— —
@D
D[ (<5 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
4 15875 16 8 i 1255 | Mexi5 M6 20 275 6 20 145
19 51 113 1255 | M8x15 M6 40 275 6 20 165
2 24 56.5 e 1255 | M8x15 M6 4 285 6 195 19
28 67 113 1255 | M8x15 M8 41 285 6 195 25
32 71 e 1255 | M8x15 M8 M 285 6 195 245
35 73 113 1255 | M8x15 M8 50 375 11.25 26 26
38 775 113 1255 | M8x15 M8 50 375 11.25 26 28

N1 N1max (I)S (I)R Ci R2 max A2 max

[min-Y] [minY] | [arcmin]

TRG1302 3 2100
TRG1302 4 2400
TRG1302 5 2900 | 3500 | 5' 3 45.0 5500 | 6500 | 94 4.81 4.99 5.38 8.10
TRG 1302 6 2900 | 3500 | &' 3 45.0 5500 | 6500 | 94 4.45 4.64 5.03 7.73
TRG1302 7 3200 | 4000 | 5' 3 45.0 5500 | 6500 | 94 4.73 4.92 531 8.01
TRG 1302 10 3200 | 4000 | 5 3! 45.0 5500 | 6500 | 94 4.68 4.88 5.26 7.97
TRG1303 9 2100 | 3000 | &' 3 38.5 5500 | 6500 | 91 6.66 6.84 7.22 9.93
TR G 1303 12 2100 | 3000 | 5' 3 38.5 5500 | 6500 | 91 6.25 6.45 6.84 9.54
TRG 1303 15 2100 | 3000 | &' 3 38.5 5500 | 6500 | 91 6.25 6.44 6.83 9.58
TR G 1303 16 2400 | 3500 | 5' 3 38.5 5500 | 6500 | 91 4.51 4.70 5.08 7,09
TR G 1303 20 2900 | 3500 | &' 3 38.5 5500 | 6500 | 91 4.56 5.36 NS 8.45
TR G 1303 25 2900 | 3500 | 5' 3 38.5 5500 | 6500 | 91 5.13 4.72 SNINI! 7.82
TR G 1303 28 3200 | 4000 | &' 3l 38.5 5500 | 6500 | 91 4.60 4.79 5.18 7.88
TR G 1303 30 3200 | 4000 | 5 3 38.5 5500 | 6500 | 91 4.64 4.84 5.22 7.93
TR G 1303 35 3200 | 4000 | &' & 38.5 5500 | 6500 | 91 4.92 5.10 5.49 8.20
TR G 130 3 36 2900 | 3500 | 5 3 38.5 5500 | 6500 | 91 4.31 4.50 4.89 259
TR G 1303 40 3200 | 4000 | &' & 38.5 5500 | 6500 | 91 4.77 4.96 5.35 8.05
TR G 1303 50 3200 | 4000 | 5 3 38.5 5500 | 6500 | 91 4.76 4.96 5.34 8.05
TR G 1303 70 3200 | 4000 | 5' 3 38.5 5500 | 6500 | 91 4.60 4.80 5.18 7.89
TR G 130 3 100 3200 | 4000 | 5' 3l 38.5 5500 | 6500 | 91 4.60 4.80 5.18 7.89
TR G 130 4_48 2400 | 3500 | 7 Isf 30.0 5500 | 6500 | 89 4.61 4.81 5.18 7.89
TR G 1304 64 2400 | 3500 | 7' 5 30.0 5500 | 6500 | 89 4.49 4.68 5.06 7.77
TR G 1304 75 2900 | 3500 | 7 5f 30.0 5500 | 6500 | 89 4.62 4.81 5.20 7.91
TR G 1304 80 2400 | 3500 | 7' 5 30.0 5500 | 6500 | 89 4.49 4.67 5.05 7.77
TR G 1304 84 3200 | 4000 | 7' 5f 30.0 5500 | 6500 | 89 4.63 4.82 521 7.91
TR G 1304 90 3200 | 4000 | 7 5 30.0 5500 | 6500 | 89 4.64 4.83 521 7.93
TR G 1304 120 3200 | 4000 | 7' 5 30.0 5500 | 6500 | 89 4.63 4.83 521 7.92
TR G 1304 125 2900 | 3500 | 7' 5 30.0 5500 | 6500 | 89 4.52 4.70 5.09 7.81
TR G 130 4 140 3200 | 4000 | 7' 5 30.0 5500 | 6500 | 89 4.60 4.78 SN 7.88
TR G 1304 150 3200 | 4000 | 7 ) 30.0 5500 | 6500 | 89 4.63 4.83 521 7.92
TR G 130 4 160 3200 | 4000 | 7 5] 30.0 5500 | 6500 | 89 4.62 4.81 B9 7.91
TR G 1304 175 3200 | 4000 | 7' 5 30.0 5500 | 6500 | 89 4.58 4.77 5.16 7.86
TR G 130 4 200 3200 | 4000 | 7' 5] 30.0 5500 | 6500 | 89 4.61 4.81 5. 7.90
TR G 1304 210 3200 | 4000 | 7' 5 30.0 5500 | 6500 | 89 4.63 4.83 521 7.92
TR G 1304 216 2900 | 3500 | 7' B 30.0 5500 | 6500 | 89 4.31 4.50 4.89 758
TR G 130 4 250 3200 | 4000 | 7' 5 30.0 5500 | 6500 | 89 4.61 4.81 SN 7.90
TR G 130 4 280 3200 | 4000 | 7' B 30.0 5500 | 6500 | 89 4.60 4.80 5.18 7.89
TR G 130 4 350 3200 | 4000 | 7 5f 30.0 5500 | 6500 | 89 4.60 4.80 5.18 7.89
TR G 130 4 400 3200 | 4000 | 7 Bi 30.0 5500 | 6500 | 89 4.60 4.80 5.18 7.89
TR G 130 4 500 3200 | 4000 | 7 5f 30.0 5500 | 6500 | 89 4.60 4.80 5.18 7.89
TR G 130 4 700 3200 | 4000 | 7' Bi 30.0 5500 | 6500 | 89 4.60 4.80 5.18 7.89
TR G 130 4 1000 3200 | 4000 | 7 5f 30.0 5500 | 6500 | 89 4.60 4.80 5.18 7.89

Please contact us for different motor adapters and input shaft bore.

Nm = =%
Iarcmin N [N 14..19 22-24 28-32

78



TR

'y//4

TR MB 130

55A1 ... 180A1

375 100
o5, \
@172 © D@42c6 ©
1y N5 ® _
75, N3 N4
< . Lo —
< i
o, o | & — = o—
@ )
8 zZ Di 8 ﬁ | o
~ Q Q ) ~—| g g
0 | J
ol 1O o |8 o o
(V]
<ty
I I 1 - [
| e 3 o
425 100 2 @ 75 ©
@172
233.5 (TR MB 130 2)
273 (TR MB 130 3)
312.5 (TR MB 130 4) 15 Nm
T i
- / ;ﬂﬂ\ TRMB 1302 | 54
® @i TRMB 1303 | 58
O TRMB1304 | 61
Y H -
1 0
M12x22 . 875l
145 _J
20 175 i
D H% N | NI | N2 | N3 N4 N5 | Limax
14 15875 16 19 = = = = = = 555 | 125.7 | 130 4 M6x15 | 39.5 50
14 15875 16 19 - - - - - - 80 100 130 4 M6x15 | 39.5 50
14 15875 16 19 22 24 - - - - 95 115 130 4 M8x20 | 39.5 50
14 15875 16 19 22 24 - - - - 110 130 130 4 M8x20 | 39.5 50
14 15875 16 19 22 24 - = = = 110 145 130 6.5 M8x20 | 495 60
14 15875 16 19 22 24 - - - — | 1243 | 200 170 55 | M12x25 | 395 50
14 15875 16 19 22 24 28 32 35 338 | 1143 | 200 170 55 | Mi12x25 | 69.5 80
14 15875 16 19 22 24 - - - - 130 165 140 4 M10x20 | 39.5 50
14 15875 16 19 22 24 28 32 = = 130 165 140 4 M10x20 | 49.5 60
14 15875 16 19 22 24 28 32 - - 180 | 215 190 55 | M14x25 | 495 60
14 15875 16 19 22 24 28 32 35 38 | 180 | 215 190 55 | M14x25 | 69.5 80

79



1Y//4

TR MB 130

L1
L2
; o
M 8 gaba
S 3 She 7 a
om Q ,
o) S o
|L4]
D] £ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 125.5 M8x15 M6 40 27.5 6 20 145
19 51 113 125.5 M8x15 M6 40 27.5 6 20 16.5
22 24 56.5 113 125.5 M8x15 M6 41 28.5 6 195 19
28 67 113 125.5 M8x15 M8 41 28.5 6 19.5 225
32 71 113 125.5 M8x15 M8 41 28.5 6 19.5 24.5
35 73 113 125.5 M8x15 M8 50 375 11.25 26 26
38 775 113 125.5 M8x15 M8 50 37.5 11.25 26 28

&

TRMB 1302 3
TR MB 130 2_4
TRMB 1302 5
TRMB 1302 6
TR MB 130 2_7
TR MB 130 2_10
TR MB 1303 9
TR MB 130 3_12
TR MB 130 3 15
TR MB 130 3_16
TR MB 130 3_20
TR MB 130 3 25
TR MB 130 3_28
TR MB 130 3_30
TR MB 1303 35
TR MB 130 3_36
TR MB 130 3_40
TR MB 130 3 50
TR MB 130 3_70
TR MB 130 3_100
TR MB 1304 48
TR MB 130 4_64
TR MB 1304_75
TR MB 1304 80
TR MB 130 4_84
TR MB 130 4_90
TR MB 1304 120
TR MB 1304 125
TR MB 130 4_140
TR MB 130 4_150
TR MB 130 4_160
TR MB 1304_175
TR MB 130 4_200
TR MB 130 4_210
TR MB 1304 _216
TR MB 130 4250
TR MB 130 4_280
TR MB 130 4_350
TR MB 130 4_400
TR MB 130 4_500
TR MB 130 4_700
TR MB 130 4_1000

ni

[min-1]

N1 max (I)s (I)R

[min-1]

[arcmin]

|

Ct
Nm
arcmin

%

Jc [kgem?]
)
7

14..19 22-24 28-32 35-38

Please contact us for different motor adapters and input shaft bore.

80



'y//4

TR 160

IS 155.2 (TR1601)
194.7 (TR 1602)
61.5 234.2 (TR 160 3) 98
5 14
70 6
s )
¥ 'S0
T+ == TR1601 | 17.0
Bk TR1602 | 21
= ﬁf 3 g TR1603 | 28
B ='s @1300.05 |
L Jles
o
|—
= 130 (TR1601)
169.5 (TR 1602)
209 (TR1603) 98
114
2
Lt &
) D= I
¢ ‘1 9 9 TR1601 | 17.0
RIS S TR1602 | 21
&5 TR1603 | 28
T 3
1125 S
Dl 1<) N NI | N2 | N3 N4 N5 | Lmax
14 15875 16 19 - - - - - - 555 | 125.7 140 5 M6x15 39.5 50
14 15875 16 19 - — - - - - 80 100 140 5 M6x15 39.5 50
14 15.875 16 19 22 24 - - - - 95 115 140 5 M8x20 39.5 50
14 15875 16 19 22 24 — — — — 110 130 140 5 M8x20 395 50
14 15875 16 19 22 24 - - - — 110 145 140 615 M8x20 49.5 60
14 15875 16 19 22 24 28 32 35 38 | 1143 | 200 170 6.5 M12x25 69.5 80
14 15875 16 19 22 24 — — - — 130 165 140 5 M10x20 39.5 50
14 15875 16 19 22 24 28 32 — - 130 165 140 5 M10x20 495 60
14 15875 16 19 22 24 28 32 - — 180 215 190 5.5 M14x25 49.5 60
14 15875 16 19 22 24 28 32 35 38 180 215 190 55 M14x25 69.5 80

81



14//4

L1
L3 L2
7z [
v
FM z 3 —
o i _. la) o P g
&\ O] a —
Q
Te)
iy
D (<~ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
=
14 15.875 16 48 130 142.5 M8x16 M6 40 275 6 20 145
19 51 130 1425 M8x16 M6 40 275 6 20 16.5
22 24 56.5 130 1425 M8x16 M6 41 285 6 195 19
28 67 130 1425 M8x16 M8 41 285 6 195 225
32 71 130 1425 M8x16 M8 41 285 6 19.5 245
35 73 130 1425 M8x16 M8 50 375 11.25 26 26
38 775 130 142.5 M8x16 M8 50 375 11.25 26 28
0
0 (), ()= R R A
R 160 350 | 660 [1200| 1900 | 3000 | 5' 3 90 1200 | 6500 | 7500 | 97 8.39 8.60 8.95 | 10.30
R 160 1 4 500 | 750 | 1400 | 2200 | 3500 | 5' 3 90 1200 | 6500 | 7500 | 97 4.68 4.89 5.24 6.59
R 160 500 | 750 [1400| 2500 | 3500 | &' 3 90 1200 | 6500 | 7500 | 97 3.28 3.49 3.84 5.19
R 1601 6 500 | 750 | 1400 2500 | 3500 | 5' 3 90 1200 | 6500 | 7500 | 97 132 153 1.88 3.23
R 160 500 | 750 | 1400 3000 | 4000 | &' 3 90 1200 | 6500 | 7500 | 97 2.03 2.24 2.59 3.94
R 160 1 10 350 | 660 | 1200 | 3000 | 4000 | 5' 3 90 1200 | 6500 | 7500 | 97 1.33 153 1.88 3.24
R 1602 9 350 | 660 [1200] 1900 [ 3000 [ &' 3 835 | 1200 | 6500 | 7500 | 94 | 7.51 7.72 8.07 9.42
R 160 700 | 950 | 1800 1900 | 3000 | 5' 3 835 |[1200 | 6500 | 7500 | 94 | 7.10 7.30 7.65 9.01
R 160 700 | 950 |1800| 1900 | 3000 | 5 3 835 | 1200 | 6500 | 7500 | 94 | 6.94 7.15 7.50 8.85

R 160 6 700 | 950 | 1800 | 2200 | 3500 | 5' 3 83.5 | 1200 | 6500 | 7500 | 94 3.95 4.16 4.51 5.86
R 160 0 700 | 950 | 1800 | 2500 | 3500 | 5' & 83.5 | 1200 | 6500 | 7500 | 94 2.82 3.02 3.37 4.73
R 160 700 | 950 | 1800 2500 | 3500 | 5' 3 83.5 | 1200 | 6500 | 7500 | 94 2.76 2.97 3:32 4.67
R 160 8 700 | 950 | 1800 | 3000 | 4000 | 5' & 83.5 | 1200 | 6500 | 7500 | 94 NG, 2.00 2.35 3.70
R 160 0 350 | 660 |1200| 3000 | 4000 | S' & 83.5 | 1200 | 6500 | 7500 | 94 1.25 1.46 181 3.16
R 160 700 | 950 | 1800 | 3000 | 4000 | 5' 3 83.5 | 1200 | 6500 | 7500 | 94 177 1.97 2.32 3.68
R 160 6 500 | 750 | 1400 | 2500 | 3500 | 5' 3 83.5 | 1200 | 6500 | 7500 | 94 1.06 1.27 1.62 297
R 160 2_40 700 | 950 | 1800 | 3000 | 4000 | 5' 3 83.5 | 1200 | 6500 | 7500 | 94 121 1.42 1.77 3.12
R 160 0 700 | 950 [1800| 3000 | 4000 | &' 3! 83.5 | 1200 | 6500 | 7500 | 94 1.20 1.40 1.75 3.11
R 160 0 700 | 950 | 1800 | 3000 | 4000 | 5' 3 83.5 | 1200 | 6500 | 7500 | 94 1.18 1.39 1.74 3.09
R 160 00 350 | 660 | 1200 | 3000 | 4000 | 5' 3 83.5 | 1200 | 6500 | 7500 | 94 118 1.38 1.73 3.09

R 160 3_48 700 | 950 | 1800 2200 | 3500 | 7' 5 60 1200 | 6500 | 7500 | 91 4.10 4.31 4.66 6.01
R 160 3_64 700 | 950 [1800| 2200 | 3500 | 7' 5' 60 1200 | 6500 | 7500 | 91 3.90 411 4.46 5.81
R 160 700 | 950 | 1800 | 2500 | 3500 | 7' & 60 1200 | 6500 | 7500 | 91 291 311 3.46 4.82
R 160 3_80 700 | 950 |1800 | 2200 | 3500 | 7' 5 60 1200 | 6500 | 7500 | 91 3.90 4.11 4.46 5.81

R 160 3_84 700 | 950 |1800| 3000 | 4000 | 7' 5 60 1200 | 6500 | 7500 | 91 1.84 2.05 2.40 35
R 160 3 90 350 | 660 |1200| 3000 | 4000 | 7 5] 60 1200 | 6500 | 7500 | 91 1.24 1.45 1.80 345

R 160 0 700 | 950 |1800 | 3000 | 4000 | 7' 5 60 1200 | 6500 | 7500 | 91 1.23 1.44 1.79 3.14
R 160 700 | 950 | 1800| 2500 | 3500 | 7' 5 60 1200 | 6500 | 7500 | 91 2.74 2.95 3.30 4.65
R 160 40 700 | 950 |1800 | 3000 | 4000 | 7' 5 60 1200 | 6500 | 7500 | 91 1.78 1.98 2.33 3.69
R 160 0 700 | 950 |1800| 3000 | 4000 | 7 5 60 1200 | 6500 | 7500 | 91 1.23 1.44 1.79 3.14
R 160 60 700 | 950 |1800| 3000 | 4000 | 7' 5 60 1200 | 6500 | 7500 | 91 1.20 1.41 1.76 311
R 160 700 | 950 1800 | 3000 | 4000 | 7 B5f 60 1200 | 6500 | 7500 | 91 1.76 1.96 231 3.67
R 160 0 700 | 950 | 1800 | 3000 | 4000 | 7' o) 60 1200 | 6500 | 7500 | 91 1.20 141 1.76 3.11

0
R 160 0 700 | 950 1800 | 3000 | 4000 | 7 B5f 60 1200 | 6500 | 7500 | 91 1.23 1.44 1.79 3.14
R 160 0 700 | 950 | 1800 | 3000 | 4000 | 7' 5] 60 1200 | 6500 | 7500 | 91 1L 1.40 LS 3.10
0
0

R 160 8 700 | 950 |[1800| 3000 | 4000 | 7 B5f 60 1200 | 6500 | 7500 | 91 1.18 1.39 1.74 3.09
R 160 700 | 950 | 1800 3000 | 4000 | 7' o) 60 1200 | 6500 | 7500 | 91 1.18 1.39 1.74 3.09

R 160 3_400 700 | 950 | 1800 | 3000 | 4000 | 7' 5] 60 1200 | 6500 | 7500 | 91 1.18 1.38 1.73 3.09
R 160 00 700 | 950 1800 | 3000 | 4000 | 7 B5f 60 1200 | 6500 | 7500 | 91 1.18 1.38 1.73 3.09
R 160 00 700 | 950 | 1800 | 3000 | 4000 | 7' 5 60 1200 | 6500 | 7500 | 91 1.18 1.38 1.73 3.09

R 160 0/l 350 | 660 |1200| 3000 | 4000 | 7' 5 60 1200 | 6500 | 7500 | 91 1.18 1.38 1.73 3.09
Please contact us for different motor adapters and input shaft bore.

82



'y//4

TR G 160

55A1 ... 180A1

BN
2 28
ST 14
[T¢] <
a y .2
12h9 - 70 6
T~ = =
oSl B D 125 &
@-H‘ @"-. \ 0 - — S
- @ = 0 13 TRG1602 | 24
o No—a i~ o = TRG 1603 | 28
~ = TRG1604 | 34
218.2 (TR G 160 2) S
9130 + 0.05 | 257.7 (TR G 160 3) M12x25
137 62 \ 297.2 (TR G 160 4) 98 |
o
|—
ol 17 N N1 N2 N3 N4 N5 | Lmax
14 15875 16 19 - - - - - - | 555 | 1257 | 140 5 M6x15 | 395 | 50
14 15875 16 19 - - - - - - 80 | 100 | 140 5 M6x15 | 395 | 50
14 15875 16 19 22 24 - - - - 95 | 115 | 140 5 M8x20 | 395 | 50
14 15875 16 19 22 24 - - - - | 110 | 130 | 140 5 M8x20 | 395 | 50
14 15875 16 19 22 24 - - - - | 110 | 145 | 140 | 65 | M8x20 | 495 | 60
14 15875 16 19 22 24 28 32 35 38 |1143| 200 | 170 | 65 | M12x25 | 695 | 80
14 15875 16 19 22 24 - - -  — | 130 | 165 | 140 5 | M10x20 | 395 | 50
14 15875 16 19 22 24 28 32 - - | 130 | 165 | 140 5 M10x20 | 495 | 60
14 15875 16 19 22 24 28 32 - - | 180 | 215 | 190 | 55 | M14x25 | 495 | 60
14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 55 | M14x25 | 695 | 80

83



1Y//4

TR G 160

@ D1
W N
& N
@ D2
D5 LS
FM 3 Sk
N
2D

D <> D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 {12515 M8x15 M6 40 25 6 20 14.5
19 51 113 125.5 M8x15 M6 40 275 6 20 16.5
22 24 56.5 113 1255 M8x15 M6 41 28.5 6 19.5 19
28 67 113 125.5 M8x15 M8 41 285 6 195 225
32 71 113 125.5 M8x15 M8 41 28.5 6 19.5 24.5
35 73 113 125.5 M8x15 M8 50 375 11.25 26 26
38 S 113 12515 M8x15 M8 50 37.5 41825 26 28

9
. 0 O R A

60 350 | 660 | 1200 | 1900 | 3000 | 5' 3 90 6500 | 7500 | 94 10.23 | 10.42 10.80 | 13.51

60 2 4 500 | 750 | 1400 | 2200 | 3500 | 5' 3 90 6500 | 7500 | 94 6.52 6.71 7.09 9.80

60 500 | 750 | 1400 | 2500 | 3500 | 5' 3 90 6500 | 7500 | 94 5.87 6.06 6.45 9.16

602 6 500 | 750 | 1400 | 2500 | 3500 | 5' 3 90 6500 | 7500 | 94 4.58 4.77 5.16 7.86

60 500 | 750 | 1400 | 3000 | 4000 | 5' 3 90 6500 | 7500 | 94 5.29 5.48 5.87 8.57

60 0 350 | 660 [ 1200 [ 3000 | 4000 | 5' 3 90 6500 | 7500 | 94 4.97 5.16 5.54 8.25

60 3 9 350 | 660 | 1200 | 1900 | 3000 | 5' 3 83.5 6500 | 7500 | 91 9:35 9.54 9.92 12.63

60 700 | 950 | 1800 | 1900 | 3000 | &' 3 83.5 6500 | 7500 | 91 8.78 8.97 9.36 12.07

60 700 | 950 | 1800 | 1900 | 3000 | &' 3 83.5 6500 | 7500 | 91 8.71 8.90 9.29 11.99

60 6 700 | 950 | 1800 | 2200 | 3500 | 5' 3 83.5 6500 | 7500 | 91 SN 5.98 6.36 9.07
60 0 700 | 950 | 1800 | 2500 | 3500 | 5' 3 83.5 6500 | 7500 | 91 541 6.20 6.59 9.30
60 700 | 950 | 1800 | 2500 | 3500 | 5' 3 83.5 6500 | 7500 | 91 5.5 5.54 5.93 8.64
60 8 700 | 950 | 1800 | 3000 | 4000 | 5' 3 83.5 6500 | 7500 | 91 5.05 5.24 5.63 8.33
60 0 350 | 660 | 1200 | 3000 | 4000 | 5' 3 83.5 6500 | 7500 | 91 4.89 5.09 5.47 8.18
60 700 | 950 | 1800 | 3000 | 4000 | 5 3 83.5 6500 | 7500 | 91 5.36 5.54 5.93 8.64
60 6 500 | 750 | 1400 | 2500 | 3500 | 5' & 83.5 6500 | 7500 | 91 4.32 4.51 4.90 7.60
60 3 40 700 | 950 | 1800 | 3000 | 4000 | 5' 3 83.5 6500 | 7500 | 91 5.00 SN 5.58 8.28
60 0 700 | 950 | 1800 | 3000 | 4000 | 5' 3 83.5 6500 | 7500 | 91 4.99 5.18 5.56 8.27
60 0 700 | 950 | 1800 | 3000 | 4000 | 5' 3 83.5 6500 | 7500 | 91 4.82 5.02 5.40 8.11
60 00 350 | 660 | 1200 | 3000 | 4000 | 5 3 83.5 6500 | 7500 | 91 4.82 5.01 5.39 8.10
60 4_48 700 | 950 | 1800 | 2200 | 3500 | 7 5 60 6500 | 7500 | 89 5.94 6.13 6.53 9.22
60 4 64 700 | 950 | 1800 | 2200 | 3500 | 7' 5' 60 6500 | 7500 | 89 5.74 5.93 6.31 9.02
60 700 | 950 | 1800 | 2500 | 3500 | 7' 5' 60 6500 | 7500 | 89 5.50 5.68 6.07 8.79

60 4 80 700 | 950 | 1800 | 2200 | 3500 7 5 60 6500 | 7500 | 89 5.74 5.93 6.31 9.02
60 4 84 700 | 950 | 1800 | 3000 | 4000 | 7' ) 60 6500 | 7500 | 89 5.10 5.29 5.68 8.38
60

90 350 | 660 | 1200 | 3000 | 4000 | 7' & 60 6500 | 7500 | 89 4.88 5.08 5.46 8.17
0 700 | 950 | 1800 | 3000 | 4000 | 7' 5 60 6500 | 7500 | 89 4.87 5.07 5.45 8.16
700 | 950 | 1800 | 2500 | 3500 | 7' & 60 6500 | 7500 | 89 5.33 5.52 5.91 8.62

40 700 | 950 | 1800 | 3000 | 4000 | 7' 5' 60 6500 | 7500 | 89 5.04 5.22 5.61 8.32
0 700 | 950 | 1800 | 3000 | 4000 | 7' & 60 6500 | 7500 | 89 4.87 5.07 5.45 8.16

60 700 | 950 | 1800 | 3000 | 4000 | 7' 5' 60 6500 | 7500 | 89 4.84 5.04 5.42 8.13
700 | 950 | 1800 | 3000 | 4000 | 7' & 60 6500 | 7500 | 89 5.02 5.20 559 8.30

00 700 | 950 | 1800 | 3000 | 4000 | 7' 5' 60 6500 | 7500 | 89 4.84 5.04 5.42 8.13

0 700 | 950 | 1800 | 3000 | 4000 | 7' & 60 6500 | 7500 | 89 4.87 5.07 5.45 8.16

0 700 | 950 | 1800 | 3000 | 4000 | 7' & 60 6500 | 7500 | 89 4.83 5.03 541 8.12

80 700 | 950 | 1800 | 3000 | 4000 | 7 5' 60 6500 | 7500 | 89 4.82 5.02 5.40 8.11

0 700 | 950 | 1800 | 3000 | 4000 | 7' & 60 6500 | 7500 | 89 4.82 2.05 5.40 8.11
400 700 | 950 | 1800 | 3000 | 4000 | 7' 5! 60 6500 | 7500 | 89 4.82 5.01 5389 8.11

S N O N N N N N N N NG N N N O N N N O NN

60 00 700 | 950 | 1800 | 3000 | 4000 | 7' 5f 60 6500 | 7500 | 89 4.82 5.01 5.39 8.11
60 00 700 | 950 | 1800 | 3000 | 4000 | 7' 5! 60 6500 | 7500 | 89 4.82 5.01 5389 8.11
60 Sl 350 | 660 | 1200 | 3000 | 4000 | 7 5f 60 6500 | 7500 | 89 4.82 5.01 5.39 8.11

Please contact us for different motor adapters and input shaft bore.

84



TR

'y//4

TR MB 160

55A1 ... 180A1

375 100
@75 \
]
@172 ‘ © D42c6 ©
X \ y
Y, |_F:i|_| N3 5 " Be N4
24?2 . - | - -
i
X o | & — © =
(=] i
3 ZQ SN 3@
e Q &i ’ SIRN IS
0
o > o | g © o
(V]
Ty — [
425 100 © \g75 ©
@172 - .
237.5 (TR MB 160 2)
277 (TR MB 160 3)
316.5 (TR MB 160 4) 15 Nm
@ N TRMB 1602 | 59
S TRMB 1603 | 635
- TRMB 1604 | 705
1 .;
1
M12x22 I 875! |
145 |
20 175 |
D H% N | NL | N2 | N3 N4 N5 | Lmax
14 15875 16 19 - - - — - — | 555 (1257 | 140 5 Méx15 | 395 | 50
14 15875 16 19 -  — - - - - 80 100 | 140 5 Méx15 | 395 | 50
14 15875 16 19 22 24 - - - - 95 115 | 140 5 M8x20 | 395 | 50
14 15875 16 19 22 24 - - - — | 110 | 130 | 140 5 M8x20 | 395 | 50
14 15875 16 19 22 24 - - - - | 110 | 145 | 140 | 65 | M8x20 | 495 | 60
14 15875 16 19 22 24 28 32 35 38 | 1143 | 200 | 170 | 65 | M12x25 | 695 | 80
14 15875 16 19 22 24 - — -  — | 130 | 165 | 140 5 M10x20 | 395 | 50
14 15875 16 19 22 24 28 32 - — | 130 | 165 | 140 5 M10x20 | 495 | 60
14 15875 16 19 22 24 28 32 - — | 180 | 215 | 190 | 55 | M14x25 | 495 | 60
14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 55 | M14x25 | 695 | 80

85



1Y//4

TR MB 160

L1
L2
[
o
FM g i Lot
Q| Q| ~ 53 a
Q
%)
4
D ({% D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 130 142.5 M8x16 M6 40 27.5 6 20 145
19 51 130 1425 M8x16 M6 40 27.5 6 20 16.5
22 24 56.5 130 142.5 M8x16 M6 41 28.5 6 195 19
28 67 130 1425 M8x16 M8 41 28.5 6 19.5 22.5
32 71 130 142.5 M8x16 M8 41 28.5 6 19.5 24.5
35 73 130 1425 M8x16 M8 50 375 11.25 26 26
38 77.5 130 1425 M8x16 M8 50 375 11.25 26 28
p () ()=
R MB 160 350 660 1200 1900 3000 5j B 90 94 8.39 8.60 8.95 10.30
R MB 160 2 4 500 750 1400 2200 3500 5j B 90 94 4.68 4.89 5.24 6.59
R MB 160 500 750 1400 2500 3500 5' S 90 94 3.28 3.49 3.84 5.19
RMB 1602 6 500 750 1400 2500 3500 5' o 90 94 1.32 i[5 1.88 3.23
R MB 160 500 750 1400 3000 4000 5' o 90 94 2.03 2.24 2.59 3.94
R MB 160 0 350 660 1200 3000 4000 5' o 90 94 1.33 i[5 1.88 3.24
R MB 160 3 9 350 660 1200 1900 3000 5' o 83 91 7.51 7.72 8.07 9.42
R MB 160 700 950 1800 1900 3000 5' o 83 91 7.10 7.30 7.65 9.01
R MB 160 700 950 1800 1900 3000 5' o 83 91 6.94 7.15 7.50 8.85
R MB 160 6 700 950 1800 2200 3500 5' o 83 91 3.95 4.16 4.51 5.86
R MB 160 0 700 950 1800 2500 3500 5' o 83 91 2.82 3.02 3.37 4.73
R MB 160 700 950 1800 2500 3500 5' o 83 91 2.76 2.97 3.32 4.67
R MB 160 8 700 950 1800 3000 4000 5' o 83 91 1.79 2.00 2.35 3.70
R MB 160 0 350 660 1200 3000 4000 5 3 83 91 825, 1.46 1.81 3.16
R MB 160 700 950 1800 3000 4000 5 3 83 91 1.77 1.97 2.32 3.68
R MB 160 6 500 750 1400 2500 3500 5 3 83 91 1.06 1.27 1.62 2.97
R MB 160 3 40 700 950 1800 3000 4000 5 3 83 91 1.21 1.42 1.77 3.12
R MB 160 0 700 950 1800 3000 4000 5 3 83 91 1.20 1.40 1L.715 3.11
R MB 160 0 700 950 1800 3000 4000 5 & 83 91 1.18 1.39 1.74 3.09
R MB 160 00 350 660 1200 3000 4000 5 & 83 91 1.18 1.38 1.73 3.09
R MB 160 4 48 700 950 1800 2200 3500 7 5i 60 89 4.10 4.31 4.66 6.01
R MB 160 4 64 700 950 1800 2200 3500 7 5 60 89 3.90 4.11 4.46 5.81
R MB 160 4 700 950 1800 2500 3500 7 5 60 89 2.91 3.11 3.46 4.82
R MB 160 4 80 700 950 1800 2200 3500 7 5 60 89 3.90 4.11 4.46 5.81
R MB 160 4 84 700 950 1800 3000 4000 7 5 60 89 1.84 2.05 2.40 875
R MB 160 4 90 350 660 1200 3000 4000 7 5 60 89 1.24 1.45 1.80 &l
R MB 160 4 0 700 950 1800 3000 4000 7 5 60 89 1.23 144 1.79 3.14
R MB 160 4 700 950 1800 2500 3500 7 5 60 89 2.74 2.95 3.30 4.65
R MB 160 4 140 700 950 1800 3000 4000 7 5 60 89 1.78 1.98 2.33 3.69
R MB 160 4 0 700 950 1800 3000 4000 7 5 60 89 1.23 144 1.79 3.14
R MB 1604 160 700 950 1800 3000 4000 7 5 60 89 1.20 141 1.76 3.11
R MB 160 4 700 950 1800 3000 4000 7 5 60 89 1.76 1.96 231 3.67
R MB 160 4 200 700 950 1800 3000 4000 7 5 60 89 1.20 141 1.76 3.11
R MB 160 4 0 700 950 1800 3000 4000 7 5 60 89 1.23 144 1.79 3.14
R MB 160 4 0 700 950 1800 3000 4000 7 5 60 89 1.19 1.40 1.75 3.10
R MB 160 4 280 700 950 1800 3000 4000 7 5 60 89 1.18 1.39 1.74 3.09
R MB 160 4 0 700 950 1800 3000 4000 7 5 60 89 1.18 1.39 1.74 3.09
R MB 160 4 400 700 950 1800 3000 4000 7 5 60 89 1.18 1.38 1.73 3.09
R MB 160 4 500 700 950 1800 3000 4000 7 5 60 89 1.18 1.38 1.73 3.09
R MB 160 4 700 700 950 1800 3000 4000 7 5 60 89 1.18 1.38 1.73 3.09
R MB 160 4 1000 350 660 1200 3000 4000 7 5 60 89 1.18 1.38 1.73 3.09

Please contact us for different motor adapters and input shaft bore.

86



L

14//4

TR 190

55A1 ... 180A1

158.7 (TR1901)
210.4 (TR1902)

N5  262.1 (TR 190 3) 96
13 Na
N3 | -2
60 _| 11 e
5‘—T‘7HE ; f\ ﬁ
& T o [ GQ )
S o |3 N \&E ) TR1901 | 25
35 S \(K / TR1902 | 29
o g‘@j‘g TR1903 | 34
15 N N2
N1
b {78 N NL | N2 | N3 N4 N5 | Lmax
¥
55A1 4 16 19 - - - - - — — - —|>555][1257] 140 5 M6x15 | 395 | 50
80A2 14 16 19 - - - - - _— | 8 | 100 | 140 5 M6x15 | 395 | 50
95A1 14 16 19 22 24 - - - - - - — | o | 115 | 140 5 M8x20 | 395 | 50
110A1 | 14 16 19 22 24 - - - - — _— _— | 110 | 130 | 140 5 M8x20 | 395 | 50
11081 | 14 16 19 22 24 - - - _ _ _ _ | 110 | 145 | 140 | 65 | m8x20 | 495 | 60
114A 14 16 19 22 24 28 32 35 38 42 45 48 |1143 | 200 | 170 | 65 | M12x25 | 695 | 80
130A w5 | | 2 2= = = =] =1==| & | 1565 | v 5 | miox20 | 395 | 50
130A1 | 14 16 19 22 24 28 32 - - - — _ | 130 | 165 | 140 5 | M10x20 | 495 | 60
180A 14 16 19 22 24 28 32 - — — - _— | 180 | 215 | 190 | 55 | mM14ax25 | 495 | 60
180A1 | 14 16 19 22 24 28 32 35 38 42 45 48 | 180 | 215 | 190 | 55 | M14x25 | 695 | 80

Please contact us for different motor adapters and input shaft bore.

0
L3 @ U 3 L2
7] I s
;/ o ! z%
o o 3
[n] [ S N [ — . -
Q| Q Tﬂ a
Z / S
77 & i
L4
L1 |
D {f} D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 16 8 130 1425 | M8xid M6 155 275 6 20 145
19 51 130 1425 | M8x14 M6 455 275 6 20 16,5
22 24 56.5 130 1425 | M8x14 M6 47 29 6 20 19
28 67 130 1425 | M8x14 M8 47 29 6 20 225
32 71 130 1425 | M8xl4 M8 47 29 6 20 245
35 73 130 1425 | M8x14 M8 545 365 6 25 26
38 775 130 1425 | M8x14 M8 545 365 6 25 28
42 92 130 1425 | M8xl4 M10 60.5 40 6 25 33
45 95 130 1425 | M8xl4 M10 60.5 40 6 25 33
48 97 130 1425 | M8xl4 M10 60.5 40 6 25 33

87



14//4

88

TR1901 3
TR 1901 4
TR1901 5
TR1901 6
TR1901 7
TR 190 1_10
TR 1902 9
TR 190 2 12
TR 190 2 15
TR 190 2_16
TR 190 2_20
TR 190 2_25
TR 190 2_28
TR 1902 30
TR1902 35
TR 190 2_36
TR 190 2_40
TR 190 2_50
TR 190 2_70
TR 190 2_100

TR 190 3 48

TR 190 3_64
TR1903 75

TR 190 3 80

TR 190 3 84

TR 1903 90

TR 190 3_120
TR 190 3_125
TR 190 3_140
TR 190 3_150
TR 190 3_160
TR 190 3_175
TR 190 3_200
TR 190 3_210
TR 190 3_250
TR 190 3_280
TR 190 3_350
TR 190 3_400
TR 190 3_500
TR 190 3_700

Jg [kgem?]

Mnz Maz Mp2 N1 mimax Os  Or Ct  Romax Azmax 1 an,

{‘#
[Nm] [Nm] [Nm] [min] [min] [arcmin] a::min] N [Nl % 14..24 28-32 35-35\ ) ‘45-48
500 | 800 |1400| 1500 | 2500 | 5 | 3 | 130 [14000{15000| 97 | 24.20 | 24.88 | 25.65 | 29.30 | 29.90
700 | 950 [1800| 2100 | 3000 | 5 | 3 | 130 |14000|15000| 97 | 13.41 | 14.09 | 14.85 | 1851 | 19.11
700 | 950 [1800| 2300 [ 3000 | 5 | 3 | 130 [14000|15000| 97 | 9.32 | 10.00 | 10.77 | 14.42 | 15.02
700 | 950 [1800| 2300 | 3000 | 5 | 3 | 130 |14000|15000| 97 | 288 | 356 | 433 | 7.98 | 858
700 | 950 {1800 2900 [ 3500 | 5 | 3 | 130 |14000|15000| 97 | 568 | 636 | 7.13 | 10.78 | 11.38
500 | 800 1400|2900 [ 3500 | 5 | 3 | 130 |14000(15000| 97 | 357 | 425 | 502 | 867 | 927
500 | 800 [1400| 1500 | 2500 | 5 | 3 | 100 |14000|15000| 94 | 23.23 | 23.91 | 24.67 | 28.33 | 28.93
1000 | 1200 | 2200| 1500 | 2500 | 5 | 3 | 100 [14000{15000| 94 | 22.03 | 22.71 | 23.48 | 27.13 | 27.73
1000 | 1200 | 2200| 1500 | 2500 | 5 | 3 | 100 [14000{15000| 94 | 2158 | 2225 | 23.02 | 26.68 | 27.27
1000 | 1200 | 2200| 2100 | 3000 | 5 | 3 | 100 [14000{15000| 94 | 12.19 | 12.86 | 13.63 | 17.29 | 17.89
1000 | 1200 | 2200| 2300 | 3000 | 5 | 3 | 100 [14000{15000| 94 | 854 | 922 | 998 | 1364 | 14.24
1000 | 1200 | 2200| 2300 | 3000 | 5 | 3 | 100 |14000{15000| 94 | 837 | 905 | 982 | 13.48 | 14.07
1000 | 1200 | 2200| 2900 | 3500 | 5 | 3 | 100 |14000{15000| 94 | 528 | 596 | 673 | 10.38 | 10.98
500 | 800 [1400| 2900 [ 3500 | 5 | 3 | 100 |14000(15000| 94 | 348 | 416 | 493 | 858 | 9.18
1000 | 1200 | 2200| 2900 | 3500 | 5 | 3 | 100 |14000{15000| 94 | 520 | 587 | 664 | 10.30 | 10.90
700 | 950 [1800| 2300 | 3000 | 5 | 3 | 100 [14000{15000| 94 | 218 | 286 | 363 | 7.28 | 7.88
1000 | 1200 | 2200| 2900 | 3500 | 5 | 3 | 100 |14000{15000| 94 | 337 | 405 | 482 | 848 | 907
1000 | 1200 | 2200| 2900 | 3500 | 5 | 3 | 100 |14000{15000| 94 | 333 | 401 | 478 | 844 | 9.03
1000 | 1200| 2200| 2900 | 3500 | 5 | 3 | 100 [14000/15000| 94 | 330 | 397 | 474 | 840 | 9.00
500 | 800 |1400| 2900 | 3500 | 5 | 3 | 100 [14000{15000| 94 | 328 | 395 | 472 | 838 | 898
1000 | 1200| 2200| 2100 | 3000| 7 | 5 | 90 [14000[15000| 91 | 1273 | 13.40 | 14.17 | 17.83 | 18.43
1000 | 1200| 2200| 2100 | 3000| 7 | 5 | 90 [14000[15000| 91 | 12.10 | 12.78 | 1355 | 17.21 | 17.80
1000 | 1200| 2200| 2300 | 3000| 7 | 5 | 90 [14000/15000| 91 | 886 | 954 | 1031 | 13.97 | 14.56
1000 | 1200 {2200 | 2100 [ 3000 | 7 | 5 | 90 [14000|15000| 91 | 12.09 | 12.76 | 1353 | 17.19 | 17.79
1000 | 1200 [ 2200 | 2900 [ 3500 | 77 | 5 | 90 [14000|15000| 91 | 546 | 613 | 690 | 1056 | 11.16
500 | 800 |1400| 2900 | 3500 | 7 | 5 | 90 [14000(15000| 91 | 347 | 415 | 492 | 857 | 917
1000 | 1200{2200| 2900 | 3500 | 7 | 5 | 90 |14000(15000| 91 | 346 | 414 | 491 | 856 | 9.16
1000|1200 {2200 2300 [ 3000 | 7 | 5 | 90 [14000|15000| 91 | 834 | 901 | 978 | 13.44 | 14.04
1000|1200 {2200 | 2900 [ 3500 | 7 | 5 | 90 [14000(15000| 91 | 525 | 592 | 669 | 10.35 | 10.95
1000 | 1200{2200| 2900 | 3500 | 7 | 5 | 90 [14000({15000| 91 | 346 | 413 | 490 | 856 | 9.15
1000 | 1200 | 2200{ 2900 | 3500 | 7 | 5 | 90 [14000|15000| 91 | 336 | 404 | 481 | 846 | 9.6
1000 | 1200 | 2200| 2900 | 3500 | 77 | 5 | 90 |14000({15000| 91 | 518 | 58 | 662 | 10.28 | 10.88
1000 | 1200 | 2200| 2900 | 3500 | 7 | 5 | 90 [14000{15000| 91 | 3.36 | 403 | 480 | 846 | 9.06
1000 | 1200 | 2200| 2900 | 3500 | 7 | 5 | 90 |14000{15000| 91 | 3.45 | 413 | 490 | 855 | 915
1000 | 1200 | 2200| 2900 | 3500 | 7 | 5 | 90 [14000|15000| 91 | 332 | 400 | 477 | 842 | 9.02
1000 | 1200 | 2200{ 2900 | 3500 | 7 | 5 | 90 [14000|15000| 91 | 329 | 397 | 474 | 839 | 8.99
1000 | 1200 | 2200| 2900 | 3500 | 7 | 5 | 90 |14000{15000| 91 | 329 | 397 | 474 | 839 | 899
1000 | 1200 | 2200| 2900 | 3500 | 7 | 5 | 90 |14000{15000| 91 | 327 | 395 | 472 | 838 | 897
1000 | 1200 | 2200| 2900 | 3500 | 7 | 5 | 90 [14000|15000| 91 | 327 | 395 | 472 | 838 | 897
1000 | 1200 | 2200| 2900 | 3500 | 7 | 5 | 90 |14000{15000| 91 | 327 | 395 | 472 | 838 | 897
800 |1400| 2900 | 3500 | 7 | 5 | 90 |14000{15000| 91 | 327 | 395 | 472 | 838 | 897

AGECVERTN 500




TR

5.3.1 MACHINE SHAFT

14//4

Shaft of driven equipment should be made from high grade alloy steel. Table below shows recommended dimensions for the Customer to

consider when designing mating shaft. A device retaining the shaft axially is also recommended (not shown).

The number and size of relative tapped holes at shaft end depend on application requirements.

MB ;
B1 B2
S
08 0.8 7\}]\_5"
< < 2 2
Al A2 A3 A4 B Bl B2
TR MB 080 =25 20 h7 18 20 h7 178 50 90
TR MB 105 240 32 h7 30 32 h7 205 60 115
TR MB 130/160 250 42 h7 40 42 h7 259 70 140

89



14//4

Performance Line

Other design versions
= KI/G version

Main benefits

= Wide torque range

= High overload capacity

= Great flexibility thanks to a wide
range of gear ratios and multiple
design configurations

90

Main features
= Nominal output torque (Nm)

12 -1000

= Torsional backlash (arcmin)

= Torsional stiffness (Nm/arcmin)

= Max tilting moment (Nm)

16 -1683

Protection class

MP Series

The MP series is characterized by a wide range of torque

and multiple sizes, great modularity due to multiple design
configurations a wide ratios range and different optimized
lubrications ensuring high reliability and the most fitting response

to different applications requirements.

[k

COAXIAL

10-17

Input versions

Main options
= Design versions

[

WITH INPUT
RIGHT-ANGLE

(P)

Im5

WITH OUTPUT
RIGHT-ANGLE

=

4_F

P

MOTOR
ADAPTER

SOLID INPUT
SHAFT

Output shafts versions

=

SMOOTH

=

KEYLESS KEYED
- P65 SHAFT SHAFT
= Service type
Frame sizes O Sy
-0 053
. 060 st S5
= 080 = Lubrication
. UHL
«iZ8) 105 %}@ {g}ﬁ
A STANDARD | FOOD GRADE
-t ) 130 LUBRICATION | LUBRICATION
o = Bearings versions

190

STANDARD

Gt

REINFORCED

WITHOUT
MOTOR
ADAPTER




14//4

6 FEATURES OF MP SERIES

Planetary gear units of the MP series belong to a range of low backlash drives very broad and complete as far as transmissible torque, gear
ratios and torsional backlash.

All units are generously proportioned to run quietly and provide a long service life without maintenance requirements.

Motor mounting is an operation that can be easily conducted without the need of any particular tooling, other than that usually available in
a normally equipped workshop.

® Available with either standard (STD) or reduced (LOW) backlash:
1-stage units: standard ds < 15’; reduced Or< 10
2-stage units: standard ¢s < 15’; reduced ¢R <10
3-stage units (G and MB only): standard ¢R <15’; reduced ¢R <10
3-stage units: standard ¢s <17’; reduced ¢R <12
4-stage units (G and MB only): standard ¢s <17’; reduced ¢R <12
* Ahigh IP rating (IP65) provides inner parts with protection against the ingress of dust and liquids.
® Fluoroelastometer oils seals are supplied for S1 duty.
¢ Noise pressure level Lp < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n; = 3000 min'%; i=10.

® Bearings suitably rated for an average service life of 20,000 hours under nominal operating conditions. The following chart shows the
types of bearings for the output shaft.

MP 053 MP 060 MP 080 MP 105 MP 130 MP 160 MP 190

= 0 O g g B B B
- 5| B

Output shaft max. loading capacity

[N] 16000

15000

14000
14000

12000

10000

8000 7500
6500 6500
6000 5500

3800 4000

4000

2000 1300 1400 15001600

600 700

500 600

MP 053 SB MP 060 SB MP 080 SB MP 080 HB MP 105 SB MP 105 HB MP 130 SB MP 160 SB MP 190 SB

LRy max B A e

91



14//4

® Wide range of adapter flanges matching the most popular brands of motors.

Available motor shaft bores

6‘ 789 b.O 1112 ‘ 14 1617 19 22 24 28 32 35 38 42 45 48
6.35 9.52 12.7 15.875 19.05 @ [mm]

*® Lubrication optmized for the type of duty specified when ordering.
In the absence of contamination the lubricant requires no periodical changes.

duty MP 053 - MP 060 MP 080 ... MP 190 oil seals
S1 (continuous) Synthetic oil viscosity ISO VG 220 Fluoroelastomer
NLGI grease consistency 00
S5 (intermittent) NLGI grease consistency 00 NBR

* Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.
® Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque ~ Mn2 [Nm]
\[[I]S 4 /5|16 |7 ]9(10 12|15|16|20|25|28|30|35/36|40|45|48 |50 60|64 |70 75|80|81 |84 |90

MPO053| 12 (15|15 |15|15(12| - |20{20/20|20|20|20| - |20 |15| - |20(20| - |20 20| — |20 20|12 20| -
MP060| 18 | 25| 25| 25|25 |18|18|30|30|30(30|30/30|18|{30|25|30| - |33 | -|30|30|30|30| —-30]|18
MP 080 | 40 | 50 | 50 | 50 | 50 | 40 | 40| 70| 70| 70| 70| 70|70 40| 70|50 |70 - |70, 70| - |70| 70| 70|70 | — | 70| 40

MP 105 | 100 | 140| 140 140| 140|100/ 100|170|170|170|170|170|170| 100/ 170|140|170| - |170|170| - |170|170(170|170 - |170|100

MP 130 | 215| 380|380 380| 380|215 215|450| 450 | 450| 450|450 | 450|215 /450 |380|450| - |450|450| - |450|450(450|450 - |450|215

MP 160 | 350 | 500| 500 | 500 | 500|350 350| 700|700 |700| 700|700 | 700|350 700 500|700 — |700|700| - |700|700|700|700 - |700|350

MP 190 | 500| 700| 700 | 700 | 700 | 500| 500 |1000/1000|1000/1000{1000/1000, 500{1000| 700 |1000| — |1000,1000, — |10001000/1000{1000| — |1000| 500

\l []]100| 112|120 | 125| 140| 144| 150|160 | 175|180/ 200 210|216 | 225 | 245 | 250 | 252 | 280 | 324 | 350 | 400 | 405 | 500 | 567 | 700 | 729 {1000

MP053| 20| 20| - |20/20 20| - | - |20|20| - | - |20/20|20| - |20| - |20 - | - |20| = |20 | - |12 -
MP060| 18| - |30 /30 |30| - |3 |30|3 | -|30|3|3|-|-|3|-/3|-{3/3)|-|3|-|3)|-,18
MP080| 40| - |70 70| 70| - 70| 70|70 | - |70|70 70| - | - |70| - | 70| - |70,70| - | 70| - | 70| — |40
MP105|100| - |170|170/170 - |170|170|170| - |170|170/170, - | - |170| — |170| - |170|170| - |170| — |170| — |100
MP 130 |215| - |450(450/450 — |450|450|450| — |450(450/450 - | — |450| — |450| — |450/450| — |450| — |450| - |215
MP 160 |700| - |350(700|700, - |700|700|700| - |700(700, - | = | — |700| — |700| — |700|700| — |700| — |700| — |350
MP 190 1000/ — |500/1000(1000[ — |1000/1000/1000| - |1000/1000| — | — | — [1000, — |1000] — |10001000 — |1000| — [1000 - |500

92



14//4

6.1 ORDERING CODE

MP G 080 3 20 STD 95A CD 19 S1 OR SB KL UH1
|—LUBRICANT

— standard

UH1 food grade synthetic lubricant

OUTPUT SHAFT CONFIGURATION
KL smooth keyless shaft
KE keyed shaft (@ MB)

— OUTPUT SHAFT BEARINGS
SB standard
HB reinforced (MP 080 - MP 105) (@ MB)

“— MOUNTING POSITION
OR horizontal
VA vertical with motor up
VB Vvertical with motor down

— DUTY
S1 continuous duty
S5 intermittent duty

L INPUT SHAFT BORE
6..48 (@19

—MOTOR COUPLING
CD clamping device (@ IS)

— INPUT SECTION
25AH ... 180A1 motor adapter
IS solid input shaft (MP 053 ... MP 160) (&K, G, MB)
FM without motor adapter
— BACKLASH
01 reduction | 2 reductions | 3 reductions | 3 reductions | 4 reductions
(K, G, MB only) (K, G, MB only)
STD s <15 Ps <15 s <15 s <17 s <17
LOW Or <10 Or < 10 Or < 10 Or < 12 Or < 12
— GEAR RATIO

— REDUCTIONS
1 2 3 4

— FRAME SIZE
053 060 080 105 130 160 190

— VERSION
— coaxial
K with input right-angle (MP 053 ... MP 060)
G with input right-angle (MP 080 ... MP 160)
MB with output right-angle (MP 080 ... MP 160)

— SERIES
MP

93



14//4

94

6.1.1 VERSION AND INPUT SECTION

coaxial (—)

with input right-angle (K - G)

VERSION
with output right-angle (MB)

25AH ... 180A1

INPUT SECTION

FM

6.1.2 MOUNTING POSITIONS

VA

MB

9 in w

6.1.3 ADMISSIBLE RADIAL AND AXIAL FORCES FOR MB VERSION

A

E R2 max A2 max L R3 max A3 max

[N] [N] [mm] [N] [N]

MP MB 080 6000 5000 60 5500 5000
MP MB 105 9000 7500 80 7500 7500
MP MB 130 13500 11500 100 11000 11500
MP MB 160* 15000 11500 100 12500 11500

* Bearings suitably rated for an average service life of 10,000 hours under nominal operating conditions.




Lz

6.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

MP 053

58.2 (MP 053 1)
72 (MP0532)
85.8 (MP 053 3) 24.5
2.5 3
14 | 25
\ | A
- &
\ \ =
Ejm 18 MP0531 | 0.8
o g S MP 0532 | 10
I~
ﬁ' il | MP 0533 | 1.3
‘ 55 = 5
: : @40 +0.05
P 1T
25AH ... 80A e
66.8 (MP 053 2)
N5 80.6 (MP 053 3) 24.5
\a} N3 .3
= _4h9 | o5
14_|25 &
zoﬁ ) e
= =
sla 7 :[7 IN g MP 053 1 0.8
o 1 S MP 0532 | 1.0
© & g = MP0533 | 13
—
10 S
DI {5 N N1 N2 | N3 N4 N5 | Lmax
min max
6 63 7 8 9 952 - - - - - 25 36 48
6 635 7 8 9 952 - - - - - 26 36 48
6 63 7 8 9 952 - - - - - 28 36 48
6 63 7 8 9 952 - - - - - 30 36 48
6 63 7 8 9 952 - - - - - 32 38 48 55 35 45 25 25
6 635 7 8 9 952 - - - - - 34 40 48
6 63 7 8 9 952 - - - - - 36 42 48
6 635 7 8 9 952 - - - - - 38 44 48
6 635 7 8 9 952 - - - - - 40 46 48
6 635 7 8 9 952 10 11 12 127 - | 381 66.6 60 3 M4x10 18 25
6 635 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
6 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
6 635 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH 6 63 7 8 9 952 10 11 12 127 14 50 65 60 4 55 23 30
50C 6 63 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
50MH 6 63 7 8 9 952 10 11 12 127 - 50 65 55 2 55 16 23
60A 6 63 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60AH 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 5.5 18 25
60A1 6 63 7 8 9 952 10 11 12 127 14 60 75 65 3 M5x12 23 30
60AH1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 55 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 60 85 75 B M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 635 7 8 9 952 10 11 12 127 14 70 85 75 3 M6x15 23 30
70B 6 63 7 8 9 952 10 11 12 127 14 70 90 75 5 M5x12 23 30
73A 6 63 7 8 9 952 10 11 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 63 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 23 30

95



Lz

L1
L3 L2
F 2
o
FM IR, = —
iz %)
g
D] {£ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 M4x8 M4 20.2 13.2 3 8.7 8
8 9 9.52 10 325 50 425 M4x8 M4 20.2 13.2 3 7.8 9
11 12 12.7 55 50 42.5 M4x8 M4 20.5 135 3 8.5 11
14 35.5 50 425 M4x8 M4 24 17 3 10.2 115
O
P (), Dr R R A
a 5 00 O 0 0 /]
P 0 12 | 22 | 40 | 3300 | 4000 | 15 | 10| 10 | 200 | 500 | 600 | 97 | 006 | 008
PO 4 15 28 45 3500 5000 15’ 10’ 1.0 200 500 600 97 0.05 0.06
PO 15 28 45 3500 5000 15’ 10’ 1.0 200 500 600 97 0.04 0.06
PO 6 15 28 45 3500 5000 15’ 10’ 1.0 200 500 600 97 0.03 0.05
P 0 15 28 45 4000 6000 15’ 10’ 1.0 200 500 600 97 0.03 0.05
PO 9 12 22 40 4000 6000 15’ 10° 1.0 200 500 600 97 0.03 0.05
P 0 20 30 60 3300 4000 15’ 10’ 0.9 200 500 600 94 0.06 0.08
P 0 20 30 60 3300 4000 15’ 10° 0.9 200 500 600 94 0.06 0.08
P 0 6 20 30 60 3500 5000 15 10° 0.9 200 500 600 94 0.05 0.06
P 0 0 20 30 60 3500 5000 15 10° 0.9 200 500 600 94 0.04 0.06
P 0 20 30 60 3500 5000 15 10° 0.9 200 500 600 94 0.04 0.06
P 0 8 20 30 60 4000 6000 15 10° 0.9 200 500 600 94 0.03 0.05
PO 20 30 60 4000 6000 15 10° 0.9 200 500 600 94 0.03 0.05
PO 6 15 28 45 4000 6000 15 10° 0.9 200 500 600 94 0.03 0.05
P 0 4 20 30 60 4000 6000 15 | 100 0.9 200 500 600 94 0.03 0.05
P 0 8 12 22 40 4000 6000 15 | 100 0.9 200 500 600 94 0.03 0.05
P 0 48 20 30 60 4000 5000 17 12’ 0.7 200 500 600 91 0.05 0.07
P 0 60 20 30 60 3500 5000 17 | 12 0.7 200 500 600 91 0.05 0.07
P 0 64 20 30 60 3500 5000 17 12’ 0.7 200 500 600 91 0.05 0.06
PO 20 30 60 3500 5000 17 12’ 0.7 200 500 600 91 0.04 0.06
PO 80 20 30 60 3500 5000 17 12’ 0.7 200 500 600 91 0.05 0.06
PO 84 20 30 60 4000 6000 17 12’ 0.7 200 500 600 91 0.03 0.05
PO 00 20 30 60 3500 | 5000 17 | 12 0.7 200 500 600 91 0.04 0.06
PO 20 30 60 4000 | 6000 17 | 12 0.7 200 500 600 91 0.03 0.05
PO 20 30 60 3500 | 5000 17 | 12 0.7 200 500 600 91 0.04 0.06
PO 40 20 30 60 4000 | 6000 17 | 12 0.7 200 500 600 91 0.03 0.05
PO 44 20 30 60 4000 | 6000 17 | 12 0.7 200 500 600 91 0.03 0.05
PO 20 30 60 4000 | 6000 17 | 12 0.7 200 500 600 91 0.03 0.05
P 0 80 20 30 60 4000 6000 17 12’ 0.7 200 500 600 91 0.03 0.05
P 0 6 20 30 60 3500 5000 17 12’ 0.7 200 500 600 91 0.03 0.05
P 0 20 30 60 4000 6000 17 12’ 0.7 200 500 600 91 0.03 0.05
P 0 4 20 30 60 4000 6000 17 12’ 0.7 200 500 600 91 0.03 0.05
P 0 20 30 60 4000 6000 17 12’ 0.7 200 500 600 91 0.05 0.06
P 0 4 20 30 60 4000 6000 17 12’ 0.7 200 500 600 91 0.03 0.05
P 0 40 20 30 60 4000 6000 17 12’ 0.7 200 500 600 91 0.03 0.05
P 0 6 20 30 60 4000 6000 | 17 | 12 0.7 200 500 600 91 0.03 0.05
P 0 9 12 22 40 4000 6000 17 12’ 0.7 200 500 600 91 0.03 0.05

Please contact us for different motor adapters and input shaft bore.

96



Lz

MP K 053

25AH ... 80A

N
...4h9 9 ?D
g S ‘l 25
14 25
; % =
= YR ﬁ &
55 9 ST
= I D) ‘ oS | eem | | 5 MPKO0532 | 13
= J 19 L —— S MP K 053 3 15
&Z N \< MP K 053 4 1.8
2402005 80.5 (K0532) M0
55 94.3 (K0533)
275 108.1 (K0534) 24.5
N4
e
é (/’s %
@y
N2y
&\‘_ﬁﬁ_/
N2
@ N1
D[ ¢ _.r . N N1 N2 N3 N4 N5 Lmax
min max
25AH 6 63 7 8 9 952 - - - - — 25 36 48
26AH 6 635 7 8 9 952 - - - - - 26 36 48
28AH 6 635 7 8 9 952 - - - - - 28 36 48
30AH 6 635 7 8 9 952 - - - - - 30 36 48
32AH 6 635 7 8 9 952 - - - - - 32 38 48 55 35 45 25 25
34AH 6 63 7 8 9 952 - - - - - 34 40 48
36AH 6 63 7 8 9 952 - - — — - 36 42 48
38AH 6 63 7 8 9 952 - - - - - 38 44 48
40AH 6 63 7 8 9 952 - - — — - 40 46 48
38B 6 63 7 8 9 952 10 11 12 127 - 38.1 66.6 60 3 M4x10 18 25
40B 6 63 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
50A 6 63 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
50B 6 63 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH 6 635 7 8 9 952 10 11 12 127 14 50 65 60 4 55 23 30
50C 6 635 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
50MH 6 635 7 8 9 952 10 11 12 127 - 50 65 55 2 55 16 23
60A 6 635 7 8 9 952 10 11 12 127 - 60 /5 65 3 M5x12 18 25
60A1 6 63 7 8 9 952 10 11 12 127 14 60 75 65 3 M5x12 23 30
60B 6 63 7 8 9 952 10 11 12 127 14 60 85 /5 3 M5x12 23 30
60C 6 63 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 63 7 8 9 952 10 11 12 127 14 70 85 /5 3 M6x15 23 30
70B 6 63 7 8 9 952 10 11 12 127 14 70 90 75 5 M5x12 23 30
73A 6 63 7 8 9 952 10 11 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 23 30

97



Lz

MP K 053

L3

2D
D5, 0
H o
FM hr -, % _'I b %» D4
. loN)
) SER Q% ©
2 ,
D < D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 | M&x8 | M4 202 | 132 3 8.7 8
8 9 9.52 10 325 50 425 | M4x8 | M4 202 | 132 3 7.8 9
11 12 127 355 50 425 | M8 | M4 205 | 135 3 85 11
14 355 50 425 | M4x8 | M4 24 17 3 102 | 115
0
; 0 PR R A
a 5 % 6 9 0 4
P K 0 12 22 40 | 3300 | 4000 | 15 | 100 | 10 | 500 | 600 94 0.18 0.20
P K 053 2_4 15 28 45 | 3500 | 5000 | 15 | 100 | 10 | 500 | 600 94 0.18 0.19
P K 0 15 28 45 | 3500 | 5000 | 15 | 100 | 1.0 | 500 | 600 94 0.17 0.19
P K 0532 6 15 28 45 | 3500 | 5000 | 15 | 100 | 1.0 | 500 | 600 94 017 0.18
P K 0 15 28 45 | 4000 | 6000 | 15 | 100 | 1.0 | 500 | 600 94 0.17 0.19
P K 053 2_9 12 22 40 | 4000 | 6000 | 15 | 100 | 1.0 | 500 | 600 94 0.17 0.8
P K O 20 30 60 | 3300 | 4000 | 15 | 10 | 09 | 500 | 600 91 0.18 0.20
P K 0 20 30 60 | 3300 | 4000 | 15 | 10 | 09 | 500 | 600 91 0.18 0.20
P K 0 6 20 30 60 | 3500 | 5000 | 15 | 10 | 09 | 500 | 600 91 0.17 0.19
P K 0 0 20 30 60 | 3500 | 5000 | 15 | 10' | 09 | 500 | 600 91 0.17 0.19
P K 0 20 30 60 | 3500 | 5000 | 15 | 10 | 09 | 500 | 600 91 0.17 0.19
P K 0 : 20 30 60 | 4000 | 6000 | 15 | 10 | 09 | 500 | 600 91 0.17 0.19
P K 0 20 30 60 | 4000 | 6000 | 15 | 10 | 09 | 500 | 600 91 0.17 0.19
P K O 6 15 28 45 | 4000 | 6000 | 15 | 10 | 09 | 500 | 600 91 017 018
P K 053 3 4 20 30 60 | 4000 | 6000 | 15 | 10 | 09 | 500 | 600 91 017 0.19
P K 053 3 8 iz 2 40 | 4000 | 6000 | 15 | 100 | 09 | 500 | 600 o1 0.17 0.18
P K 053 4 48 20 30 60 | 4000 | 5000 | 17 | 12 | 07 | 500 | 600 89 0.8 0.19
P K 053 4_60 20 30 60 | 3500 | 5000 | 17 | 12 | 07 | 500 | 600 89 018 0.19
P K 053 4_64 20 30 60 | 3500 | 5000 | 17 | 12 | 07 | 500 | 600 89 017 0.19
P K 053 4 20 30 60 | 3500 | 5000 | 17 | 12 | 07 | 500 | 600 89 0.17 0.19
P K 053 4_80 20 30 60 | 3500 | 5000 | 17 | 12 | 07 | 500 | 600 89 017 0.19
P K 053 4_84 20 30 60 | 4000 | 6000 | 17 | 12 | 07 | 500 | 600 89 0.17 0.19
P K 0534 100 [ES 30 60 | 3500 | 5000 | 17 | 12 | 07 | 500 | 600 89 017 0.19
P K 053 4 20 30 60 | 4000 | 6000 | 17 | 12 | 07 | 500 | 600 89 0.17 0.19
P K 053 4 20 30 60 | 3500 | 5000 | 17 | 12 | 07 | 500 | 600 89 017 0.19
P K 0534 140 Q) 30 60 | 4000 | 6000 | 17 | 12 | 07 | 500 | 600 89 0.17 0.19
P K 0534_144 [EN) 30 60 | 4000 | 6000 | 17 | 12 | 07 | 500 | 600 89 017 018
P K 053 4 20 30 60 | 4000 | 6000 | 17 | 12 | 07 | 500 | 600 89 0.17 0.19
P K 0534180 [ 30 60 | 4000 | 6000 | 17 | 12 | 07 | 500 | 600 89 017 018
P K 0534 216 [N 30 60 | 3500 | 5000 | 17 | 12 | 07 | 500 | 600 89 0.17 0.18
P K 053 4 20 30 60 | 4000 | 6000 | 17 | 12 | 07 | 500 | 600 89 0.17 0.18
P K 053 4_24 20 30 60 | 4000 | 6000 | 17 | 12 | 07 | 500 | 600 89 017 0.19
P K 053 4 20 30 60 | 4000 | 6000 | 17 | 12 | 07 | 500 | 600 89 0.18 0.20
P K 0534 324 [EN) 30 60 | 4000 | 6000 | 17 | 12 | 07 | 500 | 600 89 017 0.18
P K 053 4_40 20 30 60 | 4000 | 6000 | 17 | 12 | 07 | 500 | 600 89 0.17 0.18
P K 053 4_56 20 30 60 | 4000 | 6000 | 17 | 12 | 07 | 500 | 600 89 017 0.18
P K 0534 729 [V 22 40 | 4000 | 6000 | 17 | 12 | 07 | 500 | 600 89 017 0.18

Please contact us for different motor adapters and input shaft bore.

98



Lz

MP 060

62.75 (MP 060 1)
79.45 (MP 060 2)

25 96.16 (MP 060 3) 38
2.5 3
20 5
\
(i a &
I < 8 MP 060 1 1.2
é : Q MP 060 2 1.7
X g S MP 0603 | 20
. 6.5 S
@40 +0.05
8 Ll )
57.55 (MP 060 1)
74.25 (MP 060 2)
N5 90.95 (mP0603) 38
3
3.5
205 ﬁ
L1 =
= 28 MPO601 | 12
o &v MP 060 2 1.7
=1 X ﬁ MP 060 3 2.0
T | = o
& L@52+005 10 S
Cedgse
({% N N1 N2 | N3 N4 N5 | Lmax
min max
6 63 7 8 9 952 - — — — - 25 39 56
6 63 7 8 9 952 - - - - - 26 39 56
6 63 7 8 9 952 - — — — - 28 39 56
6 63 7 8 9 952 - - - - - 30 39 56
6 63 7 8 9 952 - — — - — 32 39 56 65 35 45 25 25
6 63 7 8 9 952 - - - - — 34 40 56
6 63 7 8 9 952 - — - - - 36 42 56
6 63 7 8 9 952 - - - - - 39 45 56
6 63 7 8 9 952 - — — — — 40 46 56
6 635 7 8 9 952 10 11 12 127 - 38.1 66.6 60 3 M4x10 18 25
6 63 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
6 63 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
6 63 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH 6 63 7 8 9 952 10 11 12 127 14 50 65 65 3 55 25 32
50C 6 63 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
55MH 6 63 7 8 9 952 10 11 12 127 - 55 80 65 2 55 16 23
60A 6 63 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60AH 6 63 7 8 9 952 10 11 12 127 - 60 75 65 3 55 18 25
60A1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 M5x12 23 30
60AH1 6 63 7 8 9 952 10 11 12 127 14 60 75 65 3 55 23 30
60B 6 63 7 8 9 952 10 11 12 127 14 60 85 75 3 M5x12 23 30
60C 6 63 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 63 7 8 9 952 10 11 12 127 14 70 85 75 3 M6x15 23 30
70B 6 63 7 8 9 952 10 11 12 127 14 70 90 75 5 M5x12 23 30
73A 6 63 7 8 9 952 10 11 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 63 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 23 30

99



Lz

L1
L3 L2
B 7
al a iy —
FM o Sfgr==
7 8
vz o
gl
D {‘tC; D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 32.5 50 425 M4x8 M4 20.2 13.2 3 8.7 8
8 9 9.52 10 325 50 425 M4x8 M4 20.2 13.2 3 7.8 9
11 12 12.7 35.5 50 425 M4x8 M4 20.5 135 3 8.5 11
14 35.5 50 425 M4x8 M4 24 17 3 10.2 115
0
p () DR R = A
a a % 6 9 0 4
P 060 18 35 70 3300 | 4000 | 15' | 10 3.0 200 600 700 97 0.10 0.11
P 0601 4 25 40 90 3500 | 5000 | 15' | 10' 3.0 200 600 700 97 0.06 0.08
P 060 25 40 90 3500 | 5000 | 15' | 10' 3.0 200 600 700 97 0.05 0.07
P 0601 6 25 40 90 3500 | 5000 | 15' | 10' 3.0 200 600 700 97 0.04 0.06
P 060 25 40 90 4000 | 6000 | 15' | 10' 3.0 200 600 700 97 0.04 0.06
P 060 0 18 35 70 4000 | 6000 | 15' | 10' 3.0 200 600 700 97 0.03 0.05
P 060 2_9 18 35 70 3300 | 4000 | 15' | 10 253 200 600 700 94 0.10 0.12
P 060 30 45 100 3300 | 4000 | 15' | 10' 253 200 600 700 94 0.10 0.11
P 060 30 45 100 3300 | 4000 | 15' | 10' 2.5 200 600 700 94 0.09 0.11
P 060 6 30 45 100 3500 | 5000 | 15' | 10' 2.5 200 600 700 94 0.06 0.08
P 060 0 30 45 100 3500 | 5000 | 15' | 10' 253 200 600 700 94 0.05 0.07
P 060 30 45 100 3500 | 5000 | 15' | 10' 253 200 600 700 94 0.05 0.06
P 060 8 30 45 100 4000 | 6000 | 15' | 10' 2.5 200 600 700 94 0.04 0.06
P 060 0 18 35 70 4000 | 6000 | 15' | 10' 2.5 200 600 700 94 0.03 0.05
P 060 30 45 100 4000 | 6000 | 15' | 10' 253 200 600 700 94 0.04 0.06
P 060 6 25 40 90 3500 | 5000 | 15' | 10' 253 200 600 700 94 0.04 0.06
P 060 2_40 30 45 100 4000 | 6000 | 15' | 10 25 200 600 700 94 0.03 0.05
P 060 0 30 45 100 4000 | 6000 | 15' | 10 255 200 600 700 94 0.03 0.05
P 060 0 30 45 100 4000 | 6000 | 15' | 10' 253 200 600 700 94 0.03 0.05
P 060 00 18 35 70 4000 | 6000 | 15" | 10' 255 200 600 700 94 0.03 0.05
P 060 3_48 30 45 100 3500 | 5000 | 17" | 12 18 200 600 700 91 0.06 0.08
P 060 3_64 30 45 100 3500 | 5000 | 17' | 12 18 200 600 700 91 0.06 0.08
P 060 30 45 100 3500 | 5000 | 17" | 12 18 200 600 700 91 0.05 0.07
P 060 3 80 30 45 100 3500 | 5000 | 17" | 12 18 200 600 700 91 0.06 0.08
P 060 3_84 30 45 100 4000 | 6000 | 17" | 12 18 200 600 700 91 0.04 0.06
P 060 3_90 18 35 70 4000 | 6000 | 17" | 12 18 200 600 700 91 0.03 0.05
P 060 0 30 45 100 4000 | 6000 | 17" | 12 18 200 600 700 91 0.03 0.05
P 060 30 45 100 3500 | 5000 | 17" | 12 18 200 600 700 91 0.05 0.07
P 060 40 30 45 100 4000 | 6000 | 17" | 12 18 200 600 700 91 0.04 0.06
P 060 0 30 45 100 4000 | 6000 | 17" | 12 18 200 600 700 91 0.03 0.05
P 060 60 30 45 100 4000 | 6000 | 17" | 12 18 200 600 700 91 0.03 0.05
P 060 30 45 100 4000 | 6000 | 17" | 12 1.8 200 600 700 91 0.04 0.06
P 060 00 30 45 100 4000 | 6000 | 17" | 12 18 200 600 700 91 0.03 0.05
P 060 0 30 45 100 4000 | 6000 | 17" | 12 18 200 600 700 91 0.03 0.05
P 060 6 30 45 100 3500 | 5000 | 17" | 12 1.8 200 600 700 91 0.04 0.06
P 060 0 30 45 100 4000 | 6000 | 17" | 12 1.8 200 600 700 91 0.03 0.05
P 060 80 30 45 100 4000 | 6000 | 17" | 12 18 200 600 700 91 0.03 0.05
P 060 0 30 45 100 4000 | 6000 | 17" | 12 18 200 600 700 91 0.03 0.05
P 060 3 400 30 45 100 4000 | 6000 | 17" | 12 1.8 200 600 700 91 0.03 0.05
P 060 00 30 45 100 4000 | 6000 | 17" | 12 1.8 200 600 700 91 0.03 0.05
P 060 00 30 45 100 4000 | 6000 | 17" | 12 18 200 600 700 91 0.03 0.05
P 060 000 18 35 70 4000 | 6000 | 17" | 12 1.8 200 600 700 91 0.03 0.05
Please contact us for different motor adapters and input shaft bore.

100



Lz

MP K 060

25AH ... 80A

55 N
5h9 OZO 2D,
2 ﬁﬂ% 3 35
7)/ / k .
s b S 3
it \ v 55 3 e 25*& = .&.
4 T © = =tF 1 |9 (MPKO0602 | 17
\ ' 0 ] 9% [MPKO0603 | 22
& j o pE g MPKO0604 | 25
275 118.45 (K 0604) 38
N4
e B -
& = I
/ EN \ —
W - =
\ k% /
\N got |
e
N2
@ N1
b 1< N N1 N2 N3 N4 N5 | Lmax
min max
25AH 6 63 7 8 9 95 - - - - — | 25 39 56
26AH 6 63 7 8 9 952 - - - — — | 26 39 56
28AH 6 63 7 8 9 952 - - - - — | 28 39 56
30AH 6 63 7 8 9 95 - - - - — | 30 39 56
32AH 6 63 7 8 9 952 - - - — — | 32 39 56 65 | 35 45 25 25
34AH 6 635 7 8 9 952 - - - - — | 34 40 56
36AH 6 63 7 8 9 95 - - - - — | 36 42 56
39AH 6 63 7 8 9 952 - — - — — | 39 45 56
40AH 6 63 7 8 9 95 - - - — — | 40 46 56
38B 6 63 7 8 9 952 10 11 12 127 - | 381 66.6 60 3 M4x10 | 18 25
40B 6 635 7 8 9 952 10 11 12 127 -— | 40 63 60 3 M4x10 | 18 25
50A 6 635 7 8 9 952 10 11 12 127 - | 50 60 60 3 M4x10 | 18 25
50B 6 635 7 8 9 952 10 11 12 127 14 | 50 65 60 3 M5x12 | 23 30
50BH 6 635 7 8 9 952 10 11 12 127 14| 50 65 65 3 55 25 32
50C 6 635 7 8 9 952 10 11 12 127 14 | 50 70 60 3 M4x10 | 23 30
55MH 6 635 7 8 9 952 10 11 12 127 - | 55 80 65 2 55 16 23
60A 6 635 7 8 9 952 10 11 12 127 — | 60 75 65 3 M5x12 | 18 25
60A1 6 635 7 8 9 952 10 11 12 127 14 | 60 75 65 3 M5x12 | 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 | 60 85 75 3 M5x12 | 23 30
60C 6 635 7 8 9 952 10 11 12 127 14| 60 90 75 3 M5x12 | 23 30
70A 6 635 7 8 9 952 10 11 12 127 14| 70 85 75 3 M6x15 | 23 30
70B 6 635 7 8 9 952 10 11 12 127 14| 70 90 75 5 M5x12 | 23 30
73A 6 635 7 8 9 952 10 11 12 127 14| 73 98.4 85 3 M5x12 | 25 32
80A 6 635 7 8 9 952 10 11 12 127 14| 80 100 85 3 Mex15 | 23 30

101



Lz

MP K 060

g D1
& ; N 3
R ! R
D2
2 gD
D5
i
N - ol ﬁl:.' 30 D4
FM N < |
‘i \f’iﬁi\ I
o lN) —
Ay S k L T~ — 1
D %\\‘ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 | MA@ M4 20.2 132 3 87 8
8 9 952 10 325 50 425 | M4x8 M4 202 132 3 7.8 9
11 12 127 355 50 425 | M4x8 M4 205 135 3 85 11
3 10.2

Mp 2 ni N1 max (I)s (I)R Ct R2 max | A2 max

[T
Nm]  [Nm]  [Nm] [mint]  [arcmin] “ml IN]

MP K 060 2_3
MP K 060 2_4
MP K 060 2_5
MP K 060 2_6
MP K 060 2_7
MP K 060 2_10
MP K 060 3_9
MP K 060 3_12
MP K 060 3_15
MP K 060 3_16
MP K 060 3_20
MP K 060 3_25
MP K 060 3_28
MP K 060 3_30
MP K 060 3_35
MP K 060 3_36
MP K 060 3_40
MP K 060 3_50
MP K 060 3_70
MP K 060 3_100
MP K 060 4 48
MP K 060 4_64
MP K 060 4_75
MP K 060 4_80
MP K 060 4_84
MP K 060 4_90
MP K 060 4_120
MP K 060 4_125
MP K 060 4_140
MP K 060 4_150
MP K 060 4_160
MP K 060 4_175
MP K 060 4_200
MP K 060 4_210
MP K 060 4_216
MP K 060 4_250
MP K 060 4_280
MP K 060 4_350
MP K 060 4_400
MP K 060 4_500
MP K 060 4_700
MP K 060 4_1000

Please contact us for different motor adapters and input shaft bore.

102



Lz

MP 080

|S 105.3 (MP080 1)
129.8 (MP 080 2)
43 154.3 (MP 080 3) 46
4 5
‘ 30_|.5
. g )
B 1 38 MP 0801 | 40
Q © ~ Q MP 0802 | 4.6
& o MP 0803 | 5.2
7 =8
L AR
40B1 ... 110B1 N
108 (MP 080 2)
N5 132.5 (MP0803) 46
® 6 h9 N3 g
|
30,15 ﬁ
\ RS
& g MP 0801 | 4.0
©f 1~ E MP 080 2 4.6
— e o MP 0803 | 5.2
=)
Tl
D £ N N1 N2 N3 N4 N5 Lmax
8 9 952 11 12 127 14 — - - - - 40 63 80 4 M4x12 34 40
8 9 952 11 12 127 - - - - - - 45 63 80 4 M4x12 34 40
8 9 952 11 12 127 14 — - — - - 50 65 80 4 M5x16 34 40
8 9 952 11 12 127 14 - - - - - 50 65 80 4 55 34 40
8 9 952 11 12 127 14 - - - - - 50 70 80 4 M4x10 34 40
8 9 952 11 12 127 14 - - - - - 50 95 80 4 M6x20 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 | 125.7 | 105 4 M6x20 34 40
8 9 952 11 12 127 14 - - - - - 60 75 80 4 M5x16 34 40
8 9 952 11 12 127 14 - - - - - 60 75 90 4 6.5 34 40
8 9 952 11 12 127 14 15875 16 - - - 60 85 80 4 M5x16 34 40
8 9 952 11 12 127 14 15875 16 - - - 60 90 80 4 M5x16 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05 70 85 80 4 M6x20 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 90 4 6.5 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05 70 90 80 4 M5x16 34 40
8 9 952 11 12 127 14 - - - - - 73 98.4 85 4 M5x16 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05 80 100 90 4 M6x16 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05 95 115 100 4 M8x20 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 130 115 4 M8x20 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 130 115 4 M8x20 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 145 120 6.5 M8x20 44 50
8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 145 120 6.5 M8x20 54 60

103



14//4

L1
L3 L2
FM g —
IN
8\ RS o= == —
" S
s 's)
g W
D[ ¢ , D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 76.5 M6x12 M6 322 26.3 9.5 19.3 10.5
11 12 12.7 43 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 12.5
14 15675 16 17 48 68 76.5 M6x12 M6 322 26.3 9.5 19.3 14.5
19 19.05 51 68 76.5 M6x12 M6 32.2 26.3 9.5 19.3 16.5
AN SB HB | Jg [kgem?]
\;ﬁl Mn2 Ma2 Mp2 N1 |[Nimax kj)i Ct Rimax R2max A2max Ramax A2max m 3
i [Nm] [Nm] [Nm] [min-] [minl] [arcmin] artrr::in [N] [N] [N] [N] [N] % 8..127 14..19.05
MP 0801 3 40 80 | 180 | 2900 | 3500 | 15' | 10' 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.50 0.59
MP 0801 4 50 80 | 200 | 3100 | 4500 | 15' | 10' 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.34 0.43
MP 080 1_5 50 80 | 200 |3200 | 4500 | 15' | 10' 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.28 0.37
MP 0801 6 50 80 | 200 | 3200 | 4500 | 15' | 10' 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.21 0.30
MP 080 1 7 50 80 | 200 |4000 | 6000 | 15' | 10' 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.23 0.32
MP 080 1_10 40 80 | 180 |4000 | 6000 | 15' | 10' 7.0 400 | 1300 | 1400 | 2500 | 3000 | 97 0.20 0.29
MP 080 2 9 40 80 | 180 | 2900 | 3500 | 15' | 10' 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.49 0.58
MP 080 2_12 70 | 100 | 250 | 2900 | 3500 | 15' | 10 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.47 0.56
MP 080 2_15 70 | 100 | 250 | 2900 | 3500 | 15' | 10 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.46 0.55
MP 080 2_16 70 | 100 | 250 | 3100 | 4500 | 15' | 10' 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.32 0.41
MP 080 2_20 70 | 100 | 250 | 3200 | 4500 | 15' | 10 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.27 0.36
MP 080 2_25 70 | 100 | 250 | 3200 | 4500 | 15' | 10' 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.27 0.36
MP 080 2_28 70 | 100 | 250 |4000 | 6000 | 15' | 10 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.22 0.31
MP 080 2_30 40 80 | 180 [4000 | 6000 | 15' | 10' 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.20 0.29
MP 080 2_35 70 | 100 | 250 |4000 | 6000 | 15' | 10 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.22 0.31
MP 080 2_36 50 80 | 200 |3200 | 4500 | 15' | 10' 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.20 0.29
MP 080 2_40 70 | 100 | 250 |4000 | 6000 | 15' | 10 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.20 0.29
MP 080 2_50 70 | 100 | 250 |4000 | 6000 | 15' | 10 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.19 0.28
MP 080 2_70 70 | 100 | 250 |4000 | 6000 | 15" | 10" 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.19 0.28
MP 080 2_100 40 | 80 | 180 | 4000 | 6000 | 15' | 10' 5.9 400 | 1300 | 1400 | 2500 | 3000 | 94 0.19 0.28
MP 080 3_48 70 | 100 | 250 | 3100 | 4500 | 17 | 12 | 5.4 | 400 | 1300 | 1400 | 2500 | 3000 | 91 0.33 0.42
MP 080 3_64 70 | 100 | 250 | 3100 | 4500 | 17' | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.32 0.41
MP 080 3_75 70 | 100 | 250 | 3200 | 4500 | 17" | 12 514 400 | 1300 | 1400 | 2500 | 3000 | 91 0.27 0.36
MP 080 3_80 70 | 100 | 250 | 3100 | 4500 | 17' | 12 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.32 0.41
MP 080 3_84 70 | 100 | 250 | 4000 | 6000 | 17" | 12' 514 400 | 1300 | 1400 | 2500 | 3000 | 91 0.23 0.32
MP 080 3_90 40 80 | 180 |4000 | 6000 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_120 70 | 100 | 250 | 4000 | 6000 | 17" | 12' 514 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_125 70 | 100 | 250 | 3200 | 4500 | 17' | 12 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.27 0.36
MP 080 3_140 70 | 100 | 250 |4000 | 6000 | 17' | 12 514 400 | 1300 | 1400 | 2500 | 3000 | 91 0.22 0.31
MP 080 3_150 70 | 100 | 250 | 4000 | 6000 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_160 70 | 100 | 250 |4000 | 6000 | 17' | 12 514 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_175 70 | 100 | 250 | 4000 | 6000 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.22 0.31
MP 080 3_200 70 | 100 | 250 |4000 | 6000 | 17' | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_210 70 | 100 | 250 | 4000 | 6000 | 17" | 12' 54 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_216 70 | 100 | 250 | 3200 | 4500 | 17' | 12 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.20 0.29
MP 080 3_250 70 | 100 | 250 | 4000 | 6000 | 17" | 12' 54 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_280 70 | 100 | 250 |4000 | 6000 | 17' | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_350 70 | 100 | 250 | 4000 | 6000 | 17" | 12' 54 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_400 70 | 100 | 250 |4000 | 6000 | 17' | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_500 70 | 100 | 250 | 4000 | 6000 | 17" | 12' 54 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_700 70 | 100 | 250 | 4000 | 6000 | 17" | 12' 5.4 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28
MP 080 3_1000 [le} 80 | 180 |4000 | 6000 | 17" | 12' 54 400 | 1300 | 1400 | 2500 | 3000 | 91 0.19 0.28

Please contact us for different motor adapters and input shaft bore.

104



Lz

MP G 080

40B1 ... 110B1

‘ N5 _
&
iy

gl

[6)]

6 ho ]
/W\//\% g 76.5

BANEN @ [ s &.
G-(e) H— 2 3 3 MPGO0802 | 52
o g o R MP G 0803 | 58
S N g < MP G 0804 | 64

s wems | oy O

78 N 38.25 192.55 (vP G 080 4) 46

o2 N | NL | N2 | N3 N4 N5 | Lmax
40B1 8 9 952 11 12 127 14 - - - - _— | 40 | &3 | 8 | 4 | max12 | 34 | 40
45A 8 9 952 11 12 127 - - - — — — | 45 | 63 | 80 | 4 | Max12 @ 34 | 40
5081 8 9 952 11 12 127 14 - - - - — | 50 | 65 | 80 | 4 | M5x16 | 34 | 40
50BHL | 8 9 952 11 12 127 14 - - - — - | 50 | 65 | 8 | 4 55 34 | 40
50C1 8 9 952 11 12 127 14 - - - - — | 50| 70 | 80 | 4 | maxt0 | 34 | 40
50D 8 9 952 11 12 127 14 - - - — — | 50 | 95 | 8 | 4 | Mex20 | 34 | 40
55A 8 9 952 11 12 127 14 15875 16 17 19 1905| 555 | 1257 | 105 | 4 | Mex20 | 34 | 40
60A2 8 9 952 11 12 127 14 - - - - — | 60 | 75 | 80 | 4 | Msx16 | 34 | 40
60AH2 | 8 9 952 11 12 127 14 - - - - — | e | 75| 9 | 4 6.5 34 | 40
60B1 8 9 952 11 12 127 14 15875 16 - - — | 60 | 8 | 80 | 4 | M5x16 | 34 | 40
60C1 8 9 952 11 12 127 14 15875 16 - - — | 60 | 9 | 8 | 4 | Msx16 | 34 | 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 1905| 70 | 8 | 80 | 4 | Méx20 | 34 | 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 1905| 70 | 8 | 90 | 4 e 34 | 40
7081 8 9 952 11 12 127 14 15875 16 17 19 1905| 70 | 90 | 80 | 4 | M5x16 | 34 | 40
73A1 8 9 952 11 12 127 14 - - - — — | 73 | 984 | 8 | 4 | mMsx16 | 34 | 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 1905| 80 | 100 | 90 | 4 | Méx16 | 34 | 40
95A 8 9 952 11 12 127 14 15875 16 17 19 1905| 95 | 115 | 100 | 4 | M8x20 | 34 | 40
958 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 | M8x20 | 34 | 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 | 4 | M8x20 | 34 | 40
1108 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 44 | 50
110B1 | 8 9 952 11 12 127 14 15875 16 17 19 10.05| 110 | 145 | 120 | 65 | M8x20 | 54 | 60

105



Lz

MP G 080

@ D1
W N 3
t\i N
D4
@ D2
D5 L5
FM 3| S5
@D
D[ (<R D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 952 38 68 765 | Mexi2 | M6 205 | 4o 95 193 | 105
11 12 12.7 43 68 765 | Mex12 | Me 22 | 263 95 193 | 125
14 15875 16 17 48 68 765 | Mex12 | Me 22 | 263 95 193 | 145
19  19.05 51 68 765 | Mex12 | M6 22 | 263 95 193 | 165

j’ Q S8 HB Jg [kgem?]
- L Ct  Romax A2max R2max A2max ;
\;,sy“ i . . s Or :

N N4
[arcmin] Wnn:in [N] [N] [N] 8..127 14 ..19.05

MP G 080 2 3
MP G 080 2_4
MP G 080 2_5
MP G 080 2_6
MP G 080 2_7
MP G 080 2_10
MP G 080 3 9
MP G 080 3 12
MP G 080 3_15
MP G 080 3_16
MP G 080 3_20
MP G 080 3_25
MP G 080 3_28
MP G 080 3_30
MP G 080 3_35
MP G 080 3_36
MP G 080 3_40
MP G 080 3_50
MP G 080 3_70
MP G 080 3_100
MP G 080 4 48
MP G 080 4_64
MP G 080 4_75
MP G 080 4_80
MP G 080 4_84
MP G 080 4_90
MP G 080 4_120
MP G 080 4_125
MP G 080 4_140
MP G 080 4_150
MP G 080 4_160
MP G 080 4_175
MP G 080 4_200
MP G 080 4_210
MP G 080 4_216
MP G 080 4_250
MP G 080 4_280
MP G 080 4_350
MP G 080 4_400
MP G 080 4_500
MP G 080 4_700
MP G 080 4_1000

Please contact us for different motor adapters and input shaft bore.

106



Lz

MP MB 080

40B1 ... 110B1 20 64
@ 42
@ 95 o - L » ‘20 co
| | s 2 .
|-
Y., |_'1_i'_| N3 | IR Bl
N 0
e o | & o o——
©

27.5 70
Q
62.5
I N
2
L N mn
<
D
75
152
168
175

13.5

22.5 80
\ @ 95 he

149.5 (MP MB 080 2)
174  (MP MB 080 3)
198.5 (MP MB 080 4)

]

B} &

é MP MB 0802 | 95

MP MB 080 3 | 10.5

MP MB 080 4 | 115

1]
|
M8x18
14

p| 1< N N1 N2 N3 N4 N5 | Lmax

40B1 8 9 952 11 12 127 14 - ] 40 63 80 4 M4x12 | 34 40
45A 8 9 952 11 12 127 - - - - - - 45 63 80 4 M4x12 | 34 40
50B1 8 9 952 11 12 127 14 - = = = o 50 65 80 4 M5x16 | 34 40
50BHL | 8 9 952 11 12 127 14 - - - - = 50 65 80 4 55 34 40
50C1 8 9 952 11 12 127 14 - S - 50 70 80 4 M4x10 | 34 40
50D 8 9 952 11 12 127 14 - - - - = 50 95 80 4 M6x20 | 34 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 | 1257 | 105 4 M6x20 | 34 40
60A2 8 9 952 11 12 127 14 - - 60 75 80 4 M5x16 | 34 40
60AH2 | 8 9 952 11 12 127 14 - A - 60 75 90 4 6.5 34 40
60B1 8 9 952 11 12 127 14 15875 16 - - - 60 85 80 4 M5x16 | 34 40
60C1 8 9 952 11 12 127 14 15875 16 - —  — 60 90 80 4 M5x16 | 34 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 80 4 M6x20 | 34 40
70AHL | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 90 4 6.5 34 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 90 80 4 M5x16 | 34 40
73A1 8 9 952 11 12 127 14 - A - 73 | 984 | 85 4 M5x16 | 34 40
80AL 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 | 100 90 4 M6x16 | 34 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 4 M8x20 | 34 40
95B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 4 M8x20 | 34 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115 4 M8x20 | 34 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 44 50
110B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 54 60

107



Lz

MP MB 080

L1
L2
[
e
ol A 2 —
FM Q ‘ Q| ~ 53 a
&
['s)
R
D {{ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 952 38 68 765 | Mé6x12 M6 32.2 26.3 95 19.3 105
11 12 12.7 43 68 765 | M6x12 M6 32.2 26.3 95 19.3 125
14 15.875 16 17 48 68 765 | Mé6x12 M6 32.2 26.3 95 19.3 145
19 19.05 51 68 765 | M6x12 M6 32.2 26.3 95 19.3 16.5

S Jg [kgem?]
7 )N ‘\‘ ny N1 max Os Or Ci
& Do

Nm —_—
[min]  [min-] [arcmin] [arcmin] 8..127  14..19.05

MP MB 080 2_3
MP MB 080 2_4
MP MB 080 2_5
MP MB 080 2_6
MP MB 080 2_7
MP MB 080 2_10
MP MB 080 3 9
MP MB 080 3_12
MP MB 080 3_15
MP MB 080 3_16
MP MB 080 3_20
MP MB 080 3_25
MP MB 080 3_28
MP MB 080 3_30
MP MB 080 3_35
MP MB 080 3_36
MP MB 080 3_40
MP MB 080 3_50
MP MB 080 3_70
MP MB 080 3_100
MP MB 080 4 48
MP MB 080 4_64
MP MB 080 4_75
MP MB 080 4_80
MP MB 080 4_84
MP MB 080 4_90
MP MB 080 4_120
MP MB 080 4_125
MP MB 080 4_140
MP MB 080 4_150
MP MB 080 4_160
MP MB 080 4_175
MP MB 080 4_200
MP MB 080 4_210
MP MB 080 4_216
MP MB 080 4_250
MP MB 080 4_280
MP MB 080 4_350
MP MB 080 4_400
MP MB 080 4_500
MP MB 080 4_700
MP MB 080 4_1000

Please contact us for different motor adapters and input shaft bore.

108



Lz

MP 105

IS

121.3 (MP1051)
153.8 (MP 105 2)

186.3 (MP 1053) 57.5
8 h9 4 ‘ ‘g_ST L5 &ho M8
- iy &
7 e
_7 'ﬁ o g 1 ; MP 1051 | 65
o . S = K E ! ‘_,uf MP 1052 | 85
‘ S 9 \_/ MP 1053 | 10.5
@85 1 0.05 7 =28 @85 £ 0.05
s
107.5 (MP 105 1)
140 (MP 105 2)
N5  172.5 (MP 105 3) 57.5
N3 1.5
2
2|t | — |
sls - = - MP 1051 | 65
MP 1052 | 85
— MP 1053 | 10.5
,\ @85 +0.05_ 15
. s -5“ i
Dl < N N1 N2 N3 N4 N5 Lmax
11 12 127 14 15 15875 16 19 - - - - 50 95 100 5 M6x14 28 40
11 12 127 14 15 15875 16 19 - - - - 55 | 125.7 | 105 5 M6x16 28 40
11 12 127 14 15 15875 16 19 - - - - 60 75 100 6.5 M5x14 28 40
11 12 127 14 15 15875 16 19 - - - - 60 75 100 4 6.5 33 40
11 12 127 14 15 15875 16 19 - - - - 60 85 100 6.5 M5x14 28 40
11 12 127 14 15 15875 16 19 - - - - 70 85 100 6.5 M6x14 28 40
11 12 127 14 15 15875 16 19 - - - - 70 85 100 4 6.5 33 40
11 12 127 14 15 15875 16 19 - - - - 70 20 100 6.5 M5x12 28 40
11 12 127 14 15 15875 16 19 - - - - 80 100 100 6.5 M6x16 28 40
11 12 127 14 15 15875 16 19 - - - - 80 100 100 4 6.5 33 40
11 12 127 14 15 15875 16 19 - - - - 95 115 100 6.5 M8x18 28 40
11 12 127 14 15 15875 16 19 22 24 - - 95 115 100 6.5 M8x18 38 50
11 12 127 14 15 15875 16 19 — - - - 95 130 115 6.5 M8x18 28 40
11 12 127 14 15 15875 16 19 - - - - 110 130 115 6.5 M8x18 28 40
11 12 127 14 15 15875 16 19 22 24 - - 110 130 115 6.5 M8x20 38 50
11 12 127 14 15 15875 16 19 22 24 - - 110 145 120 6.5 M8x20 38 50
11 12 127 14 15 15875 16 19 22 24 28 - 110 145 120 6.5 M8x20 48 60
11 12 127 14 15 15875 16 19 22 24 - - 130 165 140 6.5 M10x20 38 50
11 12 127 14 15 15875 16 19 22 24 28 32 130 165 140 6.5 M10x25 48 60

109



MP 1051 3

MP 1051 5

MP 105 2_70

MP 105 3_140

MP 105 3_500

L3
7
7z
=R
FM S S
7
Dﬁ:@ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 12 12.7 43 90 98 M6x15 M6 315 19.5 7.6 12 12.5
14 15 15.875 16 48 90 98 M6x15 M6 315 19.5 7.6 12 14.5
19 51 90 98 M6x15 M6 315 19.5 7.6 12 16.5
22 24 56.5 90 98 M6x15 M6 35 23 7.6 12 19
28 67 90 98 M6x15 M8 35 23 7.6 14 225
32 71 90 98 M6x15 M8 37 25 7.6 16 24.5
SB HB Je [kgem?]
Mn2 Ma2 Mp2 N1  Nimax ¢s ¢R Ct |R1max |R2 max|/A2 max R2 max A2 max n s,

MP 1051 4

MP 105 1_6

MP 105 1_7

MP 105 1_10
MP 105 2_9

MP 105 2_12
MP 105 2_15
MP 105 2_16
MP 105 2_20
MP 105 2_25
MP 105 2_28
MP 105 2_30
MP 105 2_35
MP 105 2_36
MP 105 2_40
MP 105 2_50

MP 105 2_100
MP 105 3_48
MP 105 3_64
MP 105 3_75
MP 105 3_80
MP 105 3_84
MP 105 3_90
MP 105 3_120
MP 105 3_125

MP 105 3_150
MP 105 3_160
MP 105 3 175
MP 105 3_200
MP 105 3_210
MP 105 3_216
MP 105 3_250
MP 105 3_280
MP 105 3_350
MP 105 3_400

MP 105 3_700

MP 105 3_1000 [FIE3)

' [Nm] [Nm] [Nm] [min-1] [min-1] [arcmin] L, il NOINDOINDOINDOINI % 11..127 14...19 22-24 28-32
100 [ 180 [ 360 | 2500 [ 3500 | 15'[ 10' [ 22.0 | 600 [ 1500 [ 1600 [ 3800400097 170 | 178 | 222 | 259
140 [ 210 [ 450 | 2800 [ 4500 | 15'[ 10' [ 22.0 | 600 | 1500 [ 1600 [ 38004000 97| 099 | 106 | 151 | 187
140 [ 210 | 450 | 3000 [ 4500 | 15" 10' [ 22.0 | 600 | 1500 [ 1600 | 38004000 [97| 072 | 079 | 1.23 | 1.60
140 [ 210 [ 450 | 3000 [ 4500 | 15'[ 10' [ 22.0 | 600 | 1500 [ 1600 | 38004000 [97| 036 | 043 | 0.88 | 1.24
140 [ 210 | 450 | 3500 [ 5000 | 15[ 10| 22.0 | 600 | 1500 | 1600 | 3800|4000 [97| 047 | 055 | 099 | 1.35
100 | 180 | 360 | 3500 | 5000 | 15'[ 10'| 22.0 | 600 | 1500 | 1600 | 3800|4000 [97| 033 | 041 | 085 | 1.21
100 | 180 | 360 | 2500 | 3500 | 15'| 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 [94| 158 | 163 | 207 | 2.44
170|250 | 600 | 2500 | 3500 | 15" 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 [94| 152 | 159 | 2.03 | 2.40
170|250 | 600 | 2500 | 3500 | 15'[ 10'| 20.5 | 600 | 1500 [ 1600 | 3800|4000 [94| 147 | 155 | 1.99 | 236
170250 | 600 | 2800 [ 4500 | 15'[ 10'| 20.5 | 600 | 1500 [ 1600 | 38004000 94| 087 | 095 | 1.39 | 176
170 [ 250 | 600 | 3000 | 4500 | 15[ 10'| 20.5 | 600 | 1500 | 1600 | 3800|4000 [94| 0.86 | 093 | 1.37 | 1.74
170250 | 600 | 3000 [ 4500 | 15'| 10'| 205 | 600 | 1500 | 1600 [ 3800 [ 4000 [94| 063 [ 071 | 115 | 151
170|250 | 600 | 3500 [ 5000 | 15" 10'| 20.5 | 600 | 1500 | 1600 [ 3800 [ 4000 [94| 043 | 051 | 095 | 1.32
100 | 180 | 360 | 3500 | 5000 | 15" 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 94| 032 | 040 | 0.84 | 1.20
170|250 | 600 | 3500 | 5000 | 15" 10'| 20.5 | 600 | 1500 | 1600 [ 3800 [ 4000 [94| 043 [ 050 | 095 | 1.31
140 | 210 | 450 | 3000 | 4500 | 15" 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 94| 032 | 039 | 0.84 | 1.20
170|250 | 600 | 3500 [ 5000 | 15" 10'| 20.5 | 600 | 1500 | 1600 [ 3800 [ 4000 [94| 031 | 039 | 0.83 | 1.20
170250 | 600 | 3500 | 5000 | 15" 10'| 20.5 | 600 | 1500 | 1600 [ 38004000 94| 031 | 039 | 0.83 | 1.19
170|250 | 600 3500 | 5000 | 15" 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 [94| 031 | 0.38 | 0.83 | 119
100 | 180 | 360 | 3500 | 5000 | 15'[ 10'| 20.5 | 600 | 1500 | 1600 | 3800 | 4000 [ 94| 031 | 038 | 0.83 | 1.19
170 250 600 | 2800 | 4500 | 17| 12'| 175 | 600 | 1500 | 1600 | 3800 [4000 91| 091 | 098 | 142 | 1.79
170 | 250 | 600 | 2800 | 4500 [ 17'[ 12| 17.5 | 600 | 1500 | 1600 | 3800 | 4000 [91| 0.87 | 094 | 138 | 175
170|250 | 600 | 3000 [ 4500 | 17'[12' | 17.5 | 600 | 1500 [ 1600 [ 38004000 [91]| 066 | 074 | 118 | 155
170250 [ 600 | 2800 [ 4500 [ 17'[12' [ 17.5 | 600 | 1500 [ 1600 [ 38004000 [91]| 0.86 | 094 | 138 | 175
170250 | 600 | 3500 [ 5000 | 17'[12' | 17.5 | 600 | 1500 | 1600 | 3800|4000 [91]| 044 | 052 | 096 | 1.33
100 [ 180 | 360 | 3500 [ 5000 [ 17'[12' [ 17.5 | 600 | 1500 [ 1600 | 38004000 91| 032 | 039 | 0.84 | 1.20
170250 | 600 | 3500 | 5000 | 17'[ 12 | 17.5 | 600 | 1500 | 1600 | 38004000 91| 032 | 0.39 | 0.84 | 1.20
170250 | 600 | 3000 [ 4500 [ 17'[ 12 [ 17.5 | 600 | 1500 | 1600 38004000 |91| 063 | 070 | 115 | 151
170|250 | 600 | 3500 | 5000 | 17'| 12 | 17.5 | 600 | 1500 | 1600 | 38004000 |91 0.43 | 051 | 095 | 1.32
170|250 | 600 | 3500 [ 5000 | 17'[ 12 | 17.5 | 600 | 1500 | 1600 | 38004000 [91| 032 | 039 | 0.84 | 1.20
170|250 | 600 | 3500 | 5000 | 17°| 12 | 17.5 | 600 | 1500 | 1600 | 3800|4000 [91| 031 | 039 | 0.83 | 1.21
170|250 | 600 | 3500 | 5000 | 17'[ 12 | 17.5 | 600 | 1500 | 1600 | 3800|4000 [91| 043 | 050 | 095 | 1.31
170250 | 600 | 3500 [ 5000 | 17| 12| 17.5 | 600 | 1500 | 1600 [ 3800 [ 4000 [91| 031 | 039 | 0.83 | 1.20
170250 | 6003500 | 5000 | 17| 12'| 17.5 | 600 | 1500 | 1600 [ 3800 [ 4000 [91| 0.2 [ 039 | 0.84 | 1.20
170250 | 6003000 [ 4500 | 17|12 | 17.5 | 600 | 1500 | 1600 [ 3800|4000 91| 031 | 039 | 0.83 | 1.20
170|250 | 600 3500 | 5000 | 17| 12| 17.5 | 600 | 1500 | 1600 | 3800 [ 4000 [91| 031 | 039 | 0.83 | 1.19
170250 | 6003500 [ 5000 | 17| 12'| 17.5 | 600 | 1500 | 1600 [ 3800 [ 4000 [91| 031 | 038 | 0.83 | 1.19
170|250 | 600 3500 | 5000 | 17| 12'| 17.5 | 600 | 1500 | 1600 [ 3800 [ 4000 | 91| 031 [ 038 | 0.83 | 1.19
170|250 | 6003500 [ 5000 | 17| 12 | 17.5 | 600 | 1500 | 1600 [ 38004000 [91| 031 | 038 | 0.83 | 119
170|250 | 600 3500 | 5000 | 17| 12'| 17.5 | 600 | 1500 | 1600 [ 3800|4000 91| 031 | 038 | 0.83 | 1.19
170|250 | 600 | 3500 [ 5000 | 17| 12 | 17.5 | 600 | 1500 | 1600 [ 3800|4000 [91| 031 | 0.38 | 0.83 | 1.19

180 [ 360 [ 3500 5000 [ 17'[12'[ 17.5 | 600 | 1500 [ 1600 [ 3800 [ 4000 [91] 031 | 038 | 0.83 | 119

Please contact us for different motor adapters and input shaft bore.

110




Lz

MP G 105

50D ... 130A1

DN
s
e 5
2 y T2
8 h9 ey \ 35 5

R

{4

62.75
s
106
i
|@70h7

@ I ‘; MP G 1052 | 85
S —E e g = MP G 1053 | 105
8 b N gl i MPG 1054 | 125
' 170.3 (MP G 105 2) ’[> =l
. ©85:20.05 | 202.8 (MP G 105 3) M8x15
98 N 49 235.3 (MP G 105 4) 57.5
N4 _
bl (TR N N1 | N2 | N3 N4 N5 | Lmax
50D 1 12 127 14 15 15875 16 19 - - - — | 50 | 95 | 100 5 M6x14 | 28 40
55A 1 12 127 14 15 15875 16 19 - - - - | 55 |1257| 105 5 M6x16 | 28 40
60A2 1 12 127 14 15 15875 16 19 - - - — | 60 | 75 | 100 | 65 | M5x14 | 28 40
60AH2 | 11 12 127 14 15 15875 16 19 - - - — | 60 | 75 | 100 4 6.5 33 40
60B1 1 12 127 14 15 15875 16 19 - - - — | 60 | 8 | 100 | 65 | M5x14 | 28 40
70A1 1 12 127 14 15 15875 16 19 - - - — | 70 | 8 | 100 | 65 | M6xl4 | 28 40
70AH1 | 11 12 127 14 15 15875 16 19 - - - — | 70 | 8 | 100 | 4 6.5 33 40
70B1 11 12 127 14 15 15875 16 19 - - — — | 70 | 90 | 100 | 65 | M5x12 | 28 40
80A1 1 12 127 14 15 15875 16 19 - - - — | 80 | 100 | 100 | 65 | M6xl6 | 28 40
80AH1 | 11 12 127 14 15 15875 16 19 - - - — | 80 | 100 | 100 4 6.5 33 40
95A 1 12 127 14 15 15875 16 19 - - - — | 95 | 115 | 100 | 65 | M8x18 | 28 | 40
95A1 11 12 127 14 15 15875 16 19 22 24 - — | 95 | 115 | 100 | 65 | M8xl8 | 38 50
958 1 12 127 14 15 15875 16 19 - - - — | 95 | 130 | 115 | 65 | M8x18 | 28 | 40
110A 11 12 127 14 15 15875 16 19 - - - — | 110 | 130 | 115 | 65 | M8x18 | 28 40
110A1 | 11 12 127 14 15 15875 16 19 22 24 - - | 110 | 130 | 115 | 65 | M8x20 | 38 50
1108 11 12 127 14 15 15875 16 19 22 24 - — | 110 | 145 | 120 | 65 | M8x20 | 38 50
110B1 | 11 12 127 14 15 15875 16 19 22 24 28 - | 110 | 145 | 120 | 65 | M8x20 | 48 60
130A 11 12 127 14 15 15875 16 19 22 24 — — | 130 | 165 | 140 | 65 | M10x20 | 38 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 28 32| 130 | 165 | 140 | 65 | M10x25 | 48 60

111



14//4

MP G 105

@ D1
N R 3
&y N
D4
@ D2 L
Ds L5
h| B [y
FM N
@D
D {:(‘ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 12 12.7 43 90 98 M6x15 M6 315 195 76 12 125
14 15 15.875 16 48 90 98 M6x15 M6 315 195 7.6 12 145
19 51 90 98 M6x15 M6 315 195 7.6 12 165
22 24 56.5 90 98 M6x15 M6 35 23 7.6 12 19
28 67 90 98 M6x15 M8 35 23 7.6 14 225
32 71 90 98 M6x15 M8 37 25 7.6 16 245

100 | 180 | 360 | 2500 | 3500 | 15'|[10'| 22.0 |1500 | 1600 | 3800 | 4000 | 94 1.85 2.01 233 | 3.07

4 140 | 210 | 450 | 2800 | 4500 | 15'|[10'| 22.0 |1500 | 1600 | 3800 | 4000 | 94 114 %29 162 | 2.35
140 | 210 | 450 | 3000 | 4500 | 15'| 10'|] 22.0 |1500 | 1600 | 3800 | 4000 | 94 1.07 121 134 | 2.08
6 140 | 210 | 450 | 3000 | 4500 | 15'|10'| 22.0 |1500 | 1600 | 3800 | 4000 | 94 0.87 1.02 116 | 1.89

140 | 210 | 450 | 3500 | 5000 | 15'|10'| 22.0 |1500 | 1600 | 3800 | 4000 | 94 0.98 114 1.27 | 2.00

0 100 | 180 | 360 | 3500 | 5000 | 15'| 10'| 22.0 |1500 | 1600 | 3800 | 4000 | 94 0.94 1.09 1.23 | 1.95
9 100 | 180 | 360 | 2500 | 3500 | 15' | 10'| 20.5 |1500 | 1600 | 3800 | 4000 | 91 1.76 1.86 218 | 2.92
170 | 250 | 600 | 2500 | 3500 | 15'| 10'| 20.5 |1500 | 1600 | 3800 | 4000 | 91 1.60 1.75 214 | 2.88

170 | 250 | 600 | 2500 | 3500 | 15'| 10'|] 20.5 |1500 | 1600 | 3800 | 4000 | 91 LB 1.73 210 | 2.84

6 170 | 250 | 600 | 2800 | 4500 | 15'| 10'] 20.5 | 1500 | 1600 | 3800 | 4000 | 91 1.02 1.18 150 | 2.24
0 170 | 250 | 600 | 3000 | 4500 | 15'| 10'| 20.5 |1500 | 1600 | 3800 | 4000 | 91 1.20 1.35 148 | 2.22
170 | 250 | 600 | 3000 | 4500 | 15'| 10'| 20.5 |1500 | 1600 | 3800 | 4000 | 91 113 %29 142 | 215

8 170 | 250 | 600 | 3500 | 5000 | 15'| 10'| 20.5 |1500 | 1600 | 3800 | 4000 | 91 0.94 1.10 123 | 197
0 100 | 180 | 360 | 3500 | 5000 | 15'| 10'| 20.5 |1500 | 1600 | 3800 | 4000 | 91 0.93 1.08 122 | 194
170 | 250 | 600 | 3500 | 5000 | 15'| 10'| 20.5 |1500 | 1600 | 3800 | 4000 | 91 1.02 1.17 131 | 2.04

6 140 | 210 | 450 | 3000 | 4500 | 15'| 10'| 20.5 |1500 | 1600 | 3800 | 4000 | 91 0.83 0.98 112 | 1.85
40 170 | 250 | 600 | 3500 | 5000 | 15'| 10'| 20.5 |1500 | 1600 | 3800 | 4000 | 91 0.96 111 125 | 1.98
170 | 250 | 600 | 3500 | 5000 | 15'| 10'| 20.5 |1500 | 1600 | 3800 | 4000 | 91 0.96 111 125 | 1.98

170 | 250 | 600 | 3500 | 5000 | 15'| 10'|] 20.5 |1500 | 1600 | 3800 | 4000 | 91 0.92 1.06 121 | 1.93

00 100 | 180 | 360 | 3500 | 5000 | 15'| 10'| 20.5 |1500 | 1600 | 3800 | 4000 | 91 0.92 1.06 1.21 | 1.93
48 170 | 250 | 600 | 2800 | 4500 [ 17' [ 12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 1.06 121 153 | 227
64 170 | 250 | 600 | 2800 | 4500 | 17'| 12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 1.02 1.17 149 | 2.23
170 | 250 | 600 | 3000 | 4500 |17'|12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 1.00 1.16 129 | 2.03

80 170 | 250 | 600 | 2800 | 4500 |17'|12"| 17.5 |1500 | 1600 | 3800 | 4000 | 89 1.01 1.17 149 | 223
84 170 | 250 | 600 | 3500 | 5000 |17'|12"| 17.5 |1500 | 1600 | 3800 |4000 | 89 0.95 111 124 | 1.98
90 100 | 180 | 360 | 3500 | 5000 |17'|12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.93 1.07 122 | 194
0 170 | 250 | 600 | 3500 | 5000 |17'|12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.93 1.07 122 | 194
170 | 250 | 600 | 3000 | 4500 |17'|12"| 17.5 |1500 | 1600 | 3800 |4000 | 89 0.97 112 126 | 1.99

40 170 | 250 | 600 | 3500 | 5000 |17'|12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.94 1.10 123 | 1.97
0 170 | 250 | 600 | 3500 | 5000 |17'|12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.93 1.07 122 | 194
60 170 | 250 | 600 | 3500 | 5000 |17'|12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.92 1.07 121 | 1.96
170 | 250 | 600 | 3500 | 5000 | 17'|12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.94 1.09 1.23 | 1.96

00 170 | 250 | 600 | 3500 | 5000 |17'|12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.92 1.07 121 | 194
0 170 | 250 | 600 | 3500 | 5000 |17'|12'] 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.93 1.07 122 | 194

6 170 | 250 | 600 | 3000 | 4500 [17'|12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.83 0.98 111 | 1.85

0 170 | 250 | 600 | 3500 | 5000 | 17'|12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.92 1.07 121 | 1.93
80 170 | 250 | 600 | 3500 | 5000 | 17'|12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.92 1.06 121 | 1.93
0 170 | 250 | 600 | 3500 | 5000 | 17'|12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.92 1.06 121 | 1.93
400 170 | 250 | 600 | 3500 | 5000 | 17'|12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.92 1.06 121 | 1.93
00 170 | 250 | 600 | 3500 | 5000 | 17'|12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.92 1.06 121 | 1.93
00 170 | 250 | 600 | 3500 | 5000 | 17'| 12'|] 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.92 1.06 121 | 1.93
0l0/0) | 100 | 180 | 360 | 3500 | 5000 | 17'| 12'| 17.5 |1500 | 1600 | 3800 | 4000 | 89 0.92 1.06 121 | 1.93

Please contact us for different motor adapters and input shaft bore.

N N N N N N N S N N N N N N N N NG N N NG NG

112



Lz

MP MB 105

50D ... 130A1

25 95
@ 144 038, ‘
ne e Pd32c 0
‘ N5 o e i
Yo N3 [ ﬂ;‘ | N4
2 ——© —
S o | g o o ,
)
8 sl I SRCE=
: "
- (o] (o] @ o o
&y
T Fj o | 3 —
325 95 @ @58 \ e
|. @ 144n6
195 (MP MB 105 2)
227.5 (MP MB 105 3)
260 (MP MB 105 4) 6 Nm
I :| _ @234 / —
[ ! i [
= <« o MP MB 1052 | 19.2
= e e MP MB 1053 | 21.2
2 MP MB 1054 | 23.2
| I N A
A Al
M10x20
15
Dl {2 N N1 N2 N3 N4 N5 | Lmax
50D 11 12 127 14 15 15875 16 19 - - -  — 50 95 100 5 M6x14 28 40
55A 1 12 127 14 15 15875 16 19 - - - - 55 | 125.7 | 105 5 M6x16 28 40
60A2 11 12 127 14 15 15875 16 19 - - -  — 60 75 100 6.5 M5x14 28 40
60AH2 | 11 12 127 14 15 15875 16 19 - - - - 60 75 100 4 6.5 33 40
60B1 11 12 127 14 15 15875 16 19 - - - - 60 85 100 6.5 M5x14 28 40
70A1 11 12 127 14 15 15875 16 19 - - - - 70 85 100 6.5 M6x14 28 40
70AH1 | 11 12 127 14 15 15875 16 19 - - - - 70 85 100 4 6.5 33 40
70B1 11 12 127 14 15 15875 16 19 - - - - 70 90 100 6.5 M5x12 28 40
80A1 11 12 127 14 15 15875 16 19 - - - - 80 100 | 100 6.5 M6x16 28 40
80AH1 | 11 12 127 14 15 15875 16 19 - - - - 80 100 | 100 4 6.5 33 40
95A 11 12 127 14 15 15875 16 19 - - - - 95 115 | 100 6.5 M8x18 28 40
95A1 11 12 127 14 15 15875 16 19 22 24 - - 95 115 | 100 6.5 M8x18 38 50
958 11 12 127 14 15 15875 16 19 - - - - 95 130 | 115 6.5 M8x18 28 40
110A 1 12 127 14 15 15875 16 19 - - - - 110 | 130 | 115 6.5 M8x18 28 40
110A1 11 12 127 14 15 15875 16 19 22 24 — — | 110 | 130 | 115 6.5 M8x20 38 50
110B 11 12 127 14 15 15875 16 19 22 24 - - 110 | 145 | 120 6.5 M8x20 38 50
110B1 11 12 127 14 15 15875 16 19 22 24 28 — | 110 | 145 | 120 6.5 M8x20 48 60
130A 11 12 127 14 15 15875 16 19 22 24 - - 130 | 165 | 140 6.5 | M10x20 | 38 50
130A1 11 12 127 14 15 15875 16 19 22 24 28 32| 130 | 165 | 140 6.5 | M10x25 | 48 60

113



Lz

MP MB 105

L1
L2,
; [ © o
i
FM o O o g — ?
Q [ o
| S o |11 o
['s]
R
D (< D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 12 12.7 43 90 98 M6x15 | M6 315 195 76 12 125
14 15 15.875 16 48 90 98 M6x15 | M6 315 19.5 7.6 12 14.5
19 51 90 98 M6x15 | M6 315 19.5 7.6 12 16.5
22 24 56.5 90 98 M6x15 | M6 35 23 7.6 12 19
28 67 90 98 M6x15 | M8 35 23 7.6 14 225
32 71 90 98 M6x15 | M8 37 25 7.6 16 245
9
0 () Or
P MB 10 100 | 180 | 360 | 2500 | 3500 | 15 | 10' | 22.0 | 94 1.70 1.78 2.22 2.59
P MB 105 2 4 140 | 210 | 450 | 2800 | 4500 | 15' | 10' | 220 | 94 0.99 1.06 151 1.87
P MB 10 140 | 210 | 450 | 3000 | 4500 | 15 | 10' | 220 | 94 0.72 0.79 1.23 1.60
P MB 105 2 6 140 | 210 | 450 | 3000 | 4500 | 15 | 10' | 220 | 94 0.36 0.43 0.88 1.24
P MB 10 140 | 210 | 450 | 3500 | 5000 | 15 | 10' | 220 | 94 0.47 0.55 0.99 1.35
P MB 10 0 100 | 180 | 360 | 3500 | 5000 | 15 | 10' | 22.0 | 94 0.33 0.41 0.85 1.21
P MB 105 3 9 100 | 180 | 360 | 2500 | 3500 | 15 | 10' | 205 | 91 158 163 2.07 2.44
P MB 10 170 | 250 | 600 | 2500 | 3500 | 15 | 10' | 205 | 91 1.52 1.59 2.03 2.40
P MB 10 170 | 250 | 600 | 2500 | 3500 | 15 | 10' | 205 | 91 1.47 1.55 1.99 2.36
P MB 10 6 170 | 250 | 600 | 2800 | 4500 | 15 | 10' | 205 | 91 0.87 0.95 1.39 1.76
P MB 10 0 170 | 250 | 600 | 3000 | 4500 | 15 | 10' | 205 | O1 0.86 0.93 1.37 1.74
P MB 10 170 | 250 | 600 | 3000 | 4500 | 15 | 10' | 205 | o1 0.63 0.71 1.15 1.51
P MB 10 8 170 | 250 | 600 | 3500 | 5000 | 15 | 10' | 205 | O1 0.43 0.51 0.95 1.32
P MB 10 0 100 | 180 | 360 | 3500 | 5000 | 15 | 10' | 205 | o1 0.32 0.40 0.84 1.20
P MB 10 170 | 250 | 600 | 3500 | 5000 | 15 | 10' | 205 | O1 0.43 0.50 0.95 1.31
P MB 10 6 140 | 210 | 450 | 3000 | 4500 | 15 | 10' | 205 | o1 0.32 0.39 0.84 1.20
P MB 105 3 40 170 | 250 | 600 | 3500 | 5000 | 15 | 10' | 205 | o1 0.31 0.39 0.83 1.20
P MB 10 0 170 | 250 | 600 | 3500 | 5000 | 15 | 10' | 205 | o1 0.31 0.39 0.83 1.19
P MB 10 0 170 | 250 | 600 | 3500 | 5000 | 15 | 10' | 205 | o1 0.31 0.38 0.83 1.19
P MB 10 00 100 | 180 | 360 | 3500 | 5000 | 15 | 10' | 205 | o1 0.31 0.38 0.83 1.19
P MB 105 4 48 170 | 250 | 600 | 2800 | 4500 | 17 | 12 | 175 | 89 0.91 0.98 1.42 1.79
P MB 105 464 170 | 250 | 600 | 2800 | 4500 | 17 | 12 | 175 | 89 0.87 0.94 1.38 175
P MB 105 4 170 | 250 | 600 | 3000 | 4500 | 17 | 12 | 175 | 89 0.66 0.74 118 1.55
P MB 105 480 170 | 250 | 600 | 2800 | 4500 | 17 | 12 | 175 | 89 0.86 0.94 1.38 1.75
P MB 105 4_84 170 | 250 | 600 | 3500 | 5000 | 17 | 12° | 175 | 89 0.44 0.52 0.96 1.33
P MB 105 490 100 | 180 | 360 | 3500 | 5000 | 17 | 12° | 175 | 89 0.32 0.39 0.84 1.20
P MB 105 4_120 170 | 250 | 600 | 3500 | 5000 | 17 | 12° | 175 | 89 0.32 0.39 0.84 1.20
P MB 105 4 170 | 250 | 600 | 3000 | 4500 | 17 | 12° | 175 | 89 0.63 0.70 115 151
P MB 105 4_140 170 | 250 | 600 | 3500 | 5000 | 17 | 12° | 175 | 89 0.43 0.51 0.95 1.32
P MB 105 4_150 170 | 250 | 600 | 3500 | 5000 | 17 | 12' | 175 | 89 0.32 0.39 0.84 1.20
P MB 105 4_160 170 | 250 | 600 | 3500 | 5000 | 17 | 12' | 175 | 89 0.31 0.39 0.83 121
P MB 105 4 170 | 250 | 600 | 3500 | 5000 | 17 | 12 | 175 | 89 0.43 0.50 0.95 1.31
P MB 105 4 200 170 | 250 | 600 | 3500 | 5000 | 17 | 12° | 175 | 89 0.31 0.39 0.83 1.20
P MB 105 4 210 170 | 250 | 600 | 3500 | 5000 | 17" | 12° | 175 | 89 0.32 0.39 0.84 1.20
P MB 105 4 216 170 | 250 | 600 | 3000 | 4500 | 17 | 12° | 175 | 89 0.31 0.39 0.83 1.20
P MB 105 4 250 170 | 250 | 600 | 3500 | 5000 | 17 | 12° | 175 | 89 0.31 0.39 0.83 1.19
P MB 105 4 280 170 | 250 | 600 | 3500 | 5000 | 17 | 12 | 175 | 89 0.31 0.38 0.83 1.19
P MB 105 4 350 170 | 250 | 600 | 3500 | 5000 | 17 | 12 | 175 | 89 0.31 0.38 0.83 1.19
P MB 105 4400 170 | 250 | 600 | 3500 | 5000 | 17 | 12 | 175 | 89 0.31 0.38 0.83 1.19
P MB 105 4 500 170 | 250 | 600 | 3500 | 5000 | 17 | 12 | 175 | 89 0.31 0.38 0.83 1.19
P MB 105 4700 170 | 250 | 600 | 3500 | 5000 | 17 | 12 | 175 | 89 0.31 0.38 0.83 1.19
Sz 0 i) | 100 | 180 | 360 | 3500 | 5000 | 17' | 12 | 175 | 89 0.31 0.38 0.83 1.19

Please contact us for different motor adapters and input shaft bore.

114



Lz

MP 130

IS 151.2 (MP 1301)
190.7 (MP 1302)
57.5 230.2 (MP 1303) 69.5
.o 7
| T 50 | 3
\ T
- )
— | 00
] ol § MP 1301 | 12.0
__ o] &
& S MP 1302 | 155
- NI MP 1303 | 185
7 15 S 8
ENii RES
= 126 (MP1301)
165.5 (MP 1302)
N5 205 P1303) 695
7
8
\
|50 .3 ﬁ
L ([ TS
- Ajg ot MP 1301 | 12.0
f el ® MP 1302 | 155
85 MP 1303 | 185
sl o
20 Q
H% N | NL | N2 | N3 N4 N5 | Lmax
14 15875 16 19 - = = = = - | 555 | 1257 | 130 4 M6x15 | 395 | 50
14 15875 16 19 - - - - - - 80 100 | 130 4 M6x15 | 395 | 50
14 15875 16 19 22 24 - = = = 95 115 | 130 4 M8x20 | 395 | 50
14 15875 16 19 22 24 - - - - 110 | 130 | 130 4 M8x20 | 395 | 50
14 15875 16 19 22 24 - = = = 110 | 145 | 130 6.5 M8x20 | 495 | 60
14 15875 16 19 22 24 - - - - | 1143 | 200 | 170 55 | M12x25 | 395 | 50
14 15875 16 19 22 24 28 32 35 38 | 1143 | 200 | 170 55 | M12x25 | 695 | 80
14 15875 16 19 22 24 - - - - 130 | 165 | 140 4 M10x20 | 39.5 | 50
14 15875 16 19 22 24 28 32 - = 130 | 165 | 140 4 M10x20 | 495 | 60
14 15875 16 19 22 24 28 32 - - 180 | 215 | 190 55 | M14x25 | 495 | 60
14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 55 | M14x25 | 695 | 80

115



14//4

L1
L3 L
e [
T
P o I.|=|_I
- -
Z 8
VLl ©
g
D r(\:ii D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 1255 M8x15 M6 40 27.5 6 20 14.5
19 51 113 125.5 M8x15 M6 40 275 6 20 16.5
22 24 56.5 113 125.5 M8x15 M6 41 28.5 6 19.5 19
28 67 113 125.5 M8x15 M8 41 285 6 19.5 225
32 71 113 1255 M8x15 M8 41 28.5 6 19.5 24.5
35 73 113 125.5 M8x15 M8 50 375 11.25 26 26
38 775 113 125.5 M8x15 M8 50 375 11.25 26 28
N Je [kgem?
:‘\‘]I Mn2 Ma2 Mp2 N1 | N1 max (I)s ¢R Ct Rimax R2max A2max 1 -,
| S Y ] (D
‘ - " Nm ~f
I [Nm] [Nm] [Nm] [mind]| [mind] [aremin] | Zremin|  [N] [N] [N] % 14..19 22-24 28-32 35- 3¢
MP 1301 3 215 | 400 | 800 | 2100 | 3000| 15 10 43.0 800 | 5500 | 6500| 97 525 5.46 581 | 7.16
MP 1301 4 380 | 600 | 1100| 2400 | 3500| 15 10' 43.0 800 | 5500 6500| 97 3.06 3.26 3.61 | 4.97
MP 1301 5 380 | 600 | 1100| 2900 | 3500| 15 10’ 43.0 800 | 5500 6500| 97 2.22 242 277 | 4.13
MP 1301 6 380 | 600 | 1100| 2900 | 3500| 15 10' 43.0 800 | 5500 6500| 97 1.19 1.40 1.75 | 3.10
MP 1301 7 380 | 600 | 1100| 3200 | 4000| 15 10’ 43.0 800 | 5500 6500| 97 1.47 1.68 2.03 | 3.38
MP 1301 10 215 | 400 | 800 | 3200 | 4000| 15 10' 43.0 800 | 5500 6500| 97 1.04 1.25 1.60 | 2.95
MP 1302 9 215 | 400 | 800 | 2100 | 3000| 15 10' 375 800 | 5500 | 6500| 94 4.82 5.02 537 | 6.72

MP 1302 _12 450 | 700 | 1300 | 2100 | 3000| 15' | 10 37.5 | 800 | 5500| 6500 94 4.57 4.78 513 | 6.48
MP 130 2_15 450 | 700 | 1300 | 2100 | 3000| 15' | 10" | 37.5 | 800 | 5500| 6500| 94 4.48 4.69 504 | 6.39
MP 130 2_16 450 | 700 | 1300 | 2400 | 3500| 15' | 10 37.5 | 800 | 5500| 6500 94 2.67 2.88 3.23 | 4.58
MP 130 2_20 450 | 700 | 1300 | 2900 | 3500| 15' | 10" | 37.5 | 800 | 5500| 6500| 94 1.97 2.18 253 | 3.88
MP 130 2_25 450 | 700 | 1300 | 2900 | 3500| 15' | 10' 37.5 | 800 | 5500| 6500 94 1.94 215 250 | 3.85
MP 130 2_28 450 | 700 | 1300 | 3200 | 4000| 15' | 10" | 37.5 | 800 | 5500| 6500| 94 1.34 1.55 190 | 3.25
MP 130 2_30 215 | 400 | 800 | 3200 | 4000| 15 | 10 37.5 | 800 | 5500| 6500 94 1.00 121 156 | 291
MP 130 2_35 450 | 700 | 1300 | 3200 | 4000| 15' | 10" | 37.5 | 800 | 5500| 6500| 94 1.33 1.53 1.88 | 3.24
MP 130 2_36 380 | 600 | 1100 | 2900 | 3500| 15' | 10' | 37.5 | 800 | 5500| 6500| 94 1.05 1.26 161 | 2.96
MP 130 2_40 450 | 700 | 1300 | 3200 | 4000| 15' | 10" | 37.5 | 800 | 5500| 6500| 94 0.98 1.19 154 | 2.89
MP 130 2_50 450 | 700 | 1300 | 3200 | 4000| 15' | 10" | 37.5 | 800 | 5500| 6500| 94 0.97 1.18 153 | 2.88
MP 130 2_70 450 | 700 | 1300 | 3200 | 4000| 15 | 10" | 37.5 | 800 | 5500 | 6500| 94 0.96 1.17 152 | 2.87
MP 130 2_100 215 | 400 | 800 | 3200 | 4000| 15' | 10'| 37.5 | 800 | 5500 | 6500 | 94 0.96 1.17 152 | 2.87
MP 130 3_48 450 | 700 | 1300 | 2400 | 3500| 17| 12' | 29.5 | 800 | 5500| 6500| 91 277 2.98 333 | 4.68
MP 130 3_64 450 | 700 | 1300 | 2400 | 3500| 17" | 12' | 29.5 | 800 | 5500| 6500| 91 2.65 2.86 321 | 456
MP 130 3_75 450 | 700 | 1300 | 2900 | 3500| 17| 12' | 29.5 | 800 | 5500 | 6500| 91 2.03 2.24 259 | 394
MP 130 3_80 450 | 700 | 1300| 2400 | 3500| 17' | 12'| 29.5 | 800 | 5500| 6500 91 2.65 2.85 3.20 | 4.56
MP 130 3_84 450 | 700 | 1300| 3200 | 4000| 17" | 12' 29.5 | 800 | 5500| 6500 91 1.37 1.58 193 | 3.28
MP 130 3_90 215 | 400 | 800 | 3200 | 4000| 17" | 12' 29.5 | 800 | 5500| 6500 91 1.00 1.20 155 | 291
MP 130 3_120 450 | 700 | 1300 | 3200 | 4000| 17| 12 29.5 | 800 | 5500| 6500 91 0.99 1.20 155 | 2.90
MP 130 3_125 450 | 700 | 1300 | 2900 | 3500| 17" | 12 29.5 | 800 | 5500| 6500 91 1.93 2.13 248 | 3.84
MP 130 3_140 450 | 700 | 1300 | 3200 | 4000| 17" | 12 29.5 | 800 | 5500| 6500 91 1.34 1.54 189 | 3.25
MP 130 3_150 450 | 700 | 1300 | 3200 | 4000| 17" | 12 29.5 | 800 | 5500| 6500 91 0.99 1.20 155 | 2.90
MP 130 3_160 450 | 700 | 1300 | 3200 | 4000| 17" | 12 29.5 | 800 | 5500| 6500 91 0.98 118 153 | 2.89
MP 130 3_175 450 | 700 | 1300 | 3200 | 4000| 17" | 12 29.5 | 800 | 5500| 6500 91 1.32 153 1.88 | 3.23
MP 130 3_200 450 | 700 | 1300 | 3200 | 4000| 17" | 12 29.5 | 800 | 5500| 6500 91 0.97 1.18 153 | 2.88
MP 130 3_210 450 | 700 | 1300 | 3200 | 4000| 17" | 12 29.5 | 800 | 5500| 6500 91 0.99 1.20 155 | 2.90
MP 130 3_216 450 | 700 | 1300 | 2900 | 3500| 17" | 12 29.5 | 800 | 5500| 6500 91 1.05 1.26 161 | 2.96
MP 130 3_250 450 | 700 | 1300 | 3200 | 4000| 17" | 12 29.5 | 800 | 5500| 6500 91 0.97 1.18 153 | 2.88
MP 130 3_280 450 | 700 | 1300 | 3200 | 4000| 17" | 12 29.5 | 800 | 5500| 6500 91 0.96 1.17 152 | 2.87
MP 130 3_350 450 | 700 | 1300 | 3200 | 4000| 17" | 12 29.5 | 800 | 5500| 6500 91 0.96 1.17 152 | 2.87
MP 130 3_400 450 | 700 | 1300 | 3200 | 4000| 17" | 12 29.5 | 800 | 5500| 6500 91 0.96 1.17 152 | 287
MP 130 3_500 450 | 700 | 1300 | 3200 | 4000| 17" | 12 29.5 | 800 | 5500| 6500 91 0.96 1.17 152 | 2.87
MP 130 3_700 450 | 700 | 1300 | 3200 | 4000| 17" | 12 29.5 | 800 | 5500| 6500 91 0.96 1.17 152 | 2.87
\VIEREeloRellololon 215 | 400 | 800 | 3200 | 4000 17' | 12 29.5 | 800 | 5500| 6500 91 0.96 1.17 152 | 2.87

Please contact us for different motor adapters and input shaft bore.

116



Lz

MP G 130

55A1 ... 180A1
o (5
2\ = L
o %jﬂ* LT ~
8
10 h9 | el s 50 3
! _H\//\’S« % 124
AR & R = o)
- . ¥ _ =
{@ i 3 - j§ MP G 1302 | 16.0
o Naxi4 2 R MP G 1303 | 195
: S MP G 1304 | 225
2110: 005 Seag o0 ’L Mi220 &
124 N 62 292.2 (MP G 130 4) 69.5 !
N _

ol N | NL | N2 | N3 N4 N5 | Liax
14 15875 16 19 - - - - _— _ | 555 | 1257 130 | 4 | Mexi5 | 395 | 50
14 15875 16 19 - - - - — — | 8 | 100 | 130 | 4 | Mexi5 | 395 50
14 15875 16 19 22 24 - - — - | 95 | 115 | 130 | 4 | M8x20 | 395 | 50
14 15875 16 19 22 24 - - - — | 110 | 130 | 130 @ 4 | M8x20 | 395 50
14 15875 16 19 22 24 - - - - | 110 | 145 | 130 | 65 | M8x20 | 495 | 60
14 15875 16 19 22 24 - - -  — |1143| 200 | 170 @ 55 | MI2x25 | 395 |50
14 15875 16 19 22 24 28 32 35 38 |1143| 200 | 170 | 55 | M12x25 | 695 | 80
14 15875 16 19 22 24 - - — - | 130 | 165 | 140 @ 4 | M10x20 | 395 50
14 15875 16 19 22 24 28 32 - - | 130 | 165 | 140 | 4 | MI0x20 | 495 | 60
14 15875 16 19 22 24 28 32 - - | 180 | 215 | 190 @ 55 | M14x25 | 495 60
14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 55 | M14x25 | 695 | 80

117



14//4

MP G 130

@ D1
N N 3
R R
D4
@ D2
Ds| L5
FM 3 Sk
2D
D {H D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 12515 M8x15 M6 40 25 6 20 14.5
19 51 113 1255 M8x15 M6 40 275 6 20 16.5
22 24 56.5 113 1255 M8x15 M6 41 28.5 6 19.5 19
28 67 113 125.5 M8x15 M8 41 28.5 6 195 225
32 71 113 12515 M8x15 M8 41 28,5 6 d9i5 24.5
35 73 113 1255 M8x15 M8 50 375 11.25 26 26
38 S 113 12515 M8x15 M8 50 375 Q425 26 28

N1 |N1max (I)s (I)R Ct R2 max | A2 max

N .
[Nm] [min-Y] [min?] [arcmin] [mel Nl [N] 14..19 22-24 28-32

MP G 130 2 3
MP G 130 2 4
MP G 1302 5
MP G 130 2 6
MP G 130 2 7

MP G 1303 9 |
MP G1303 12 |
MP G 1303 15 |
MP G 1303 16 |
MP G 1303 20 |
MP G1303 25 |
MP G 1303 28 |
MP G 1303 30 |
MP G 1303 35 |
MP G 1303 36 |
MP G 1303 40 |
MP G 1303 50 |
MP G 1303 70 |
MP G 1303 100 |
MP G 1304 48 |
MP G 1304 64 |
MP G 1304 75 |
MP G 1304 80 |
MP G 130 4 84 }
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
!

MP G 130 4 90
MP G 130 4_120
MP G 130 4 125
MP G 130 4_140
MP G 130 4_150
MP G 130 4_160
MP G 130 4_175
MP G 130 4_200
MP G 130 4_210
MP G 130 4 216
MP G 130 4_250
MP G 130 4_280
MP G 130 4 350
MP G 130 4_400
MP G 130 4_500
MP G 130 4_700
MP G 130 4_1000

Please contact us for different motor adapters and input shaft bore.

118



Lz

MP MB 130

55A1 ... 180A1

37.5 100
@75 |
D172 © D42ce ©
4 N5 ®
72 N3
2 ; n ©
o™
o o |2 = o
D
2 Z|O I O o s o
2 slst 1 SRS
b
e o) ¢ & Y &
[a]
R |
| T o ==
425 100 ® @75 ©
@172
233.5 (MP MB 130 2)
273 (MP MB 130 3)
3 312.5 (MP MB 130 4) R 15 Nm
1 @47 [
|
; : : T
— ? - =/ MP MB 130 2 54
= N\ MPMB 1303 | 58
L X MP MB 130 4 61
: L~ o
M12x22 . 875
145
20 175
Dl 1< N N1 N2 N3 N4 N5 Lmax
14 15875 16 19 - - - - - - 555 | 125.7 130 4 M6x15 395 50
14 15875 16 19 — — — — — - 80 100 130 4 M6x15 395 50
14 15875 16 19 22 24 - - - - 95 115 130 4 M8x20 395 50
14 15875 16 19 22 24 — - — - 110 130 130 4 M8x20 395 50
14 15875 16 19 22 24 - - - - 110 145 130 6.5 M8x20 49.5 60
14 15875 16 19 22 24 - - - - 114.3 200 170 55 M12x25 395 50
14 15875 16 19 22 24 28 32 85 38 | 114.3 200 170 5.5 M12x25 69.5 80
14 15875 16 19 22 24 — — — — 130 165 140 4 M10x20 395 50
14 15875 16 19 22 24 28 32 - — 130 165 140 4 M10x20 49.5 60
14 15875 16 19 22 24 28 32 — — 180 215 190 55 M14x25 495 60
14 15875 16 19 22 24 28 32 85 38 180 215 190 5.5 M14x25 69.5 80

119



Lz

MP MB 130

L1
L2
| [
FM S Bel ¥
S S B¥7 o
1 Q
)
Y 4l
D ({% D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 1255 M8x15 M6 40 275 6 20 145
19 51 113 1255 M8x15 M6 40 2715 6 20 16.5
22 24 56.5 113 125.5 M8x15 M6 41 28.5 6 195 19
28 67 113 1255 M8x15 M8 41 28.5 6 19.5 225
32 71 113 125.5 M8x15 M8 41 28.5 6 19:5 24.5
35 73 113 125.5 M8x15 M8 50 375 11.25 26 26
38 71.5 113 1255 M8x15 M8 50 37.5 11.25 26 28

MP MB 130 2_6

TMPMB 13039

&

MP MB 130 2_3

MP MB 130 2_4
MP MB 1302 5

MP MB 130 2 7
MP MB 130 2_10

MP MB 130 3_12
MP MB 130 3_15
MP MB 130 3_16
MP MB 130 3_20
MP MB 130 3 25
MP MB 130 3_28
MP MB 130 3_30
MP MB 130 3 35
MP MB 130 3_36
MP MB 130 3_40
MP MB 130 3_50
MP MB 130 3_70
MP MB 130 3 100
MP MB 130 4_48
MP MB 130 4_64
MP MB 1304 75
MP MB 130 4_80
MP MB 1304 84
MP MB 130 4_90
MP MB 130 4_120
MP MB 130 4_125
MP MB 130 4_140
MP MB 130 4_150
MP MB 130 4_160
MP MB 130 4_175
MP MB 130 4_200
MP MB 130 4_210
MP MB 130 4_216
MP MB 130 4_250
MP MB 130 4_280
MP MB 130 4_350
MP MB 130 4_400
MP MB 130 4_500
MP MB 130 4_700

MP MB 130 4_1000

Please contact us for

120

ds  Or

Ct

[aremin] | [arcmin

14..19 22-24

Je [kgem?]
Loy
57

28-32 35-38

different motor adapters and input shaft bore.




Lz

MP 160

IS 155.2 (MP 160 1)
194.7 (MP 160 2)
61.5 234.2 (MP 160 3) 98
5 14
70 | 6
= <\
s — <l
1 9y MP 1601 | 17.0
g s S MP 1602 | 21
= ﬁf 3 g MP 1603 | 28
16 =8 @130+ 0.0
L Ales
= 130 (MP1601)
169.5 (MP 160 2)
N5 209 (MP 160 3) 98
& N3 14
N
7 12h9 i 5
: |
"":\ Hum»pi [ ﬁ
gl iy | | =
: ; al Il =
i Q) }1 29 ||, I 7‘13 g MP1601 | 17.0
ot ) | o S RS MP1602 | 21
\J ~ S MP1603 | 28
. : I b S
25 = Q
<,’ 9130 +0.05
“€5° @ N1
Dl < N N1 N2 N3 N4 N5 | Lmax
14 15875 16 19 = = = = = = 555 | 125.7 | 140 5 M6x15 | 39.5 50
14 15875 16 19 - - - - - - 80 100 140 5 M6x15 | 39.5 50
14 15875 16 19 22 24 - = = = 95 115 140 5 M8x20 | 39.5 50
14 15875 16 19 22 24 - - - - 110 130 140 5 M8x20 | 39.5 50
14 15875 16 19 22 24 - = = = 110 145 140 6.5 M8x20 | 495 60
14 15875 16 19 22 24 28 32 35 38 | 1143 | 200 170 65 | M12x25 | 69.5 80
14 15875 16 19 22 24 - = = = 130 165 140 5 M10x20 | 39.5 50
14 15875 16 19 22 24 28 32 - - 130 | 165 140 5 M10x20 | 495 60
14 15875 16 19 22 24 28 32 - = 180 | 215 190 55 | M14x25 | 495 60
14 15875 16 19 22 24 28 32 35 38 | 180 | 215 190 55 | M14x25 | 69.5 80

121



14//4

L1
L3 L2
FM ‘ —
o o
o 4. la) PR
Z S
v [rs)
iy

D| £ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 130 142.5 M8x16 M6 40 27.5 6 20 14.5
19 51 130 142.5 M8x16 M6 40 275 6 20 16.5
22 24 56.5 130 1425 M8x16 M6 41 28.5 6 19.5 19
28 67 130 142.5 M8x16 M8 41 28.5 6 19.5 225
32 71 130 142.5 M8x16 M8 41 28.5 6 19.5 245
35 73 130 142.5 M8x16 M8 50 375 11.25 26 26
38 775 130 142.5 M8x16 M8 50 375 11.25 26 28

d
0 () ()] R R g

P 160 350 660 | 1200 | 1900 | 3000 | 15' 10' 90 1200 | 6500 | 7500 97 8.39 8.60 8.95 |10.30
P1601 4 500 750 | 1400 | 2200 | 3500 | 15' 10' 90 1200 | 6500 | 7500 97 4.68 4.89 5.24 | 6.59
P 160 500 750 | 1400 | 2500 | 3500 | 15' 10' 90 1200 | 6500 | 7500 97 3.28 3.49 3.84 | 5.19
P 160 6 500 750 | 1400 | 2500 | 3500 | 15' 10' 90 1200 | 6500 | 7500 97 1.32 1.53 1.88 3.23
P 160 500 750 | 1400 | 3000 | 4000 | 15' 10' 90 1200 | 6500 | 7500 97 2.03 2.24 2.59 3.94
P 160 0 350 660 | 1200 | 3000 | 4000 | 15' 10' 90 1200 | 6500 | 7500 97 1.33 1.53 1.88 3.24
P1602 9 350 660 | 1200 | 1900 | 3000 | 15' 10' 83 1200 | 6500 | 7500 94 7.51 7.72 8.07 9.42
P 160 700 950 | 1800 | 1900 | 3000 | 15' 10' 83 1200 | 6500 | 7500 94 7.10 7.30 7.65 9.01
P 160 700 950 | 1800 | 1900 | 3000 | 15' 10' 83 1200 | 6500 | 7500 94 6.94 7.15 7.50 8.85

P 160 6 700 | 950 | 1800 | 2200 | 3500 | 15' | 10' 83 1200 | 6500 | 7500 | 94 3.95 416 | 451 | 5.86
P 160 0 700 | 950 | 1800 | 2500 | 3500 | 15' | 10' 83 1200 | 6500 | 7500 | 94 2.82 302 | 337 | 473
P 160 700 | 950 | 1800 | 2500 | 3500 | 15' | 10' 83 1200 | 6500 | 7500 | 94 2.76 297 | 332 | 467
P 160 8 700 | 950 | 1800 | 3000 | 4000 | 15' | 10' 83 1200 | 6500 | 7500 | 94 NG, 200 | 235 | 3.70
P 160 0 350 | 660 | 1200 | 3000 | 4000 | 15' | 10' 83 1200 | 6500 | 7500 | 94 1725 146 | 181 | 3.16
P 160 700 | 950 | 1800 | 3000 | 4000 | 15' | 10' 83 1200 | 6500 | 7500 | 94 1.77 197 | 232 | 3.68
P 160 6 500 | 750 | 1400 | 2500 | 3500 | 15' | 10' 83 1200 | 6500 | 7500 | 94 1.06 127 | 1.62 | 297
P 160 2_40 700 | 950 | 1800 | 3000 | 4000 | 15' | 10' 83 1200 | 6500 | 7500 | 94 121 142 | 177 | 3.12
P 160 0 700 | 950 | 1800 | 3000 | 4000 | 15' | 10' 83 1200 | 6500 | 7500 | 94 1.20 140 | 1.75 | 311
P 160 0 700 | 950 | 1800 | 3000 | 4000 | 15' | 10' 83 1200 | 6500 | 7500 | 94 1.18 139 | 1.74 | 3.09
P 160 00 350 | 660 | 1200 | 3000 | 4000 | 15' | 10' 83 1200 | 6500 | 7500 | 94 1.18 138 | 1.73 | 3.09
P 160 3 48 700 | 950 | 1800 | 2200 | 3500 | 17' | 12' 60 1200 | 6500 | 7500 | 91 4.10 431 | 466 | 6.01
P 160 3_64 700 | 950 | 1800 | 2200 | 3500 | 17' | 12' 60 1200 | 6500 | 7500 | 91 3.90 411 | 446 | 581
P 160 700 | 950 | 1800 | 2500 | 3500 | 17* | 12' 60 1200 | 6500 | 7500 | 91 291 311 | 3.46 | 4.82
P 160 3 80 700 | 950 | 1800 | 2200 | 3500 | 17" | 12' 60 1200 | 6500 | 7500 | 91 3.90 411 | 446 | 581
P 160 3_84 700 | 950 | 1800 | 3000 | 4000 | 17' | 12 60 1200 | 6500 | 7500 | 91 1.84 205 | 240 | 3.75
P 160 3 90 350 | 660 | 1200 | 3000 | 4000 | 17" | 12 60 1200 | 6500 | 7500 | 91 1.24 145 | 1.80 | 3.15
P 160 0 700 | 950 | 1800 | 3000 | 4000 | 17" | 12' 60 1200 | 6500 | 7500 | 91 1.23 144 | 179 | 3.14
P 160 700 | 950 | 1800 | 2500 | 3500 | 17' | 12 60 1200 | 6500 | 7500 | 91 2.74 295 | 330 | 4.65
P 160 40 700 | 950 | 1800 | 3000 | 4000 | 17" | 12' 60 1200 | 6500 | 7500 | 91 1.78 198 | 233 | 3.69
P 160 0 700 | 950 | 1800 | 3000 | 4000 | 17' | 12 60 1200 | 6500 | 7500 | 91 1.23 144 | 179 | 3.14
P 160 60 700 | 950 | 1800 | 3000 | 4000 | 17" | 12' 60 1200 | 6500 | 7500 | 91 1.20 141 | 176 | 3.11
P 160 700 | 950 | 1800 | 3000 | 4000 | 17' | 12 60 1200 | 6500 | 7500 | 91 1.76 196 | 231 | 3.67
P 160 00 700 | 950 | 1800 | 3000 | 4000 | 17" | 12' 60 1200 | 6500 | 7500 | 91 1.20 141 | 176 | 3.11
P 160 0 700 | 950 | 1800 | 3000 | 4000 | 17' | 12 60 1200 | 6500 | 7500 | 91 1.23 144 | 179 | 3.14
P 160 0 700 | 950 | 1800 | 3000 | 4000 | 17" | 12' 60 1200 | 6500 | 7500 | 91 1L 140 | 1.75 | 3.10
P 160 80 700 | 950 | 1800 | 3000 | 4000 | 17' | 12 60 1200 | 6500 | 7500 | 91 1.18 1.39 | 1.74 | 3.09
P 160 0 700 | 950 | 1800 | 3000 | 4000 | 17" | 12' 60 1200 | 6500 | 7500 | 91 1.18 139 | 1.74 | 3.09
P 160 3 400 700 | 950 | 1800 | 3000 | 4000 | 17" | 12' 60 1200 | 6500 | 7500 | 91 1.18 138 | 1.73 | 3.09
P 160 00 700 | 950 | 1800 | 3000 | 4000 | 17' | 12 60 1200 | 6500 | 7500 | 91 1.18 1.38 | 1.73 | 3.09
P 160 00 700 | 950 | 1800 | 3000 | 4000 | 17" | 12' 60 1200 | 6500 | 7500 | 91 1.18 138 | 1.73 | 3.09
P 160 0olof | 350 | 660 | 1200 | 3000 | 4000 | 17" | 12' 60 1200 | 6500 | 7500 | 91 1.18 1.38 | 1.73 | 3.09

Please contact us for different motor adapters and input shaft bore.

122



Lz

MP G 160

55A1 ... 180A1

N
2 | P
ST 14
n <
a y .2
3 125 ﬁ
© y _
© ! j MP G 160 2 24
. 8 ~ MPG 1603 | 28
© ~ P
~ |
¥ g9 s MPG1604 | 34
218.2 (MP G 160 2) Q| o
257.7 (MP G 160 3) | M12x25 3
62 ‘ 297.2 (MP G 160 4) 98 |
D (<€ N N1 N2 N3 N4 N5 Lmax
14 15.875 16 19 - - - - - - 55.5 125.7 140 5 M6x15 39.5 50
14 15875 16 19 - — - - - - 80 100 140 5 M6x15 39.5 50
14 15875 16 19 22 24 - - - - 95 115 140 5 M8x20 39.5 50
14 15875 16 19 22 24 - - - - 110 130 140 5 M8x20 39.5 50
14 15875 16 19 22 24 - - - - 110 145 140 6.5 M8x20 49.5 60
14 15.875 16 19 22 24 28 32 35 38 114.3 200 170 6.5 M12x25 69.5 80
14 15.875 16 19 22 24 - - - - 130 165 140 5 M10x20 395 50
14 15875 16 19 22 24 28 32 — — 130 165 140 5 M10x20 49.5 60
14 15.875 16 19 22 24 28 32 - — 180 215 190 515 M14x25 49.5 60
14 15.875 16 19 22 24 28 32 35 38 180 215 190 55 M14x25 69.5 80

123



14//4

MP G 160

@ D1
N N3
&y NS
D4
2 D2 -
D L5
FM 3 35
NS
@D
D[ (<> D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
1 15875 16 78 113 | 1255 | Mexi5 | M6 20 275 6 20 145
19 51 113 | 1255 | Mexi5 | M6 40 275 6 20 165
22 24 565 | 113 | 1255 | Mexi5 | M6 0 285 6 195 19
28 67 113 | 1255 | Mexi5 | M8 a1 285 6 195 | 225
32 7 113 | 1255 | Mexi5 | M8 4 285 6 195 | 245
35 73 113 125.5 M8x15 M8 50 37.5 11.25 26 26
38 775 | 113 | 1255 | Mexi5 | M8 50 a75 | 1125 | 26 28
D (), ()J= R a

P G 160 350 | 660 | 1200 | 1900 3000 | 15' | 10' | 90 | 6500 | 7500 | 94 | 1023 | 10.42 | 10.80 | 1351
SLe i 500 | 750 | 1400 | 2200 [ 3500 | 15 | 10 [ 90 | 6500 | 7500 | 94 | 652 | 671 | 7.08 | 980
P G 160 500 | 750 | 1400 | 2500 | 3500 | 15" | 10° | 90 | 6500 | 7500 | 94 | 587 | 606 | 645 | 9.16
2160 hc 500 | 750 | 1400 | 2500 | 3500 | 15 | 10° | 90 | 6500 | 7500 | 94 | 458 | 477 | 516 | 7.86
P G 160 500 | 750 | 1400 | 3000 4000 | 15" | 10| 90 | 6500 | 7500 | 94 | 529 | 548 | 587 | 857
SLE PRl 350 | 660 | 1200 | 3000 | 4000 | 15 | 10 | 90 | 6500 | 7500 | 94 | 487 | 516 | 554 | 825
SIE TN 350 | 660 | 1200 | 1900 | 3000 | 15 | 10 | 83 | 6500 | 7500 | 91 | ©35 | 954 | 9.92 | 12.63
P G 160 700 | 950 | 1800 | 1900 | 3000 | 15' | 10' | 83 | 6500 | 7500 | 91 | 878 | 897 | 936 | 1207
P G 160 700 | 950 | 1800 | 1900 | 3000 | 15' | 10' | 83 | 6500 | 7500 | 91 | 871 | 890 | 929 | 1199
SLE | 700 | 950 | 1800 | 2200 [ 3500 | 15 | 10° | 83 | 6500 | 7500 | 91 | 579 | 598 | 636 | 907
SLE il | 700 | 950 | 1800 | 2500 [ 3500 | 15 | 10° | 83 | 6500 | 7500 | 91 | 541 | 620 | 659 | 930
P G 160 700 | 950 | 1800 | 2500 | 3500 | 15' | 10' | 83 | 6500 | 7500 | 91 | 595 | 554 | 593 | 8.64
SLE ek | 700 | 950 | 1800 | 3000 [4000 | 15 | 10 | 83 | 6500 | 7500 | 91 | 505 | 524 | 563 | 833
SLE el | 350 | 660 | 1200 | 3000 [4000 | 15 | 10 | 83 | 6500 | 7500 | 91 | 489 | 500 | 547 | 818
P G 160 700 | 950 | 1800 | 3000 | 4000 | 15' | 10' | 83 | 6500 | 7500 | 91 | 536 | 554 | 593 | 8.64
SLE el 500 | 750 | 1400 | 2500 | 3500 | 15 | 10° | 83 | 6500 | 7500 | 91 | 432 | 451 | 490 | 7.60
SLE 0| 700 | 950 | 1800 | 3000 [4000 | 15 | 10 | 83 | 6500 | 7500 | 91 | 500 | 519 | 558 | 828
SLE e | 700 | 950 | 1800 [ 3000 [4000 | 15 | 10 | 83 | 6500 | 7500 | 91 | 499 | 518 | 556 | 827
P G 160 700 | 950 | 1800 | 3000 | 4000 | 15' [ 10' | 83 | 6500 | 7500 | 91 | 4.82 | 502 | 540 | 811
SLE )| 350 | 660 | 1200 | 3000|4000 | 15 | 10 | 83 | 6500 | 7500 | 91 | 48 | 501 | 539 | 810
SLe 0700 | 950 | 1800 | 2200 | 3500 | 17 | 12 | 60 | 6500 | 7500 | 89 | 594 | 613 | 653 | 0.2
SLE L0700 | 950 | 1800 | 2200 [ 3500 | 17 | 12 | 60 | 6500 | 7500 | 89 | 574 | 593 | 631 | 902
P G 160 4 700 | 950 | 1800 | 2500 | 3500 | 17 | 12 | 60 | 6500 | 7500 | 89 | 550 | 568 | 607 | 879
SLE L0 700 | 950 | 1800 | 2200 [ 3500 | 17 | 12 | 60 | 6500 | 7500 | 89 | 574 | 593 | 631 | 9.02
SLe Lot 700 | 950 | 1800 | 3000 [4000 | 17 | 12 | 60 | 6500 | 7500 | 89 | 510 | 529 | 568 | 8.38
SLEUECNl 350 | 660 | 1200 | 3000 [ 4000 | 17 | 12 | 60 | 6500 | 7500 | 89 | 488 | 508 | 546 | 817
SLE 0Pl | 700 | 950 | 1800 | 3000 [ 4000 | 17 | 12 | 60 | 6500 | 7500 | 89 | 4.87 | 507 | 545 | 8.6
P G 160 4 700 | 950 | 1800 | 2500 | 3500 | 17 | 12 | 60 | 6500 | 7500 | 89 | 533 | 552 | 591 | 862
SLE 0B 700 | 950 | 1800 | 3000 [ 4000 | 17 | 12 | 60 | 6500 | 7500 | 89 | 504 | 522 | 561 | 832
SLE | 700 | 950 | 1800 | 3000 [4000 | 17 | 12 | 60 | 6500 | 7500 | 89 | 487 | 507 | 545 | 816
SLE OISO | 700 | 950 | 1800 | 3000 [ 4000 | 17 | 12 | 60 | 6500 | 7500 | 89 | 4.84 | 504 | 542 | 813
P G 160 4 700 | 950 | 1800 | 3000 | 4000 | 17 | 12 | 60 | 6500 | 7500 | 89 | 502 | 520 | 559 | 8.30
516|700 | 950 | 1800 | 3000 [ 4000 | 17 | 12 | 60 | 6500 | 7500 | 89 | 484 | 504 | 542 | 813
5.6 L0LIGE | 700 | 950 | 1800 | 3000 [ 4000 | 17 | 12 | 60 | 6500 | 7500 | 89 | 487 | 507 | 545 | 8.6
SLE OO 700 | 950 | 1800 | 3000 [ 4000 | 17 | 12 | 60 | 6500 | 7500 | 89 | 4.83 | 508 | 541 | 8.2
S{E VR 700 | 950 | 1800 | 3000 [ 4000 | 17 | 12 | 60 | 6500 | 7500 | 89 | 482 | 502 | 540 | 811
SLE e | 700 | 950 | 1800 [ 3000 [4000 | 17 | 12 | 60 | 6500 | 7500 | 89 | 482 | 205 | 540 | 811
SLE OO | 700 | 950 | 1800 | 3000 [ 4000 | 17 | 12 | 60 | 6500 | 7500 | 89 | 482 | 501 | 539 | 841
SLC 0o | 700 | 950 | 1800 | 3000 [4000 | 17 | 12 | 60 | 6500 | 7500 | 89 | 482 | 501 | 539 | 811
SLE 0B | 700 | 950 | 1800 | 3000 [ 4000 | 17 | 12 | 60 | 6500 | 7500 | 89 | 482 | 501 | 539 | 811
SIE TS0 350 | 660 | 1200 | 3000 [ 4000 | 17 | 12 | 60 | 6500 | 7500 | 89 | 4.82 | 501 | 533 | 811

Please contact us for different motor adapters and input shaft bore.

124




Lz

MP MB 160

55A1 ... 180A1 375 100
275 |
@172 © B4266 o
N5 ® - -
Y, J_I:;fl_l =
2 N3 O N4
&) ! ‘ | © — _>T
\l\ o wn D ~
\J\ e o
@ )
=] Z oy SIENEERE
- [SIEN] [ 2 a A«
© =) )
- o o | o ©
o
<ty -
[ = L [
T © —
425 100 2 @75 e
‘ @172
237.5 (MP MB 160 2)
277  (MP MB 160 3)
316.5 (MP MB 160 4) 15 Nm

&
) MPMB 1602 | 59
- MP MB 1603 | 635
MP MB 1604 | 70.5
. [}
M12x22
20
bl (TR N NI | N2 | N3 N4 N5 | Lmax
14 15875 16 19 - - - - - - | 555 |1257| 140 | 5 | M6xl5 | 395 | 50
14 15875 16 19 - - - - — — | 8 | 100 | 140 | 5 | Méxl15 | 395 | 50
14 15875 16 19 22 24 - - - — | 95 | 115 | 140 | 5 | M8x20 | 395 | 50
14 15875 16 19 22 24 - - - - | 110 | 130 | 140 | 5 | M8x20 | 395 | 50
14 15875 16 19 22 24 - - - - | 110 | 145 | 140 | 65 | M8x20 | 495 | 60
14 15875 16 19 22 24 28 32 35 38 1143 | 200 | 170 | 65 | M12x25 | 695 | 80
14 15875 16 19 22 24 - - - - | 130 | 165 | 140 | 5 | M10x20 | 395 | 50
14 15875 16 19 22 24 28 32 - - | 130 | 165 | 140 | 5 | M10x20 | 495 | 60
14 15875 16 19 22 24 28 32 - - | 180 | 215 | 190 | 55 | M14x25 | 495 | 60
14 15875 16 19 22 24 28 32 35 38 | 180 | 215 | 190 | 55 | M14x25 | 695 | 80

125



Lz

MP MB 160

L1
L3 L2
[
HA
FM s ettt
Q Q| = a
///77 Q
(PAIIID) e
L4l
D] € D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 130 142.5 M8x16 M6 40 27.5 6 20 14.5
19 51 130 142.5 M8x16 M6 40 275 6 20 16.5
22 24 56.5 130 142.5 M8x16 M6 41 28.5 6 19.5 19
28 67 130 142.5 M8x16 M8 41 28.5 6 19.5 225
32 71 130 142.5 M8x16 M8 41 28.5 6 19.5 24.5
35 73 130 142.5 M8x16 M8 50 375 11.25 26 26
38 775 130 142.5 M8x16 M8 50 375 11.25 26 28
d
D () ()]
P MB 160 350 660 1200 1900 3000 15' 10' 90 94 8.39 8.60 8.95 10.30
P MB 160 2 4 500 750 1400 2200 3500 15' 10' 90 94 4.68 4.89 5.24 6.59
P MB 160 500 750 1400 2500 3500 15' 10' 90 94 3.28 3.49 3.84 5.19
P MB 1602 6 500 750 1400 2500 3500 15' 10' 90 94 1.32 1.53 1.88 3.23
P MB 160 500 750 1400 3000 4000 15' 10' 90 94 2.03 2.24 2.59 3.94
P MB 160 0 350 660 1200 3000 4000 15' 10' 90 94 1.33 1.53 1.88 3.24
P MB 1603 9 350 660 1200 1900 3000 15' 10 83 91 7.51 1.72 8.07 9.42
P MB 160 700 950 1800 1900 3000 15' 10' 83 91 7.10 7.30 7.65 9.01
P MB 160 700 950 1800 1900 3000 15' 10' 83 91 6.94 7.15 7.50 8.85
P MB 160 6 700 950 1800 2200 3500 15' 10' 83 91 3.95 4.16 451 5.86
P MB 160 0 700 950 1800 2500 3500 15' 10' 83 91 2.82 3.02 3.37 4.73
P MB 160 700 950 1800 2500 3500 15' 10' 83 91 2.76 2.97 3.32 4.67
P MB 160 8 700 950 1800 3000 4000 15' 10' 83 91 1.79 2.00 2.35 3.70
P MB 160 0 350 660 1200 3000 4000 15' 10' 83 91 1.25 1.46 1.81 3.16
P MB 160 700 950 1800 3000 4000 15' 10' 83 91 1.77 1.97 2.32 3.68
P MB 160 6 500 750 1400 2500 3500 15' 10' 83 91 1.06 1.27 1.62 2.97
P MB 160 3 40 700 950 1800 3000 4000 15' 10' 83 91 1.21 1.42 1.77 3.12
P MB 160 0 700 950 1800 3000 4000 15' 10' 83 91 1.20 1.40 1.75 3.11
P MB 160 0 700 950 1800 3000 4000 15' 10 83 91 1.18 1.39 1.74 3.09
P MB 160 00 350 660 1200 3000 4000 15' 10 83 91 1.18 1.38 1.73 3.09
P MB 160 4 48 700 | 950 | 1800 | 2200 | 3500 | 17" | 12' 60 89 4.10 431 4.66 6.01
P MB 160 4 64 700 950 1800 2200 3500 17' 12 60 89 3.90 4.11 4.46 5.81
P MB 160 4 700 950 1800 2500 3500 17' 12 60 89 291 3.11 3.46 4.82
PMB 160 4 80 700 950 1800 2200 3500 17' 12 60 89 3.90 4.11 4.46 5.81
P MB 160 4 84 700 950 1800 3000 4000 17' 12 60 89 1.84 2.05 2.40 3.75
P MB 160 4 90 350 660 1200 3000 4000 17' 12 60 89 1.24 1.45 1.80 3.15
P MB 160 4 0 700 950 1800 3000 4000 17' 12 60 89 1.23 1.44 1.79 3.14
P MB 160 4 700 950 1800 2500 3500 17 12' 60 89 2.74 2.95 3.30 4.65
P MB 160 4 140 700 950 1800 3000 4000 17 12' 60 89 1.78 1.98 2.33 3.69
P MB 160 4 0 700 950 1800 3000 4000 17' 12' 60 89 1.23 1.44 1.79 3.14
P MB 160 4 160 700 950 1800 3000 4000 17' 12' 60 89 1.20 1.41 1.76 3.11
P MB 160 4 700 950 1800 3000 4000 17' 12' 60 89 1.76 1.96 2.31 3.67
P MB 160 4 200 700 950 1800 3000 4000 17' 12' 60 89 1.20 1.41 1.76 3.11
P MB 160 4 0 700 950 1800 3000 4000 17' 12' 60 89 1.23 1.44 1.79 3.14
P MB 160 4 0 700 950 1800 3000 4000 17' 12' 60 89 1.19 1.40 1.75 3.10
P MB 160 4 280 700 950 1800 3000 4000 17' 12' 60 89 1.18 1.39 1.74 3.09
P MB 160 4 0 700 950 1800 3000 4000 17' 12' 60 89 1.18 1.39 1.74 3.09
P MB 160 4 400 700 950 1800 3000 4000 17' 12' 60 89 1.18 1.38 1.73 3.09
P MB 160 4 500 700 950 1800 3000 4000 17' 12' 60 89 1.18 1.38 1.73 3.09
PMB 160 4 700 700 950 1800 3000 4000 17' 12' 60 89 1.18 1.38 1.73 3.09
P MB 160 4 1000 350 660 1200 3000 4000 17' 12' 60 89 1.18 1.38 1.73 3.09

Please contact us for different motor adapters and input shaft bore.

126



Lz

MP 190

55A1 ... 180A1

158.7 (MP 190 1)
210.4 (MP 1902)

N5  262.1 (MP 190 3) 96
13 N4
2
60 _ | 11 =N
[ . ; /\ ﬁ
T 3 T o ' N )
— bS] —d |5 QQ | MP 1901 | 25
TS ' MP 1902 | 29
s ™
<l E'Sﬁf 5 MP 1903 | 34
L 15 S N2
E 2 NL
=) N | N1 | N2 | N3 N4 N5 | L
D {<iF max
il
55A1 14 16 19 - - - - - - = - _— 5551257 140 5 M6x15 | 395 | 50
80A2 14 16 19 - - - - - - | 8 | 100 | 140 5 M6x15 | 395 | 50
95A1 14 16 19 22 24 - - - - - _— _| 9 | 115 | 140 5 M8x20 | 395 | 50
110A1 | 14 16 19 22 24 - - - - — — _— | 110 | 130 | 140 5 M8x20 | 395 | 50
11081 | 14 16 19 22 24 - - - _— _ _ _ | 110 | 145 | 140 | 65 | Mm8x20 | 495 | 60
114A 14 16 19 22 24 28 32 35 38 42 45 48 | 1143 | 200 | 170 | 65 | M12x25 | 695 | 80
130A || | 222 = = = = =l==]| i | 63 | ¥ 5 | mM10x20 | 395 | 50
130A1 | 14 16 19 22 24 28 32 - - — — — | 130 | 165 | 140 5 | M10x20 | 495 | 60
180A 14 16 19 22 24 28 3 - — - - _— | 180 | 215 | 190 | 55 | M14ax25 | 495 | 60
180A1 | 14 16 19 22 24 28 32 35 38 42 45 48 | 180 | 215 | 190 | 55 | M14x25 | 695 | 80

Please contact us for different motor adapters and input shaft bore.

0
L3 g 7 < L2
1 ) I M
/;/ = | Z%
I > s
o J—bt a e ] i E— i
Q| Q Tﬂ =
7 Q)
o -
IV IS ] .
: 5 |
L4
L1
D '{‘(% D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 16 48 130 142.5 M8x14 M6 45.5 27.5 6 20 145
19 51 130 142.5 M8x14 M6 45.5 275 6 20 16.5
22 24 56.5 130 142.5 M8x14 M6 47 29 6 20 19
28 67 130 142.5 M8x14 M8 47 29 6 20 225
32 71 130 142.5 M8x14 M8 47 29 6 20 24.5
35 73 130 142.5 M8x14 M8 54.5 36.5 6 25 26
38 77.5 130 142.5 M8x14 M8 54.5 36.5 6 25 28
42 92 130 142.5 M8x14 M10 60.5 40 6 25 33
45 95 130 142.5 M8x14 M10 60.5 40 6 25 33
48 97 130 142.5 M8x14 M10 60.5 40 6 25 33

127



14//74

N1 | N1 max (I)s ¢R Ci R2 max A2 max

N
arcminl (N]

[N] 14..24 28-32 35-35 42

[min-1] [min-Y] [arcmin]
MP 1901 3
MP 1901 4
MP 1901 5
MP 1901 6
MP 1901 7
MP 1901 10

MP 190 2_9
MP 190 2_12
MP 190 2_15

MP 190 2_16
MP 190 2_20
MP 190 2_25
MP 190 2_28

MP 190 2_30
MP 190 2_35
MP 190 2_36
MP 190 2_40

MP 190 2_50
MP 190 2_70
MP 190 2_100

MP 190 3 48
MP 190 3_64
MP 190 3 75
MP 190 3_80
MP 190 3 84
MP 190 3_90
MP 190 3_120
MP 190 3_125
MP 190 3_140
MP 190 3_150
MP 190 3_160
MP 190 3_175
MP 190 3_200
MP 190 3_210
MP 190 3_250
MP 190 3_280
MP 190 3_350
MP 190 3_400
MP 190 3_500
MP 190 3_700
MP 190 3_1000

128




14//4

6.3.1 MACHINE SHAFT

Shaft of driven equipment should be made from high grade alloy steel. Table below shows recommended dimensions for the Customer to
consider when designing mating shaft. A device retaining the shaft axially is also recommended (not shown).
The number and size of relative tapped holes at shaft end depend on application requirements.

B
M B B1 B2
S
08 0.8 7\}]\_5"
< < 2 2

@ Al A2 A3 A4 B B1 B2 S

MP MB 080 225 20 h7 18 20 h7 178 50 90
MP MB 105 =40 32h7 30 32h7 205 60 115 1
MP MB 130/160 = 50 42 h7 40 42 h7 259 70 140

129



14//74

130

Effective Line

Main benefits

= High torsional stiffness

= High compactness

= Easy and quick installation

= Standardized flange for great
compatibility

Main features
= Nominal output torque (Nm)

s

= Torsional backlash (arcmin)

= Torsional stiffness (Nm/arcmin)

o

= Max tilting moment (Nm)
f2-10

Protection class
* P54

Frame sizes
<1 060
{4) 070

= 090

TQFE Series

The TQFE series combines exceptional compactness with a

standardized flange interface, ensuring a quick and easy mounting
suitable for a wide variety of applications.
With TQFE it is possible to have high levels of performance and
precision at an optimum value-price ratio.

Main options
* Input versions

I F

4_F

1P

MOTOR
ADAPTER

Lubrication
XY
T

STANDARD
LUBRICATION

SOLID INPUT
SHAFT

UH1

ol

FOOD GRADE
LUBRICATION

WITHOUT
MOTOR
ADAPTER



Lz

7 FEATURES OF TQFE SERIES

The TQFE Series represents the answer for applications requiring compact, space-saving solutions. Its standardized flange ensures
great compatibility while its proportioned design allows quiet running and provides a long service life without maintenance requirements.
Motor mounting is an operation that can be easily conducted without the need of any particular tooling, other than that usually available
in a normally equipped workshop.

® Available with either standard (STD) or reduced (LOW) backlash:
1-stage units: standard Qs < 10’; reduced Qg < 5
2-stage units: standard §s < 12’; reduced ¢g < 7°

® |ts degree of protection IP54 provides protection against dust and liquid splashes.

Input section oil seals made from a Fluoroelastomer compound are supplied as standard.

® Noise pressure level LP < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n; = 3000 min-1; i=10.

® Units are factory packed with synthetic grease to NLGI consistency class 00, in the absence of contamination the lubricant requires
no periodical changes.

® Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.

® Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque Mn2 [Nm]
\ i1l 3|4 | 5| 7|9 10[12|15|16|20|25| 28|30 |35 40 |50 70 |100
TQFEO60 |29 | 30| 25|25 29|18 |29 |29 30|30 |30|30|29|30|30 |33 18

TQFEO70 | 65| 60| 50 | 50| 65|40 | 65|65 |60 | 60 | 50 | 50 | 65 | 50 | 60 | 50 | 50 | 40

TQFE 090 |155|155|125| 125| 155|100 | 155 | 155 | 155 | 155 | 125 | 125 | 155 | 125 | 155 | 125 | 125 | 100

Output shaft max. loading capacity Available motor shaft bores

NI
5000

TOFE 080 - ]

4000

3000

roreoro| - [

2000

1400

1100

1000

550

TQFE 060

TQFE 060 TQFE 070 TQFE 090

6‘7 8 91101112| 14151617 19 2 8 2
[JR2max [ A2 max 635 952 127 15875 1905 @ [mm]

131



14//74

7.1

132

TQFE 070

— SERIES
TQFE

ORDERING CODE

1 3 STD 80A1 CD 19 UH1

— LUBRICANT
— standard

UHL food grade synthetic lubricant

— INPUT SHAFT BORE
6..32 (@19

— MOTOR COUPLING
CD clamping device (@ IS)

— INPUT SECTION
25AH ... 130A1 motor adapter
IS solid input shaft
FM without motor adapter
— BACKLASH

1 reduction | 2 reductions

— REDUCTIONS
1 2

— FRAME SIZE

060 070 090

STID | ¢ss<10 ds <12
LOW | OrsS Pr<7
L GEAR RATIO



'4//4

7.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

TQFE 060

39.5 (TQFE 060 1)

56.5 (TQFE 060 2) 195
@ N1 ‘
NS 4 4 o N2 ‘
1 ﬁ/_""c'lg(
[/ T
o e 3 \@ )
2 / g 3 A 7o
, s N g 3 3 S Z ¥
Dy il SRS 7))
£ <20 L | |
= = 8 i B g4
% —c— i z =
8 @315 8 8 N4
279 8. L
@86 ﬁ
TQFE 060 1 13
TQFE 060 2 17
D (,{% N N1 N2 | N3 N4 N5 | Linax
min max
6 63 7 8 9 95 - - - - —| 25 | 39 | 56
6 63 7 8 9 95 - - - - —| 26 | 39 | 56
6 63 7 8 9 95 - - - - —| 28 | 39 | 56
6 63 7 8 9 95 - - - - —| 30 | 39 | 56
6 63 7 8 9 95 - - - - —| 32 | 39 | 5 | 65 | 35 45 %5 | 25
6 635 7 8 9 95 - - - — — | 34 | 40 | 56
6 635 7 8 9 95 - - - - —| 3 | 4 | 58
6 635 7 8 9 95 - - - - —| 39 | 45 | 58
6 635 7 8 9 95 - - - - — | 40 | 46 | 56
6 635 7 8 9 952 10 11 12 127 - | 381 66.6 60 3 | max10 | 18 | 25
6 635 7 8 9 952 10 11 12 127 - | 40 63 60 3 | mMaxi0 | 18 | 25
6 635 7 8 9 952 10 11 12 127 - | 50 60 60 3 | mMaxi0 | 18 | 25
6 635 7 8 9 952 10 11 12 127 14| 50 65 60 3 | Msx12 | 23 | 30
6 635 7 8 9 952 10 11 12 127 14| 50 65 65 3 55 %5 | 32
6 635 7 8 9 952 10 11 12 127 14| 50 70 60 3 | Max10 | 23 | 30
6 63 7 8 9 952 10 11 12 127 - | 55 80 65 2 55 16 | 23
6 635 7 8 9 952 10 11 12 127 - | 60 75 65 3 | Msx12 | 18 | 25
6 635 7 8 9 952 10 11 12 127 - | 60 75 65 3 55 18 | 25
6 635 7 8 9 952 10 11 12 127 14 | 60 75 65 3 | Msx12 | 23 | 30
6 635 7 8 9 952 10 11 12 127 14 | 60 75 65 3 55 23 | 30
6 635 7 8 9 952 10 11 12 127 14 | 60 85 75 3 | Msx12 | 23 | 30
6 635 7 8 9 952 10 11 12 127 14 | 60 90 75 3 | Msx12 | 23 | 30
6 635 7 8 9 952 10 11 12 127 14| 70 85 75 3 | Mexi5 | 23 | 30
6 635 7 8 9 952 10 11 12 127 14| 70 % 75 3 | Msx12 | 23 | 30
6 635 7 8 9 952 10 11 12 127 14| 73 98.4 85 3 | mMsx12 | 25 | 32
6 635 7 8 9 952 10 11 12 127 14| 80 100 85 3 | Mex15 | 23 | 30

133



Vy//4

TOQFE 060

44.8 (TQFE 060 1)

61.7 (TQFE 060 2) 19.5
25 4 4
3.25 25 i
14
) ) 5) — ALY : § g
J- N 8 = N
\___:_{ SIRS] i
E ‘-‘______// . ~ é ~
,;< "::__t:; ; = 4.5 U T
0| o
Q) @ 31.5 8 g
B @79 _ 8.l 1
1S L @ 86 i
L3 L1
12, l
|
[a) aY
S —— 4
.
ol
A / 5! —
D5 L]
FM wil U
]l {
D| < D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 M4x8 M4 21.7 13.2 3 8.2 8
8 9 9.52 10 325 50 425 M4x8 M4 217 13.2 3 8.2 9
11 12 127 355 50 425 M4x8 M4 22 135 3 85 11
14 355 50 425 M4x8 M4 25 17 3 10.2 115

=T
J‘ Maz  Mpo ni N1 max (I)s ¢R Rimax  Ramax  A2max

i [Nm]  [Nm]  [min?] | [min-] [arcmin] =1 [N] [N] [N]
TQFE 060 1_3
TQFE 060 1_4
TQFE 060 1_5
TQFE 060 1_7
TQFE 060 1_10
TQFE 060 2_9
TQFE 060 2_12
TQFE 060 2_15
TQFE 060 2_16
TQFE 060 2_20
TQFE 060 2_25
TQFE 060 2_28
TQFE 060 2_30
TQFE 060 2_35
TQFE 060 2_40
TQFE 060 2_50

TQFE 060 2_70
TQFE 060 2_100

DO ||| |00 O O

Please contact us for different motor adapters and input shaft bore.

134



'4//4

TQFE 070

53.5 (TQFE 070 1)

78.0 (TQFE 070 2) 30
M6x10 ) _ . ,
@ 5.5 (8% B N5 i
1 2N 7 5
/ /@(’f \ = SIS
\ o O] SR
NN Al S \] | i
N B U &
s 105 g
ﬁ.Lt Q
;
TQFE 070 1 3.7
TQFE 070 2 46
N N1 | N2 N3 N4 N5 | Limax
8 9 952 11 12 127 14 - = = = = 40 63 80 4 M4x12 | 34 40
8 9 952 11 12 127 - - - - - = 45 63 80 4 Max12 | 34 40
8 9 952 11 12 127 14 - = = = = 50 65 80 4 M5x16 | 34 40
8 9 952 11 12 127 14 - - - - - 50 65 80 4 55 34 40
8 9 952 11 12 127 14 - = = = = 50 70 80 4 M4x10 | 34 40
8 9 952 11 12 127 14 - - - - - 50 95 80 4 M6x20 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 | 125.7 | 105 4 M6x20 | 34 40
8 9 952 11 12 127 14 - - - - - 60 75 80 4 M5x16 | 34 40
8 9 952 11 12 127 14 — — — - - 60 15 90 4 615 34 40
8 9 952 11 12 127 14 15875 16 - - - 60 85 80 4 M5x16 34 40
8 9 952 11 12 127 14 15875 16 - - — 60 90 80 4 M5x16 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 80 4 M6x20 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 90 4 615 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 90 80 4 M5x16 34 40
8 9 952 11 12 127 14 — — - — — 73 98.4 85 4 M5x16 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 100 90 4 M6x16 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 i8S 100 4 M8x20 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 130 115 4 M8x20 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 130 1S 4 M8x20 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 145 120 6.5 M8x20 44 50
8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 145 120 615 M8x20 54 60

135



14/ 4

TQFE 070

75.3 (TQFE 070 1)

99.8 (TQFE 070 2) 30
M 6x10 (7x)
@ 5.5 (8x) i : 43 ! — L
- — 6 4
120, i
! AATREN L e
[i 7 \ ~ OI_ _ 0 e =
5 ) P o & O o
\. 'JJ e | Q O (o
[:\ \\\\ hk% ,? s ® S
N ‘%J ,/
= e Elq
T ~ L~ AR 7 —
% == s 2 i £
s @ 50 105 4
@ 109 1] | g
|S @ 118
@ D3
L3 L1
L2 N /—(R\
/] G / sa
] ] |
9 9 =3
i e
= °
/ S| ps | |
FM RN
|
D "Ex‘% D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 76.5 M6x10 M6 34 26.8 9.5 18.8 10.5
11 12 12.7 52 68 76.5 M6x10 M6 34 26.8 95 18.8 12.5
14 15.875 16 17 48 68 76.5 M6x10 M6 34 26.8 9.5 18.8 14.5
19 19.05 51 68 76.5 M6x10 M6 34 26.8 9.5 18.8 16.5

ni N1 max (I)S d)R Ct R1 max

[min-] | [min] ~ [arcmin] ].uF:':-ifl'H[ [N]
TQFE 070 1_3
TQFE 070 1_4
TQFE 0701 5
TQFE 070 1_7
TQFE 070 1_10
TQFE 07029
TQFE 070 2_12
TQFE 070 2_15
TQFE 070 2_16
TQFE 070 2_20
TQFE 070 2_25
TQFE 070 2_28
TQFE 070 2_30
TQFE 070 2_35
TQFE 070 2_40
TQFE 070 2_50
TQFE 070 2_70
TQFE 070 2_100

Please contact us for different motor adapters and input shaft bore.

136



TQFE 090

14//4

85.4 (TQFE 090 1)
116.8 (TQFE 090 2) 29
@ NL
\5 7 o N2 |
& o =
, s % 3 g
= J 3 ! N
INSS=7]
S TR N3 - T
9 63 [ 105 ||| € N4
@135 ’_-‘ 1255 | | ®
@ 145 ]:
= &
TQFE 090 1 8
TQFE 090 2 9
D:@% N N1 | N2 | N3 N4 N5 | Limax
11 12 127 14 15 15875 16 19 - - - — | 50 | 95 | 100 | 5 | M6xl4 | 28 | 40
11 12 127 14 15 15875 16 19 - - - — | 55 |1257| 105 | 5 | M6xl16 | 28 | 40
11 12 127 14 15 15875 16 19 - - - — | 60 | 75 | 100 | 65 | M5xl4 | 28 | 40
11 12 127 14 15 15875 16 19 - - - — | 60 | 75 | 100 | 4 65 33 | 40
11 12 127 14 15 15875 16 19 - - - — | 60 | 8 | 100 | 65 | M5x14 | 28 | 40
11 12 127 14 15 15875 16 19 - - - — | 70 | 8 | 100 | 65 | M6xl4 | 28 | 40
11 12 127 14 15 15875 16 19 - - - - | 70 | 8 | 100 | 4 65 33 | 40
11 12 127 14 15 15875 16 19 - - - — | 70 | 9 | 100 | 65 | M5x12 | 28 | 40
11 12 127 14 15 15875 16 19 - - — - | 80 | 100 | 100 | 65 | M6x16 | 28 | 40
11 12 127 14 15 15875 16 19 - - - — | 8 | 100 | 100 | 4 65 33 | 40
11 12 127 14 15 15875 16 19 - - - - | 95 | 115 | 100 | 65 | M8x18 | 28 | 40
11 12 127 14 15 15875 16 19 22 24 - — | 95 | 115 | 100 | 65 | M8x18 | 38 | 50
11 12 127 14 15 15875 16 19 - - - — | 95 | 130 | 115 | 65 | M8x18 | 28 | 40
11 12 127 14 15 15875 16 19 - - - — | 110 | 130 | 115 | 65 | M8x18 | 28 | 40
11 12 127 14 15 15875 16 19 22 24 - - | 110 | 130 | 115 | 65 | M8x20 | 38 | 50
11 12 127 14 15 15875 16 19 22 24 - — | 110 | 145 | 120 | 65 | M8x20 | 38 | 50
11 12 127 14 15 15875 16 19 22 24 28 — | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
11 12 127 14 15 15875 16 19 22 24 - — | 130 | 165 | 140 | 65 | M10x20 | 38 | 50
11 12 127 14 15 15875 16 19 22 24 28 32| 130 | 165 | 140 | 65 | MIOX25 | 48 | 60

137



Lz

TOQFE 090

99.2 (TQFE 090 1)

130.6 (TQFE 090 2) 29
47 8 7
5 4 [
30
|—— _.:, % N
, = ;8
| 7 ] Q = Q Q|
\ & A =k
—
~| k\—r—// Q g ﬂ
N N 7 al E
8 263 g
S 135 105 8
|S @ 145 1255 | |
L3 L1 @ D3
L2, i P TN
| N
: z (7N
& i \Y)
£k : ,
g Sips I | OGS S
FM _|_3_u____ L D
Ll D4
D| {< D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 12 12.7 43 90 98 M6x15 M6 335 20 7.6 12 125
14 15 15.875 16 48 90 98 M6x15 M6 335 20 7.6 12.5 14.5
19 51 90 98 M6x15 M6 335 20 7.6 12.5 16.5
22 24 56.5 90 98 M6x15 M6 36.5 23 7.6 14 19
28 70 90 98 M6x15 M8 36.5 23 7.6 14 225
32 71 90 98 M6x15 M8 38 24.5 7.6 15.5 24.5

Mp2 N1 Nymax (I)S (I)R Ct Rimax Ramax Az max n
\

[Nm] [min] [min1] [arcmin] [% NN NN NI % qp

TQFE 090 1_3
TQFE 090 1_4
TQFE 0901 5
TQFE 090 1_7
TQFE 090 1_10
TQFE 0902 9
TQFE 090 2_12
TQFE 090 2_15
TQFE 090 2_16
TQFE 090 2_20
TQFE 090 2 25
TQFE 090 2 28
TQFE 090 2_30
TQFE 090 2_35
TQFE 090 2_40
TQFE 090 2_50
TQFE 090 2_70
TQFE 090 2_100

Please contact us for different motor adapters and input shaft bore.

138



14//4

Effective Line <E)

TQFEK Series

The TQFEK series offers optimized performance and features

at an optimum value-price ratio.

An exceptionally compact and standardized flange interface
combined with optimal positioning accuracy make it suitable

for a wide range of industrial applications.

Its right-angle design allows more compactness for space-saving
layouts.

Main benefits Mainl features Main op'Fions
= Nominal output torque (Nm) = Input versions
= High torsional stiffness
= High compactness . e [ P:' D
= Easy and quick installation = Torsional backlash (arcmin) MOTOR Wit
- Standardized flange for great 7-14 ADAPTER 1 ADAPTER
compatibility = Lubrication
° Compact design for space-saving « Torsional stiffness (Nm/arcmin) Q . Umij”“’t,
layouts Bl @ {oRCs
= Max tilting moment (Nm) LOBRICATION | LOBRICATION
f2-10

Protection class
- IP54

Frame sizes
. 060

- 070

- 090

139



14//4

8 FEATURES OF TQFEK SERIES

The TQFEK Series right-angle design represents the answer for applications requiring compact, space-saving solutions.

Its standardized flange ensures great compatibility while its proportioned design allows quiet running and provides a long service life
without maintenance requirements.

Motor mounting is an operation that can be easily conducted without the need of any particular tooling, other than that usually available
in a normally equipped workshop.

® Available with either standard (STD) or reduced (LOW) backlash:
2-stage units: standard ¢s <12’; reduced ¢R <7
3-stage units: standard ¢s < 14’; reduced ¢R <9

® |ts degree of protection IP54 provides protection against dust and liquid splashes.

Input section oil seals made from a Fluoroelastomer compound are supplied as standard.

® Noise pressure level LP < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n; = 3000 min-L; i=10.

® Units are factory packed with synthetic grease to NLGI consistency class 00, in the absence of contamination the lubricant requires
no periodical changes.

® Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.

® Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque Mnz [Nm]
\[i] 3| 4 5 7 9 /10| 12|15 16 |20 | 25| 8 |30 | 35|40 | 50 | 70 |100
TQFEKO060| 29 | 30 | 25| 25|29 |18 |29 |29 30|30 |30 |3 |29 30|30 | 30|30, 18

TQFEK 070| 40 | 50 | 50 | 50 | 65 | 40 | 65 | 65 | 60 | 60 | 50 | 50 | 65 | 50 | 60 | 50 | 50 | 40

TQFEK 090 | 80 | 105|130 | 125| 155|100 | 155 | 155 | 155 | 155 | 125 | 125 | 155 | 125 | 155 | 125 | 125 | 100

Output shaft max. loading capacity Available motor shaft bores
[N]
5000
TQREK 090 ]
4000
3000
z rorex oo| - [ ]
2000 | 1900
1100 ]
1000
o TQFEK 060
0
TQFEK 060 TQFEK 070 TQFEK 090 ‘
6‘ 7 89101112 1415(1617 19 2 24 28 32
D RZ max . A2 max 6.35 9.52 12.7 15.875 19.05 o [mm]

140



8.1 ORDERING CODE

TQFEK 070

L SERIES
TQFEK

2 3 STD 80A1 CD 19 UH1
— LUBRICANT
— standard
UHL food grade synthetic lubricant
— INPUT SHAFT BORE
6...32
— MOTOR COUPLING
CD clamping device
— INPUT SECTION
25AH ... 130A1 motor adapter
FM without motor adapter
— BACKLASH
2 reductions | 3 reductions
STD Ps <12 ds <14
LOW | OrsT7 dr<9
L— GEAR RATIO
— REDUCTIONS
2 3
— FRAME SIZE
060 070 090

14//4

141



14//4

8.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

TQFEK 060

M 5X7 (7x)
[s2}
D 4.5 (8% =z
n
z
O
e
- © g 3
[to) Q ©
~ -
™ N
< ~
: T
~ ] - O
& s
Q 8
67 (TQFEK 060 2)
275 | 84 (TQFEK 060 3) |19.5 &
2 N1 TQFEK 060 2 1.8
o N2
_ _ TQFEK 060 3 2.2
R
i A
» -
\ )
N
e N N1 N2 N3 N4 N5 | Lmax
min max
25AH 6 63 7 8 9 952 - - - - - 25 39 56
26AH 6 63 7 8 9 952 - — — — - 26 39 56
28AH 6 63 7 8 9 952 - - - — - 28 39 56
30AH 6 63 7 8 9 952 - - - - - 30 39 56
32AH 6 63 7 8 9 952 - — — — - 32 39 56 65 35 45 25 25
34AH 6 63 7 8 9 952 - - - - - 34 40 56
36AH 6 63 7 8 9 952 - — — — - 36 42 56
39AH 6 63 7 8 9 952 - - - - - 39 45 56
40AH 6 63 7 8 9 952 - - — — - 40 46 56
38B 6 63 7 8 9 952 10 11 12 127 - 38.1 66.6 60 3 M4x10 18 25
40B 6 63 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 23]
50A 6 63 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
50B 6 63 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH 6 63 7 8 9 952 10 11 12 127 14 50 65 65 3 55 25 32
50C 6 63 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
55MH 6 63 7 8 9 952 10 11 12 127 - 55 80 65 2 55 16 23
60A 6 63 7 8 9 952 10 11 12 127 - 60 5 65 3 M5x12 18 25
60A1 6 63 7 8 9 952 10 11 12 127 14 60 75 65 3 M5x12 23 30
60B 6 63 7 8 9 952 10 11 12 127 14 60 85 75 3 M5x12 23 30
60C 6 63 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 63 7 8 9 952 10 11 12 127 14 70 85 5 3 M6x15 23 30
70B 6 63 7 8 9 952 10 11 12 127 14 70 90 75 3 M5x12 23 30
73A 6 63 7 8 9 952 10 11 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 63 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 23 30

Please contact us for different motor adapters and input shaft bore.

142




14//4

TQFEK 060

@ D1
T 0 3
|
@ D2
@D
BT
D5 ||
FM j[ ﬁ? T ]]7{1 ) @ D3 )
< |
—
N
%\
e }J; @
_,9/ '/
UJ D4 J
D (< D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
o
6 6.35 7 32/5 50 425 M4x8 M4 21.7 13.2 3 8.2 8
8 9 9.52 10 325 50 425 M4x8 M4 217 13.2 3 8.2 9
11 12 12.7 35.5 50 425 M4x8 M4 22 135 3 8.5 11
14 35.5 50 425 M4x8 M4 25 17 3 10.2 115

Je [kgem?]
ni N1 max ¢s Ci Rimax Romax  A2max

: : Nm
[Nm]  [Nm] | [min-1] | [min-] [arcmin] el [N] [N] [N]

TQFEK 060 2_3
TQFEK 060 2_4
TQFEK 060 2_5
TQFEK 060 2_7
TQFEK 060 2_10
TQFEK 060 3 9
TQFEK 060 3_12
TQFEK 060 3_15
TQFEK 060 3_16
TQFEK 060 3_20
TQFEK 060 3 25
TQFEK 060 3 28
TQFEK 060 3_30
TQFEK 060 3 35
TQFEK 060 3_40
TQFEK 060 3_50
TQFEK 060 3_70
TQFEK 060 3_100

DO DO O

143



14//4

TQFEK 070

M 6x10 (7)
@ 5.5 (8x)
o™
z
0
z
0
<
[32) —
o ~ ~
[N B S i ml o
o ()
u"o’. Ql Q8
g o B e
R 0
I —
~ ™
3 Q
Q 10.5
14
@ 109 113.6 (TQFEK 070 2)
38.25 | 138.1 (TQFEK 070 3) 30 &
@ 118
@ N1 TQFEK 070 2 42
o N2 - TQFEK 070 3 5.1
&
N4 - -
D;:@% N | N1 | N2 | N3 N4 N5 | Luax
40B1 8 9 952 11 12 127 14 - - - — — | 40 | 63 | 80 | 4 | M4x12 | 34 | 40
457 8 9 952 11 12 127 - - - — — — | 45 | 63 | 80 | 4 | M4xi2 | 34 | 40
5081 8 9 952 11 12 127 14 - - - - — | 50 | 65 | 8 | 4 | Ms5x16 | 34 | 40
50BHL | 8 9 952 11 12 127 14 - - - — — | 50 | 65 | 80 | 4 55 34 | 40
50C1 8 9 952 11 12 127 14 - - - - - | 50 | 70 | 80 | 4 | Max10 | 34 | 40
50D 8 9 952 11 12 127 14 - - - — — | 50 | 95 | 80 | 4 | Méx20 | 34 | 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 | 1257 | 105 | 4 | M6x20 | 34 | 40
60A2 8 9 952 11 12 127 14 - - - - — | 60 | 75 | 8 | 4 | Ms5x16 | 34 | 40
6OAH2 | 8 9 952 11 12 127 14 - - - - — | e | 75 | 90 | 4 6.5 34 | 40
60B1 8 9 952 11 12 127 14 15875 16 - - — | 60 | 8 | 8 | 4 | M5x16 | 34 | 40
60C1 8 9 952 11 12 127 14 15875 16 - - — | 60 | 90 | 8 | 4 | M5x16 | 34 | 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 1905| 70 | 8 | 80 | 4 | M6x20 | 34 | 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 1905| 70 | 8 | 90 | 4 6.5 34 | 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 1905| 70 | 90 | 80 | 4 | M5x16 | 34 | 40
73A1 8 9 952 11 12 127 14 - - - - — | 73 | 984 | 8 | 4 | M5x16 | 34 | 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 1905| 80 | 100 | 90 | 4 | Méx16 | 34 | 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 | M8x20 | 34 | 40
95B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 | M8x20 | 34 | 40
110A 8 9 952 11 12 127 14 15875 16 17 19 1905| 110 | 130 | 115 | 4 | M8x20 | 34 | 40
1108 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 44 | 50
11081 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120 | 65 | M8x20 | 54 | 60

Please contact us for different motor adapters and input shaft bore.

144



1Y//4

TQFEK 070

@ D1
[ |
@ D2
L5 *r—v‘LDE
ps_ | 1|
SR N @ D3
FM e ) )
5|
D| § D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 76.5 M6x10 M6 34 26.8 9.5 18.8 10.5
11 12 12.7 52 68 76.5 M6x10 M6 34 26.8 9.5 18.8 12.5
14 15.875 16 17 48 68 76.5 M6x10 M6 34 26.8 9.5 18.8 14.5
19 19.05 51 68 76.5 M6x10 M6 34 26.8 9.5 18.8 16.5

ni N1 max (I)S (I)R Ct R max

min1] [minl  [arcmin] o [N] 127 14...19.05
TQFEK 070 2_3 '
TQFEK 070 2_4
TQFEK 070 2_5
TQFEK 07027
TQFEK 070 2_10
TQFEK 0703 9
TQFEK 070 3_12
TQFEK 070 3_15
TQFEK 070 3_16
TQFEK 070 3_20
TQFEK 070 3_25
TQFEK 070 3_28
TQFEK 070 3_30
TQFEK 070 3_35
TQFEK 070 3_40
TQFEK 070 3 50
TQFEK 070 3_70
TQFEK 070 3_100

145



1474

TQFEK 090

M 6Xx12 (11x)
@ 5.5 6% %
I
n
Pz
n
~
! o -]
/ © 2 2
{ \\“ - - - - 125 | 8 9
SIS
\ - 0 % N
\ N b PR A
= @ P o
N | | —<
s 8
(e}
S 105
148.2 (TQFEK 090 2)
49 179.6 (TQFEK 0903) | 29 E
@ N1 TQFEK 090 2 85
o N2
1 TQFEK 090 3 95
| ]‘
D;:% 8 N | ONL | N2 | N3 N4 NS | Linax
11 12 127 14 15 15875 16 19 - - - — | 50 | 95 | 100 | 5 | M6éxl4 | 28 | 40
55A 11 12 127 14 15 15875 16 19 - - - — | 55 |1257| 105 | 5 | M6xil6 | 28 | 40
60A2 11 12 127 14 15 15875 16 19 - - — — | 60 | 75 | 100 | 65 | M5x14 | 28 | 40
60AH2 | 11 12 127 14 15 15875 16 19 - - - — | 60 | 75 | 100 | 4 6.5 33 | 40
60B1 11 12 127 14 15 15875 16 19 - - — — | 60 | 8 | 100 | 65 | M5x14 | 28 | 40
70A1 11 12 127 14 15 15875 16 19 - - - — | 70 | 8 | 100 | 65 | M6xl4 | 28 | 40
70AH1 | 11 12 127 14 15 15875 16 19 - - - — | 70 | 8 | 100 | 4 6.5 33 | 40
70B1 11 12 127 14 15 15875 16 19 - - - — | 70 | 90 | 100 | 65 | M5x12 | 28 | 40
80A1 11 12 127 14 15 15875 16 19 - - - — | 8 | 100 | 100 | 65 | M6x16 | 28 | 40
80AH1 | 11 12 127 14 15 15875 16 19 - - - — | 8 | 100 | 100 | 4 6.5 33 | 40
95A 11 12 127 14 15 15875 16 19 - - - — | 95 | 115 | 100 | 65 | M8x18 | 28 | 40
95A1 11 12 127 14 15 15875 16 19 22 24 - — | 95 | 115 | 100 | 65 | M8x18 | 38 | 50
958 11 12 127 14 15 15875 16 19 - - - — | 95 | 130 | 115 | 65 | M8x18 | 28 | 40
110A 11 12 127 14 15 15875 16 19 - - - — | 110 | 130 | 115 | 65 | M8x18 | 28 | 40
110A1 | 11 12 127 14 15 15875 16 19 22 24 - — | 110 | 130 | 115 | 65 | M8x20 | 38 | 50
1108 11 12 127 14 15 15875 16 19 22 24 - — | 110 | 145 | 120 | 65 | M8x20 | 38 | 50
11081 | 11 12 127 14 15 15875 16 19 22 24 28 — | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
130A 11 12 127 14 15 15875 16 19 22 24 - — | 130 | 165 | 140 | 65 | M10X20 | 38 | 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 28 32| 130 | 165 | 140 | 65 | MI10x25 | 48 | 60

Please contact us for different motor adapters and input shaft bore.

146



14//4

TQFEK 090

@ D1
™
T T T TV -
(A1
@ D2
e 1
@D

L5 *'I—"—'7

D5 || @ D3

_.I_H_I,

FM 5% 1
< L N
— \
| s\
- \ L1 L
L 6o
U 9 D4
D| {< D1 D2 D3 D4 D5 L1 L2 L3 L4 L5

11 12 12.7 43 90 98 M6x15 M6 335 20 7.6 12 12.5
14 15 15.875 16 48 90 98 M6x15 M6 335 20 7.6 12.5 14.5
19 51 90 98 M6x15 M6 33.5 20 7.6 125 16.5
22 24 56.5 90 98 M6x15 M6 36.5 23 7.6 14 19
28 70 90 98 M6x15 M8 36.5 23 7.6 14 22.5
32 71 90 98 M6x15 M8 38 24.5 7.6 15.5 245

N1 max (I)s (I)R Ct leax RZmax AZmax

[
3 = e vt ’% NN IND % 43 12714...19 22;24 28; 32

TQFEK 090 2_3
TQFEK 090 2_4
TQFEK 090 2_5
TQFEK 090 2_7
TQFEK 090 2_10
TQFEK 090 3_9
TQFEK 090 3_12
TQFEK 090 3_15
TQFEK 090 3_16
TQFEK 090 3_20
TQFEK 090 3_25
TQFEK 090 3_28
TQFEK 090 3_30
TQFEK 090 3_35
TQFEK 090 3_40
TQFEK 090 3_50
TQFEK 090 3_70
TQFEK 090 3_100

147



1474

Effective Line <E)

SL Series

The SL series features a compact design optimized for timing belt
pulley drive systems.

This series represents the most suitable solution for belt
servo-drives conveyors and all other applications requiring
positioning accuracy, an ultra-compact size and high radial

load capacity.

The output design compatible with market standards allows easy
retrofits and a high level of freedom in projects development.

Main benefits

= Optimized for timing belt pulley
drive systems

= Great position accuracy

= High compatibility for easy
retrofits

148

Main features
= Nominal output torque (Nm)

[ FEEES

= Torsional backlash (arcmin)

= Torsional stiffness (Nm/arcmin)

B

= Max tilting moment (Nm)
|

Protection class
- IP54

Frame sizes
<0070
< 090

(7)) 120

Main options
= Input versions

[P dF

WITHOUT
MOTOR MOTOR
ADAPTER ADAPTER

= Qutput shafts versions

| 1D

NO
PULLEY PULLEY

 Lubrication
UH1

STANDARD | FOOD GRADE
LUBRICATION | LUBRICATION

= High power version (P option)

@

HIGH POWER
VERSION



e

9 FEATURES OF SL SERIES

The SL Series from Tecnoingranaggi knows no rivals in compactness, efficiency and optimisation for timing belt pulley drive systems.
Reduced backlash units from the SL Series are the ideal complement to conveyor belt servo-drives and all other applications needing to
combine high precision with ultra-compact size.

Available with either standard (STD) or reduced (LOW) backlash:

1-stage units: standard ¢s < 12’; reduced ¢r < 6

2-stage units: standard (s < 15’; reduced ¢r < &

Its degree of protection IP54 provides protection against dust and liquid splashes.

Input section oil seals made from a Fluoroelastomer compound are supplied as standard.

Noise pressure level Lp < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n; = 3000 min-1; i=10.
Units are factory packed with synthetic grease to NLGI consistency class 00, in the absence of contamination the lubricant requires no
periodical changes.

Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.

Housing temperature must not exceed Tmax = 90°C.

Available as Version P with higher output torque.

Distribution of nominal torque Mnz [Nm]
i1f 3 | 4 5 7 9 |10|12 15| 16| 20| 25|28 | 30 | 35| 40 | 50 | 70 | 100
SLO70 |18 | 25| 25 | 25|18 |18 |25 | 25| 25| 25|25 |25 |18 |25 |25 | 25| 25| 18

SLO70P| 29 | 30 | 28 | 28 | 29 | 20 |29 | 29 | 30 | 30 | 30 |30 |29 | 30 | 30 | 30 | 30 | 20

SL090 | 37 | 43| 43 | 43| 37 |37 | 43 | 43 | 43 | 43 | 43 | 43 | 37 | 43 | 43 | 43 | 43 | 37

SLO90P| 65 | 60 | 50 | 50 | 65 | 40 | 65| 65 | 60 | 60 | 50 | 50 | 65 | 50 | 60 | 50 | 50 | 40

SL 120 | 95 |110| 110|110, 95 | 95 |110|110| 110|110 /110|110| 95 |110|110|110|110| 95

SL 120P| 155| 155|125 | 125 | 155|100 | 155 | 155 | 155| 155|125 | 125 | 155 | 125 | 155 | 125 | 125 | 100

Output shaft max. loading capacity Available motor shaft bores

R2 max [N

10000

10000
9000 4
8000

7000
6000

5000 4500
4000 1
3000
2000 SL 070
1000 1500
0 T T T T T T T T T T T T T T T T 1
SL 070 SL 090 SL 120 |78 ol01112] 14150617 19 2 24 8 2

6.35 9.52 12.7 15.875 19.05 o [mm]

149



1474

9.1

150

SL 120

— SERIES
SL

ORDERING CODE

1 5 STD 80A CD

— REDUCTIONS
1 2

— FRAME SIZE

070 090 120
070P 090P 120P

19 YP UH1

L LUBRICANT

— standard

UH1 food grade synthetic lubricant

— PULLEY FOR TIMING BELT
YP pulley provided
NP pulley not provided

— INPUT SHAFT BORE
6.35... 32

— MOTOR COUPLING

CD clamping device

25AH ... 130A1 motor adapter

without motor adapter

2 reductions

Ps <15

(I)RSS'

— INPUT SECTION
FM
— BACKLASH
1 reduction
STD ds <12
LOwW Pr<6
— GEAR RATIO



9.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

14//4

SL 070

N5 54
AT05-0 @8 N3 51
P 3 5.5 (5x) L3 '—55'1
NS —
&13 N 2 N>
Sl EEES == k8 7aHEEF
8 & 8 —] S
ol N
’
10 (SL0701) 10 8.6
26.7 (SL 070 2) 8 68.8
86.8 (SL0701)
I — 103.5 (SL 070 2)
— | <
= P S
SL0701 | 20 | 05
SL0702 | 23 | 05
D] E%‘L N N1 N2 | N3 N4 N5 | Lmax
min | max
25AH | 635 7 8 9 952 - - - - - 25 |39 |56
26AH 6.35 7 8 9 9.52 - - - - - 26 |39 | 56
28AH 6.35 7 8 9 952 - - - - - 28 |39 | 56
30AH 6.35 7 8 9 9.52 - - - - - 30 |39 | 56
32AH | 635 7 8 9 952 - = = = = 32 /39|56 | 65 | 35 45 25 | 25
34AH 6.35 7 8 9 952 - - - - - 34 |40 | 56
36AH 6.35 7 8 9 952 - - - - - 36 |42 | 56
39AH | 635 7 8 9 952 - - - - - 39 |45 | 56
40AH 6.35 7 8 9 952 - - - - - 40 | 46 | 56
38B 6.35 7 8 9 952 10 11 12 127 - 38.1 66.6 60 3 M4x10 18 25
40B 635 7 8 9 952 10 11 12 127 — | 40 63 60 3 | M4x10 | 18 | 25
50A 635 7 8 9 952 10 11 12 127 - 50 60 60 3 | M4x10 | 18 | 25
50B 6.35 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH |635 7 8 9 952 10 11 12 127 14 | 50 65 65 3 55 25 | 32
50C 6.35 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
55MH | 635 7 8 9 952 10 11 12 127 - 55 80 65 2 55 16 | 23
60A 6.35 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60A1 |635 7 8 9 952 10 11 12 127 14 | 60 75 65 3 | Msx12 | 23 | 30
60B 635 7 8 9 952 10 11 12 127 14 | 60 85 75 3 | MBx12 | 23 | 30
60C 635 7 8 9 952 10 11 12 127 14 | 60 90 75 3 | msx12 | 23 | 30
70A 635 7 8 9 952 10 11 12 127 14 | 70 85 75 3 | mexi5 | 23 | 30
70B 635 7 8 9 952 10 11 12 127 14 | 70 90 75 5 | M5x12 | 23 | 30
73A 635 7 8 9 952 10 11 12 127 14 | 73 98.4 85 3 | M5x12 | 25 | 32
80A 635 7 8 9 952 10 11 12 127 14 | 80 100 85 3 | M6x15 | 23 | 30

* Applies for timing belt application

151



Vy//4

SL 070

. N5
5 N3
@ 9 (4%) L3 N
B R
’ *gﬂ 2
/ e = e I
g i CEEE == say/” 7 T L
n S —F— S
\ : 2l
s T : &
,3-/ S~ 10 (SL0701) 10 3.9
® 26.7 (SL 070 2) 8 1]
072 L o 20
60.2
78.2 (SL 070 1)
NP 94.9 (SL 070 2)
L1
L2
_—.:}l—L
T
[a]
= L, Q
N
alw k2
Q —'E
|
FM N
D (<L~ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6.35 7 325 50 425 M4x8 M4 21.7 13.2 3 8.2 8
9 9.52 10 325 50 425 M4x8 M4 21.7 13.2 3 8.2 9
11 12 12.7 355 50 425 M4x8 M4 22 135 3 85 11
14 355 50 425 M4x8 M4 25 17 3 10.2 11.5
o 3
@ 5 () ()1 R 8
Q
070 18 30 60 | 3300 | 4000 | 12' | 6' 65 | 3500 | 1600 | 97 0.14 0.16
070 1 _4 25 35 70 | 3500 | 5000 | 12' | 6 6.5 | 3500 | 1600 | 97 0.09 0.11
070 25 35 70 | 3500 | 5000 | 12' | 6 65 | 3500 | 1600 | 97 0.07 0.09
070 25 35 70 | 3500 | 5000 | 12' | 6 65 | 3500 | 1600 | 97 0.05 0.07
070 1 10 18 30 60 | 4000 | 6000 | 12" | ¢ 6.5 | 3500 | 1600 | 97 0.04 0.06
0702 9 18 30 60 | 3300 | 4000 | 15 | & 6 3500 | 1600 | 94 011 0.13
070 25 35 70 | 3300 | 4000 | 15 | & 6 3500 | 1600 | 94 0.10 013
070 25 35 70 | 3300 | 4000 | 15 | & 6 3500 | 1600 | 94 0.10 0.12
0702 16 25 35 70 | 3500 | 5000 | 15 | & 6 3500 | 1600 | 94 0.07 0.09 386
070 2 20 25 35 70 | 3500 | 5000 | 15" | & 6 3500 | 1600 | 94 0.06 0.08
070 25 35 70 | 3500 | 5000 | 15 | & 6 3500 | 1600 | 94 0.06 0.08
070 2 28 25 35 70 | 4000 | 6000 | 15 | & 6 3500 | 1600 | 94 0.05 0.07
070 2 30 18 30 60 | 4000 | 6000 | 15 | 8 6 3500 | 1600 | 94 0.04 0.06
070 25 35 70 | 4000 | 6000 | 15 | & 6 3500 | 1600 | 94 0.05 0.07
070 2 40 25 35 70 | 4000 | 6000 | 15 | & 6 3500 | 1600 | 94 0.04 0.06
070 2 50 25 35 70 | 4000 | 6000 | 15 | & 6 3500 | 1600 | 94 0.04 0.06
070 2 70 25 35 70 | 4000 | 6000 | 15 | 8 6 3500 | 1600 | 94 0.04 0.06
070 2 100 18 30 60 | 4000 | 6000 | 15' | & 6 3500 | 1600 | 94 0.04 0.06

Please contact us for different motor adapters and input shaft bore.

152




Lz

SL 090

N5 54
A‘[lO—O %5 N3 51
pzemm 3 6.6 (7%) L3 6
EERE N
:"L‘U“r;:;\ 1 TTS\
é} o2 T 41 > )
3 \ :® = = B ==xq 0| v .
ASE o alzld e e H g2l i
g Ql 8§ O Z g Q A 8| gl g| ® ‘
O B w| e SE \
b L 3 \
- — == 7
28 12 (SL0901) 12 10
36.8 (SL 090 2) 10 78.3
YP 100.3 (SL 090 1)
125.1 (SL 090 2)
SL0901 | 36 | 08
SL0902 | 47 | 08
D| (< N N1 | N2 | N3 N4 N5 | Lmax
40B1 9 952 11 12 127 14 - - - - — 40 | 63 80 4 | M4x10 | 34 | 40
45A 9 952 11 12 127 - - - - - - 45 | 63 80 4 | M4x10 | 34 | 40
50B1 9 952 11 12 127 14 - - - - — 50 | 65 | 80 4 | M5x16 | 34 | 40
50BH1 | 9 952 11 12 127 14 - - - - - 50 | 65 | 80 4 55 34 | 40
50C1 9 952 11 12 127 14 - S - 50 | 70 80 4 | M4x10 | 34 | 40
50D 9 952 11 12 127 14 - - - - - 50 | 95 80 4 | M6x10 | 34 | 40
55A 9 952 11 12 127 14 15875 16 17 19 19.05| 555 (1257 105 | 4 | M6x16 | 34 | 40
60A2 9 952 11 12 127 14 - - - - - 60 | 75 80 4 | M5x16 | 34 | 40
60AH2 | 9 952 11 12 127 14 - - = = - 60 75 90 4 55 34 | 40
60B1 9 952 11 12 127 14 15875 16 - - - 60 85 80 4 | M5x16 | 34 | 40
60C1 9 952 11 12 127 14 15875 16 - - - 60 90 80 4 | M5x16 | 34 | 40
70A1 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 80 4 | M6x20 | 34 | 40
70AH1 | 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 90 4 6.5 34 | 40
70B1 9 952 11 12 127 14 15875 16 17 19 19.05| 70 90 80 4 | M5x16 | 34 | 40
73A1 9 952 11 12 127 14 - e - 73 | 984 | 85 4 | M5x16 | 34 | 40
80A1 9 952 11 12 127 14 15875 16 17 19 1905 | 80 | 100 | 90 4 | M6x16 | 34 | 40
95A 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 | M8x20 | 34 | 40
95B 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 130 | 115 | 4 | M8x20 | 34 | 40
110A 9 952 11 12 127 14 15875 16 17 19 19.05 | 110 | 130 | 115 | 4 | M8x20 | 34 | 40
110B 9 952 11 12 127 14 15875 16 17 19 19.05 | 110 | 145 | 120 | 65 | M8x20 | 44 | 50
110B1 | 9 952 11 12 127 14 15875 16 17 19 19.05 | 110 | 145 | 120 | 65 | M8x20 | 54 | 60

* Applies for timing belt application

153



Lz

SL 090

o N5
) N3
@ 11 (4x) L3 “
O ¢ N )
g | > 06 1
- :

‘ el R /| \
/ } ’_E 8 R ] — om < _’E i ]
g - 8|2 B L Bt — . | 48\ Ya F -
\ & & g S & & 1 i
) J of & \ /

2 = I
. : o 7 N
‘,7 T 12 (SL0901) 12 3.55
® : 36.8 (SL 090 2) 10 15
D92 — 27
68.3
90.3 (SL 090 1)
N P 115.1 (SL 090 2)
L1
L2
__l:_
T
[a]
~ )
(‘\:‘ yl
==
o
| |
L
FM L4
D] { D1 D2 D3 D4 D5 L1 L2 L3 L4 L5

9 9.52 38 68 76.5 M6x10 M6 34 26.8 9.5 18.8 10.5

11 12 12.7 52 68 76.5 M6x10 M6 34 26.8 9.5 18.8 12.5

14 15.875 16 17 48 68 76.5 M6x10 M6 34 26.8 95 18.8 14.5

19 19.05 51 68 76.5 M6x10 M6 34 26.8 95 18.8 16.5

0
[£)
: 0 O R A
N
Q
090 37 70 150 2900 | 3500 | 12' 6' 12 4500 2000 97 0.72 0.81
090 1 4 43 80 160 | 3100 | 4500 | 12 6' 12 4500 | 2000 97 0.49 0.58
090 43 80 160 3200 | 4500 | 12' 6' 12 4500 2000 97 0.39 0.48
090 43 80 160 | 4000 | 6000 | 12' 6' 12 4500 2000 97 0.31 0.40
090 1 10 37 70 150 | 4000 | 6000 | 12' 6 12 4500 | 2000 97 0.27 0.35
0902 9 37 70 150 | 2900 | 3500 | 15' 8 115 | 4500 | 2000 94 0.47 0.61
090 43 80 160 2900 | 3500 | 15' 8' 11.5 4500 2000 94 0.44 0.58
090 43 80 160 2900 | 3500 | 15' 8' 11.5 4500 2000 94 0.43 0.57
090 2 16 43 80 160 | 3100 | 4500 | 15' 8 115 | 4500 | 2000 94 0.31 0.45 10.95
090 2 20 43 80 160 | 3200 | 4500 | 15' g 115 | 4500 | 2000 94 0.26 0.40 '
090 43 80 160 | 3200 | 4500 | 15' 8' 11.5 4500 2000 94 0.26 0.40
090 8 43 80 160 | 4000 | 6000 | 15' 8' 11.5 4500 2000 94 0.22 0.36
090 2 30 37 70 150 | 4000 | 6000 | 15' 8 115 | 4500 | 2000 94 0.20 0.34
090 43 80 160 | 4000 | 6000 | 15' g 115 | 4500 | 2000 94 0.22 0.36
090 2 40 43 80 160 | 4000 | 6000 | 15' 8' 11.5 4500 2000 94 0.20 0.34
090 0 43 80 160 | 4000 | 6000 | 15' 8 11.5 4500 2000 94 0.20 0.34
090 2 70 43 80 160 | 4000 | 6000 | 15' 8 115 | 4500 | 2000 94 0.20 0.34
090 2 100 37 70 150_| 4000 | 6000 | 15 8' 115 | 4500 | 2000 94 0.19 0.34

Please contact us for different motor adapters and input shaft bore.

154



1474

SL 120

N5 80
AT200 820 N3 76
po20 @9 (7%) L3 '—10"||'
7 1 s
e o \ ~—- 3
2o . L i o \
d\@ ® z| 8l ® S R 3 a b3 )
i i CERE =2 ElEe 7 Z A NEE R ]
kN < Q Q Q 3 S /
% 959 1 | AD o \
L —— Lt 1k ! N
20 (SL1201) | |us 155
52.5 (SL 120 2) 12 97.7
YP 129.7 (SL 120 1)
162.2 (SL 120 2)
<)
SL1201 E%%@ 26
SL1202 | 109 | 26
D| N N1 N2 N3 N4 N5 | Lmax
14 15 15875 16 19 - - - - 50 95 | 100 5 | Méxl4 | 28 40
14 15 15875 16 19 - - - - | 555 | 1257 105 5 | Mex16 | 28 40
60A2 | 14 15 15875 16 19 - - - - 60 75 | 100 5 | M5x14 | 28 40
60AH2 | 14 15 15875 16 19 - - - - 60 75 | 100 5 6.5 33 40
60B1 | 14 15 15875 16 19 - - - - 60 85 | 100 | 65 | M5x14 | 28 40
70A1 | 14 15 15875 16 19 - - - - 70 85 | 100 5 | M6xl4 | 28 40
70AH1| 14 15 15875 16 19 - - - - 70 85 | 100 5 6 33 40
70B1 | 14 15 15875 16 19 - - - - 70 9 | 100 | 65 | M5x12 | 28 40
80A1 | 14 15 15875 16 19 - - - - 80 | 100 | 100 5 | M6x16 | 28 40
80AH1| 14 15 15875 16 19 - - - - 80 | 100 | 100 5 6.5 28 40
95A 14 15 15875 16 19 - - - - 95 | 115 | 100 5 | M8x18 | 28 40
95A1 | 14 15 15875 16 19 22 24 - - 95 | 115 | 100 5 | M8x18 | 38 50
95B 14 15 15.875 16 19 - - — — 95 130 115 5 M8x18 28 40
110A | 14 15 15875 16 19 - - - - | 110 | 130 | 115 5 | Msxi8 | 28 40
110A1 | 14 15 15875 16 19 22 24 -  — | 110 | 130 | 115 | 65 | M8x20 | 38 50
1108 | 14 15 15875 16 19 22 24 - - | 110 | 145 | 120 | 65 | M8x20 | 38 50
110B1 | 14 15 15875 16 19 22 24 28 - | 110 | 145 | 120 | 65 | M8x20 | 48 60
130A | 14 15 15875 16 19 22 24 - - | 130 | 165 | 140 | 65 | M10x20 | 38 50
130A1 | 14 15 15875 16 19 22 24 28 32 | 130 | 165 | 140 | 65 | M10x25 | 48 60

* Applies for timing belt application

155



4//4

N5
N3
L3
_
e | % 1 &
i gyﬂ g
/ \ = = H ol =
| Q| <
! & | Q| z| of & ! _9______ & | 16 29| @
b > il 0
\ JIK o 8 S ok sroax olal T
Q Q
p 9 J o £
; — ©
> | g | Q
,,'y ———- 5 20 (SL1201) 15 42
® 52.5 (SL 120 2) 12 14|
o122 27
82.2
114.2 (SL1201)
NP 146.7 (SL 120 2)
L1
L2 D4
__|:|_.
—
e
o
= Q
~ il
NEHT
&
1 |
FM L4
D ({9 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15 15.875 16 48 90 98 M6x15 M6 335 20 7.6 12.5 14.5
19 51 0 98 M6x15 M6 335 20 7.6 12.5 16.5
22 24 56.5 0 98 M6x15 M6 36.5 23 7.6 14 19
28 70 920 98 M6x15 M8 36.5 23 7.6 14 225
32 71 90 98 M6x15 M8 38 24.5 7.6 15.5 24.5
O
[s)
Q 5 () () R s
0 95 | 160 | 300 | 2500 | 3500 | 12' 6 45 | 10000 | 4500 | 97 2.18 2.81 3.25
01 4 110 | 190 | 360 | 2800 | 4500 | 12' 6 45 | 10000 | 4500 | 97 1.30 1.93 2.37
0 110 | 190 | 360 | 3000 | 4500 | 12' 6 45 | 10000 | 4500 | 97 0.96 1.59 2.03
0 110 | 190 | 360 | 3500 | 4500 | 12' 6 45 | 10000 | 4500 | 97 0.66 1.28 1.72
01 10 95 | 160 | 300 | 3500 | 5000 | 12' 6 45 | 10000 | 4500 | 97 0.49 1.11 1.55
029 95 | 160 | 300 | 2500 | 3500 | 15' 8 40 | 10000 | 4500 | 94 1.61 2.20 2.57
0 110 | 190 | 360 | 2500 | 3500 | 15' 8 40 | 10000 | 4500 | 94 1.51 2.10 2.47
0 110 | 190 | 360 | 2500 | 3500 | 15' 8 40 | 10000 | 4500 | 94 1.47 2.06 2.43
02 16 110 | 190 | 360 | 2800 | 4500 | 15' 8 40 | 10000 | 4500 | 94 | 0.92 1.52 1.88 50.62
02 20 110 | 190 | 360 | 3000 | 4500 | 15' 8 40 | 10000 | 4500 | 94 | 090 1.50 1.86
0 110 | 190 | 360 | 3000 | 4500 | 15' 8 40 | 10000 | 4500 | 94 | 071 1.30 1.67
02 28 110 | 190 | 360 | 3500 | 5000 | 15' 8 40 | 10000 | 4500 | 94 | 054 1.13 1.50
02 30 95 | 160 | 300 | 3500 | 5000 | 15' 8 40 | 10000 | 4500 | 94 | 044 1.04 1.40
0 110 | 190 | 360 | 3500 | 5000 | 15' 8 40 | 10000 | 4500 | 94 | 053 1.13 1.49
02 40 110 | 190 | 360 | 3500 | 5000 | 15' 8 40 | 10000 | 4500 | 94 | 043 1.03 1.39
02 50 110 | 190 | 360 | 3500 | 5000 | 15' 8 40 | 10000 | 4500 | 94 | 043 1.02 1.39
02 70 110 | 190 | 360 | 3500 | 5000 | 15' 8 40 | 10000 | 4500 | 94 | 042 1.02 1.38
02 100 95 | 160 | 300 | 3500 | 5000 | 15' 8 40__| 10000 | 4500 | 94 | 0.42 102 138

Please contact us for different motor adapters and input shaft bore.

156




'q//4

SL 070P

N5 54
78 N3 51
@ 5.5 (5%) L3 5.5
D
0) \ 'EVR
NN FEE= === k77 s EEEE
S} 8 S - S
) g‘ ﬁ
-
z6 10 (SLO70P1) ‘_10 8.6
26.7 (SL 070P 2) 8 68.8
86.8 (SLO70P 1)
103.5 (SL 070P 2) &
SLO70P1| 2.0 | 05
SLO70P2| 23 | 05
D| {%} N N1 N2 | N3 N4 N5 | Lmax
min | max
25AH | 635 7 8 9 952 - - - - - 25 |39 |56
26AH |635 7 8 9 952 - - - - - 26 |39 | 56
28AH |635 7 8 9 952 - - - - - 28 |39 | 56
30AH | 635 7 8 9 952 - - - - - 30 |39 |56
32AH | 635 7 8 9 952 - - - - - 32 |39 |56 | 65 | 35 45 25 | 25
34AH | 635 7 8 9 952 - - - - - 34 |40 |56
36AH | 635 7 8 9 952 - - - - - 36 |42 |56
39AH | 635 7 8 9 952 - - - - - 39 |45 | 56
40AH [635 7 8 9 952 - - - - - 40 | 46 | 56
38B 635 7 8 9 952 10 11 12 127 - 38.1 66.6 60 3 M4x10 18 25
40B 635 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 | 18 25
50A 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 | 18 25
50B 635 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH | 635 7 8 9 952 10 11 12 127 14 | 50 65 65 3 55 25 32
50C 635 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 28 30
55MH | 635 7 8 9 952 10 11 12 127 - 55 80 65 2 55 16 23
60A 635 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60A1 |635 7 8 9 952 10 11 12 127 14 | 60 75 65 3 M5x12 | 23 30
60B 635 7 8 9 952 10 11 12 127 14 | 60 85 75 3 M5x12 | 23 30
60C 635 7 8 9 952 10 11 12 127 14 | 60 90 75 3 M5x12 | 23 30
70A 635 7 8 9 952 10 11 12 127 14 | 70 85 75 3 M6x15 | 23 30
70B 635 7 8 9 952 10 11 12 127 14 | 70 90 75 5 M5x12 | 23 30
73A 635 7 8 9 952 10 11 12 127 14 | 73 98.4 85 3 M5x12 | 25 32
80A 635 7 8 9 952 10 11 12 127 14 | 8 100 85 3 M6x15 | 23 30

* Applies for timing belt application

157



Y//4

SL 0/70P

. N5
2 N3
@ 9 (4%) L3 N
— - <
’ ot 2
/ L Ellld . Tt gl
i HiagiE FERE sy S 777 PR
B Q ~— Q
\ @ =l
s T N, : &
,3-/ S—— e 10 (SLO70P 1) 10 3.9
® 26.7 (SL 070P 2) 8 1]
072 Lo 20
60.2
78.2 (SLO70P 1)
NP 94.9 (SL 070P 2)
L1
L2
e
| N—
T
[a]
~ S
~ yl
Bla b
A
[ I |
FM —
L4
D {< D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6.35 7 325 50 425 M4x8 M4 21.7 13.2 3 8.2 8
8 9 9.52 10 325 50 425 M4x8 M4 21.7 13.2 3 8.2 9
11 12 12.7 355 50 425 M4x8 M4 22 13.5 3 85 11
14 355 50 425 M4x8 M4 25 17 3 10.2 115
0
o S
: 0 O, R A
Nw
Q
070P 29 55 60 | 3300 | 4000 | 12' | 6 65 | 3500 | 1600 | 97 0.14 0.16
070P 1 4 30 45 70 | 3500 | 5000 | 12" | 6 65 | 3500 | 1600 | 97 0.09 011
070P 28 40 70 | 3500 | 5000 | 12" | 6 65 | 3500 | 1600 | 97 0.07 0.09
070P 28 40 70 | 4000 | 5000 | 12" | 6 65 | 3500 | 1600 | 97 0.05 0.07
070P 1 10 20 33 60 | 4000 | 6000 | 12' | 6 65 | 3500 | 1600 | 97 0.04 0.06
070P 2 9 29 55 60 | 3300 | 4000 | 15' | 8 6 3500 | 1600 | 94 0.11 0.13
070P 29 55 70 | 3300 | 4000 | 15" | 8 6 3500 | 1600 | 94 0.10 0.13
070P 29 55 70 | 3300 | 4000 | 15' | 8 6 3500 | 1600 | 94 0.10 0.12
070P 2 16 30 45 70 | 3500 | 5000 | 15' | 8 6 3500 | 1600 | 94 0.07 0.09 386
070P 2 20 30 45 70 | 3500 | 5000 | 15" | 8 6 3500 | 1600 | 94 0.06 0.08
070P 30 45 70 | 3500 | 5000 | 15" | 8 6 3500 | 1600 | 94 0.06 0.08
070P 2 28 30 45 70 | 4000 | 6000 | 15' | 8 6 3500 | 1600 | 94 0.05 0.07
070P 2 30 29 55 60 | 4000 | 6000 | 15' | 8 6 3500 | 1600 | 94 0.04 0.06
070P 30 45 70 | 4000 | 6000 | 15" | 8 6 3500 | 1600 | 94 0.05 0.07
070P 2 40 30 45 70 | 4000 | 6000 | 15' | 8 6 3500 | 1600 | 94 0.04 0.06
070P 2 50 30 45 70 | 4000 | 6000 | 15' | 8 6 3500 | 1600 | 94 0.04 0.06
070P 2 70 30 45 70 | 4000 | 6000 | 15' | 8 6 3500 | 1600 | 94 0.04 0.06
070P 2 100 ) 33 60__| 4000 | 6000 | 15 | 8 6 3500 | 1600 | 94 0.04 0.06

Please contact us for different motor adapters and input shaft bore.

158



'4//4

SL 090P

N5 54
A'[ZLO—O Q_J;S N3 51
pzemm 3 6.6 (7%) L3 6
T . N
S 1 ===
é} o T 41 B )
3 \ :® = = B ==xq 0| v .
Ak o alzld e e H g2l i
Xl el g O 2 N EES 8| gl gl ® ‘
5, sw-/a I RN B R \
b L 3 \
wi " e — 7
28 12 (SLO90P 1) 12 10
36.8(SL090P2) | |10 783
YP 100.3 (SL 090P 1)
125.1 (SL 090P 2)
SLO90P 1| 36 | 0.8
SLO9P2 47 | 08
D| (< N | NI | N2 | N3 N4 N5 | Liax
40B1 | 9 952 11 12 127 14 = SR 40 | 63 | 80 | 4 | M4x10 | 34 | 40
45A 9 952 11 12 127 - - - - - - 45 | 63 | 80 | 4 | M4x10 | 34 | 40
50B1 | 9 952 11 12 127 14 = SR 50 | 65 | 80 | 4 | M5x16 | 34 | 40
50BH1| 9 952 11 12 127 14 - - - - - 50 | 65 | 80 | 4 5.5 34 | 40
50C1 | 9 952 11 12 127 14 - - - - = 50 | 70 | 80 | 4 | M4x10 | 34 | 40
50D 9 952 11 12 127 14 - - - - - 50 | 95 | 80 | 4 | M6éxl0 | 34 | 40
55A 9 952 11 12 127 14 15875 16 17 19 19.05 | 555 |125.7| 105 | 4 | M6x16 | 34 | 40
60A2 | 9 952 11 12 127 14 - - - - - 60 | 75 | 80 | 4 | M5x16 | 34 | 40
60AH2 | 9 952 11 12 127 14 - - - - - 60 | 75 | 90 | 4 55 34 | 40
60B1 | 9 952 11 12 127 14 15875 16 - -  — 60 | 85 | 80 | 4 | M5x16 | 34 | 40
60C1 | 9 952 11 12 127 14 15875 16 - -  — 60 | 90 | 80 | 4 | M5x16 | 34 | 40
70A1 | 9 952 11 12 127 14 15875 16 17 19 1905| 70 | 8 | 8 | 4 | M6x20 | 34 | 40
70AH1 | 9 952 11 12 127 14 15875 16 17 19 1905| 70 | 85 | 90 | 4 6.5 34 | 40
70B1 | 9 952 11 12 127 14 15875 16 17 19 1905| 70 | 90 | 8 | 4 | M5x16 | 34 | 40
73A1 | 9 952 11 12 127 14 — - - = = 73 | 984 | 8 | 4 | M5x16 | 34 | 40
80A1 | 9 952 11 12 127 14 15875 16 17 19 1905 | 80 | 100 | 90 | 4 | M6x16 | 34 | 40
95A 9 952 11 12 127 14 15875 16 17 19 19.05| 95 | 115 | 100 | 4 | M8x20 | 34 | 40
958 9 952 11 12 127 14 15875 16 17 19 1905 | 95 | 130 | 115 | 4 | M8x20 | 34 | 40
110A | 9 952 11 12 127 14 15875 16 17 19 19.05 | 110 | 130 | 115 | 4 | M8x20 | 34 | 40
1108 | 9 952 11 12 127 14 15875 16 17 19 19.05 | 110 | 145 | 120 | 65 | M8x20 | 44 | 50
110B1 | 9 952 11 12 127 14 15875 16 17 19 19.05 | 110 | 145 | 120 | 65 | M8x20 | 54 | 60

* Applies for timing belt application

159



1Y//4

SL 090P

o N5
s N3
@ 11 (4%) L3

— T—‘ ~ ?‘

73

/ﬁ
P
M6

, T e |/ \
' ST 833; H= P — s e S’rgg [— —}
\‘ 'm Q Q § E s By iy Q Q \\ /,
T 3 » _] gz
. : > o 7 N
07\— 5 12 (SL 090P 1) 12 3.55
) : 36.8 (SL 090P 2) 10 15
o 92 — 27
68.3
90.3 (SL 090P 1)
NP 115.1 (SL 090P 2)
L1
L2
__l:_
T
[a]
~ )
(‘\:‘ yl
Blaf Lo A
o
Y
L
FM L4
Dl {5+ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
9 9.52 38 68 76.5 M6x10 M6 34 26.8 9.5 18.8 10.5
11 12 12.7 52 68 76.5 M6x10 M6 34 26.8 95 18.8 125
14 15.875 16 17 48 68 76.5 M6x10 M6 34 26.8 9.5 18.8 145
19 19.05 51 68 76.5 M6x10 M6 34 26.8 9.5 18.8 16.5
0
o N
@ 5 ) ()% R 2
° (5
090P 65 120 150 | 3500 | 4000 | 12' 6 12 4500 | 2000 | 97 0.72 0.81
090P 1 4 60 110 160 | 3500 | 4000 | 12' 6 12 4500 | 2000 | 97 0.49 0.58
090P 50 100 160 | 3200 | 4500 | 12' 6 12 4500 | 2000 | 97 0.39 0.48
090P 50 100 160 | 4000 | 6000 | 12' 6 12 4500 | 2000 | 97 0.31 0.40
090P 1 10 40 75 150 | 4000 | 6000 | 12' 6 12 4500 | 2000 | 97 0.27 0.35
090P 2 9 65 120 150 | 3500 | 4000 | 15' 8 115 | 4500 | 2000 | 94 0.47 0.61
090P 65 120 160 | 3500 | 4000 | 15' 8 11.5 | 4500 | 2000 | 94 0.44 0.58
090P 65 120 160 | 3500 | 4000 | 15' 8 11.5 | 4500 | 2000 | 94 0.43 0.57
090P 2 16 60 110 160 | 3500 | 4500 | 15' 8 11.5 | 4500 | 2000 | 94 0.31 0.45 10.95
090P 2 20 60 110 160 | 3500 | 4500 | 15' 8 11.5 | 4500 | 2000 | 94 0.26 0.40
090P 50 100 160 | 3200 | 4500 | 15' 8 11.5 | 4500 | 2000 | 94 0.26 0.40
090P 2 28 | 100 | 160 | 4000 | 6000 | 15 | 8 | 115 | 4500 | 2000 | 94 | 022 | 036 |
090P 2 30 65 120 150 | 4000 | 6000 | 15' 8 11.5 | 4500 | 2000 | 94 0.20 0.34
090P 50 100 160 | 4000 | 6000 | 15' 8 11.5 | 4500 | 2000 | 94 0.22 0.36
090P 2 40 60 110 160 | 4000 | 6000 | 15' 8 11.5 | 4500 | 2000 | 94 0.20 0.34
090P 2 50 50 100 160 | 4000 | 6000 | 15' 8 11.5 | 4500 | 2000 | 94 0.20 0.34
090P 2 70 50 100 160 | 4000 | 6000 | 15' 8 11.5 | 4500 | 2000 | 94 0.20 0.34
090P 2 100 D] 75 150 | 4000 | 6000 | 15' g 115 | 4500 | 2000 | 94 0.19 0.34

Please contact us for different motor adapters and input shaft bore.

160



14//4

SL 120P

N5 80
/312200—21 2820 N3 76
Lt @ 9 (7%) L3 T 10 |
armn — | 7
JT‘ <Z>'3’,l 61 ] -
Q:é: = o =l - ;L’ ol @| 2| = \\
]
% s N all |® —— Q| g| ® /,
% A
— 1 bF ~
20 (SL1201) 15 15.5
52.5 (SL 120 2) 12 97.7
YP 129.7 (SL 120 1)
162.2 (SL 120 2)
&
SL120P1| 84 | 26
SL120P 2| 109 | 26
D {{% N N1 N2 N3 N4 N5 L max
14 il 15.875 16 19 - — — - 50 95 100 5 M6x14 28 40
55A 14 15 15.875 16 19 - - - - 55,5 | 125.7 | 105 5 M6x16 28 40
60A2 14 15 15.875 16 19 — — — — 60 75 100 5 M5x14 28 40
60AH2 | 14 15 15.875 16 19 - - - - 60 75 100 5 6.5 33 40
60B1 14 15 15.875 16 19 — — — — 60 85 100 6.5 M5x14 28 40
70A1 14 15 15.875 16 19 - - - - 70 85 100 5 M6x14 28 40
70AH1 | 14 15 15.875 16 19 — — — — 70 85 100 5 6 33 40
70B1 14 15 15.875 16 19 - - - - 70 90 100 6.5 M5x12 28 40
80A1 14 15 15.875 16 19 - — — - 80 100 100 5 M6x16 28 40
80AH1 | 14 15 15.875 16 19 - - - - 80 100 100 5 6.5 28 40
95A 14 15 15.875 16 19 — — — — 95 115 100 5 M8x18 28 40
95A1 14 15 15.875 16 19 22 24 - - 95 115 100 5 M8x18 38 50
95B 14 15 15.875 16 19 — — — — 95 130 115 5 M8x18 28 40
110A 14 15 15.875 16 19 - - - - 110 130 115 5 M8x18 28 40
110A1 14 15 15.875 16 19 22 24 — — 110 130 115 6.5 M8x20 38 50
110B 14 15 15.875 16 19 22 24 - - 110 145 120 6.5 M8x20 38 50
110B1 14 15 15.875 16 19 22 24 28 — 110 145 120 6.5 M8x20 48 60
130A 14 15 15.875 16 19 22 24 - - 130 165 140 6.5 M10x20 38 50
130A1 14 15 15875 16 19 22 24 28 32 130 165 140 6.5 M10x25 48 60

* Applies for timing belt application

161



Lz

SL 120P

N5
N3
L3
_ @
e B 1 &
i gyﬂ g
/ \ = = H ol =
| Q| <
! | Q| z| of & 4! _g_____ & | 16 29| @
& > W 0
\ YK o 8 S o 1 sroax olal g
Q Q
- % IIBE
; — ©
> | g | Q
,,'y ——- 5 20 (SL120P1) 15 42
® 52.5 (SL 120P 2) 12 14|
o122 27
82.2
114.2 (SL 120P 1)
NP 146.7 (SL 120P 2)
L1
L2
__|:I—.
—
e
[a]
= Q
~ il
NEH
&
| r
FM L4
D| £ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15 15.875 16 48 90 98 M6x15 M6 335 20 7.6 12.5 14.5
19 51 0 98 M6x15 M6 335 20 7.6 12.5 16.5
22 24 56.5 0 98 M6x15 M6 36.5 23 7.6 14 19
28 70 90 98 M6x15 M8 36.5 23 7.6 14 22.5
32 71 90 98 M6x15 M8 38 24.5 7.6 15.5 24.5
O
[s)
Q 5 () () R s
OP 155 | 280 | 300 | 3000 | 4000 | 12' 6 45 | 10000 | 4500 | 97 | 2.18 2.81 3.25
OP 1 4 155 | 300 | 360 | 3000 | 4500 | 12' 6 45 | 10000 | 4500 | 97 1.30 1.93 2.37
OP 125 | 240 | 360 | 3000 | 4500 | 12' 6 45 | 10000 | 4500 | 97 | 096 1.59 2.03
OP | 240 | 360 | 3500 | 4500 | 12 6 45 | 10000 | 4500 | 97 | 066 1.28 1.72
o= ol | 100 | 165 | 300 | 3500 | 5000 | 12' 6 45 | 10000 | 4500 | 97 | 0.49 1.11 155
0P 2 9 155 | 280 | 300 | 3000 | 4000 | 15' 8 40 | 10000 | 4500 | 94 1.61 2.20 2.57
OP 155 | 300 | 360 | 3000 | 4000 | 15' 8 40 | 10000 | 4500 | 94 151 2.10 2.47
0P 155 | 300 | 360 | 3000 | 4000 | 15' 8 40 | 10000 | 4500 | 94 1.47 2.06 2.43
o=2 5| 155 | 300 | 360 | 3000 | 4500 | 15' 8 40 | 10000 | 4500 | 94 | 0.92 1.52 1.88 50.62
o= o0 | 155 | 300 | 360 | 3000 | 4500 | 15' 8 40 | 10000 | 4500 | 94 | 090 1.50 1.86
OP 125 | 240 | 360 | 3000 | 4500 | 15' 8 40 | 10000 | 4500 | 94 | 0.71 1.30 1.67
OP 2 28 | 240 | 360 | 3500 | 5000 | 15' 8 40 | 10000 | 4500 | 94 | 054 1.13 1.50
o=2 <o | 155 | 300 | 300 | 3500 | 5000 | 15' 8 40 | 10000 | 4500 | 94 | 0.44 1.04 1.40
OP 125 | 240 | 360 | 3500 | 5000 | 15' 8 40 | 10000 | 4500 | 94 | 053 1.13 1.49
=2 | 155 | 300 | 360 | 3500 | 5000 | 15' 8 40 | 10000 | 4500 | 94 | 043 1.03 1.39
OP 2 50 | 240 | 360 | 3500 | 5000 | 15' 8 40 | 10000 | 4500 | 94 | 043 1.02 1.39
o=io o | 125 | 240 | 360 | 3500 | 5000 | 15' 8 40 | 10000 | 4500 | 94 | 0.42 1.02 1.38
Ui/ o] 100 | 165 | 300 | 3500 | 5000 | 15 8' 40 | 10000 | 4500 | 94 | 0.42 102 138

Please contact us for different motor adapters and input shaft bore.

162




Lz

Effective Line (E)

LC Series

LC precision planetary gearboxes represent a flexible solution
and valuable alternative with optimal performance and reliability
levels.

The output design in line with market standards ensures great
compatibility for easy retrofits and a high level of freedom in
projects development.

Main features Main options
= Nominal output torque (Nm) * Input versions

= Cost effective yet powerful [:b:' D

= Highly reliable
= High compatibility for easy = Torsional backlash (arcmin) MOTOR WiTHOLT

retrofits FOATTER AR

= Output shafts versions

Main benefits

= Torsional stiffness (Nm/arcmin)
HWos- I] | I] |
SMOOTH
= Max tilting moment (Nm) SHART ShAFT
s 2

« Lubrication

UHL
S0 | o
Protection class
STANDARD FOOD GRADE

« |P54 LUBRICATION | LUBRICATION

= High power version (P option)

Frame sizes (l,)

. 050

HIGH POWER
<1 070 VERSION
e 090
. 120
. 155

* Applies for timing belt application

163



14//4

10 FEATURES OF LC SERIES

Planetary gear units of the LC series belong to a range of low backlash drives very broad and complete as far as transmissible torque,

gear ratios and torsional backlash.
All units are generously proportioned to run quietly and provide a long service life without maintenance requirements.
Motor mounting is an operation that can be easily conducted without the need of any particular tooling, other than that usually available

in a normally equipped workshop.

1-stage units: standard {s < 12’; reduced (g < 6
2-stage units: standard ¢s < 15’; reduced ¢r < &

periodical changes.

Housing temperature must not exceed Tmax = 90°C.
Available as Version P with higher output torque.

Available with either standard (STD) or reduced (LOW) backlash:

Its degree of protection IP54 provides protection against dust and liquid splashes.
Input section oil seals made from a Fluoroelastomer compound are supplied as standard.
Noise pressure level Lp < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n; = 3000 min-1; i=10.
Wide range of adapter flanges matching the most popular brands of motors
Units are factory filled with synthetic grease to NLGI consistency class 00, in the absence of contamination the lubricant requires no

Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.

Distribution of nominal torque Mn2 [Nm]
\[i] 3] 4 5 7 9 10|12 | 15|16 |20 | 25|28 | 30|35 |36 |40 |45 |50 | 70 | 81 |100
LC 050 1012|1212 |10| - |12 |12 |12 |12 |12 |12 | - |12 |12 | - |12 | - - 110 | -
LC 070 18| 25| 25| 25|18 |18 | 25| 25|25 |25 |25 |25|18 25| - |25| - | 25|25 | - |18
LCO70P| 29 1 30 | 28 | 28| 29| 20|29 | 29|30 |3 30|30 |29|3| - |30 - ]3/|3)| - |20
LC 090 37 |43 | 43 | 43 | 37 | 37 |43 | 43 | 43 | 43 | 43 |43 | 37 |43 | - | 43| - |43 43| - | 37
LCO90P | 65|60 | 50 | 50 | 65|40 | 65| 65|60 | 60 |50 | 50 | 65|50 | - | 60| - |50 50| - |40
LC 120 95 110|110/ 110| 95 | 95 |110|110|110| 110|110 110 95 |110| - |110| - |110|110| - | 95
LC 120P | 155|155 | 125 | 125| 155|100 | 155 | 155|155 | 155|125 | 125 | 155|125| - |155| - |125|125| - |100
LC 155 | 250|300 300|300 | 250 | 230|300 | 300|300 |300|300 300|250/ 300 — |300| — |300/300| - |230
Output shaft max. loading capacity Available motor shaft bores
IN] _
6000 6000 LC 155
5000 ]
5000 LC 120
4000 1
3500
2000 LC 090
3000 —
2200 1
2000 1900 | LC 070
1300 1400
1000 - i i 1
500 600 LC 050
LC 050 LCO70 LC 090 LC 120 LC 155 6‘7 89 011121 14 1617 19 2 24 F] 2 3536 3B
635 952 127 15875 1905
@ [mm]
DRZ max .AZ max

Please contact us for different motor adapters and input shaft bore.

164




10.1 ORDERING CODE

LC 120 1 3 STD 70D CD

19 KE UH1

L LUBRICANT
— standard

UH1 food grade synthetic lubricant

L— OUTPUT SHAFT CONFIGURATION
KL smooth keyless shaft
KE keyed shaft

— INPUT SHAFT BORE
6..38

— MOTOR COUPLING

CD clamping device

25AH ... 180A1 motor adapter

without motor adapter

2 reductions

(I)s <15

L INPUT SECTION
FM
— BACKLASH
1 reduction
STD Os <12
LOW Pr<6

(I)RS8'

— GEAR RATIO

— REDUCTIONS
1 2

— FRAME SIZE

050 070 090 120 155
070P 090P 120P

— SERIES
EC

* Applies for timing belt application

Lz

165



14//4

10.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

LC 050

25AH ... 80A

53 (LC 050 1) 24.5
66.8 (LC 050 2) 3
135 N4
1
14 25
=
r“r;rrlﬁ ol 18
- —I—r {9 ®
= ’J S g
e
=R
10
)
LC 050 1 11
LC 050 2 1.3
Dl ¢t N N1 N2 N3 N4 N5 | Lmax

min max

25AH 6 635 7 8 9 952 - - - - - 25 36 48

26AH 6 635 7 8 9 952 - - - - - 26 36 48

28AH 6 635 7 8 9 952 - - - — - 28 36 48

30AH 6 635 7 8 9 952 - - - - - 30 36 48
32AH 6 635 7 8 9 952 - - - - - 32 38 48 55 35 4.5 25 25

34AH 6 635 7 8 9 952 - - - - - 34 40 48

36AH 6 635 7 8 9 952 - - - - - 36 42 48

38AH 6 635 7 8 9 952 - - - - - 38 44 48

40AH 6 635 7 8 9 952 - - - - - 40 46 48
38B 6 635 7 8 9 952 10 11 12 127 - | 381 66.6 60 3 M4x10 18 25
40B 6 635 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
50A 6 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
50B 6 635 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH 6 635 7 8 9 952 10 11 12 127 14 50 65 60 4 55 23 30
50C 6 635 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
50MH 6 635 7 8 9 952 10 11 12 127 - 50 65 55 4 55 16 23
60A 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60AH 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 55 18 25
60A1 6 635 7 8 9 952 10 11 12 127 14 60 l5 65 B M5x12 23 30
60AH1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 55 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 60 85 75 3 M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 635 7 8 9 952 10 11 12 127 14 70 85 75 3 M6x15 23 30
70B 6 635 7 8 9 952 10 11 12 127 14 70 90 75 5 M5x12 23 30
73A 6 635 7 8 9 952 10 11 12 127 14 73 98.4 85 B M5x12 25 32
80A 6 635 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 23 30

Please contact us for different motor adapters and input shaft bore.

166



1Y//4

L1

L3 L2
9PN 24
7
— N
ol i_..L 0O P 7 G S | S I _
FM ) S 2'_ = j
BT
e i 4 Q
s
PIIIVS o
L)
D {\ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 42.5 M4x8 M4 21.7 13.2 3 8.2 8
8 9 9.52 10 32.5 50 42.5 M4x8 M4 21.7 13.2 3 8.2 9
11 12 12.7 35.5 50 42.5 M4x8 M4 22 13.5 3 8.5 11
14 35.5 50 42.5 M4x8 M4 25 17 3 10.2 11.5

SO Jg [kgem?]
"\‘I Mn 2 Ma2 Mp 2 ny Nimax  §s g
S J

[Nm] = [Nm] | [Nm]  [min]] [min] | [arcmin] : - [N] 6..952 10..14

LC0501_3

LC0501_4

LC0501_5

LC0501_ 7

LC0501_9

LC0502_12

LC0502_15

LC0502_16

LC0502_20

LC 050 2_ 25

LC0502_28

LC0502_35

LC 0502_36

LC 050 2_45

LC0502_81

167



14//4

LC 070

25AH ... 80A
N5 62 (LC0701) 16
N3 78.7 (LC0702) 5
i
20 4
=t j 5 R
w _ - g ®
= IJ —le :
0 9 =
=g :
@ 62*0.05 12 N2
- @ N1 o
m
LCO0701 20
LC 0702 23
D H% N N1 N2 | N3 N4 | N5 | Lmax
‘ min | max
25AH 635 7 8 9 952 - - - - - 25 | 39 | 56
26AH 635 7 8 9 952 - - - - - 26 | 39 | 56
28AH 635 7 8 9 952 - - - - - 28 | 39 | 56
30AH 635 7 8 9 952 - - - - - 30 | 39 | 56
32AH 635 7 8 9 952 - - - - - 32 | 39 | 56 65 35 45 25 25
34AH 635 7 8 9 952 - - - - - 34 | 40 | 56
36AH 635 7 8 9 952 - - - - - 36 | 42 | 56
39AH 635 7 8 9 952 - - - - - 39 | 45 | 56
40AH 635 7 8 9 952 - - - - - 40 | 46 | 56
38B 635 7 8 9 952 10 11 12 127 - | 381 66.6 60 3 M4x10 | 18 25
40B 635 7 8 9 952 10 11 12 127 - 40 63 60 8 M4x10 | 18 25
50A 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 | 18 25
50B 635 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 | 23 30
50BH 635 7 8 9 952 10 11 12 127 14 50 65 65 3 55 25 32
50C 635 7 8 9 952 10 11 12 127 14 50 70 60 8 M4x10 | 23 30
55MH 635 7 8 9 952 10 11 12 127 - 55 80 65 2 55 16 23
60A 635 7 8 9 952 10 11 12 127 - 60 75 65 8 M5x12 | 18 25
60A1 635 7 8 9 952 10 11 12 127 14 60 75 65 3 M5x12 | 23 30
60B 6.35 7 8 9 952 10 11 12 127 14 60 85 75 3 M5x12 | 23 30
60C 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 | 23 30
70A 635 7 8 9 952 10 11 12 127 14 70 85 75 3 M6x15 | 23 30
70B 635 7 8 9 952 10 11 12 127 14 70 90 75 5 M5x12 | 23 30
73A 635 7 8 9 952 10 11 12 127 14 73 98.4 85 3 M5x12 | 25 32
80A 635 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 | 23 30

Please contact us for different motor adapters and input shaft bore.

168



14//4

L1

L3 L2
- [aY]
o 4.t 0O U 7 G S | _
FM 8 3oz 1
ey o
T =
’/,'};,—
SIS 53/
i
D] £ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6.35 7 32.5 50 42.5 M4x8 M4 21.7 13.2 3 8.2 8
8 9 9.52 10 32.5 50 42.5 M4x8 M4 21.7 13.2 3 8.2 9
11 12 12.7 35.5 50 425 M4x8 M4 22 13.5 3 8.5 11
14 355 50 42.5 M4x8 M4 25 17 3 10.2 11.5

;‘\‘I Mn2  Maz Mp2 ng 0s  ¢r Ci R2max = A2max
\ ul, L

Nm_ ~

arcmin (N] (NI

[Nm] = [Nm] [Nm] [arcmin]

LC0701_3

LCO701_4

LC0701_5

LCO0701_7

LC0701_10

LC0702_9

LC0702_12

LC0702_15

LC0702_16

LC 070 2_ 20

LC0702_25

LC0702_28

LC0702_30

LC0702_35

LC0702_40

LC0702_50

LC0702_70

LC 070 2_ 100

169



V474

LC 090

N5 72.3(LC 090 1) 46
N3 98.8 (LC 090 2) 5
Ng
— . L
I . @ 32 2
i~ o
© J\ \.-\ zZl 0 ﬂ 3 S
&Y SIS Sl g e
<o) \ | — 7 o H
= NS e - S -
B N !
o vz/ @ o~ g B ==
N / S ;
@ 80+0.05 15 e
N2
" 2 N1 ,.
LC 0901 4.2
LC 090 2 53
D {{% N N1 N2 N3 N4 N5 L max
40B1 952 11 12 127 14 = = = = = 40 63 80 M4x10 34 40
45A 952 11 12 127 - - - - = - 45 63 80 M4x10 34 40
50B1 952 11 12 127 14 = = = = = 50 65 80 M5x16 34 40
50BH1 952 11 12 127 14 - - - - - 50 65 80 55 34 40
50C1 952 11 12 127 14 — - - - - 50 70 80 M4x10 34 40
50D 952 11 12 127 14 - - - - - 50 95 80 M6x10 34 40
55A 952 11 12 127 14 15875 16 17 19 19.05| 55.5 | 125.7| 105 M6x16 34 40
60A2 952 11 12 127 14 - - - = - 60 75 80 M5x16 34 40
60AH2 952 11 12 127 14 = = = = = 60 75 90 55 34 40
60B1 952 11 12 127 14 15875 16 - - - 60 85 80 M5x16 34 40
952 11 12 127 14 15875 16 - — = 60 90 80 M5x16 34 40

952 11 12 127 14 15875 16 17 19 19.05| 70 85 80
952 11 12 127 14 15875 16 17 19 19.05| 70 85 90
952 11 12 127 14 15875 16 17 19 19.05| 70 90 80
952 11 12 127 14 = = = = = 73 984 | 85
952 11 12 127 14 15875 16 17 19 19.05| 80 100 90
952 11 12 127 14 15875 16 17 19 19.05| 95 115 | 100
952 11 12 127 14 15875 16 17 19 19.05| 95 130 | 115
952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115
952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120
952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120

M6x20 34 40

6.5 34 40
M5x16 34 40
M5x16 34 40
M6x16 34 40
M8x20 34 40
M8x20 34 40
M8x20 34 40
M8x20 44 50
M8x20 54 60

110A
110B
110B1

()]

S

(@]

-
© O O O O O© ©U ©U VU VU VU ©U v ©u © © v v v oo oo
ggh#b#bbhbbbhbbbbhhbh

Please contact us for different motor adapters and input shaft bore.

170



14/ 4

L1
L3 L2

FM g 8 |_T._.*____ _______________ B—
[ QG % / A
777 ! 2
7 o
(P IS Q/ L4
D (R D1 D2 D3 D4 D5 L1 L2 L3 L4 L5

9 9.52 38 68 76.5 M6x10 M6 26.8 oI5 18.8 10.5

14 15.875 16 17 48 68 76.5 M6x10 M6 26.8 oI5 18.8 14.5

34

11 12 12.7 43 68 76.5 M6x10 M6 34 26.8 9.5 18.8 12.5
34
34

19 19.05 51 68 76.5 M6x10 M6 26.8 9.5 18.8 16.5

\O:)\‘I Mn 2 (I)S ¢R G R2max A2 max

i [Nm]  [Nm] = [Nm] [arcmin] agﬁ- [N] [N] 14 ... 19.05

LC0901_3

LC0901_4

LC0901_5

LC0901_7

LC0901 10

LC0902_9

LC0902_ 12

LC 090 2_15

LC 090 2_ 16

LC 090 2_20

LC 090 2_25

LC0902_28

LC0902_30

LC0902_35

LC 090 2_40

LC 090 2_50

LC0902_70

LC 090 2_ 100

171



14//4

LC 120

N5 101.1 (Lc1201) 70
N3 133.6 (LC1202) 6
10 h9 5 N4
|
50 4
& |48
== Q

o] v N

= |J S Y

X"y

Nl ™M
=R
20 )
N2
@ N1
LC1201 9.6
LC 1202 12.1
D ({% N N1 N2 N3 N4 N5 Lmax

50D 14 15 15.875 16 19 - - - - 50 95 100 5 M6x14 28 40
55A 14 15 15.875 16 19 - - - - 55.5 | 125.7 | 105 5 M6x16 28 40
60A2 14 15 15.875 16 19 - - - - 60 75 100 5 M5x14 28 40
60AH2 14 15 15.875 16 19 - - - - 60 75 100 5 6.5 33 40
60B1 14 15 15.875 16 19 - - - - 60 85 100 6.5 M5x14 28 40
70A1 14 15 15.875 16 19 - - - - 70 85 100 5 M6x14 28 40
70AH1 14 15 15.875 16 19 - - - - 70 85 100 5 6 33 40
70B1 14 15 15.875 16 19 - - - - 70 90 100 6.5 M5x12 28 40
80A1 14 15 15.875 16 19 - - - - 80 100 100 5 M6x16 28 40
80AH1 14 15 15.875 16 19 - - - - 80 100 100 5 6.5 28 40
95A 14 15 15.875 16 19 - - - - 95 115 100 5 M8x18 28 40
95A1 14 15 15.875 16 19 22 24 - - 95 115 100 5 M8x18 38 50
95B 14 15 15.875 16 19 - - - - 95 130 115 5 M8x18 28 40
110A 14 15 15.875 16 19 - - - - 110 130 115 5 M8x18 28 40
110A1 14 15 15.875 16 19 22 24 - - 110 130 115 6.5 M8x20 38 50
110B 14 15 15.875 16 19 22 24 - - 110 145 120 6.5 M8x20 38 50
110B1 14 15 15.875 16 19 22 24 28 - 110 145 120 6.5 M8x20 48 60
130A 14 15 15.875 16 19 22 24 - - 130 165 140 6.5 M10x20 38 50
130A1 14 15 15.875 16 19 22 24 28 32 130 165 140 6.5 M10x25 48 60

Please contact us for different motor adapters and input shaft bore.

172



14//4

L1

L3 L2
957
2
FM Bl 4t 8|_T_k___ ............... N — | . -
N S
BT o
555 ©
xam
D £ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15 15.875 16 48 90 98 M6x15 M6 335 20 7.6 125 14.5
19 51 90 98 M6x15 M6 335 20 7.6 12.5 16.5
22 24 56.5 90 98 M6x15 M6 36.5 23 7.6 14 19
28 67 20 98 M6x15 M8 36.5 23 7.6 14 225
32 71 90 98 M6x15 M8 38 245 7.6 155 24.5

o‘\‘TI g o Jo [kgem?]

: " Nm ~ ] T
I [aremin]  Zremin - N 14 ...19 22;24 28; 32

LC1201_3

LC1201 4
LC1201 5

LC1201_7

LC1201 10

LC1202 9
LC 1202 12

LC1202_15
LC1202_16

LC1202_20

LC1202_ 25
LC1202_28
LC1202_30
LC1202_35
LC 1202_40

LC 1202_50

LC 1202_ 70
LC 120 2_ 100

173



14//4

LC 155

N5 123.5(C1551) 97
N3 163 (LC1552) 8
12h9 T 7 N4
\
70 6
=
= g8
o = g Q
= A % . |
.. B o
Sy S ©| <
g 3 ey sS|-9
@ 140+0.05 25 L
N2
@ N1
LC1551 19.3
LC 1552 24.3
D (<~ N N1 N2 N3 N4 N5 | Lmax
55A1 19 - - — — - - 55.5 125.7 130 4 M6x15 39.5 50
80A2 19 - - - - - - 80 100 130 4 M6x15 39.5 50
95A1 19 22 24 — — — — 95 115 130 4 M8x20 39.5 50
110A1 19 22 24 — — - — 110 130 130 4 M8x20 39.5 50
110B1 19 22 24 — — - — 110 145 130 6.5 M8x20 49.5 60
114A 19 22 24 28 32 35 38 114.3 200 170 55 M12x25 69.5 80
130A 19 22 24 - — — — 130 165 140 4 M10x20 39.5 50
130A1 19 22 24 28 32 - - 130 165 140 4 M10x20 49.5 60
180A 19 22 24 28 32 — — 180 215 190 55 M14x25 49.5 60
180A1 19 22 24 28 32 35 38 180 215 190 55 M14x25 69.5 80

Please contact us for different motor adapters and input shaft bore.

174



Y//4

L1

L3 L2
57
7
FM R IR o N — | . -
Q Q4| =
ey o
'l =
o
i
p| (< D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
19 51 113 | 1255 | M8xi5 | M6 40 275 6 20 16.5
22 24 56.5 113 1255 M8x15 M6 41 28.5 6 195 19
28 67 113 | 1255 | M8xi5 | M8 4 285 6 19.5 225
32 71 113 | 1255 | M8xi5 | M8 4 285 6 185 245
35 73 113 | 1255 | Mexi5 & M8 50 375 | 11.25 26 26
38 77.5 113 1255 M8x15 M8 50 375 11.25 26 28

NP Jg [kgem?]
\’:ﬂl Mp 2 ALk N1 max (I)S (I)R Ct R2 max A2 max ﬁ

L I I e
arcmin | [N [N] 22:24 28:32 35;38

' [Nm] | [min-Y]| [min-1] = [arcmin]
LC1551 3
Lc1551_4
LC1551_5
LC1551 7
LC1551 10
LC1552_9
LC1552 12
LC 1552 15
LC 1552 16
LC 1552 20
LC1552 25
LC 1552 28
LC 1552 _ 30
LC1552_35
LC 1552 40
LC 1552 50
LC 1552 70
LC 1552 _ 100

175



'4//4

LC 070P

25AH ... 80A
N5 62 (LCO70P 1) 36
o N3 78.7 (LCO70P 2) i N
I —
20 4
= e g o
]
- @ N1 o
o}
LCo70P1| 20
LCo70P2| 23
D {{% N N1 N2 | N3 N4 | N5 | Lmax
‘ min | max
25AH 635 7 8 9 952 - - - - - 25 39 | 56
26AH 635 7 8 9 952 - - - - - 26 39 | 56
28AH 635 7 8 9 952 - - - - - 28 39 | 56
30AH 635 7 8 9 952 - - - - - 30 39 | 56
32AH 635 7 8 9 952 - - - - - 32 39 | 56 65 35 45 25 25
34AH 635 7 8 9 952 - - - - - 34 | 40 | 56
36AH 635 7 8 9 952 - - - - - 36 | 42 | 56
39AH 635 7 8 9 952 - - - - - 39 | 45 | 56
40AH 635 7 8 9 952 - - - - - 40 | 46 | 56
38B 635 7 8 9 952 10 11 12 127 - | 381 66.6 60 3 M4x10 | 18 25
40B 635 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 | 18 25
50A 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 | 18 25
50B 635 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 | 23 30
50BH 635 7 8 9 952 10 11 12 127 14 50 65 65 3 55 25 32
50C 635 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 | 23 30
55MH 635 7 8 9 952 10 11 12 127 - 55 80 65 2 55 16 23
60A 635 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 | 18 25
60A1 635 7 8 9 952 10 11 12 127 14 60 75 65 3 M5x12 | 23 30
60B 635 7 8 9 952 10 11 12 127 14 60 85 75 3 M5x12 | 23 30
60C 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 | 23 30
70A 635 7 8 9 952 10 11 12 127 14 70 85 75 3 M6x15 | 23 30
70B 635 7 8 9 952 10 11 12 127 14 70 90 75 5 M5x12 | 23 30
73A 635 7 8 9 952 10 11 12 127 14 73 98.4 85 3 M5x12 | 25 32
80A 635 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 | 23 30

Please contact us for different motor adapters and input shaft bore.

176



4//4

LC 070P

L1
L3 L2

FM 5 ... B |—-T~—~ e I — } - -
Q Q8| =
ey o
74 'l =
Vit
PIIY Lol
&/ 4]
D] £ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6.35 7 325 50 425 M4x8 M4 21.7 13.2 3 8.2 8
8 9 9.52 10 32.5 50 42.5 M4x8 M4 21.7 13.2 3 8.2 9
11 12 12.7 35.5 50 42.5 M4x8 M4 22 13.5 3 8.5 11
14 35.5 50 425 M4x8 M4 25 17 3 10.2 11.5

‘\;‘jl Mn 2 Ma 2 Mp 2 ni N1 max (I)s (I)R Ci R2max = A2max

Nm

i [Nm]  [Nm] [Nm] [min] [minY  [aremin]  gromin (NI (N]

LCO70P1_3

LCO70P1_4

LCO70P1_5

LCO70P1_7

LCO70P1_10

LCO70P2_9

LCO070P 2_12

LC070P 2_15

LCO70P2_16

LC 070P 2_ 20

LC 070P 2_25

LC 070P 2_28

LC 070P 2_ 30

LCO70P 2_35

LC 070P 2_40

LC 070P 2_50

LCO070P 2_70

LC 070P 2_ 100

177



14//4

LC 090P

40B1 ... 110B1
N5 72.3 (LC 090P 1) 46
N3 98.8 (LC 090P 2) 5

s _ N4

. I

i 32 2 :

=l o ‘r~ a8 :

o Q| & ’ L s &

= 0 IJ 8734' :

S 58 =

=Z-g :
- 2 N1 .
o}
LCO90P 1| 4.2
LCO090P2| 53
D {{% N N1 N2 N3 N4 N5 | Lmax
40B1 952 11 12 127 14 - - - - - 40 63 80 M4x10 34 40
45A 952 11 12 127 - - - - = - 45 63 80 M4x10 34 40
50B1 952 11 12 127 14 - - - - - 50 65 80 M5x16 34 40
50BH1 952 11 12 127 14 - - - = - 50 65 80 55 34 40
50C1 952 11 12 127 14 - - - = - 50 70 80 M4x10 34 40
50D 952 11 12 127 14 - - - - - 50 95 80 M6x10 34 40
55A 952 11 12 127 14 15875 16 17 19 19.05| 55.5 | 125.7| 105 M6x16 34 40
60A2 952 11 12 127 14 - - - = - 60 75 80 M5x16 34 40
60AH2 952 11 12 127 14 - - - = - 60 75 90 55 34 40
60B1 952 11 12 127 14 15875 16 - - - 60 85 80 M5x16 34 40
952 11 12 127 14 15875 16 - - - 60 90 80 M5x16 34 40

952 11 12 127 14 15875 16 17 19 19.05| 70 85 80
952 11 12 127 14 15875 16 17 19 19.05| 70 85 90
952 11 12 127 14 15875 16 17 19 19.05| 70 90 80
952 11 12 127 14 = = = = = 73 984 | 85
952 11 12 127 14 15875 16 17 19 19.05| 80 100 90
952 11 12 127 14 15875 16 17 19 19.05| 95 115 | 100
952 11 12 127 14 15875 16 17 19 19.05| 95 130 | 115
952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115
952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120
952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120

M6x20 34 40

6.5 34 40
M5x16 34 40
M5x16 34 40
M6x16 34 40
M8x20 34 40
M8x20 34 40
M8x20 34 40
M8x20 44 50
M8x20 54 60

110A
110B
110B1

(o]

o

O

-
© © © © © © © © VU VW © © VW © © © © ©o v ©v ©
o O

Please contact us for different motor adapters and input shaft bore.

178



4//4

LC 090P

L1

L3 L2
Y
7
FM 3 8 = ——
Q) [ =
_l1 3 / a
:./-;.; 1 Q
sy
i ©
am
D| { D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
9 9.52 38 68 76.5 | M6x10 M6 34 26.8 95 18.8 10.5
11 12 12.7 43 68 76.5 | M6x10 M6 34 26.8 95 18.8 125
14 15.875 16 17 48 68 76.5 | M6x10 M6 34 26.8 95 18.8 14.5
19 19.05 51 68 76.5 | M6x10 M6 34 26.8 95 18.8 16.5

Jg [kgem?]

;‘\‘}l Mn 2 Ma 2 ny N1 max (I)S d)R Ci R2max = A2 max
1) 4‘\

i [Nm]  [Nm] [min1] [min]  [arcmin] %- N] (N]

LCO9%0P1_3

LCO%P1_4

LCO90P1_5

LCO90P1_7

LCO09P1_10

LC09P 2_9

LCO90P 2_ 12

LC090P 2_15

LC 090P 2_16

LC 090P 2_ 20

LC090P 2_25

LC 090P 2_28

LC 090P 2_30

LC 090P 2_35

LC 090P 2_40

LC 090P 2_50

LC 090P 2_ 70

LC 090P 2_ 100

179



Vy//4

LC 120P

N5 101.1 (LC 120P 1) 70
N3 133.6 (LC 120P 2) 6
10 h9 N4
1
50 4
~
&= |98
—— Qf 8
=] 0
2 A S gy
X[~ N -
ol ol ™
= 2 ="
o, 20 :
@ 108+0.05 .
@ N1
LC120P 1| 9.6
LC120P 2| 121
D[ (<~ N N1 | N2 | N3 N4 N5 | Lmax

50D 14 15 15.875 16 19 - - - - 50 95 100 5 M6x14 28 40
55A 14 15 15.875 16 19 - - - - 55.5 | 125.7 | 105 5 M6x16 28 40
60A2 14 il 15.875 16 19 — — - - 60 s 100 5 M5x14 28 40
60AH2 14 15 15.875 16 19 — — - - 60 75 100 5 6.5 33 40
60B1 14 15 15.875 16 19 — — — - 60 85 100 6.5 M5x14 28 40
70A1 14 15 15.875 16 19 - — — - 70 85 100 5 M6x14 28 40
70AH1 14 15 15.875 16 19 — — — — 70 85 100 5 6 33 40
70B1 14 15 15.875 16 19 - — — - 70 90 100 6.5 M5x12 28 40
80A1 14 15 15.875 16 19 - — — - 80 100 100 5 M6x16 28 40
80AH1 14 15 15.875 16 19 - - - - 80 100 100 5 6.5 28 40
95A 14 15 15.875 16 19 - — — - 95 115 100 5 M8x18 28 40
95A1 14 15 15.875 16 19 22 24 - - 95 115 100 5 M8x18 38 50
95B 14 15 15.875 16 19 - - — - 95 130 115 5 M8x18 28 40
110A 14 15 15.875 16 19 - - - - 110 130 115 5 M8x18 28 40
110A1 14 15 15.875 16 19 22 24 — — 110 130 115 6.5 M8x20 38 50
110B 14 15 15.875 16 19 22 24 — - 110 145 120 6.5 M8x20 38 50
110B1 14 15 15.875 16 19 22 24 28 — 110 145 120 6.5 M8x20 48 60
130A 14 15 15.875 16 19 22 24 — - 130 165 140 6.5 M10x20 38 50
130A1 14 15 15.875 16 19 22 24 28 32 130 165 140 6.5 M10x25 48 60

Please contact us for different motor adapters and input shaft bore.

180



'y//4

LC 120P

L1

L3 L2
il
s
- [aN]
o it 0O I G A | I _
FM - Yol e 1
1 7‘ 2 2
oy
8l L]
D] { D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15 15.875 16 48 90 98 M6x15 M6 33.5 20 7.6 12.5 14.5
19 51 90 98 M6x15 M6 33.5 20 7.6 125 16.5
22 24 56.5 90 98 M6x15 M6 36.5 23 7.6 14 19
28 67 90 98 M6x15 M8 36.5 23 7.6 14 22.5
32 71 90 98 M6x15 M8 38 24.5 7.6 55 24.5

Je [kgem?]
¢S (I)R Ci R2 max

©Nm

arcminll NI 14..19 22;24 28;32

[Nm]  [min-] [arcmin]

LC120P1_3

LC120P1_4

LC120P1_5

LC120P1_7

LC120P1_10

LC120P2_9
LC120P2_12

LC120P2_15
LC120P2_16
LC120P2_20
LC120P2_25
LC120P2_28
LC120P2_30

LC 120P2_35
LC 120P 2_ 40

LC 120P2_50
‘ LC120P2_70
‘ LC 120P 2_ 100

181



1474

(E)

Effective Line

LCK Series

LCK precision planetary right-angle gearboxes represent a flexible,
reliable and cost-effective solution for machines that require a very
compact layout.

The output design in line with market standards ensures great
compatibility for easy retrofits and a high level of freedom in
projects development.

182

Main benefits

= Cost effective yet powerful

= High compatibility for easy
retrofits

= Compact design for space-saving
layouts

Main features
= Nominal output torque (Nm)

= Torsional backlash (arcmin)
s

= Torsional stiffness (Nm/arcmin)

Moo

= Max tilting moment (Nm)

s 2

Protection class

* P54
Frame sizes
- 050
1 070
<1 090
{02} 120
-(7) 155

Main options
* Input versions

Ik dF

WITHOUT
MOTOR MOTOR
ADAPTER ADAPTER

= Qutput shafts versions

= | [

SMOOTH
KEYLESS KEYED
SHAFT SHAFT

 Lubrication
UH1 .

& | o

STANDARD | FOOD GRADE
LUBRICATION | LUBRICATION

= High power version (P option)

@

HIGH POWER
VERSION



q//4

11 FEATURES OF LCK SERIES

Gear units of series LCK replicate in the right angle layout the brilliant features that are already typical of the in-line products of the LC
series, with the additional benefit of a facilitated installation in tight spaces.

Available in one only backlash option, corresponding to following values:

2-stage units: standard {s < 6’;

3-stage units: standard ¢s < 8’;

Its degree of protection IP54 provides protection against dust and liquid splashes.

Input section oil seals made from a Fluoroelastomer compound are supplied as standard.

Noise pressure level Lp < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n; = 3000 min-1; i=10.
Wide range of adapter flanges matching the most popular brands of motors

Units are factory filled with synthetic grease to NLGI consistency class 00, in the absence of contamination the lubricant requires no
periodical changes.

Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.
Housing temperature must not exceed Tmax = 90°C.
Available as Version P with higher output torque.

Distribution of nominal torque Mn2 [Nm]
\ 1| 6 8 10 14 20 | 24 | 30 | 50 | 70 80 90 | 100
LCK 050 10 12 12 12 - 12 12 12 12 - 12 -
LCK 070 18 25 25 25 18 25 25 25 25 25 - 25
LCK 070P | 25 30 28 28 20 29 29 30 30 30 - 30
LCK 090 37 43 43 43 37 43 43 43 43 43 - 43
LCK 090P | 45 60 50 50 40 60 60 50 50 60 - 50
LCK 120 95 110 110 110 95 110 110 110 110 110 - 110
LCK 120P | 110 140 125 125 100 155 155 125 125 155 - 125
LCK 155 250 300 | 300 | 300 230 | 300 | 300 | 300 | 300 | 300 - 300
Output shaft max. loading capacity Available motor shaft bores
IN]
6000
6000 1 LCK 155
5000 T
5000
LCK 120
4000 4
3500
3000 LCK 090
3000 —
2200 1
2000 e m LCK 070
1300 1400
1000 - _— _—
500 600
LCK 050
I
LCK 050 LCK 070 LCK 090 LCK 120 LCK 155 (‘3‘ % é 9‘ hb 1‘1 1‘2 ‘ 1‘4 16 1‘7 19 2 24 28
6.35 952 127 15875  19.05
@ [mm]
|:| R2 max . A2 max

183



1474

11.1 ORDERING CODE

LCK 120 2 20 STD 100A CD

— REDUCTIONS
2 3

— FRAME SIZE
050 070 090 120 155
070P 090P 120P

— SERIES
LCK

184

STD

— GEAR RATIO

14 KE UH1

L LUBRICANT
— standard

UH1 food grade synthetic lubricant

— OUTPUT SHAFT CONFIGURATION
KL smooth keyless shaft
KE keyed shaft

— INPUT SHAFT BORE
6..28

— MOTOR COUPLING

CD clamping device

— INPUT SECTION
25AH ... 180A1 motor adapter

FM

— BACKLASH

without motor adapter

2 reductions

3 reductions

(I)SSG'

(I)SSS'



14//4

11.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

LCK 050

25AH ... 80A

I N
4 h9 2 —?TR T
2 e
\ I Vet 2 245
| 14| 25
(o]
Te)
RN
-
Al K/?'o = ol 18
il N — o
< 0 o ot Q
= ) & 7 IR
“ 3o
35| = ®
@ 44 +0.05 10/ .3
p
30 P1
P2
P | PL| P2 | R = 5 B)
LCK0502 | 53 | 91 |1455| 16 N i :2\ A hh'—n
5 TS e =
LCK 050 3 | 66.8 |104.8 159.3| 1.8 ‘g,/,\ N
N |
% \1_7_7 —
\% @ N1 min N4
@ N1 max
Yy N N1 N2 | N3 | N4 | N5 | Lmax
D *f\'j:g
min | max
6 635 7 8 9 95 - - - _— _— | 25 39|56
6 635 7 8 9 95 - - - - _— | 26 39|56
6 635 7 8 9 95 - - - - _ | 28 | 39|56
6 635 7 8 9 95 - - - — _— | 30 3956
6 635 7 8 9 95 - - - - _ | 32 |!39|/5 6 |35 | 45 | 25 | 25
6 635 7 8 9 95 - - - — — | 34 40|56
6 635 7 8 9 95 - - - - _— | 3 | 4|56
6 635 7 8 9 95 - - - — _ | 39 45|56
6 635 7 8 9 95 — - - — _ | 4 | 46|56
6 635 7 8 9 952 10 11 12 127 - | 381 | 666 60 3 | M4x10 | 18 | 25
6 635 7 8 9 952 10 11 12 127 - | 40 63 60 3 |M4x10| 18 | 25
6 635 7 8 9 952 10 11 12 127 - | 50 60 60 3 |M4x10 | 18 | 25
6 635 7 8 9 952 10 11 12 127 14 | 50 65 60 3 |Msx12 | 23 | 30
6 635 7 8 9 952 10 11 12 127 14 | 50 65 65 3 55 | 25 | 32
6 635 7 8 9 952 10 11 12 127 14 | 50 70 60 3 | M4x10 | 23 | 30
6 635 7 8 9 952 10 11 12 127 - | 55 80 65 2 55 | 16 | 23
6 635 7 8 9 952 10 11 12 127 - | 60 75 65 3 |Msx12| 18 | 25
6 63 7 8 9 952 10 11 12 127 14 | 60 75 65 3 |Msx12| 23 | 30
6 635 7 8 9 952 10 11 12 127 14 | 60 85 75 | 3 |Msx12| 23 | 30
6 635 7 8 9 952 10 11 12 127 14 | 60 90 75 | 3 |Msx12| 23 | 30
6 635 7 8 9 952 10 11 12 127 14 | 70 85 75 3 | Méx15| 23 | 30
6 635 7 8 9 952 10 11 12 127 14 | 70 ) 75 5 | M5x12 | 23 | 30
6 635 7 8 9 952 10 11 12 127 14 | 73 | 984 85 3 |Msx12| 25 | 32
6 635 7 8 9 952 10 11 12 127 14 | 80 100 85 3 |M6xi15| 23 | 30

185



14//4

L CK 050

@ D1
™
-
K | 4]
60 @ D2
- L5 N
S D\S
a1 o
B DF7
]——\w
FM S =)
o
& I—
\TJ J
D| € D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 | M4x8 M4 28 135 3 8.5
8 9 9.52 10 325 50 425 | M4x8 M4 28 135 3 8.5
11 12 12.7 35.5 50 425 | M4x8 M4 23 135 3 8.5 11
14 355 50 425 | M4x8 M4 25 155 3 8.9 115

Mn 2 Ma 2 Mp 2 ni N1 max (I)S Ct R2max = A2 max

| Nm

[Nm] [Nm] [Nm] | [min-Y] [min-] |[arcmin] p— [N]

(N]

LCK 050 2_6

LCK 050 2_8

LCK 050 2_10

LCK 050 2_14

LCK 050 3 24

LCK 050 3_30

LCK 050 3_50

LCK 050 3_70

LCK 050 3 90

Please contact us for different motor adapters and input shaft bore.

186



Lz

LCK 070

25AH ... 80A

5 h9 2
2
4
<l o
¢ = |38
o Q
= 9 al ¢
5
6= =\ Q
@ 62 +0.05 12| | 5
P
30 P1
P2
P PL| P2 | R = B
Q }Q/ D
LCK 070 2 62 100 | 166 | 2.7 / //%\\/ \'\ —Ly—‘
g I = oa)
O | =g 1 | ]
LCK 0703 | 78.7 |116.7(182.7| 3.0 \ \é;?@ /
2 R M
\{ @ N1 min N4
@ N1 max
2y N N1 N2 N3 N4 N5 L max
B .
min | max
25AH 6 635 7 8 9 952 - — — - - 25 39 | 56
26AH 6 635 7 8 9 952 - — - - - 26 39 | 56
28AH 6 635 7 8 9 952 - — - - - 28 39 | 56
30AH 6 635 7 8 9 952 - - - - - 30 39 | 56
32AH 6 635 7 8 9 952 - - - - - 32 39 | 56 65 35 45 25 25
34AH 6 635 7 8 9 952 - - - - - 34 40 | 56
36AH 6 635 7 8 9 952 - - - - - 36 42 | 56
39AH 6 635 7 8 9 952 - — - - - 39 45 | 56
40AH 6 635 7 8 9 952 - - - - - 40 46 | 56
38B 6 635 7 8 9 952 10 11 12 127 - 38.1 66.6 60 3 M4x10 18 25
40B 6 635 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
50A 6 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
50B 6 635 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH 6 635 7 8 9 952 10 11 12 127 14 50 65 65 3 55 25 32
50C 6 635 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
55MH 6 635 7 8 9 952 10 11 12 127 - 55 80 65 2 55 16 23
60A 6 63 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60A1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 M5x12 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 60 85 75 8 M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 63 7 8 9 952 10 11 12 127 14 70 85 75 3 M6x15 23 30
70B 6 63 7 8 9 952 10 11 12 127 14 70 90 75 5 M5x12 23 30
73A 6 635 7 8 9 952 10 11 12 127 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 23 30

187



Lz

LCK 070

@ D1
9
W |}
J60 @ D2
L5 S
I B

@D F7 ZI({\
=

FM - - P
Y Jg#
D '{‘(% D1 D2 D3 D4 D5 L1 L2 L3 L4 LS
6.35 7 325 50 42,5 M4x8 M4 28 13.5 3 8.5
9 9.52 10 325 50 42.5 M4x8 M4 28 135 3 8.5 9
11 12 12.7 5515 50 42.5 M4x8 M4 23 135 5 8.5 11
14 355 50 42.5 M4x8 M4 25 155 3 8.9 115

Je [kgem?]
Mp 2 ny N1 max (I)S Ct R2max = A2 max

frm;

i [Nm] [Nm] | [min-] [min-1] |[arcmin] |nrn1'|in| [N] [N]

LCK 07026

LCK 07028
LCK 070 2_10
LCK 070 2_14
LCK 070 220

LCK 0703 24
LCK 070 3_30

LCK 070 3_50

LCK 070 3_70

LCK 070 3_80
LCK 070 3_100

Please contact us for different motor adapters and input shaft bore.

188



474

LCK 090

IN
6 ho ™ DDF7
s
o i
=z -]
L] 32 |2
= 2 I —
s () N
e ] = | o 3
L g |\\\\_ I [{e] Q
o W\ s
= \ ) <{ N
RS < Ol
S N 7 S
L S
5
@ 80 +0.05 15|| 5
=]
40 P1
P2
s - =
-4
s
P P1 P2 ﬁ 3 / f \\K
2y Q}\_ | |
LCK 0902 | 72.3 |120.8/206.8| 5.2 8 O \ k(% J —
LCK 0903 | 98.8 |147.3|/233.3| 6.3 \\,"5'(\ )3(
D H% N N1 N2 N3 N4 N5 | L
\‘: max
952 11 12 127 14 = = = o= = 40 63 80 M4x10 | 34 40
952 11 12 127 - - - - = - 45 63 80 M4x10 34 40
952 11 12 127 14 - - - = - 50 65 80 M5x16 34 40
952 11 12 127 14 - - - = - 50 65 80 55 34 40
952 11 12 127 14 - - - = - 50 70 80 M4x10 34 40
952 11 12 127 14 - - - = - 50 95 80 M6x10 34 40
952 11 12 127 14 15875 16 17 19 19.05| 555 | 125.7 | 105 M6x16 34 40
952 11 12 127 14 - - - - - 60 75 80 M5x16 34 40
952 11 12 127 14 - - - = - 60 75 90 5.5 34 40
952 11 12 127 14 15875 16 - - - 60 85 80 M5x16 34 40
952 11 12 127 14 15875 16 - - - 60 90 80 M5x16 34 40

952 11 12 127 14 15875 16 17 19 19.05| 70 85 80
952 11 12 127 14 15875 16 17 19 19.05| 70 85 90
952 11 12 127 14 15875 16 17 19 19.05| 70 90 80
952 11 12 127 14 = = = = = 73 | 984 | 85
952 11 12 127 14 15875 16 17 19 19.05| 80 100 90
952 11 12 127 14 15875 16 17 19 19.05| 95 115 | 100
952 11 12 127 14 15875 16 17 19 19.05| 95 130 | 115
952 11 12 127 14 15875 16 17 19 19.05| 110 | 130 | 115
952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120
952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 | 120

M6x20 | 34 40

6.5 34 40
M5x16 | 34 40
M5x16 | 34 40
M6x16 | 34 40
M8x20 | 34 40
M8x20 | 34 40
M8x20 | 34 40
M8x20 | 44 50
M8x20 | 54 60

O 00 0O 00 O 0O 0O O 0O O 0O O 0O 0 O 0 O 0 0 0
© © © © © © © © © © © © © OV © © © © © © ©
(o2 )]

189



Lz

LCK 090

@ D1
a
V.
mEY 2 D2
5 L5
5 5
E“ N
3, o
DD || 2 I
AN
DIy
FM g
\
/
SISy D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 952 38 68 765 | M6x10 | M6 | 363 | 263 | 95 | 188 | 105
11 12 12.7 43 68 765 | M6x10 | M6 | 363 | 263 | 95 | 188 | 125
14 15875 16 17 48 68 765 | M6x10 | M6 | 363 | 263 | 95 | 188 | 145
19 19.05 51 68 765 | M6x10 | M6 | 363 | 263 | 95 | 188 | 165

Jg [kgem?]

7~
; N1 N1 max (I)s Ct R2max = A2 max

E)w

Nm 7

[min-1]  [min-1] | [arcmin] arcmin [N]

[N] 8..127 14..19.05
LCK 090 2_6
LCK 090 2_8
LCK 090 2_10
LCK 090 2_14

LCK 090 2_20

LCK 090 3_24
LCK 090 3_30

LCK 090 3_50

LCK 090 3_70

LCK 090 3_80
LCK 090 3_100

Please contact us for different motor adapters and input shaft bore.

190



V474

LCK 120

DN
10 ho @ DFr
(2]
zZ
[Te)
Z )
A 50 4
\ = wﬂ’
3 SaEE
- - ™ - > —
/ﬂ Q Q
; 3 8l ¢
N[N
o™
4 sl
@ 108 +0.05 20|| 6
P
50 P1
P2
=l
ﬂ\/ \)s( b
P PL| P2 | g < ﬁ \
Z
LCK 1202 |101.1|158.6|278.6| 11.3 2| 2 %9 >
. . . . Q| O &
LCK 1203 /133.6/191.1|311.1| 13.8 ‘)ﬂf\ _)3(' 1
S—— G
o8
Jéé}‘ N N1 N2 N3 N4 N5 | Lmax
50D 11 12 127 14 15 15.875 16 19 — — 50 95 100 5 M6x14 28 40
55A 11 12 127 14 15 15.875 16 19 — — 555 |125.7| 105 5 M6x16 28 40
60A2 11 12 127 14 15 15.875 16 19 - - 60 5 100 5 M5x14 28 40
60AH2 | 11 12 127 14 15 15.875 16 19 - - 60 75 100 5 6.5 33 40
60B1 11 12 127 14 15 15.875 16 19 — — 60 85 100 6.5 M5x14 28 40
70A1 11 12 127 14 15 15.875 16 19 - - 70 85 100 5 M6x14 28 40
70AH1 | 11 12 127 14 15 15.875 16 19 — — 70 85 100 5 6 33 40
70B1 11 12 127 14 15 15.875 16 19 - - 70 90 100 6.5 M5x12 28 40
80A1 11 12 127 14 15 15.875 16 19 — — 80 100 | 100 5 M6x16 28 40
80AH1 | 11 12 127 14 15 15.875 16 19 — — 80 100 | 100 5 6.5 28 40
95A 11 12 127 14 15 15.875 16 19 - - 95 115 | 100 5 M8x18 28 40
95A1 11 12 127 14 15 15.875 16 19 22 24 95 115 | 100 5 M8x18 38 50
95B 11 12 127 14 15 15.875 16 19 — — 95 130 | 115 5 M8x18 28 40
110A 11 12 127 14 15 15.875 16 19 — — 110 | 130 | 115 5 M8x18 28 40
110A1 | 11 12 127 14 15 15.875 16 19 22 24 | 110 | 130 | 115 6.5 M8x20 38 50
110B 11 12 127 14 15 15.875 16 19 22 24 | 110 | 145 | 120 6.5 M8x20 38 50
110B1 | 11 12 127 14 15 15.875 16 19 22 24 | 110 | 145 | 120 6.5 M8x20 48 60
130A 11 12 127 14 15 15.875 16 19 22 24 | 130 | 165 | 140 6.5 | M10x20 38 50
130A1 | 11 12 127 14 15 15.875 16 19 22 24 | 130 | 165 | 140 6.5 | M10x25 48 60

191



14//4

LCK 120

@ D1
7. ]
1100 @ D2
L5
3 Os
St
.
DD F7 = i
3,
Q
|
s |
. )
[
D4
D| {£ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 12 12.7 43 90 98 M6x15 M6 35 19.5 7.6 12.1 12.5
14 15 15.875 16 48 90 98 M6x15 M6 35 19.5 7.6 12.1 14.5
19 51 90 98 M6x15 M6 85 19.5 7.6 12.1 16.5
22 24 56.5 90 98 M6x15 M6 37 215 7.6 121 19

Je [kgem?]
Ny N1 max ¢s Ct

[min-1] [min-] [arcmin] |;:%1l 11..127 14..19 2224
LCK 12026
LCK 12028
LCK 120 2_10
LCK 120 2_14

LCK 120 2_20

LCK 120 3 24
LCK 120 3_30

LCK 120 3 50

LCK 120 3_70

LCK 120 3_80
LCK 120 3_100

Please contact us for different motor adapters and input shaft bore.

192



14//4

LCK 155

55A1 ... 180A1

@ N
12 ho Q DDF7
o £
z o]
i 6
‘-\_\\\ § \
/ ¥ Bl
‘\\\\ \\ ® Ql 1
I E s S
7 (o] Q
4 : e
s ~ ‘2._8
T G s
7
@ 140 +0.05 25|| 8
P
65 P1
P2
&
< .
P | PL| P2 | R zl / \
glel G}] -
LCK 155 2 |123.5/191.5 353.5| 27.8 S N
A /
LCK 1553 | 163 | 231 | 393 | 32.8 )
D h} N N1 N2 N3 N4 N5 | Lmax
55A1 14 15875 16 19 = = — 55.5 | 125.7 | 130 4 M6x15 | 395 | 50
80A2 14 15875 16 19 - - - 80 | 100 | 130 4 M6x15 | 395 | 50
95A1 14 15875 16 19 22 24 — 95 | 115 | 130 4 M8x20 | 395 | 50
110A1 | 14 15875 16 19 22 24 - 110 | 130 | 130 4 M8x20 | 395 | 50
110B1 | 14 15875 16 19 22 24 — 110 | 145 | 130 | 65 | M8x20 | 495 | 60
114A 14 15875 16 19 22 24 28 | 1143 | 200 | 170 | 55 | M12x25 | 695 | 80
130A 14 15875 16 19 22 24 — 130 | 165 | 140 4 | M10x20 | 395 | 50
130A1 | 14 15875 16 19 22 24 28 130 | 165 | 140 4 | M10x20 | 495 | 60
180A 14 15875 16 19 22 24 28 180 | 215 | 190 | 55 | M14x25 | 495 | 60
180A1 | 14 15875 16 19 22 24 28 180 | 215 | 190 | 55 | M14x25 | 695 | 80

193



14//4

LCK 155

@ D1

L3

[1130 @ D2
L5

ﬁ | —
D[ {< D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
14 15.875 16 48 113 1255 | M8x15 M6 46 275 6 20 14.5
19 51 113 1255 | M8x15 M6 46 275 6 20 16.5
22 24 56.5 113 1255 | M8x15 M6 47.5 29 6 20 19
28 67 113 1255 | M8x15 M8 47.5 29 6 20 225

Ny N1 max (I)S Ci R2max | A2 max

[min-1]  [min-1] [arcmin] |$_n [N] [N]
LCK 155 2_6
LCK 155 2_8
LCK 155 2_10
LCK 155 2_14
LCK 155 2_20

LCK 155 3_24
LCK 155 3 30

LCK 155 3_50

LCK 155 3_70

LCK 155 3_80
LCK 155 3_100

Please contact us for different motor adapters and input shaft bore.

194



25AH ... 80A

V474

LCK 070P

5 h9 2
2
4
B
7 et & R
7 — 1 19w
o S
= 9 al ¢
32
4= =\ Q
3
@ 62 +0.05 12| 5
=]
30 P1
P2
P | PL| P2 | gl o e
Q &“/ X1
LCK 070P 2| 62 100 | 166 | 2.7 / ///%X \'\ -Ly—‘
g | = o)
O | = 1 | ]
LCK 070P 3| 78.7 |116.7|182.7| 3.0 \t\g&g /
% e
\( @ N1 min N4
@ N1 max
2y N N1 N2 N3 N4 N5 L max
&3 .
min | max
25AH 6 635 7 8 9 952 - — — - — 25 39 | 56
26AH 6 635 7 8 9 952 - - - - — 26 39 | 56
28AH 6 635 7 8 9 952 - - - - — 28 39 | 56
30AH 6 635 7 8 9 952 - - - - - 30 39 | 56
32AH 6 635 7 8 9 952 - - - - - 32 39 | 56 65 3.5 45 25 25
34AH 6 635 7 8 9 952 - - - - - 34 40 | 56
36AH 6 635 7 8 9 952 - - - - - 36 42 | 56
39AH 6 635 7 8 9 952 - - - - — 39 45 | 56
40AH 6 635 7 8 9 952 - - - - - 40 46 | 56
38B 6 635 7 8 9 952 10 11 12 127 - 38.1 66.6 60 3 M4x10 18 25
40B 6 635 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
50A 6 635 7 8 9 952 10 11 12 127 - 50 60 60 3 M4x10 18 25
50B 6 635 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH 6 635 7 8 9 952 10 11 12 127 14 50 65 65 3 55 25 32
50C 6 635 7 8 9 952 10 11 12 127 14 50 70 60 3 M4x10 23 30
55MH 6 635 7 8 9 952 10 11 12 127 - 55 80 65 2 55 16 23
60A 6 63 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60A1 6 635 7 8 9 952 10 11 12 127 14 60 75 65 3 M5x12 23 30
60B 6 635 7 8 9 952 10 11 12 127 14 60 85 75 3 M5x12 23 30
60C 6 635 7 8 9 952 10 11 12 127 14 60 90 75 3 M5x12 23 30
70A 6 63 7 8 9 952 10 11 12 127 14 70 85 75 3 M6x15 23 30
70B 6 63 7 8 9 952 10 11 12 127 14 70 90 75 5 M5x12 23 30
73A 6 635 7 8 9 952 10 11 12 12.7 14 73 98.4 85 3 M5x12 25 32
80A 6 635 7 8 9 952 10 11 12 127 14 80 100 85 3 M6x15 23 30

195



iz

LCK 070P

@ D1
9
# 7
7]
160 @ D2
L5 9
S| Ds|
i S
I 1
@ DF7 | Qzﬁ: T
=
FM &
4 |
20 )
Q
®
7
_ [ Wif& } d“ r—'\l
| )/ ]
2 ¢ §
D4
D] { D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 42.5 M4x8 M4 28 13.5 3 8.5
8 9 9.52 10 325 50 42.5 M4x8 M4 28 13.5 3 8.5 9
11 12 12.7 B515! 50 42.5 M4x8 M4 23 13.5 3 8.5 11
14 355 50 42.5 M4x8 M4 25 15.5 3 8.9 115

Ma 2 Mp 2 ni N1 max (I)s Ct R2 max A2 max

[Nm] [Nm] [min-1]  [min1] [arcmin] I%EIFJ [N] [N] 6..952 11..14
LCK 070P 2_6

LCK 070P 2_8

LCK 070P 2_10

LCK 070P 2_14

LCK 070P 2_20

LCK 070P 3_24
LCK 070P 3_30
LCK 070P 3_50
LCK 070P 3_70
LCK 070P 3_80
LCK 070P 3_100

Please contact us for different motor adapters and input shaft bore.

196



14//4

LCK 090P

40B1 ... 110B1
I N
6 h9 o] 2D F7
2 o
| 32 2
. TES —
of \ / al ®
s N Ky SN 1) 8 e
kaﬁ"//j S N &l a
o s =l
5 Q
@ 80 +0.05 15/| 5
P
40 P1
P2
Rt
P | PL| P2 | gl A\\
Js N
LCK 090P 2| 72.3 /120.8|/206.8| 5.2 Q| g D
LCK 090P 3| 98.8 | 147.3|233.3| 6.3 P-4
D[ 4« % N N1 N2 N3 N4 N5 L max
8 9 952 11 12 127 14 - - = = - 40 63 80 4 M4x10 | 34 40
8 9 952 11 12 127 - - - - - - 45 63 80 4 M4x10 | 34 40
8 9 952 11 12 127 14 — - - = — 50 65 80 4 M5x16 | 34 40
8 9 952 11 12 127 14 - - - = - 50 65 80 4 55 34 40
8 9 952 11 12 127 14 — - - = — 50 70 80 4 M4x10 | 34 40
8 9 952 11 12 127 14 - - - = - 50 95 80 4 M6x10 | 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 55,5 | 125.7 | 105 4 M6x16 | 34 40
8 9 952 11 12 127 14 - - - - - 60 75 80 4 M5x16 | 34 40
8 9 952 11 12 127 14 — - - - - 60 75 90 4 55 34 40
8 9 952 11 12 127 14 15875 16 - - - 60 85 80 4 M5x16 | 34 40
8 9 952 11 12 127 14 15875 16 - - - 60 90 80 4 M5x16 | 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 80 4 M6x20 | 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 90 4 6.5 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 90 80 4 M5x16 | 34 40
8 9 952 11 12 127 14 — - - - — 73 98.4 85 4 M5x16 | 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 100 90 4 M6x16 | 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 115 | 100 4 M8x20 | 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 130 115 4 M8x20 | 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 130 115 4 M8x20 | 34 40
8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 145 | 120 6.5 | M8x20 | 44 50
8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 145 | 120 6.5 | M8x20 | 54 60

197



iz

LCK 090P

@ D1
a
V.
mEY 2 D2
5 L5
5 5
E“ N
3, o
DD || 2 I
AN
DIy
FM g
\
/
SISy D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 952 38 68 765 | M6x10 | M6 | 363 | 263 | 95 | 188 | 105
11 12 12.7 43 68 765 | M6x10 | M6 | 363 | 263 | 95 | 188 | 125
14 15875 16 17 48 68 765 | M6x10 | M6 | 363 | 263 | 95 | 188 | 145
19 19.05 51 68 765 | M6x10 | M6 | 363 | 263 | 95 | 188 | 165

Mp 2 N1 N1 max (I)S G

Nm

: .. 127 14 ... 19
arcmin

[Nm] [Nm] [min-1] | [min-1] | [arcmin]
LCK 090P 2_6
LCK 090P 2_8
LCK 090P 2_10
LCK 090P 2_14

LCK 090P 2_20

LCK 090P 3_24
LCK 090P 3_30

LCK 090P 3_50

LCK 090P 3_70

LCK 090P 3_80
LCK 090P 3_100

Please contact us for different motor adapters and input shaft bore.

198



'q//4

LCK 120P

50D ... 130A1
N
10 ho DB DFr
2
2
] 50 4
\ 2 WCD
, %,m gl g
™ _— o o
.f’ Q S
' 3 8 e
@ 108 +0.05 20|| 6
P
50 P1
P2
7 =
e - I
PL | P2 | f st F / \ ‘
-
LCK 120P 2/101.1|158.6|278.6| 11.3 é % { @% I N
LCK 120P 3/133.6/191.1|311.1| 13.8 .‘)sf\ P-4 i
=
D] _{é% N N1 N2 N3 N4 N5 | Lmax
11 12 127 14 15 15875 16 19 - - 50 95 100 5 M6x14 28 40
11 12 127 14 15 15875 16 19 - - 55,5 |125.7 | 105 5 M6x16 28 40
11 12 127 14 15 15875 16 19 - - 60 5 100 5 M5x14 28 40
11 12 127 14 15 15875 16 19 - - 60 75 100 5 6.5 33 40
11 12 127 14 15 15875 16 19 - - 60 85 100 6.5 M5x14 28 40
11 12 127 14 15 15875 16 19 - - 70 85 100 5 M6x14 28 40
11 12 127 14 15 15875 16 19 - - 70 85 100 5 6 33 40
11 12 127 14 15 15875 16 19 - - 70 90 100 6.5 M5x12 28 40
11 12 127 14 15 15875 16 19 - - 80 100 | 100 5 M6x16 28 40
11 12 127 14 15 15875 16 19 - - 80 100 | 100 5 6.5 28 40
11 12 127 14 15 15875 16 19 - - 95 115 | 100 5 M8x18 28 40
11 12 127 14 15 15875 16 19 22 24 95 115 | 100 5 M8x18 38 50
11 12 127 14 15 15875 16 19 — - 95 130 | 115 5 M8x18 28 40
11 12 127 14 15 15875 16 19 — - 110 | 130 | 115 5 M8x18 28 40
11 12 127 14 15 15875 16 19 22 24 110 | 130 | 115 6.5 M8x20 38 50
11 12 127 14 15 15875 16 19 22 24 110 | 145 | 120 6.5 M8x20 38 50
11 12 127 14 15 15875 16 19 22 24 110 | 145 | 120 6.5 M8x20 48 60
11 12 127 14 15 15875 16 19 22 24 130 | 165 | 140 6.5 | M10x20 38 50
11 12 127 14 15 15875 16 19 22 24 130 | 165 | 140 6.5 | M10x25 48 60

199



4//4

L CK 120P

@ D1
7, i
[J100 @ D2
L5
s Os
S
.
DD F7 =l i
3
Q
TN
D| {< D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 12 12.7 43 90 98 | M6x15 | M6 35 19.5 76 12.1 125
14 15 15.875 16 48 90 98 | M6x15 | M6 35 19.5 7.6 12.1 14.5
19 51 90 98 | M6x15 | M6 35 19.5 7.6 12.1 16.5
22 24 56.5 90 98 | M6x15 | M6 37 215 7.6 12.1 19

Jg [kgem?]
Mp 2 ny N1 max (I)S Ci R2 max :
&)
Nm
AFEITHT

[Nm]  [min] | [min-l] [arcmin] | [N] 14..19 22;24 28; 32

LCK 120P 2_6

LCK 120P 2_8

LCK 120P 2_10

LCK 120P 2_14

LCK 120P 2_20

LCK 120P 3_24
LCK 120P 3_30

LCK 120P 3_50

LCK 120P 3_70

LCK 120P 3_80
LCK 120P 3_100

Please contact us for different motor adapters and input shaft bore.

200



Effective Line

Main benefits

= Great price-performance ratio

= High compatibility for easy
retrofits

= Suitable for a variety of
applications thanks to great
flexibility

14//74

(E)

MPE Series

The MPE series offers a cost-effective solution for applications
that require medium levels of positioning accuracy. It offers high
flexibility in terms of sizes, ratios and mounting configurations
for a variety of applications requirements. The output design in
line with market standards ensures great compatibility for easy
retrofits and a high level of freedom in projects development.

Main features Main options
= Nominal output torque (Nm) = Input versions
5-155
. k4 kP
= Torsional backlash (arcmin) motor | soupmeur | VaohdeT
ADAPTER SHAFT ADAPTER
5-19
. ) ) = Qutput shafts versions
= Torsional stiffness (Nm/arcmin)
Boss-» I] | I] |
SMOOTH
= Max tilting moment (Nm) SHCES SHAFT
5=

= Lubrication

UH1 _n.,
| & | o
Protection class

STANDARD | FOOD GRADE

° |P54 LUBRICATION | LUBRICATION
Frame sizes

- 040

. 060

<080

201



14//4

12 FEATURES OF MPE SERIES

The MPE Series satisfies a wide range of applications requirements thanks to its high flexibility in terms of sizes, ratios and mounting
configurations.

Its proportioned design allows quiet running and provides a long service life without maintenance requirements.

Motor mounting is an operation that can be easily conducted without the need of any particular tooling, other than that usually available
in a normally equipped workshop.

® Available with either standard (STD) or reduced (LOW) backlash*:
1-stage units: standard ¢S <10’; reduced ¢R <5
2-stage units: standard ¢S <12’; reduced ¢R <7
® Input section oil seals made from a Fluoroelastomer compound are supplied as standard*.
* Noise pressure level LP < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n; = 3000 min‘; i=10.
® Units are factory packed with synthetic grease to NLGI consistency class 00*, in the absence of contamination the lubricant requires

no periodical changes.
* Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.

® Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque Mn2 [Nm]

[ 3| 4|5, 7|9 10|12 |15|16 |20 | 25|28 30|35 40|50 | 70 |100
MPE 040| 12 | 12 | 12| 8 | 12| 5 |12 |12 |12 |12 | 12|12 |12 |12 |12 |12 | 8 | 5
MPEO060| 29| 30| 25|25/ 29|18 |29 |29 30|30 |30|30|29|30|30 30|30 18
MPE 080| 65| 60 | 50 | 50 | 65| 40 | 65 | 65 | 60 | 60 | 50 | 50 | 65 | 50 | 60 | 50 | 50 | 40
MPE 120| 155| 155| 125| 125| 155| 100 | 155 | 155 | 155 | 155 | 125 | 125 | 155 | 125| 155 | 125 | 125 | 100

Output shaft max. loading capacity Available motor shaft bores
IN]
5000
MPE 120
4000
MPE 080
3000
2500
2000 2000 MPE 060
1200
1000 900
460 _600 MPE 040
220 300
MPE 040 MPE 060 MPE 080 MPE 120 ‘ 678 9i01112 14 1617 19 2 s 2 B

5635 952 127 15875 19.05 o [mm]

DRZmax -A2max

* not available for size 040

202



14//74

12.1 ORDERING CODE

MPE 080 1 3 STD 80A1 CD 19 KE UH1

L LUBRICANT
— standard
UH1 food grade synthetic lubricant

— OUTPUT SHAFT CONFIGURATION
KL smooth keyless shaft
KE keyed shaft

— INPUT SHAFT BORE
5..32 (@1S)

— MOTOR COUPLING
CD clamping device (@ IS)

— SERIES
MPE

— REDUCTIONS
1 2

— FRAME SIZE

040 060 080 120

— INPUT SECTION
22AH ... 130A1 motor adapter
IS solid input shaft ( @ MPE 040)
FM without motor adapter
— BACKLASH
1 reduction |2 reductions | 1reduction |2 reductions
(MPE 040 only) | (MPE 040 only)
STD ds <15 Os <19 Os < 10 ds <12
LOW — — dr<5 Ors7
— GEAR RATIO

203



'y//4

12.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

MPE 040

22AH ... 50CO0

39 (MPE 040 1)

N5 52 (MPE 040 2) " 26 -
M 4X7 (4x) N3
2
el
| 18 25
y |
NS &
AR o 2 LT A FE
&)/’/ B s =28 = o 8
_ IS / ;
|
N2
234
@ N1
MPE0401| 05
MPE 0402 0.8
D+ N N1 N2 N3 N4 N5 Lmax
22AH 5 635 - - - 22 43.84 42 6 3.5 20 22
30A0 - - 8 9 - 30 46 50 4 M4x12 27 26
30B0 - - 8 9 - 30 45 50 4 M3x8 27 26
36A 5 635 - - - 36 57.98 60 10 M4x12 30 32
38B 5 635 - - - 38.1 66.66 60 10 M4x12 25 26
40B - - 8 9 11 40 63 60 4 M4x12 27 26
50C0 - - 8 9 11 50 70 60 4 M4x12 27 26

Please contact us for other motor adapters and input shaft bore.

204




iz

MPE 040
ol TH

|
Eh -
+3 of
fL =
FM :E
Q 8§
| o |
N .
I
L3,
L2
L1
D[ {£ D1 D2 D3 D4 L1 L2 L3 L4 L5 L6
5) 6.35 - - - 22 36 M3x5 M5 155 11.2 10 6.25 - 4
- - 8 9 - 32 36 M3x5 M4 21.5 21 10 15.85 9 4
- - - - 11 36 36 M3x5 M4 21.5 21 10 16.25 11 4

NS
\mi Mn 2 ds Ci Romax A2 max

I Nm] Nm] [Nm] [arcmin] N] N]

arcmin [
MPE 040 1 _3

MPE 040 1_4

MPE 040 1_5

MPE 040 1_7

MPE 040 1_10

MPE 040 2_9

MPE 040 2_12
MPE 040 2_15
MPE 040 2_16

MPE 040 2_20

MPE 040 2_25

MPE 040 2_28

MPE 040 2_35

‘ MPE 040 2_30

MPE 040 2_40

MPE 040 2_50

‘ MPE 040 2_70
‘ MPE 040 2_100

205



'4//4

MPE 060

25AH ... 80A

M5 (4x)

N5

56.8 (MPE 060 1)
73.5 (MPE 060 2)

35

30

25

@ N1

o N2

-
& /;.‘T% . }{/
H == 1 g ©)
/4: \ o "g\ D 8 - 5 g
ommpELs SERIN = o (e
g 1A > ke
s P [tz* B
By
‘\———_
252 N4
MPE 0601 | 12
2 et 060 MPE 0602 | 17
25 79 (MPE 060 2) 35
325 25 3.
30 4 h9,
25 25 M4
14 = _-—
—| ENE B
] - f*ﬂ ol e =1 1 i T
e S =41 |8 /8 .
= 9 =3 g=F =
ol =
4.5
@ 40
D *@\? N N1 N2 | N3 N4 N5 | Lmax
min max
25AH | 6 635 7 8 9 952 - - — — —| 25 | 39 | 56
6AH | 6 635 7 8 9 95 - - - - —| 2 | 39 | 56
28AH | 6 635 7 8 9 95 - - - - _—| 28 | 39 | 56
30AH |6 63 7 8 9 952 - - - - _—| 3 | 39 | 56
32AH |6 63 7 8 9 952 - - - - _| 32| 3 | 5 | 65 35 45 25 | 25
3AH |6 635 7 8 9 95 - - - — _ | 34 | 40 | 56
3AH |6 63 7 8 9 952 - - - - _| 3 | 4 | 56
30AH |6 63 7 8 9 95 - - - - _| 39 | 45 | 56
40AH |6 635 7 8 9 952 - - — - _| a0 | 46 | 56
388 6 635 7 8 9 952 10 11 12 127 - | 381 66.6 60 | 3 | M4x10 | 18 | 25
40B 6 635 7 8 9 952 10 11 12 127 - | 40 63 60 | 3 | M4x10 | 18 | 25
50A 6 635 7 8 9 952 10 11 12 127 - | 50 60 60 | 3 | M4x10 | 18 | 25
50B 6 635 7 8 9 952 10 11 12 127 14| 50 65 60 | 3 | M5x12 | 23 | 30
50BH | 6 635 7 8 9 952 10 11 12 127 14| 50 65 65 | 3 55 5 | 32
50C 6 635 7 8 9 952 10 11 12 127 14| 50 70 60 | 3 | M4x10 | 23 | 30
55MH | 6 635 7 8 9 952 10 11 12 127 - | 55 80 65 | 2 55 16 | 23
60A 6 635 7 8 9 952 10 11 12 127 - | 60 75 65 | 3 | M5x12 | 18 | 25
60AH | 6 635 7 8 9 952 10 11 12 127 - | 60 75 65 | 3 55 18 | 25
60AL 6 635 7 8 9 952 10 11 12 127 14| 60 75 65 | 3 | Msx12 | 23 | 30
G0AH1 | 6 635 7 8 9 952 10 11 12 127 14| 60 75 65 | 3 55 23 | 30
60B 6 635 7 8 9 952 10 11 12 127 14| 60 85 75 | 3 | MBx12 | 23 | 30
60C 6 635 7 8 9 952 10 11 12 127 14| 60 ) 75 | 3 | MBx12 | 23 | 30
70A 6 635 7 8 9 952 10 11 12 127 14| 70 85 75 | 3 | Mexts | 23 | 30
70B 6 635 7 8 9 952 10 11 12 127 14| 70 ) 75 | 3 | M5x12 | 23 | 30
73A 6 635 7 8 9 952 10 11 12 127 14| 73 98.4 85 | 3 | MBx12 | 25 | 32
80A 6 635 7 8 9 952 10 11 12 127 14| 80 100 85 | 3 | Mexi5 | 23 | 30

Please contact us for other motor adapters and input shaft bore.

206




Y/ 4

MPE 060

) E
FM g 1l 8 4 e
S S
Inf
[a]
Q|
L2 |
L1
D ({9 D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 325 50 425 | M4xs M4 21.7 13.2 3 8.2 8
8 9 9.52 10 325 50 425 | M4x8 M4 21.7 13.2 3 8.2 9
11 12 12.7 355 50 425 | M4x8 M4 22 135 3 85 11
14 355 50 425 | M4x8 M4 25 17 3 10.2 11.5

P:
’{”\m i Mn2  Maz2 Mp2 ni (I)s (I)R Ci Rimax R2max |A2max Jo [kgem?]

i INm] [Nm]  [Nm]  [rpm] [arcmin] [arcmin] ZNT— N N N]

MPE 060 1_3

MPE 060 1_4

MPE 060 1 5

MPE 060 1_7

MPE 060 1_10

MPE 060 2_9

MPE 060 2_12

MPE 060 2_15

MPE 060 2_16

MPE 060 2_20

MPE 060 2_25

MPE 060 2_28

MPE 060 2_30

MPE 060 2_35

MPE 060 2_40

MPE 060 2_50

MPE 060 2_70

MPE 060 2_100

207



'q//4

MPE 080

40B1 ... 110B1

6h9

74.9 (MPE 080 1)
99.5 (MPE 080 2)

N5 40

M6 (@0 36
28 4
§ 5
: s
< E == | | At | 5 B
N N 9 T g 9
g
5 sl 3
S| X4 s
4
| 10.5
270
MPE 080 1 35
I S MPE 080 2 4.2
96.7 (MPE 080 1)
43 121 (MPE 080 2) 40
6 4 3
i I 5o
36
. |
20 _ ; X .
| WJ s # @’E\\
A = 8 S ‘/ff@\\\
s 8 _ 1 | Se QJ
&l © ¢
7 U
@70 15 105 2 65
40B1 8 9 952 11 12 127 14 - - - = - 40 63 80 4 M4x12 34 40
45A 8 9 952 11 12 127 - - - - = - 45 63 80 4 M4x12 34 40
50B1 8 9 952 11 12 127 14 - - - = - 50 65 80 4 M5x16 34 40
50BH1 8 9 952 11 12 127 14 - - - = - 50 65 80 4 55 34 40
50C1 8 9 952 11 12 127 14 - - - = - 50 70 80 4 M4x10 34 40
50D 8 9 952 11 12 127 14 - - - - - 50 95 80 4 M6x20 34 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 55.5 | 125.7| 105 4 M6x20 34 40
60A2 8 9 952 11 12 127 14 - - - - - 60 75 80 4 M5x16 34 40
60AH2 8 9 952 11 12 127 14 - - - = - 60 75 90 4 6.5 34 40
60B1 8 9 952 11 12 127 14 15875 16 - — - 60 85 80 4 M5x16 34 40
60C1 8 9 952 11 12 127 14 15875 16 - — - 60 90 80 4 M5x16 34 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 80 4 M6x20 34 40
70AH1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 90 4 6.5 34 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 90 80 4 M5x16 34 40
73A1 8 9 952 11 12 127 14 — - - - - 73 98.4 85 4 M5x16 34 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 100 90 4 M6x16 34 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 115 100 4 M8x20 34 40
95B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 130 | 115 4 M8x20 34 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 130 | 115 4 M8x20 34 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 145 | 120 6.5 M8x20 44 50
110B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 145 | 120 6.5 M8x20 54 60

Please contact us for other motor adapters and input shaft bore.

208




1Y//4

MPE 080

L3

L4 @ D3
4 D5
] O
FM =i - 3 Lf? I N N | A
Q| Q
[T
0
8
U .
L1
D H% D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
8 9 9.52 38 68 76.5 M6x10 M6 34 26.8 9.5 18.8 10.5
11 12 12.7 43 68 76.5 M6x10 M6 34 26.8 9.5 18.8 125
14 15.875 16 17 48 68 76.5 M6x10 M6 34 26.8 9.5 18.8 145
19 19.05 51 68 76.5 M6x10 M6 34 26.8 9.5 18.8 16.5

[
MPE 080 1_3
MPE 080 1 4
MPE 080 1_5
MPE 080 1_7
MPE 080 1_10
MPE 080 2_9
MPE 080 2_12
MPE 080 2_15

MPE 080 2_16

MPE 080 2_20

MPE 080 2_25
MPE 080 2_28
MPE 080 2_30
MPE 080 2_35
MPE 080 2_40
MPE 080 2_50
MPE 080 2_70

MPE 080 2_100

Mn 2 Ma 2

[(Nm]  [Nm]

: .7 Nm ~
[arcmin] [arcmin] Zomin NI

s

(O

Ct

R1 max

R2max A2 max

(N]

(N]

Jg [kgem?]

—_

8..12.7 14..19.05

209



'4//4

MPE 120

50D ... 130A1

M10 (ax 120.5 (MPE 120 1)
o N5 135 (MPE 120 2) 55 o N2

4L

DN

@80 ht

kﬁgj
£ o
il
%)
722
&/}
_

1}
1z
K%\\ \\
_DBDF7
NN B
M10><25<
@ 25h7
z/
108
—

. T
AL N4 &
MPE1201| 5
S MPE 1202| 75
e =
L ! ‘ 50 M8
: -
- | 15 = HEE
of o o 1S /
g 2 g ! ";F? 7 58 %
7 5 /
@ 100 12 16
D H% N | NL| N2 | N3 | N4 | N5 | Lmax
50D 11 12 127 14 15 15875 16 19 - - — — | 50 | 95 | 100 | 5 | Méxl4 | 28 | 40
55A 11 12 127 14 15 15875 16 19 - - — — | 55 |1257| 105 | 5 | M6x16 | 28 | 40
60A2 |11 12 127 14 15 15875 16 19 - - - — | 60 | 75 | 100 | 65 | M5x14 | 28 | 40
60AH2 | 11 12 127 14 15 15875 16 19 - - - — | 60 | 75 | 100 | 4 6.5 33 | 40
60B1 |11 12 127 14 15 15875 16 19 - - - — | 60 | 8 | 100 | 65 | M5x14 | 28 | 40
70A1 |11 12 127 14 15 15875 16 19 - - - — | 70 | 8 | 100 | 65 | Méxl4 | 28 | 40
70AH1 | 11 12 127 14 15 15875 16 19 - - - — | 70 | 8 | 100 | 4 6.5 33 | 40
70B1 |11 12 127 14 15 15875 16 19 - - - — | 70 | 90 | 100 | 65 | M5x12 | 28 | 40
80A1 |11 12 127 14 15 15875 16 19 - - — — | 80 | 100 | 100 | 65 | Mé6x16 | 28 | 40
80AH1 | 11 12 127 14 15 15875 16 19 - - - — | 80 | 100 | 100 | 4 6.5 33 | 40
95A 1 12 127 14 15 15875 16 19 - - — — | 95 | 115 100 | 65 | M8x18 | 28 | 40
95A1 |11 12 127 14 15 15875 16 19 22 24 - — | 95 | 115 | 100 | 65 | M8x18 | 38 | 50
95B 1 12 127 14 15 15875 16 19 - - — — | 95 | 130 | 115 | 65 | M8x18 | 28 | 40
110A |11 12 127 14 15 15875 16 19 - - — — | 110 | 130 | 115 | 65 | M8x18 | 28 | 40
110A1 |11 12 127 14 15 15875 16 19 22 24 — — | 110 | 130 | 115 | 65 | M8x20 | 38 | 50
110B 11 12 127 14 15 15875 16 19 22 24 - — | 110 | 145 | 120 | 65 | M8x20 | 38 | 50
110B1 |11 12 127 14 15 15875 16 19 22 24 28 — | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
130A |11 12 127 14 15 15875 16 19 22 24 - — | 130 | 165 | 140 | 65 | M10x20 | 38 | 50
130A1 |11 12 127 14 15 15875 16 19 22 24 28 32| 130 | 165 | 140 | 65 | M10x25| 48 | 60

Please contact us for other motor adapters and input shaft bore.

210



iz

MPE 120

L3 L4

D5

- | —

| R
FM B | Nﬁ

3 e 7
Q
g - Q%
h &\ o /
a
Q a
—
60
R D4 (4x)
L1
D H D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 12 12.7 43 90 98 M6x15 M6 335 20 7.6 12 12.5
14 15 15.875 16 48 90 98 M6x15 M6 335 20 7.6 125 145
19 51 90 98 M6x15 M6 335 23 7.6 125 16.5
22 24 56.5 90 98 M6x15 M6 36.5 23 7.6 14 19
28 67 90 98 M6x15 M8 36.5 23 7.6 14 225
32 71 90 98 M6x15 M8 38 24.5 7.6 155 24.5

N
\\ﬁi Ma2 Mp2 NiNn N1max (I)s ¢R Ci R1max R2max A2 max M Je [kgc_mz]
"Q) ) {‘.&
: " Nm = il
' [Nm] [Nm] [rpm] [rpm] [arcmin][arcmin] zremin [N]  [N] [N] % 11..127 14..19 22,24 28; 32
MPE 120 1_3

MPE 1201 4

MPE 1201 5

MPE 120 1_7

MPE 120 1_10

MPE 120 2_9

MPE 120 2_12

MPE 120 2_15

MPE 120 2_16

MPE 120 2_20

MPE 120 2 25

MPE 120 2_28

MPE 120 2_30

MPE 120 2_35

MPE 120 2_40

MPE 120 2_50

MPE 120 2_70

MPE 120 2_100 e}

211



14//4

Effective Line

212

Main benefits

= Great price-performance ratio

= High compatibility for easy
retrofits

= Suitable for a variety of
applications thanks to great
flexibility

= Compact design for space-saving
layouts

(E)

MPEK Series

The MPEK series offers medium levels of performance and
position accuracy at a competitive value-price ratio. The output
design in line with market standards ensures great compatibility
for easy retrofits and a high level of freedom in projects
development. Its right angle-design allows more compactness for
space-saving layouts.

Main features Main options
= Nominal output torque (Nm) = Input versions
— k| CF
= Torsional backlash (arcmin) MOTOR WiTHOUT
ADAPTER ADAPTER
7-14
) ) ) = Qutput shafts versions
= Torsional stiffness (Nm/arcmin)
s I] | I] |
SMOOTH
= Max tilting moment (Nm) “SharT SHAFT
59120

 Lubrication

UH1 _n.,
. e | o
Protection class
STANDARD FOOD GRADE

* |P54 LUBRICATION | LUBRICATION

Frame sizes
. 060

- 080

-(07) 120



13

FEATURES OF MPEK SERIES

14//4

The right-angle configuration of the MPEK Series is particularly suitable for compact, space-saving layouts. Its proportioned design allows
quiet running and provides a long service life without maintenance requirements.
Motor mounting is an operation that can be easily conducted without the need of any particular tooling, other than that usually available in
a normally equipped workshop.

® Available with either standard (STD) or reduced (LOW) backlash:
2-stage units: standard ¢s <12’; reduced ¢R <7

3-stage units: standard (I)s <14’; reduced (I)R <9
® Its degree of protection IP54 provides protection against dust and liquid splashes.

® Input section oil seals made from a Fluoroelastomer compound are supplied as standard*.
® Noise pressure level LP < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n; = 3000 min‘*; i=10.

® Units are factory packed with synthetic grease to NLGI consistency class 00, in the absence of contamination the lubricant requires
no periodical changes.
e Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.

® Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque Mn2 [Nm]
\ il 3 5 7 9 10|12 | 15|16 | 20| 25| 8 |30 | 35 | 40 | 50 | 70 | 100
MPEKO060 | 29 |30 | 25| 25|29 |18 | 29 |29 |30 |30|30 30|29 |30 |3 )|30 3|18
MPEK 080 | 40 | 50 | 50 | 50 | 65 | 40 | 65 | 65| 60 | 60 | 50 | 50 | 65 | 50 | 60 | 50 | 50 | 40
MPEK 120 | 80 |105| 130|125 | 155|100 | 155| 155|155 | 155 | 125| 125|155 | 125 | 155 | 125 | 125 | 100
Output shaft max. loading capacity Available motor shaft bores
IN] .
5000
MPEK 120 1]
4000
3000
week oo [N
2000 2000
1200 |
1000 900
460 090 MPEK 060
. |
MPEK 060 MPEK 080 MPEK 120 67 89001112 14150617 19 2 28 &Y
635 952 127 15875 1905
@ [mm]
[ Ra max B A2 max

* not available for size 060

213



14//4

13.1 ORDERING CODE

MPEK 080

214

— SERIES
MPEK

2 3 STD 80A1 CD 19 KE UH1
L LUBRICANT
— standard
UH1 food grade synthetic lubricant
— OUTPUT SHAFT CONFIGURATION
KL smooth keyless shaft
KE keyed shaft
— INPUT SHAFT BORE
6..32
— MOTOR COUPLING
CD clamping device
— INPUT SECTION
25AH ... 130A1 motor adapter
FM without motor adapter
— BACKLASH
2 reductions | 3 reductions
STD ds <12 Os < 14
LOW Pr<7 Pr=9
— GEAR RATIO
'— REDUCTIONS
213
— FRAME SIZE
060 080 120



13.2 DIMENSIONS AND TECHNICAL SPECIFICATIONS

MPEK 060

25AH ... 80A

M5 (4x)

1
)

N3

N5

25

14//4

e ¥
a7 ) :
N - ol e = 3
\ SN {f s = S s
) 2
52 2 é
84.3 (MPEK 060 2)
275 101.1 (MPEK 060 3)
on MPEK 0602 | 1.7
| — MPEK 0603 | 2.2
e
@A)
_ M Bis N
e\ T/ il :
J\ © /
© /EQ
—
| N4
o+ N N1 N2 | N3 N4 N5 | Lmax
min max
25AH | 6 635 7 8 9 952 - - — - _— | 25 | 39 | 56
26AH | 6 635 7 8 9 95 - - - - _—| 26 | 39 | 56
286AH | 6 635 7 8 9 952 - - - - | 28 | 39 | 56
30AH | 6 635 7 8 9 95 - - - - _—| 3 | 3 | 56
32AH | 6 635 7 8 9 95 - - - - —| 32 | 3 |5 | 6 | 35 45 25 | 25
3AH | 6 635 7 8 9 952 - - - - — | 34 | 40 | 56
3BAH | 6 635 7 8 9 95 - - - - _| 3 | 4 | s
39AH | 6 63 7 8 9 95 - - - - - | 3 | 4 | 56
40AH | 6 635 7 8 9 95 - - - - _| a4 | 4 | 56
388 6 635 7 8 9 952 10 11 12 127 - | 381 66.6 60 | 3 | M4x10 | 18 | 25
40B 6 635 7 8 9 952 10 11 12 127 - | 40 63 60 | 3 | M4x10 | 18 | 25
50A 6 635 7 8 9 952 10 11 12 127 - | 50 60 60 | 3 | M4x10 @ 18 | 25
508 6 635 7 8 9 952 10 11 12 127 14| 50 65 60 | 3 | M5x12 | 23 | 30
50BH | 6 635 7 8 9 952 10 11 12 127 14| 50 65 65 | 3 55 25 | 32
50C 6 635 7 8 9 952 10 11 12 127 14| 50 70 60 | 3 | M4x10 | 23 | 30
55MH | 6 635 7 8 9 952 10 11 12 127 - | 55 80 65 | 2 55 16 | 23
60A 6 635 7 8 9 952 10 11 12 127 - | 60 75 65 | 3 | Msx12 | 18 | 25
60AL 6 635 7 8 9 952 10 11 12 127 14| 60 75 65 | 3 | M5x12 | 23 | 30
60B 6 635 7 8 9 952 10 11 12 127 14| 60 85 75 | 3 | Msx12 | 23 | 30
60C 6 635 7 8 9 952 10 11 12 127 14| 60 ) 75 | 3 | Msx12 | 23 | 30
70A 6 635 7 8 9 952 10 11 12 127 14| 70 85 75 | 3 | mMex15 | 23 | 30
70B 6 635 7 8 9 952 10 11 12 127 14| 70 9 75 | 3 | M5x12 | 23 | 30
73A 6 635 7 8 9 952 10 11 12 127 14| 73 98.4 8 | 3 | Msx12 | 25 | 32
80A 6 635 7 8 9 952 10 11 12 127 14| 80 100 8 | 3 | M6x15 | 23 | 30

215



Y74

MPEK 060

@ D1

@D

o = —
~ ] JL4I
D] {£ D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
6 6.35 7 32.5 50 42.5 M4x8 M4 21.7 13.2 3 8.2 8
8 9 9.52 10 325 50 42.5 M4x8 M4 21.7 13.2 3 8.2 9
11 12 12.7 355 50 42.5 M4x8 M4 22 13.5 3 8.5 11
14 35.5 50 42.5 M4x8 M4 25 17 3 10.2 115

=

D ‘\ I" Ma2 Mp 2 N1 (I)s (I)R Ci Rimax R2max A2max NJe [kgcmZ]

i Nm N N N 6..10 11..

[Nm] | [Nm] [rpm] [arcmin] [arcmin] S omin

MPEK 060 2_3

MPEK 060 2_4

MPEK 060 2_5

MPEK 060 2_7

MPEK 060 2_10

MPEK 060 3_9

MPEK 060 3_12

MPEK 060 3_15

MPEK 060 3_16

MPEK 060 3_20

MPEK 060 3_25

MPEK 060 3_28

MPEK 060 3_30

MPEK 060 3_35

MPEK 060 3_40

MPEK 060 3_50

MPEK 060 3_70

MPEK 060 3_100

Please contact us for other motor adapters and input shaft bore.

216



14//4

MPEK 080

40B1 ...

110B1

M6 (4%)

N3

N

@ DFr

il

*7 1 T w0
L 36
28
1.4
' aE 8 = -
. S S o
5 i E
= y ]
@70 4
135 (MPEK 080 2) 105 &
38.25 159.2 (MPEK 080 3)
@ N1 MPEK 080 2 4.7
o N2 MPEK 080 3 54
/l =
\ /
\ @ ,
N © }{ I —
—
N4
RG] N | NL | N2 | N3 N4 N5 | Limax
)
40B1 8 9 952 11 12 127 14 - - - - - 40 63 80 4 M4x12 34 40
45A 8 9 952 11 12 127 - - - - - - 45 63 80 4 M4x12 34 40
50B1 8 9 952 11 12 127 14 - - - - - 50 65 80 4 M5x16 34 40
50BH1 8 9 952 11 12 127 14 - - - - - 50 65 80 4 55 34 40
50C1 8 9 952 11 12 127 14 - - - - - 50 70 80 4 M4x10 34 40
50D 8 9 952 11 12 127 14 - - - - - 50 95 80 4 M6x20 34 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 | 125.7| 105 4 M6x20 34 40
60A2 8 9 952 11 12 127 14 - - - - - 60 75 80 4 M5x16 34 40
60AH2 8 9 952 11 12 127 14 — — — — - 60 75 90 4 6.5 34 40
60B1 8 9 952 11 12 127 14 15875 16 - - - 60 85 80 4 M5x16 34 40
60C1 8 9 952 11 12 127 14 15875 16 - — - 60 90 80 4 M5x16 34 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 80 4 M6x20 34 40
70AH1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 90 4 6.5 34 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 90 80 4 M5x16 34 40
73A1 8 9 952 11 12 127 14 - - - - - 73 98.4 85 4 M5x16 34 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 100 90 4 M6x16 34 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 115 100 4 M8x20 34 40
95B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 130 115 4 M8x20 34 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 130 115 4 M8x20 34 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 145 120 6.5 M8x20 44 50
110B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 145 120 6.5 M8x20 54 60

217



Lz

MPEK 080

@ D1

L3

FM

@ D3

L1
L2
L4
&

D4
D «_{% D1 D2 D3 D4 D5 L1 L2 L3 L4 L5

8 9 9.52 38 68 76.5 M6x10 M6 34 26.8 9.5 18.8 10.5

11 12 12.7 43 68 76.5 M6x10 M6 34 26.8 9.5 18.8 12.5

14 15.875 16 17 48 68 76.5 M6x10 M6 34 26.8 9.5 18.8 145

19 19.05 51 68 76.5 M6x10 M6 34 26.8 9.5 18.8 16.5

Ma2 Mp 2 ni (I)s ¢R (o Rimax R2max Azmax| M J(=5 [kgcmz]
15
Kl :

[Nm] | [Nm] [arcmin] [arcmin] arornin [N] [N] [N] 8..12.7 14..19.05

MPEK 080 2_3

MPEK 080 2_4

MPEK 080 2_5

MPEK 080 2_7

MPEK 080 2_10

MPEK 080 3 9
MPEK 080 3_12

MPEK 080 3_15

MPEK 080 3_16

MPEK 080 3_20

MPEK 080 3_25

MPEK 080 3_28

MPEK 080 3_30

MPEK 080 3_35

MPEK 080 3_40

MPEK 080 3_50

MPEK 080 3_70

MPEK 080 3_100

Please contact us for other motor adapters and input shaft bore.

218



e

MPEK 120
W I

50D ... 130A1

M10 @) @ DFr
8 hg

N3

950
N
mnn =

2

62.75

fon

7
N/

W
[
&
575
53
Y
M:‘I.0x25
D 25 7 ‘

235

@80 n7

————
A
—

28
@ (115

P
—

@ 100

16

165.3 (MPEK 120 2)

49 196 (MPEK 120 3) E
D N1
oN2 MPEK 120 2 7
T MPEK 120 3 9.5

=
p?

N4 T

D {{% N | NL| N2 | N3 | N4 | N5 | Liax
500 |11 12 127 14 15 15875 16 19 - - - - [ 50 | 95 | 100 | 5 | M6x14 | 28 | 40
55A |11 12 127 14 15 15875 16 19 - - - - | 55 |1257 105 | 5 | M6x16 | 28 | 40
60A2 |11 12 127 14 15 15875 16 19 - - - - | 60 | 75 | 100 | 65 | M5x14 | 28 | 40
60AH2 | 11 12 127 14 15 15875 16 19 - - - - | 60 | 75 | 100 | 4 65 | 33 | 40
60B1 |11 12 127 14 15 15875 16 19 - - - - | 60 | 8 | 100 | 65 | M5x14 | 28 | 40
70A1 |11 12 127 14 15 15875 16 19 - - - - | 70 | 8 | 100 | 65 | M6xl4 | 28 | 40
70AH1 | 11 12 127 14 15 15875 16 19 - - - - | 70 | 8 | 100 | 4 65 | 33 | 40
70B1 |11 12 127 14 15 15875 16 19 - - - - [ 70 | 90 | 100 | 65 | M5x12 | 28 | 40
80A1 |11 12 127 14 15 15875 16 19 - - - - | 8 | 100 | 100 | 65 | M6x16 | 28 | 40
80AH1 | 11 12 127 14 15 15875 16 19 - - - - | 80 | 100 100 | 4 65 | 33 | 40
95A |11 12 127 14 15 15875 16 19 - - - - | 95 | 115 | 100 | 65 | M8x18 | 28 | 40
95A1 |11 12 127 14 15 15875 16 19 22 24 - - | 95 | 115 100 | 65 | M8x18 = 38 | 50
958 |11 12 127 14 15 15875 16 19 - - - - | 95 | 130 | 115 | 65 | M8x18 | 28 | 40
110A |11 12 127 14 15 15875 16 19 - - - - | 110 | 130 115 | 65 | M8x18 = 28 | 40
110A1 |11 12 127 14 15 15875 16 19 22 24 - - | 110 | 130 | 115 | 65 | M8x20 | 38 | 50
1108 |11 12 127 14 15 15875 16 19 22 24 - - | 110 | 145 120 | 65 | M8x20 = 38 | 50
110B1 |11 12 127 14 15 15875 16 19 22 24 28 - | 110 | 145 | 120 | 65 | M8x20 | 48 | 60
130A |11 12 127 14 15 15875 16 19 22 24 - - | 130 | 165 140 | 65 | M1Ox20 38 | 50
130A1 |11 12 127 14 15 15875 16 19 22 24 28 32| 130 | 165 | 140 | 65 | MIOX25 | 48 | 60

219



4/ 4

MPEK 120

@ D1

DDm

FM Ii] %[‘T— gﬁ @ D3

L1

L4

D4

D] %5- D1 D2 D3 D4 D5 L1 L2 L3 L4 L5
11 12 12.7 43 90 98 M6x15 | M6 335 20 7.6 12 12.5
14 15 15875 16 48 90 98 M6x15 | M6 335 20 7.6 125 14.5
19 51 90 98 M6x15 | M6 335 23 7.6 12.5 16.5
22 24 56.5 90 98 M6x15 | M6 36.5 23 7.6 14 19
28 67 90 98 M6x15 | M8 36.5 23 7.6 14 225
32 71 90 08 M6x15 | M8 38 24.5 76 155 245

Nm - S
[Nl IN] [N] 11..12.7/14 .19 22; 24 28; 32

N %" Mn2 Ma2 Mp 2 NiN N1max (I)s (I)R Ct  Rimax R2max A2 max Je [kgcmz]
i

[Nm] [Nm] [Nm]|[rpm] [rpm] [[arcmin] [arcmin] i

MPEK 090 2_3

MPEK 120 2_4

MPEK 120 2_5

MPEK 120 2_7

MPEK 120 2_10

MPEK 120 3 9
MPEK 120 3 12

MPEK 120 3_15

MPEK 120 3_16

MPEK 120 3 20

MPEK 120 3 25

MPEK 120 3 28

MPEK 120 3_30

MPEK 120 3_35

MPEK 120 3_40

MPEK 120 3_50

MPEK 120 3_70

MPEK 120 3_100

Please contact us for other motor adapters and input shaft bore.

220



Effective Line

Main benefits

= Space saving solution

= Optimized backlash

= Wide variety of configurations
= Optional reinforced bearings

KR Series

Main features
= Nominal output torque (Nm)

l:
= Torsional backlash (arcmin)

|s

= Torsional stiffness (Nm/arcmin)
Jo2n

Protection class
* P65

Frame sizes

- 010

-1 020
-l 030
< 040

Main options
= Input versions

[P dF

WITHOUT
MOTOR MOTOR
ADAPTER ADAPTER

= Qutput shafts versions

=1 =]

SOLID SHAFT HOLLOW

(single and SHAFT
double) (with shrink disk)
= Service type
C |
S1 S5

= Bearings versions

STANDARD | REINFORCED

14//4

(E)

The KR flexible series represents an alternative for applications
that require space-saving and medium precision levels. It is
available in multiple configurations such as solid/hollow shatft,
single/double shaft extension, shrink disk version or flange option.

221



1474

14 FEATURES OF KR SERIES

Bevel helical units type KR, manufactured under the most stringent quality specifications, are designed for dynamic and accurate appli-
cations where light weight and space effectiveness are a factor.
Many options can be selected from the catalogue as far as motor adapters and output shaft configurations that facilitate the installation
on the driven equipment.

loading conditions

periodical changes.

Degree of protection IP65

Oil seals from fluoroelastomer compound as standard
Noise pressure level Lp < 70 dB(A). Conditions: distance 1 m; measured without load an input speed of n; = 3000 mint

Available in one only backlash option (9s < 8)
Single reduction: ratiosi=1, 2,5
Radial ball bearings (SB) are of standard supply, while taper roller bearings (HB) can be optionally specified for particularly demanding

Lubrication optmized for the type of duty specified when ordering, in the absence of contamination the lubricant requires no

duty

KR 010 ... KR 040

S1 (continuous)

Synthetic oil viscosity ISO VG 220

S5 (intermittent)

NLGI grease consistency 00

* Ambient temperature min -20°C, max +30°C. For temperature higher than 30°C please consider derating factor fr.
® Housing temperature must not exceed Tmax = 90°C.

Distribution of nominal torque Mn2 [Nm]
[il 1 2 5
KR 010 10 7 3
KR 020 24 15 10
KR 030 55 37 22
KR 040 120 85 45

222

KR 040

KR 030

KR 020

KR 010

Available motor shaft bores

6.35 9.52

12.7

67 8 9101112 14150617

15.875

19

19.05

24 28
@ [mm]




'y//4

14.1 VERSIONS

Solid shaft

LP

LD LDF

LPF
! % .

single extension single extension + flange double extension double extension + flange
Hollow shaft
H HF
Qj < a:a
keyed keyed shaft + flange with shrink disc with shrink disc + flange
(KR 030...KR 040) (KR 030...KR 040)

14.2 MOUNTING POSITIONS

14.3 COORDINATED SHAFT ROTATION

223



1474

14.4 ORDERING CODE

KR

224

030 1 STD LP 60A CD 14 S1 U SB UH1

010 020 030 040

SERIES
KR

LUBRICANT
— standard

UH1 food grade synthetic lubricant

— OUTPUT SHAFT BEARINGS
SB standard

HB reinforced (KR 020 ... KR 040)

— MOUNTING POSITION
U VA

— DUTY
S1 continuous duty
S5 intermittent duty

— INPUT SHAFT BORE
6..28

— MOTOR COUPLING

CD clamping device

— INPUT SECTION

25AH ... 180A1 motor adapter

FM without motor adapter

— VERSION

Solid shaft: LP LPF LD LDF

Hollow shaft: H (KR030..KR040) HF (KR030..KRO040) S SF

— BACKLASH

STD (s<8

— GEAR RATIO
1 2 5
— FRAME SIZE



Lz

14.5 TECHNICAL SPECIFICATIONS

KR 010 KR 020

Mn2 | Ma2 | Mp2 Ct N1 | N1max (I)S n Mn2 | Ma2 | Mp2 Ct N1 | N1max d)s n
[Nm] | [Nm] | [Nm] 6%1 [min-1]| [min-1]| [arcmin]| % [Nm] | [Nm] | [Nm] a%‘ [min-1] | [min-1] | [arcmin]| %
i=1 10 | 14 | 20 0.5 | 2000 | 4000 i=1 | 24 | 35 | 50 1.4 | 2000 | 4000
i=2 7 10 | 15 0.4 | 2500 | 5000 8 97 i=2 15 | 21 | 30 1.1 | 2500 | 5000 8 97
i=5 3 4 6 0.2 | 3000 | 5000 i=5 10 | 13 | 20 0.7 | 3000 | 5000
Mn2 | Maz | Mp2 | Gt N [Nima| Os n Mn2 | Maz | Mp2 | G N [Nimax| @s n
[Nm] | [Nm] | [Nm] -al[\cl:%n- [min-1]| [min-1]| [arcmin]| % [Nm] | [Nm] | [Nm] % [min-1]| [min-1]| [arcmin]| %
i=z1 55 75 | 110 4 1500 | 3500 i=1 | 120 | 170 | 240 11 1500 | 3500
i=2 | 37 | 52 | 75 3 2000 | 4500 g 97 i=2 85 | 120 | 170 9 2000 | 4500 8 97
i=5 22 29 45 2 2800 | 4500 i=5 45 60 90 5 2500 | 4500

Stiffness value is referred to LP version

..LP Ry max
RS max
AZ max
p \ N
RZ max A2 max A2‘ max R3 max A3 max A3' max
[N] [N] [N] [N] [N] [N]
KR 010 'SB g 1000 — 200 500 — 100
SB @ 1500 — 300 750 — 150
KR 020
HB E 3000 1500 600 3000 1500 600
SB g 2000 — 400 1000 — 200
KR 030
HB E 4000 2000 800 4000 2000 800
SB g 3000 — 600 1500 — 300
KR 040
HB E 5500 2750 1100 5500 2750 1100

225



14//4

14.6 MASS MOMENT OF INERTIA
14.6.1 KR 010...KR 040 with standard ball bearings - SB

KR 010 KR 020

Jo [kgcm?] Je [kgcm?]
mee} Umee}
6<D <952 10sD=<14 8<sD<127 14 <D £19.05
S, SF 0.52 0.52 S, SF 1.61 1.80
i=1 LP,LPF 0.38 0.38 i=1 LP,LPF 1.34 1.52
LD, LDF 0.39 0.39 LD, LDF 1.37 1.55
S, SF 0.27 0.29 S, SF 0.86 1.05
i=2 LP,LPF 0.24 0.25 i=2 LP,LPF 0.80 0.98
LD, LDF 0.24 0.25 LD, LDF 0.80 0.99
S, SF 0.20 0.21 S, SF 0.66 0.84
i=5 LP,LPF 0.19 0.21 i=5 LP,LPF 0.64 0.83
LD, LDF 0.19 0.21 LD, LDF 0.65 0.83

KR 030 KR 040

Jg [kgem?] Jg [kgcm?]
D {5 D {5
SB 11=sD=<127| 14sD=<19 | 22=sD=s24 14=D=s19 | 22=sD=<24 D=28
H, HF 4.37 4.45 4.64 17.19 17.37 17.77
~ S, SF 5.00 5.08 5.27 20.46 20.65 21.05
=t LP, LPF 4.70 4.78 4.97 18.21 18.40 18.80
LD, LDF 4.63 4.71 4.90 18.90 19.08 19.48
H, HF 2.04 212 231 4.47 4.65 5.06
S, SF 2.20 2.28 247 5.29 5.47 5.87
=2 LP, LPF 212 2.20 2.39 LP, LPF 4.73 491 531
LD, LDF 211 2.19 2.37 LD, LDF 4.90 5.08 5.48
H, HF 1.47 155 174 H, HF 5.23 5.42 5.82
~ S, SF 1.50 157 176 o S, SF 5.36 5.55 5.95
=0 LP, LPF 148 1.56 1.75 =0 LP, LPF 5.27 5.46 5.86
LD, LDF 148 156 175 LD, LDF 5.30 5.49 5.89

226



14.6.2 KR 020...KR 040 with taper roller bearings - HB

KR 020

14/ 4

Jg [kgem?] Jg [kgem?]
[
== b 1<H e
HB [ 8<D<127 14 <D <£19.05 11SD<127| 14sD<19 | 225D <24
S, SF 1.87 2.06 H, HF 5.48 5.56 5.75
S, SF 6.11 6.19 6.38
i=1 LP,LPF 1.60 1.78 i=1
LP, LPF 5.81 5.89 6.08
LD, LDF 162 181 LD, LDF 5.74 5.82 6.01
S, SF 0.93 1.12 H, HF 2.92 3.00 3.19
S, SF 3.08 3.16 3.35
i=2 LP,LPF 0.86 1.05 i=2
LP, LPF 3.01 3.09 3.27
LD, LDF 0.87 1.05 LD, LDF 2.99 3.07 3.26
S, SF 0.67 0.85 H, HF 1.51 1.59 1.78
S, SF 1.54 1.62 1.81
i=5 LP,LPF 0.66 0.84 i=5
LP, LPF 1.53 1.61 1.80
LD, LDF 0.66 0.84 LD, LDF 1.53 1.60 1.79

KR 040

Jg [kgem?]
b {0
HB 14sD<19 | 22sD<24| D=28
H, HF 18.82 19.01 19.41
S, SF 22.10 22.28 22,69
T 10.85 20.04 20.44
LD, LDF 20.53 20.72 21.12
H, HF 488 5.06 5.47
S, SF 5.70 6.28 6.28
T 5.13 5.72 5.72
LD, LDF 531 5.89 5.89
H, HF 5.30 5.48 5.89
S, SF 5.43 6.02 6.02
T 5.34 5.93 5.93
LD, LDF 5.37 5.95 5.95

227



V4//4

14.7 DIMENSIONS

KR 010

25AH ... 80A
305 N5 56 305
12 NS L2
477 ,L -i % 6 @ N1 %
G ' G
1 1\ L
Ao g ] SEai
[ : !<> { \{K &
u i
® - AW _ z S | ®| ©
™ ! Q /, ™ [ee]
a’r 8 © E‘ 9
1 —
#;’
56
o 19
1B
<
&) ek
L (o) (o) \n
Q (®)
17
KR 010 1.2
34
3@ N N1 N2 N3 N4 N5 | Lmax
min | max
25AH | 6 635 7 8 9 95 - - - - — | 25 | 39 | 56
26AH 6 635 7 8 9 952 - - - - - 26 39 56
28AH | 6 635 7 8 9 95 - - - - _—| 28 |39 |56
30A\H | 6 63 7 8 9 95 - - - - - | 30 |39 |56
32AH |6 63 7 8 9 95 - - - - —| 32 |3 |5 65 35 45 25 25
34AH 6 635 7 8 9 952 - - - - - 34 40 56
36AH 6 635 7 8 9 952 - — — — — 36 42 56
39AH |6 63 7 8 9 952 - - - - - | 39 | 45 | 56
40AH | 6 63 7 8 9 95 - - - — - | 4 | 46 | 56
38B 6 635 7 8 9 952 10 11 12 127 - 38.1 66.6 60 3 M4x10 18 25
40B 6 635 7 8 9 952 10 11 12 127 - 40 63 60 3 M4x10 18 25
50A 6 635 7 8 9 952 10 11 12 127 - | 50 60 60 3 | M4x10 | 18 25
50B 6 635 7 8 9 952 10 11 12 127 14 50 65 60 3 M5x12 23 30
50BH | 6 635 7 8 9 952 10 11 12 127 14| 50 65 65 3 55 25 32
50C 6 635 7 8 9 952 10 11 12 127 14| 50 70 60 3 | M4x10 | 23 30
55MH | 6 635 7 8 9 952 10 11 12 127 - | 55 80 65 2 55 16 23
60A 6 635 7 8 9 952 10 11 12 127 - 60 75 65 3 M5x12 18 25
60A1 | 6 635 7 8 9 952 10 11 12 127 14| 60 75 65 3 | M5x12 | 23 30
60B 6 635 7 8 9 952 10 11 12 127 14| 60 85 75 3 | M5x12 | 23 30
60C 6 635 7 8 9 952 10 11 12 127 14| 60 90 75 3 | M5x12 | 23 30
70A 6 635 7 8 9 952 10 11 12 127 14| 70 85 75 3 | M6x15 | 23 30
70B 6 63 7 8 9 0952 10 11 12 127 14| 70 90 75 5 | M5x12 | 23 30
73A 6 635 7 8 9 952 10 11 12 127 14| 73 98.4 85 3 | Msx12 | 25 32
80A 6 635 7 8 9 952 10 11 12 127 14| 80 100 85 3 | M6x15 | 23 30

Please contact us for different motor adapters and input shaft bore.

228




14//4

KR 010

KR 010... S
109 100
65 44 15 70 15
. M5 \ 11
—
- 3.5 Nm\ ‘
n_l—ﬁit
——— IILLW 5
3 8 o !
Q Q g |
| T — 1 11 5
ul In 15 ;c
S
[ [
KR 010... LP
112
43 44
1 25
| i | 20 25 49 .
i ° » L
1 ® ® [
‘:[j I M4x10
n L__ D12 k6
| AW
KR 010... LD
138
44 44
25 1 1 25
25 20 20 25 4 hy
ml ’_ 0
! & < L]Hr— |3
|
1® I |
ul t]:' M4x10

L |12

KR 010... SF

44
6
35
0.5
if S
:
i 8
Rl =
|
______ )
Frosassioss
KR 010... LPF
44
6
35
_____ - l
e R =
}: H [ 8
i ] i ©
; P8 2
H |#------ b Q
prosXooor b
|
______ )
EEEEEECES
1
JE S
"
it
i
KR 010... LDF
44
6 @ 64
35 55
- 1
[
e St
et 19 8
H [r------ E Y
L =
| o
,,,,,, i L4
0se
f
i
N

229



Vy//4

KR 020

40B1 ... 110B1
N5 61 38
N3 15
4{5:" » 6.5 N4
ENT T A
@ \\ &
@ o - z 5 A 3
QT il ° L 2 \ /
@ | & ’\Q‘\,_L, /‘M\
L L T
69 N1
N2
N
Sk
|| (o) (e) —
(s) Q)
18.5
37 KR 020 2.6
ey
D| 4 _,;J N N1 N2 N3 N4 N5 | Lmax

40B1 8 9 952 11 12 127 14 - - - - - 40 63 80 4 M4x10 34 40
45A 8 9 952 11 12 127 - - - - - - 45 63 80 4 M4x10 34 40
50B1 8 9 952 11 12 127 14 - - - - - 50 65 80 4 M5x16 34 40
50BH1 | 8 9 952 11 12 127 14 - - - - - 50 65 80 4 55 34 40
50C1 8 9 952 11 12 127 14 - - - - - 50 70 80 4 M4x10 34 40
50D 8 9 952 11 12 127 14 - - - - - 50 95 80 4 M6x10 34 40
55A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 555 | 125.7| 105 4 M6x16 34 40
60A2 8 9 952 11 12 127 14 - - - - - 60 75 80 4 M5x16 34 40
60AH2 | 8 9 952 11 12 127 14 - - - - - 60 75 90 4 515 34 40
60B1 8 9 952 11 12 127 14 15875 16 - - - 60 85 80 4 M5x16 34 40
60C1 | 8 9 952 11 12 127 14 15875 16 - - — | 60 | 90 | 80 | 4 | M5x16 | 34 | 40
70A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 80 4 M6x20 34 40
70AH1 | 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 85 90 4 6.5 34 40
70B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 70 90 80 4 M5x16 34 40
73A1 8 9 952 11 12 127 14 - - - - - 73 98.4 85 4 M5x16 34 40
80A1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 80 100 90 4 M6x16 34 40
95A 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 115 100 4 M8x20 34 40
95B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 95 130 115 4 M8x20 34 40
110A 8 9 952 11 12 127 14 15875 16 17 19 19.05( 110 | 130 115 4 M8x20 34 40
110B 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 120 6.5 | M8x20 44 50
110B1 8 9 952 11 12 127 14 15875 16 17 19 19.05| 110 | 145 120 6.5 | M8x20 54 60

Please contact us for different motor adapters and input shaft bore.

230



14//4

KR 020

KR 020... S
130 123
765 53.5 20 83 20
15 ms 15
F+_L_JIIL_J_+1E 4Nn|\\ |
1] =]
o 3 [T] !
S} S Sl: '
I iy f 5
janii Lio q
s
|
KR 020... LP
1335
52 535
15 | 28
25 | 15 51
..
r ~
] L N
@ @
__ {?5%
1 A ® [
“I—J L*I M5x12.5
n r @16 ks
[ [
KR 020... LD
163
535 535
28 | 15 15 | 28
15 | 25 T [25 15 __5ne
] ® ® L
Ul (e @ N
- [ '
2§l 1] M5x12.5
@ 16 k6
[

@ 60 g6

53.5
6
Ex-- V
e Aty =
i [}
i
i
i 1"
e =
T
I
1 |
,,,,, A
T
| |
- ;
"
b
|
535
6

B
=}
©
Q
I
i
,,,,,, 4
frooazosoa
1
_— A
i
0"
i
1
53.5
6
B
(=}
©
o

KR 020... SF

KR 020... LPF

__________

KR 020... LDF

231



/474

50D ... 130A1

44.5 N5 81 44.5
N3 _é_
11
47@*& %; . N4
NI T O
! | & L W ¢
Vi |
e &+ g o I .
%( [ ° rj 3 \ ,
& & Ei‘\-“i./:ﬁ
e \
82 D N1
N2
=
® //—% ©
Ol
o‘& / © &
© @
235
47 KR 030 4.6
D] L}} N N1 N2 N3 N4 N5 | Lmax

50D 1 12 127 14 15 15875 16 19 = = 50 95 | 100 5 M6x14 | 28 40
55A 11 12 127 14 15 15875 16 19 - - 555 | 125.7| 105 5 M6x16 28 40
60A2 1 12 127 14 15 15875 16 19 = = 60 75 | 100 5 M5x14 | 28 40
60AH2 | 11 12 127 14 15 15875 16 19 - 60 75 100 5 6.5 33 40
60B1 1 12 127 14 15 15875 16 19 = = 60 85 | 100 | 65 | M5x14 | 28 40
70A1 11 12 127 14 15 15875 16 19 - - 70 85 100 5 M6x14 28 40
70AH1 | 11 12 127 14 15 15875 16 19 = = 70 85 | 100 5 6 33 40
70B1 1 12 127 14 15 15875 16 19 - - 70 90 | 100 | 65 | M5x12 | 28 40
80A1 1 12 127 14 15 15875 16 19 = = 80 | 100 | 100 5 M6x16 | 28 40
80AH1 | 11 12 127 14 15 15875 16 19 - - 80 | 100 | 100 5 6.5 28 40
95A 1 12 127 14 15 15875 16 19 = = 95 | 115 | 100 5 M8x18 | 28 40
95A1 1 12 127 14 15 15875 16 19 22 24 95 | 115 | 100 5 M8x18 | 38 50
95B 1 12 127 14 15 15875 16 19 = = 95 | 130 | 115 5 M8x18 | 28 40
110A 11 12 127 14 15 15875 16 19 - - 110 | 130 | 115 5 M8x18 28 40
110A1 | 11 12 127 14 15 15875 16 19 22 24 | 110 | 130 | 115 | 65 | M8x20 | 38 50
110B 11 12 127 14 15 15875 16 19 22 24 110 | 145 | 120 6.5 M8x20 38 50
110B1 | 11 12 127 14 15 15875 16 19 22 24 | 110 | 145 | 120 | 6.5 | M8x20 | 48 60
130A 11 12 127 14 15 15875 16 19 22 24 130 | 165 | 140 6.5 | M10x20 | 38 50
130A1 | 11 12 127 14 15 15875 16 19 22 24 | 130 | 165 | 140 | 65 | M10x25 | 48 60

Please contact us for different motor adapters and input shaft bore.

232




14//4

KR 030

KR 030... H

130

|

20

i

25

KR 030... S
160
95 65
2 M5
T b
< I Q
s ] s
il [
i EL
| J

KR 030... LP

164
63 65
2 36
‘D' ; _D 32 2
Ty o
1 il
i i
KR 030... LD
202
65 65
36 2 2 36
2 32 “D"_'_‘_ctn_f_’_‘ | 32 2
T, N
ol Iy
s =it

23

M8x19

24.5

D 22 k6

6 h9

M8x19

24.5

D 22 k6

222Gt

KR 030... HF

@ 85
6.5

KR 030... SF

076

.. LPF

KR 030...

@ 85

LDF

65
7
5
2
=)
I i ©
" [ o)
L o
| " ~
Lo Q
pro=shooop
T
A
[TIISID.,
]
-
n
|
"
"
65
7
5
2
H
[ J|
Pl g
I I o
\ M =
Poh Q
e __'(_:_1.:.
T
_:,‘
1
Mguieieiuin
1
N
n
i
h
0
65
7
5
-y M 2
- 1
Su—
' ©
[
o
~
S}
T
|
iuiugeiain SO
1
_________ -
n
"
H
‘.
65
7
5
=TTy 2
- 1
------- T
_________ |
X
©
3
o
~
S}

@
e
76

233



'q//4

N5 105 53.5
N3 ?j9
Y 195 N4
+;0_. .
A
rl -
| — %
LL\ zl b |
O
3 1O slel 5§
s (] R 5 \ /
,‘ : & | & /M\\kL)/—M\
l 1 ] i
101 N1
N2
. 01
- @ /\ .
(R ~
L/ af ©
© ® Y]
1 -
I ® ©
33.5 &
o KR 040 128
2
D} {55 N N1 N2 N3 N4 N5 | Lmax
55A1 14 15875 16 19 - - - 555 | 1257 | 130 4 M6x15 | 395 | 50
80A2 14 15875 16 19 - - - 80 100 | 130 4 M6x15 | 395 | 50
95A1 14 15875 16 19 22 24 - 95 115 | 130 4 M8x20 | 395 | 50
110A1 | 14 15875 16 19 22 24 - 110 | 130 | 130 4 M8x20 | 395 | 50
110B1 | 14 15875 16 19 22 24 - 110 | 145 | 130 65 | M8x20 | 495 | 60
114A 14 15.875 16 19 22 24 28 114.3 200 170 55 M12x25 69.5 80
130A 14 15875 16 19 22 24 - 130 | 165 | 140 4 | M10x20 | 395 | 50
130A1 | 14 15875 16 19 22 24 28 130 | 165 | 140 4 | M10x20 | 495 | 60
180A 14 15875 16 19 22 24 28 180 | 215 | 190 | 55 | M14x25 | 495 | 60
180A1 14 15.875 16 19 22 24 28 180 215 190 55 M14x25 69.5 80

Please contact us for different motor adapters and input shaft bore.

234



14//4

KR 040

KR 040...H
150
75
30, 30|
(M)
]l j T’]]
S| Fn

@2857

KR 040... S
185 174
110 75 35 104 35
l M6 123
5l S 12 Nm
S 5 |
& | Rl o N
8 | s @ i
S
I e il \ 14
il 27 o
S|
J L
KR 040... LP
206
73 75
2| 58
50 | 4 10 ho
1 L
hd &
° o &
1 [
Al In M12x28
n & 32 k6
KR 040... LD
266
75 75
58 | 2 2| 58
4 501 - ‘ n 50 | 4 10 hgm
T L A
A:d &
. @
2l [ M
nl In M12x28
& 32 k6

KR 040... HF
75
10
5
0.5
=)
i 1 Q|
) i o 3
i W > =
Lo S} O
reesienst
! 1
"
[
. SF
75
10
5
0.5
e
Lo 3 o
N o =
i 0 > =
i S d
:::::i_:t
]
,:f,
------ 4
__-;.:
i
"
KR 040... LPF
75
10 2 120
5 9
L 0.5 L
S 4
] 1| —
| - I (1 aa AN
0 || == 5
i :g::g}: ﬁ
T
iy
101
KR 040... LDF
75
10 @ 120
9
- T 05
"

———————

11T JI_
@ 90 g6
T
Ci101

————————

235



14//4

14.7.1 GEARBOX WITHOUT MOTOR ADAPTER

FM

L3

L2 D4
] lff I — .
@ L T% e
8 sl |
nf_
T
3 Q r &%
[ 1 ]
IS~ g e e g
L4
D| { %VP D1 D2 D3 D4 D5 L1 L2 L3 L4 L5 &I
6 6.35 7 32.5 50 425 | M4x8 M4 28 135 3 85 8
8 9 9.52 10 325 50 425 | M4x8 M4 28 135 3 85 9
KR 010 1.0
11 12 12.7 355 50 425 | M4x8 M4 23 13.5 3 8.5 11
14 355 50 425 | M4x8 M4 25 15.5 3 8.9 11.5
8 9 9.52 38 68 76.5 | M6x10 | M6 36.3 26.3 9.5 18.8 10.5
11 12 12.7 43 68 76.5 | M6x10 | M6 36.3 26.3 9.5 18.8 125
KR 020 2.0
14 15875 16 17 48 68 76.5 | M6x10 | M6 36.3 26.3 9.5 18.8 14.5
19 19.05 51 68 76.5 | M6x10 | M6 36.3 26.3 9.5 18.8 16.5
11 12 12.7 43 90 98 | M6x15| M6 35 195 | 76 | 121 | 125
14 15 15875 16 48 90 98 | M6x15| M6 35 195 | 76 | 121 | 145
KR 030 35
19 51 90 98 M6x15 | M6 35 19.5 7.6 12.1 16.5
22 24 56.5 90 98 M6x15 | M6 37 215 7.6 12.1 19
14 15.875 16 438 113 | 1255 | M8x15| M6 46 27.5 6 20 14.5
19 51 113 | 1255 | M8x15| M6 46 | 275 6 20 16.5
KR 040 10.0
22 24 56.5 113 | 1255 | M8x15| M6 47.5 29 6 20 19
28 67 113 | 1255 | M8x15| M8 47.5 29 6 20 225

236




14//4

14.7.2 MACHINE SHAFT

Shaft of driven equipment should be made from high grade alloy steel. Table below shows recommended dimensions for the Customer to
consider when designing mating shaft. A device retaining the shaft axially is also recommended (not shown).
The number and size of relative tapped holes at shaft end depend on application requirements.

B
Bl B2
Rmax S
08 08 7\‘25°
H 2 B¢ ;) 2 CP 3
D C C E
Al A2 A3 A4 B Bl B2 C D E Rmax S
UNI 6604
=26 18 h7 17 18 h7 129 18 90 32 2 2 0.5 6x6x25 A
1
KR 040 236 28 h7 27 28 h7 149 28 90 50 2 2 0.5 8x7x35 A

NB: The choice of driven shaft with a UNI 6604 key as described introduces increased backlash into the application compared to that
achieved by a configuration with just the gearbox (¢s < 8').

B
B1 B2
Rmax S
038 08 15°
|
S 2 A o -
Al A2 A3 A4 B Bl B2 Rmax S
KR 010 =15 11 h7 9.5 10 h6 99 13 70 0.5
KR 020 =20 16 h7 14.5 15 h6 122 18 83 0.2
1
KR 030 =30 22 h7 19.5 20 h6 149 23 100 0.5
KR 040 =40 32 h7 29.5 30 h6 173 33 104 0.5

237




Lz

INDEX OF REVISIONS

[

TI_CAT_TIR_STD_ENG_R06_0

Description

Amended some data.

This publication supersedes and replaces any previous edition and revision. We reserve the right to implement modifications without notice.

This catalogue cannot be reproduced, even partially, without prior consent.

238

2021 02 20



4

ENEENEEEEN

|
{(l !

CMZ reserves the right to change the data in order to update or improve its products without prior notice
CMZ si riserva il diritto di modificare i dati per aggiornare o migliorare i propri prodotti senza alcun preavviso

= CMZ SISTEMI ELETTRONICI SRL
Soga u‘-) energytea m Via dell'Artigianato 21
31050 Vascon di Carbonera (TV)
Italy
Phone +39 0422 447411
Email cmz@cmz.it

cmez.it




